ENGE

Enc-Of-Arm-Tocling

Distributed by

All stated here is subject to change without advance notice.

All rights reserved

CN(EN)2206

&

{9 D01VLVD S1dVd SO11090d

Complex gripper, flexible assembly

C2G

End-Of-Arm-Tooling

@

ROBOTICS PARTS CATALOG




Mission: to provide customers with effective solutions and create together! Win win! Share!

B8 Bl &k s, EE R !
CULTURE CORPORATE \J/ic':l to@cgeiiaflfgaﬁg(?u}i%ra%anﬁd Eﬂfnf%tfrij-ilgnal excellent enterprise! Gl O b al S a l e S N e tW O r k
ZEET BRNEREEM EENEBERAOM!

Operation Concept : Repeating simple things , Repeating what you do attentively!

[t\ :& &( i e HEPRGERINBRSE 50! KR! 2 LIRS EMERSHE

RSED
SERVICE _ g)‘_'l E%E

(

=EH
PR SR

<
>
X
~
m
-
Z
o

)

|

(ELRDAIVN

%}
di

ACTING %j] L\/Lf-f_h
=T BAE1E

RESPONSIBILITY, Z:)E. Z:EI:%

y

e
9

ET=IE
TECHNOLOGY E&?QE

O K&/ Agent

q



CRG HAOMMBA. TMFRinBHRE (EOAT) RITFR., HERKRS,
EETIEEEMEITH12F, LIERHCESILBHHIRITERSR, BERE. EdR,

CRG has beeninvolving in EOAT design, development, saleandservice. We

have been operating in the field of injection automation for more than twelve years.

Base on module design concept, to makes automation design simpler, more flexible

and morereliable.

(2B R
\\\)’ otcnina Uppep, - @(
rQ) e@(\o“ st“//e'%

2

CRG) ¢

End-Of-Arm-Tooling
H2& AKim THEEE -EOAT

\eadinBtheMarke,

B\ W1 5




‘=Rl Application

BAtfESR

Base Frame

a0
1
Pt

RBA—EFI
ERFAREEN, BELAKORNH
SEAMK—E
FEH£9792.0 kg

}—:.‘Z
}—:.‘Z
,—_‘Z

Product Description:
Two caves in one mold.
Take product out with vacuum cup;
Take sprue gate out with sprue gripper.
Gas circuit divides into two suction and one gripping.
The weight is about 2 kg.
Bitg

Extruded Profiles

st ———

Rotative Suspensions

WEIR &2
Vacuum Cups FGA Series

KOk
Sprue Gripper

""'Slzbn
Mountlng Bracket

TR EEY

Cross Mounting Bracket For Profiles

Quick Changer



‘=Rl Application

EhlfESR

Base Frame

SUSINE
Sus Tube

B
Slide Bracket

AR

CYS R =T7TVAN

R AR OB SLES = B
FHL71.5 kg

En

F
}_;.‘Z

Product Description:

Two cavitiesin one mould;

Taking products out and clamping
the sprue by sprue gripper.

The weightisabout 1 5 kg.

MM FEE S

Manipulator Fixing Bracket

KAk
Sprue Gripper

SEFET]
Air Nipper



‘=Rl Application

HAHESR

Base Frame 2z E sk
FEm AR
w4 (%) RASERRE, #BA
SEBO AW, —N—8

BHE: 7kg

Product Description:

Two cavities in one mould; Take out or embed
the insert (Non-woven bafric) by pneumatic
needle gripper;

The gas circuit is divided into two paths; one
cavity is one path.

Weight: 7 kg.

Btz
Extruded Profiles

BESZR
Mounting Bracket

+FEMERY

Cross Mounting Bracket For Profiles

SEntE

Pneumatic Needle Gripper



‘=Rl Application

EEHH:E;JE F%}ﬁy_}; :

Base Frame R R
—UBER S , — BN
B : SRERER , RIEENH
SEARE—I , KIE—K
SN : SREBGHR , BRIGENER (4, 1BER
SEASIH—, KIE—K , BEERE—K
E&£: 9kg

Product Description:

One cavity in one mould; Take out on one side ; embed on the
other side;One side: Taken out by vacuum cup and one finger
angular pneumatic gripper; The gas circuit is divided into two
paths including vacuum cups and one finger angular pneumatic
gripper; The other side: Profile modeling; Take out orembed
by one finger angular pneumatic gripper; The gas circuit is
divided into three paths including path of cylinder, path of one
finger angular pneumatic gripper and path of mould positioner;
Weight: 9Kg.

WE IR 5
Vacuum Cups FGA Series

B ————
Extruded Profiles

BREEfE —
Mould Positioner

Sapikis

Pneumatic Finger Gripper



‘=R Application

BhlfESR

Base Frame
Clamp Leg
BURF
Extruded Profiles
KA%X
Sprue Gripper
ST HE

Side Manifold Block

BER: FRENHER

BIEfz: 2700T

BEE&: 25KG

BELHE: 114

AEREREBRE, SEATHRNE+EE, BBE
ZRO3mmLAR, kERBLRRE, STEHEMEMIRAR
R, HEAAETRZINESE TR,

Product Description:

Name of fixture: Fixture of take out for instrument panel.
Machine tonnage: 2700T.

Weight of fixture: 25kg.

Sprue quantity: 11.

Due to the short molding cycle, the product needs to be taken
out and cutin the mold, and the shear accuracy is required to
be within 0.3mm. The fixture adopts non-marking suction cups,
the clamp interface adopts soft rubber pad, and the angle can

be adjust by multifunctional to make elbow arm complete the

clamping.
SH
Elbow Arm
— T
Parallel Gripper
EEZLE

Mounting Bracket

R

Vacuum Cup

TR

Cross Mounting Bracket For Profiles



‘=Rl Application

BAtfESR

Base Frame

/AR

Robot mounting plate

Btz
Extruded Profiles

NS BRIIR AT B

Non-rotative Suspensions With Integral Elbow Arms

55
Signal Boxes

TFEERG

Cross Mounting Bracket For Profiles

KOk
Sprue Gripper

S§Es

Vacuum Cup

EEL 7N fEeS

Angle Bracket For Profiles

iCiHE

!

of

=GR

BEWR:
MM :
REEE:
LR
REHE

KPR,

AEERRHRR
2700T

80KG

144

DAEAH, FRRERKEN, RMEEEE

FrmRATRRERN, XEESIEEINEE,

A A B .

Product Description:

Tool Name: Fixture of take out for car threshold strip.
Machine tonnage: 2700T.
Weight of fixture: 80kg.

Sprue quantity: 14.

The car threshold strip is divided into left and right parts. There has long
under-cut in the product which can not be taken out horizontally after
being ejected. The product is absorbed by non-marking suction cup,

and the fixture has the function of rotation, so the product can be taken

out smoothly.

Side Manifold Block

s
Mounting Bracket

Sl
Air Cylinder

SEHRMEE

The Adsorption Of Pneumatic Fittings



‘=R Application

BhlfESR

Base Frame P
ARSI RIEIIELHR
W& : 1800T
iGEER: 20KG
BisksE: 80
FREERFGE, FEhESINAEE, M miEmERa
TR, RFEMERARRE, HERAERRESY
BEE B TTA A,
Product Description:
Fixture Name: Fixture of take out for bumper.
Machine tonnage: 1800T.
Weight of fixture: 20kg.
Sprue quantity: 8.
It needs to be equipped with cylinder to pulling from side
because the product can't be demoulding smoothly. The
contact surface of the product adopts non-marking suction
cup, the clamp interface adopts soft rubber pad, and the
angle can be adjust by multifunctional to make elbow arm
complete the clamping.
FEAHF B
Extension Tube Elbow Arm
—— AT RERMEER
Fixing Plate With Adjustable Angle
Sy
Vacuum Cup
KOk
Sprue Gripper
SEpikiE
Pneumatic Finger Gripper
EES AR
Mounting Bracket
Bt —

Extruded Profiles

M8\ D HAN&KR TR

M8 8 Ports Junction Box Cross Mounting Bracket For Profiles



‘=R Application

BhlfESR

Base Frame

EMSEL
Positioning Cylinder

HEHSE
Push Out The Cylinder

ahi
Profiling

FEmiIA

BEER: RERSIEANRLA
PEER—E—IY

A B — B H— R 4

iBBEZ55kg

Product Description:

Name of fixture: Fixture of embed and take out for automobile
slat bars;

One cavity in one mould;

One side of the fixture is taken out and the other side is
embedded.

Gas circuit: five suction and two gripping.

The weightis about 55kg.

QC200 i
Qc200 Quick Changer

EAEE

Positioning Device

BRI
Embedded Insert 1

ENERE2
Embedded Insert 2



‘=R Application

BhlfESR

Base Frame

F=ERiEIA

ARSI FFXRERRSEE
FEER—IEIY;

FEL A7k OS2 328

SR TX
BEEZN6kg

Product Description:

Name of fixture: Fixture of take out for Switch panel ;
Four cavities in one mould;

Take sprue gate out with sprue gripper.

Gas circuit: two gripping.

The weight is about 6kg.

DHR

Junction Box

— THEES

Flat Straight Connector

FATX
Parallel Gripper

TR

Cross Mounting Bracket For Profiles

KO%k
Sprue Gripper

PEP251884%4
PEP2518 Profile



‘=R Application

BhlfESR

Base Frame

FHEZS
Flat Straight Connector

<«

FRTEIA :

REER: HESEANNEEE;
RN
HRASIEY, BA;
B IRk

BE&: 10kg

B

op

i

Product Description:

Name of fixture: Fixture of embed and take out for copper nut;
Two cavities in one mould;

The insertis pushed out by cylinder and embedded;

Gas circuit: two suction and two gripping.

Weight of fixture: 10kg.

e

Rotative Suspensions

— ST
Air Cylinder
CinHE
Side Manifold Block
HEEUER

Mould Positioner

Rk
Quick Changer



‘=R Application

BhlfESR

Base Frame o E A

REBR: ILHHESLEHIEE
[l T = AVAV

BHSORAIK O SAR
SEER: T

BREZ3.2kg

Product Description:

Name of fixture: Fixture of take out for sprue gate and cable tie;
16 cavities in one mould;

Take sprue gate out with sprue gripper.

Gas circuit: two gripping.

The weight is about 3.2kg.

— kA%
Sprue Gripper

G
pa)s A=
Junction Box

JCTHE
Side Manifold Block



‘=R Application

BhlfESR

Base Frame

BWESEH —

Holding Cylinder

73
Parallel Gripper

SHRMER
The Adsorption Of Pneumatic Fittings

FEEREIA

ARSI RERMGREE

FEER—IERIN

FERRAFTRMBESIHEE, RSLRAKOFRRH
SEHR=F—I

B E#53.5kg

A

of

Product Description:

Name of fixture:Fixture of take out for auto parts;

Two cavities in one mould;

The product is taken out by parallel clamp and holding
cylinder, and take sprue gate out with sprue gripper.
Gas circuit: one suction and three gripping.

The weight is about 3.5kg.

KOk
Sprue Gripper

+FEAEE

Cross Mounting Bracket For Profiles

— BEEXR
Mounting Bracket

25258%F
2525 Extruded Profiles

B ER

Manipulator Fixed Plate



‘=R Application

BhlfESR

Base Frame

iR
AEEIR: HIDENSABHETAE,

PR
GEE )
SEEn: Mm%k
/2R E6kg

Product Description:

Name of fixture: Fixture of cut and take out for Digital camera shell;
16 cavities in one mould;

The sprue gate needs to be sheared.

Gas circuit: four gripping.

The weight is about 6kg.

QC90tRif%
QC90 Quick Changer
N20PF&1J]
N20PF Air Nipper
NY10RAJEZT]

NY10RAJ Air Nipper

TEIRBrHE
Stainless Steel Chute




‘=R Application

BhlfESR

Base Frame

FERHT

Extension Tube

TFEER

Cross Connector

PR

RERR: REEHEEIEE;

FER—E—IY

ARIERRA20NE, FRRARME RIS,
SBA —R—%F

AEEH15kg;

Product Description:

Name of fixture: Fixture of take out for Car grille;

One cavity in one mould;

The fixture frame is made of the steel pipe 20, and the
product is taken out by vacuum cups and pneumatic
finger gripper;

Gas circuit: one suction and two gripping.

The weight is about 15kg.

QC160 it

QC160 Quick Changer

One Finger Angular Pneumatic Grippers

SUSINE
SUS Tube




‘=R Application

BhlfESR

Base Frame

pom ERIHF

Pom Positioning Profiling

kA
Non-standard Clip

HEES

=t

BEEMR: HEENSARREEE,
FR—E—I
BELRAKOFINIERSE F B
SR —F—IR

BEEZ:3kg

Product Description:

Name of fixture: Fixture of take out for Digital camera shell ;
One cavity in one mould;

Take sprue gate out with sprue gripper and non-standard clip.
Gas circuit: one suction and one gripping.

The weight is about 3kg.

FHEES
Flat Straight Connector

KO3k
Sprue Gripper

Parallel Gripper



‘=R Application

BhlfESR

Base Frame S EA
RESR: SERMBBIHAE;
FER—EN
PR FkIE+IRE R,
FESLR KOS ;
SH: —R=3%

BEEE: 23kg

Product Description:

Name of fixture:Fixture of slide and take out for auto parts;
Two cavities in one mould;

Take product out with finger gripper and vacuum cup;

Take sprue gate out with sprue gripper;

Gas circuit: one suction and three gripping.

Weight of fixture: 23kg.

XKook —— ———— BEKIR
Sprue Gripper One Finger Angular Pneumatic Grippers
TFERR

Cross Mounting Bracket For Profiles

502584%4
5025 Extruded Profiles

> O
DL
Junction Box



‘=R Application

BhlfESR

Base Frame

= iR

R I2E, REWNHIBENER

FR—E—X

SEASNKRTRIRE

BEEY: 55kg

Product Description:

Name of fixture: Fixture of embed and take out for nut, sheet
metal.

Two cavities in one mould;

Gas circuit: Fixture of two suction and six gripping.
The weightis about 55kg.

HEEAES
Mould Positioner

it
Quick Changer
1ERkER
Sensor
Sy
Vacuum Cup
ST
EEes®e — Gripper Cylinder

Mounting Bracket



‘=Rl Application

BAtfESR

Base Frame

0

>k

it
BREER SEEERRENHENAER
FFR—ERIT;

BHSHE: Bk

BASE: +23%

BEELN: 75KG

Iteia B eI ST AR R B FE I £ S INiR
SELRBEEARAEARKELS,
BAATEREN, RERNENBE.

n

Product Description:

Name of fixture: Take out and embedding fixture of automobile felt hub cover
One mold two cavities;

Take out the air circuit:Two suction four clamps

Fixture weight:75KG

This fixture can take parts in the mold and push them out through the

needle clamp

Two pieces of felt are embedded in the cylinder and cavity

Replace manual complex embedding high efficiency and accuracy
ESRNNEH S

E5 Needle clamp plus push out cylinder
felt

TEEENE

Mold positioner
HUARFEER

Manipulator fixing plate

= INa1i

FERAF Embedded profiling
Extension rod
SRR — UATAERMERR
Clamp leg connector Adjustable angle profile connecting plate
R A%
Sucker ™|
SEiRE
Pneumatic wrenc
EIRE72R
Fixing bracket
EEZ%R
REEE Fixing bracket
Suction cup fittings
2 R

Profile Cross section connector TR TR

Cross section connector



‘=R Application

BhlfESR

Base Frame

pany
e

Elbow Arm

RiR

Quick Changer

=z 0 s
BEER: RERRENHIAE;
m—EI

RRARERY,

o< — ) .

BE=2: 18kg

W5

<

£

)

i)

Product Description:

Name of fixture: Fixture of take out for Automobile wheel
hub cover;

Two cavities in one mould;

Take product out with vacuum cup;

Gas circuit: two suction and two gripping.

Weight of fixture: 18kg.

JCTRHE
Side Manifold Block

TFERR

Cross Mounting Bracket For Profiles

R

Vacuum Cups



‘=R Application

BhlfESR

Base Frame = R A «
JAEER: SERAEEZIEEE

FR—iE=1IX

PSR A IR A2 BN

SEA—RME

BEEE: 12KG

BB MM EFTRIWERBRVIEIINIAR, REKNAE,
BAMEFRENEEINESR, BEAREHEFE, W
PEBG I 2.

Product Description:

Fixture name: Multi-cavity mini product removal fixture

The product has 32 holes in one mold.

The material head is taken out with a suction cup.

The air path is: one suction and two clamps.

Fixture weight: 12KG.

This fixture is easy to collect bulk products and reduce the appearance
of falling off. It is equipped with a storage box, and the mold ejected
products are automatically dropped into the collection box, and then
placed on the shipping platform as a whole to achieve quick pick-up
and packaging.

HEEE
Mould Positioner
HEO
Outlet
ST o
Mounting Bracket EAF

Extension Rod

wEER
Sucker Fittings

QCO0tRE
QC90 Quick Changer

FEREAR
Product Falls Into Box
FREENE ———
Product Storage Box
R 4%

Vacuum Cups



‘=R Application

BhlfESR

Base Frame

FS|IHANE (KOFTEERR)

Traction type high strength clamp
(clamp mouth can be equipped with sensor)

K%k
Strong Sprue Gripper

TFIERER

Cross Connector

FEERTEIA :

BERWR: REILERLAR

MEm: 3300T

BEEE: 65KG

BUEERLENE, UMK, FREEBRY, kEEDRIEKEFS]
FOORRIHED, IAFIB =

Product Description:

Fixture name: Bumper fixed die removal fixture

Machine tonnage: 3300T

Fixture weight: 65KG

Simplify the mold structure, save costs, and take out the product
from the fixed mold. Equipped with the linkage of the strong clamp
traction and suction cup assistance, the product can be taken out

smoothly.

QCA-2001k#
QCA-200 Quick Changer

BRATHEE
Carbon Fiber Tube

KA
Leg Clip

S§5s

Vacuum Cups

Push Out The Cylinder

M8/\D O &S
M8 8 Ports Junction Box



JEfrE#HI=E Non-standard Customized Products

£ tHO

All-steel jaws

ERmMRABENARIE

All food grade stainless steel body

IR E il 2k O 3k

Non-standard custom nozzle clamp

EARE S K OK o2k 1R ik
Non-standard custom nozzle clamp Food grade quick changer

IRHRTE Bl K F1K

Non-standard custom vigorous clip

A R T IEAT E

[VIReceive all kinds of non-standard customizations



E ip\]?\ﬁqﬁable of Contents

i—ﬂ*jx %Wﬁéf Profile‘ SUS Tube

- i?ﬁ*ﬁiﬂ Stents Module 06-54
D 1R#A Quick Changer 55-104
L

;’EEZH#F Grip Module 105-193

S8 ] Air Nipper 194-196

E?ﬁgﬂ'ﬁ:Vacuum Module 1 97'233

D Bﬂ'ﬁ: Accessory Components 234-251




?\%I General Index

B, WNE

P-BifF. NE
Profile, SUS Tube

PST-{NE
Sus Tube
Y/ Page 1

PCT-BReF4EE
Carbon Fiber Tube
f8/Page 1

PEP-Al#t
Extruded Profiles
R#9/Page 2

PT-TEUIRRG
T-Nuts
a#8/Page 3

R E

S-TZRtRAE
Stents Module

SFP-EH7[E ER
Fixing Plate
f8/Page 6~8

SMB-1&4EEE 4
Module Fixed Part
H8/Page 9~39

SV-IR #3758
Vacuum Cups Bracket
TaHS/Page 40~44

SC-JhRiERE
Clamp Leg Connector
a9/ Page 45~50

SEA-SEEEH
Elbow Arm Connector
Wf8/Page 51~53

SBN-ERIEE}
Bush Nut
a8/ Page 54

Q-tR#
Quick Changer

QCA-EHzhikik
Automatic Quick Changer
TH8/Page 55~86

QC-EFFaniRi
Round Quick Changer
Y/ Page 87~98

SIP-RIGIZEZR

Quick Changer Connector
Taf8/Page 90~98

QCS-S R FohiRiz
Square Quick Changer
Taf3/Page 99

QCL-LFEZFahthis
Manual Quick Changer
a8/ Page 100~102

QCA-SHBzhiki
Automatic Quick Changer
A3/ Page 104

EHAMH

G-REAM
Grip Module

GMH-SHI%k
Cylinder Gripper
TR#3/Page 105~108

GMHZL2-jiF17k
Lengthen Parallel Gripper

Ta#8/Page 106

GMXQ-Sziga
Air Slide Table
RS/ Page 113~121

GR-7kO%k
Sprue Gripper

TS/ Page 122~164




?\?;I General index

GS-E Mz 28
Buffer Support
W8/ Page 171~172

GMP-1REE(IEE
Mould Positioner
RH8/Page 173

GN-S ¢tk
Pneumatic Needle Gripper
R#g/Page 175-177

GBD-&x k&%
Bulging Device
TAfB/Page 178~179

GF-Szpikig
Pneumatic Finger Gripper
TAf3/Page 180~189

GO-Szikig

One Finger Angular Pneumatic Grippers

RH8/Page 190

VSH-Ik#2
Vacuum Cups
T8/ Page 202~204

SAF-k 2
Vacuum Cups
TAf8/Page 205~206

VM-IkE& 8L
Vacuum Cup Connector
W#8/Page 207~215

VF-£ B& T
Stem Suction Buffer Body
f8/Page 216~219

Compact-ETEAH
Vacuum Module
TRH8/Page 225~233

B 14

A-B

Accessory Components

s

Al

N-Szn8
Air Nipper

GT-HEARXSH
Thrust Cut Nippers
TS/ Page 193~194

GTC-EE=HIZE
Temperature Regulator
a8/ Page 195

GT-IN#xE ]
Heating Cutter
Taf8/Page 196

B A

V-EZFEEG
Vacuum Module

FGA-IRE
Vacuum Cup
f8/Page 197~201

ASC-E5&
Signal Boxes
A9/ Page 234

AJB-pE&E
Junction Box
af8/Page 235~238

ARJ-HEYRER
Miniature Regulator
A8/ Page 239

KQ2-5&#k
Hose Fitting
Taf8/Page 241~250

AH-5%
Hoses
WY/ Page 251




AEENE Sus Tube

Fiop
ZE
o
& <
L e
__l_gw_l_ Tube plugs
F £5S(PN) BE(Model) D(mm) L(mm) mE=(PN) w=(Model)
é; 4Y00040  PST8-1500 08 1500 0.6 215g 1.Y03375(¢TaRed) POSRD
Hs 1.Y03636 (/R &Grey) P12GY
< 4.Y00021 PST12-1500 212 1500 0.6 339g 1.Y03638(%Blue) P12BU
1.Y03640(E&Black) P12BK
1.Y03637()KEGrey) P20GY
4Y00022  PST20-1500 220 1500 0.8 5609 1.Y03639(iBlue) P20BU
o 1.Y03641(BfBlack)  P20BK
ma ..
o 2% Aluminium Tube
: —
%2
87
gz p
He
5 L A
__I_LI_D Tube plugs
5S(PN) 5 (Model) D(mm) L(mm) T(mm) EE(Weight) Iz=(PN) ima=(Model)
4Y00468  PAT20-1000 @20 1000 2.0 3089 1:Y03637(R@Grey)  P20GY
2% 4Y¥10972  PAT20-2000 @20 2000 2.0 616g 1.Y03639(EEBlue) P20BU
iz ) ' 1.Y03641(Z&Black) P20BK
2 4Y10950  PAT25-1000 025 1000 25 4679
75 4Y10974  PAT25-2000 @25 2000 2.5 9349 1.Y10988(F&Black) P25BK
4Y00469  PAT30-1000 230 1000 2.5 5589 B e e
4Y10973  PAT30-2000 230 2000 2.5 11169
4Y00538  PAT40-1000 240 1000 2.5 799g
. P40BK
s 4Y¥10975  PAT40-2000 040 2000 2.5 1558g 1.Y10987(Z&Black)
=8 X .
A5 R4S Carbon fiber Tube
fiz —
Q.
2 .
" (D
g - BAgEE
o > Tube plugs
3 £E(PN) = (Model) D(mm) L(mm) T(mm) EE(Weight) Uz (PN) iw=(Model)
S 4Y10960  PCT8-1000 08 1000 0.8 31g 6 Ro
z 4.¥10961  PCT8-2000 o8 2000 0.8 629 1.Y03375(£16 Red) POSRD
4Y10962  PCT12-1000 @12 1000 1.0 599 1-$g§2§g§§§;ﬁ? E} ;%
4Y10963  PCT12-2000 @12 2000 1.0 118 : s
9 1.Y03640(B£Black) P12BK
4Y10964  PCT20-1000 @20 1000 1.2 103g 1 zggg:;ggggﬁg’)’ E;ggs
: - . 206 : il
410965  PCT20-2000 @20 2000 1.2 g T oot
4Y10966  PCT25-1000 925 1000 15 1699
P25BK
4Y10967  PCT25-2000 @25 2000 1.5 339g 1.¥10988(ReBlack)
4Y10968  PCT30-1000 @30 1000 15 2369
1.Y20001 (BBlack P30BK
4.¥10969  PCT30-2000 @30 2000 1.5 4729 (RBlack)
4Y10970  PCT40-1000 @40 1000 2.5 431g
P40BK
4.Y10971 PCT40-2000 @40 2000 2.5 861g 1.Y10987 (2 EBlack)

CRG



Bt Extruded Profiles

25

T
. i
17.50 o
— e
i
6.20 o5 T T m&
S 6.20 ?3"\0 @ & B
2 0?* o® o g
o &)
. WL BE - 2 AR v e
(
18 { I ] %7
12 25 6.20 @ @ £z
18 18 6.20 Zﬁ z
Q.
PEP1818 PEP2510 PEP2518 PEP2525 5
40
30 @D‘}o BMinE ) 'H&O
—23 @ A Plugs for profile % E
4.20 @ Z a
2 S 3
D ©4.20 ¥
*xe
%% 2l LG o
N A\ 6.20 2]
@\% e
Y, >
PEP5025 PEP3030 PEP4040
B5eN) B S (Model) K B (Length) B8 (Weight) IS (PlugsPN)  UiEREY S(Plugs Model) 52
4.Y00075 PEP1818-1000 1.0m 4259 4.Y00517 P1818 gigg
BY
4.Y00076 PEP2510-1000 1.0m 310g 4.Y00518 P2510 e
4.Y00455 PEP2518-1000 1.0m 4009 4.Y00069 P2518
4.Y00050 PEP2525-1000 1.0m 6109 400070 P55
* 4.Y00051 PEP2525-2000 2.0m 12209 ’
4.Y00056 PEP5025-1000 1.0m 10409 4.Y00071 P5025 BS
+ 4.Y00057 PEP5025-2000 2.0m 2080g ' fE%
4.Y00052 PEP4040-1000 1.0m 13009 =
4.Y00072 P4040 g
* 4.Y00053 PEP4040-2000 2.0m 26009 c
4.Y00540 PEP3030-1000 1.0m 6509 3030
= 4.Y00541 PEP3030-2000 2.0m 13009
* i%&f4 Optional ?Eﬁ
L T A S
Plugs for profile 5
o
3
g
\ J
PEP-3636
BEPN) 2 (Model) B (Length) EE(Weight) IHE SIS (PlugsPN) Ui BY S (Plugs Model)
4.Y00054 PEP3636-1000 1.0m 11689
4.Y00484 PEP3636-1500 1.5m 17529 4.Y00073 P3636
* 4.Y00055 PEP3636-2000 2.0m 23369

* J%4 Optional

CRRG



TEURE T-Nuts

N0 c
e
34 i £
g D E
(0] 4
o
e
5.4mm A
=7
£z
B S (PN) A5 (Model) A(mm) B(mm) C(mm) B8 (Weight)
1 7.Y00651 PTN-M4 M4 15 75 59
o 7.Y00425 PTN-M5 M5 15 7.5 5g
7.Y00652 PTN-M6 M6 15 7.5 59
o
2 | |
3 SN c ! |
- O—(F
©
o
ke -
B %
Q\Z 5.4mm B
e
5S(PN) BEl5(Model) INGID) B(mm) C(mm) EE(Weight)
7.Y00653 PTN-M4P8 8 M4 16 59
. 7.Y00654 PTN-M5P10 10 M5 20 79
g; 7.Y00655 PTN-M5P15 15 M5 25 9g
Fipc) 7.Y00656 PTN-M5P17 17 M5 25 9g
e 7.Y00657 PTN-M5P22 22 M5 32 11g
7.Y00658 PTN-M5P25 25 M5 35 13g
7.Y00659 PTN-M5P28 28 M5 38 149
7.Y00660 PTN-M5P30 30 M5 40 15g
7.Y00661 PTN-M5P35 35 M5 45 169
5 7.Y00662 PTN-M5P40 40 M5 50 189
fég 7.Y00663 PTN-M5P50 50 M5 60 229
ﬁg 7.Y00664 PTN-M5P60 60 M5 70 269
g 7.Y00665 PTN-M5P90 90 M5 100 389
Last-Minute Nut
W L ERRFHE R TSN — L E AT AT LA .
{5 To be used when you need to add something to an already assembled EOAT.

sjuauodw o) A10ssa20Y

03

£S5 (PN)
7.Y00805

CRG

-

#Z(Model)

PTN-M5R

EE(Weight)

29




AEENIEE2Z2  Sus Screws

A D
ZE
A C %mm
1 g
(I
m eo
xZ
ZEs
12
zag
£RS(PN) A5 (Model) A(mm) B(mm) C(mm) D(mm) E(mm) EE2(Weight) 2
1.Y03908 PTC-M4L10 10 1.6g
1.Y03848 PTC-M4L12 12 1.8g
1.Y02752 PTC-M4L14 14 1.9g
1.Y04073 PTC-M4L16 16 Vid 4 6.8 3.2 2.0g Eg
1.Y05846 PTC-M4L18 18 2.19 2
1.Y04000 PTC-M4L20 20 2.29 H
1.Y06307 PTC-M4L22 22 2.59 3
1.Y05319 PTC-M4L25 25 2.79
1.Y04294 PTC-M5L10 10 2.99
1.Y03850 PTC-M5L12 12 3.1g ég
1.Y04528 PTC-M5L14 14 3.3g s
1.Y03849 PTC-M5L16 16 3.69 e
1.Y05925 PTC-M5L18 18 3.8g ®
1.Y03909 PTC-M5L20 20 4.0g
1.Y06257 PTC-M5L22 22 b4l . 8.3 4.1 43g
1.Y03851 PTC-M5L25 25 4.7g
1.Y04469 PTC-M5L30 30 5.3g 52
1.Y04580 PTC-M5L35 35 5.9g Mz
1.Y04898 PTC-M5L40 40 6.59 3
1.Y04968 PTC-M5L50 50 7.69 B
1.Y05391 PTC-M5L60 60 10.09
1.Y04288 PTC-M6L10 10 4.09
1.Y03910 PTC-M6L12 12 4.69
1.Y04153 PTC-M6L14 14 5.2g s
1.Y02753 PTC-M6L16 16 5.5g =3
1.Y07729 PTC-M6L18 18 M6 6 10 5.3 5.79 |5
1.Y04076 PTC-M6L20 20 6.1g =
1.Y06227 PTC-M6L25 25 6.99 §
1.Y04001 PTC-M6L30 30 7.79
1.Y03911 PTC-M6L35 35 8.69
Bt
las

syusuodwo?) A10ss8d0y

CRG oz



MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd ydIND

T HE W
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-_3
=
e

sjuauodw o) A10ssa20Y

05

WigFEH  Single Hole Shim
5S(PN) B 5(Model) A(mm) C(mm) EE(Weight)
1.Y03853 PTS-M4 4.5 0.07g
1.Y03852 PTS-M5 5.5 0.17g
1.Y03854 PTS-M6 6.5 0.20g
WFLF#H  Double Holes Shim
[a]
I
HE(PN) #5(Model) A(mm) B(mm) C(mm) D(mm) E=Z(Weight)
4.¥Y00522 PTD-M4P8 8 4.5 16 12 1.8g
4.¥Y00523 PTD-M5P10 10 5.5 20 12 2.29
4.¥Y00524 PTD-M5P15 15 5.5 25 12 2.5g
4.Y00525 PTD-M5P17 17 5.5 25 12 3.0g
4.¥Y00526 PTD-M5P22 22 5.5 32 12 3.3g
4.Y00527 PTD-M5P25 25 5.5 35 12 3.5g

CRG



BERABIMEENR  Straight Fixing Plate @gsrepma) (Kit With Screws Option)
BRI EM R SMBSMT 0 BIESFP-S2550T #£27.Y00641-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SFP-S2550T Part number 7.Y00641-T. %g
. ) A ) ?
\§27/ N7 v/ N7
D C E iE
£RE(PN) 7.Y00641 7.Y00642 7.Y00643 fﬁé
#E(Model) SFP-S2550 SFP-S25100 SFP-S40160 é§§
A(mm) 25 25 40 =
B(mm) 50 100 160
C(mm) 25 25 40
D(mm) - 25 40
_IIE_(mm) - 25 40 po
(mm) 3 3 3 s
PEP2510 v v - a)
PEP2518 v v - é
PEP2525 v v - 2
PEP5025 v v -
PEP4040 - - v S0
12 £T 1% BC 14 Accessorier selection E%
$R %% (screws) PTC-M5L12*2 PTC-M5L12*4 PTC-M5L12*4 g5
MG H(single hole shim)  PTS-M5*2 PTS-M5*4 PTS-M5*4 e
TEUEET-Nuts) PTN-M5*2 PTN-M5P25*2 PTN-M5P40*2
BEEWeight) 45¢g 959 195¢g
LEIBIMA &SR L-shaped Fixing Plate gsreerism) (it ith Screws Option) .
E AIRBETEM S SELSINT 40 B4SSFP-L2550T 5957.Y00647-T #z
Note: If screw kits needed, add T to the part number and model number. eg: Model SFP-L2550T Part number 7.YO0647-T. %§
N 2
.
@
Of ~ E§
@ —60—6 ac
& N N < g
=
AN A o
C D T_.LL %
B
RS (PN) 7.Y00647 7.Y00648 7.Y00649
S (Model) SFP-L2550 SFP-L2575 SFP-L40120
A(mm) 25 25 40 I}ﬁﬁ
B(mm) 50 75 120 #F%
C(mm) 25 25 40 <
D(mm) = 25 40 §
E(mm) 25 25 40 3
F(mm) 12.5 12.5 20 ]
G(mm) 50 50 80 @
T(mm) 3 3 3
PEP2510 v N -
PEP2518 v v -
PEP2525 v v -
PEP5025 v v -
PEP4040 - - v
128 £T 1% B 14 Accessorier selection
BB 2% (Screws) PTC-M5L12*3 PTC-M5L12*4 PTC-M5L12*4
W Hysingle hole shim) PTS-M5*3 PTS-M5*4 PTS-M5*4
e PTN-M5*1 N .
TEUREH(T-Nuts) PTN-M5P25*1 PTN-M5P25*2 PTN-M5P40*2
B E(Weight) 709 959 200g

c=G m



B3y |, A

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd ydIND

T HE W
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

07

TEIEENR T-shaped Fixing Plate wgsrzeiem) (Kit With Screws Option)

i NFIRETEHESHESIIT 0 BUSSFP-T2550T £57.Y00644-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SFP-T2550T Part number 7.Y00644-T.

A

) ©)
i &)
2 (PN) 7.Y00644 7.Y00645 7.Y00646
= (Model) SFP-T2550 SFP-T25100 SFP-T40120
A(mm) 25 25 40
B(mm) 50 100 120
C(mm) 25 25 90
D(mm) - 25 -
E(mm) - 25 -
F(mm) 25 25 40
G(mm) 12.5 12.5 15
H(mm) 75 75 110
T(mm) 3 3 3
PEP2510 N V _
PEP2518 v N _
PEP2525 N V _
PEP5025 Vv N _
PEP4040 = - y
82 £T 156 B2 14 Accessorier selection
BR%2 (Screws) PTC-M5L12*4 PTC-M5L12*6  PTC-M5L12*4
WSy single hole shim) PTS-M5*4 PTS-M5%6 PTS-M5*4
TEURET-Nuts) PTN-M5P25%2  PTN-M5P25*3 L1 Mor a0

PTN-M5P90*1
REEWeight) 959 145g 2509

AS°EREMR  45° Fixing Plate @@s1&#i%8) (Kit With Screws Option)

i ANFIREIEM R SMBSIT W0 BSSFP-50T £357.Y00636-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SFP-50T Part number 7.Y00636-T.

40

12.50 25

50

£S5 (PN) 7.Y00636
#lS(Model) SFP-50
QC-G... QC-G50
EE(T) 3mm

18 £7 1% BC 14 Accessorier selection
BRZ%(Screws) PTC-M5L12*4
Wﬁ$ﬁ(smgle hole shim) PTS-M5*4
TEUMREHT-Nuts) PTN-M5P25%2
B EWeight) 100g

CG

12.50



AIEATRAERMIEREIR Fixing Plate With Adjustable Angle @gs&#1%m) (Kit With Screws Option)

TSI EM R SMESIT W0 BSSFP-A60T £857.Y00637-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SFP-A60T Part number 7.YO0637-T. % g
il 2
Rr=E B =
o
| Js | e
Zms
) — amn s
£S5 (PN) 7.YO0637 7.Y00638 7.Y00639 {—cL‘ 8
#E(Model) SFP-A60 SFP-A90 SFP-A70 A
A(mm) 60 90 70
B(mm) 85 95 100 ’H&‘E’_
C(mm) 40 60 50 2
D(mm) 10 15 10 =
E(mm) 40 50 40 3
F(mm) 12.5 12.5 20 )
G(mm) 76 86 90
H(mm) 12.5 12.5 20 *xe
L(mm) 25 25 40 %%
M(mm) 30° 30° 27° He
T(mm) 3 3 3 @
PEP2510 v v -
PEP2518 v v -
PEP2525 v v -
PEP5025 v v - s>
PEP4040 = = v @%
28 5T 355 BC 14 Accessorier selection %§
B2 (Screws) PTC-M5L12*4 PTC-M5L12*5 PTC-M5L12*4 Zh
TS Ey Single hole shim) PTS-M5*4 PTS-M5*5 PTS-M5*4
) o PTN-M5P50*1 PTN-M5P40*1
TRUREHT-Nuts) PTN-M5p4072 PTN-M5P60*1 PTN-M5P50*1
PTN-M5*1 Hs
R EEE(Weight) 130g 215¢g 1759 EE§
I ZE
r I {L-F%
g
® M
- %3
® ’ E
&
3 2
iy S
12.50 25 3 g
50
5 (PN) 7.Y00640
A= (Model) SFP-A50
QC-G... QC-G50
EE(T) 3mm

2 £T 1% BC {4 Accessorier selection

BRLZ (Screws) PTC-M5L12*4
XnyISF@(Single hole shim) PTS-M5*4
TEUZE(T-Nuts) PTN-M5P25%2
BB E(Weight) 115¢g

c=G m



+FEIEEHE  Cross Mounting Bracket For Profiles wgsre#ss)
T MBIRETEM SR SMAESMT N B1ESMBA-1818T £57.Y00290-T

(Kit With Screws Option)

ggg Note: If screw kits needed, add T to the part number and model number. eg: Model SMBA-1818T Part number 7.Y00290-T
ﬂf;; o
=
&
, el ll=ite :
E QRS
2H§
e
#ag
Q
SMBA-2525 SMBA-4040
%9
EU
gE PEP2525——
e PEP4040 ——
52z £RE(PN) #E(Model) C PEP1818 PEP2510 PEP2518 PEP2525 PEP5025 PEP4040 PEP3030
gg 7.Y00290 SMBA-1818 18 18 2 38 38 v
ﬁ?’j 7.Y00291 SMBA-1825 18 25 4 38 45 v v v v
7.Y00245 SMBA-2020 20 20 4 50 50
7.Y0O0194 SMBA-2525 25 25 4 50 50 v v v v
7.Y00193 SMBA-3030 30 30 4 50 50 v
7.YO0011 SMBA-5050 50 50 4 70 70 v
Hs 7.Y00292 SMBA-2550 25 50 4 70 70 v vV v vV
zs2 7.Y00246 SMBA-4040 40 40 4 60 60 v
283 7.Y00355 SMBA-8080 80 80 4 100 100
1¢§ 7.Y00293 SMBA-4080 40 80 4 60 100 v
s 7.Y00294 SMBA-2580 25 80 4 45 100 vV Ni N
7.Y00356 SMBA-2540 25 40 4 45 60 v v v v v
7.Y00690 SMBA-3025 30 25 4 50 50 N
B Z 12 £7 1% B {4 Accessorier selection
3 BE g WA T TEZE MER
S (Model) (Screws) (Single hole shim) (T-Nuts) (Weight)
2 SMBA-1818 PTC-M5L12*4 PTS-M5*4 PTN-M5P28%*2 469
-g SMBA-1825 PTC-M5L14*4 PTS-M5*4 PTN-M5P28%1,PTN-M5P35*1 60g
2 SMBA-2020 PTC-M5L14*4 PTS-M5*4 PTN-M5P40*2 759
Z SMBA-2525 PTC-M5L14*4 PTS-M5*4 PTN-M5P40*2 759
SMBA-3030 PTC-M5L14*4 PTS-M5*4 PTN-M5P40*2 749
SMBA-5050 PTC-M5L14*8 PTS-M5*8 PTN-M5P60*4 1709
SMBA-2550 PTC-M5L14*6 PTS-M5*6 PTN-M5P60*3 1559
SMBA-4040 PTC-M5L16*4 PTS-M5*4 PTN-M5P50*2 859
SMBA-8080 PTC-M5L16*8 PTS-M5*8 PTN-M5P90*4 255¢g
SMBA-4080 PTC-M5L16*6 PTS-M5%6 PTN-M5P50%2,PTN-M5P90*1 1759
SMBA-2580 PTC-M5L14*2 16*4 PTS-M5*6 PTN-M5P35*2, PTN-M5P90*1 1409
SMBA-2540 PTC-M5L14*2 16*2 PTS-M5*4 PTN-M5P35*1,PTN-M5P50*1 489
SMBA-3025 PTC-M5L14*4 PTS-M5*4 PTN-M5P40*2 479

@ c=c



IR X E i

Cross (Square) Joint Connector @zs1&=#5%#) (Kit With Screws Option)

i BRI EM RSB ST wW: B2SSMBB-1818T

5E27.Y00295-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMBB-1818T Part number 7.Y00295-T AU g
7=
E -
. . ik
[ 1 &2
g
AN LA
\ (N
Ky R O
<
K& 5]
Pany Vany s
Ky I N ﬁ\ |s
N =2
= BIFFHME Outside pa=| g2
BIFFA & inside =, _5—| %
Pany N
Y 7Y
'H&Q
23
SMBB-2525 a)
g
SMBB-2525 PEP2525
%2
— PEP3636 Az
PEP2525—— hg
S (PN) 7.Y00295 7.Y00817 7.YO0012 7.Y00339 7.Y00340 7.Y00163 -5
FE(Model) SMBB-1818 SMBB-1825 SMBB-2525 SMBB-5025 SMBB-2550 SMBB-3030 g;
A(mm) 18 18 25 50 25 30 BT
B(mm) 18 25 25 25 50 30 VAR
C(mm) 25 25 32 57 33 38
D(mm) 38 45 45 45 70 50
E(mm) 12 12 12 12 12 12
. PEP1818 PEP1818 - - = =
) |
M E Inside _ - PEP2525 PEP5025 PEP5025 PEP3030 %§
PEP2510 PEP2510 PEP2510 PEP2510 PEP2510 EEE
PEP2518 PEP2518 PEP2518 - - e
BIfF4ME Outside PEP2525 PEP2525 PEP2525 PEP2525 PEP2525 g
PEP5025 PEP5025 PEP5025 PEP5025 PEP5025 o
PEP4040 PEP4040 PEP4040 PEP4040 PEP4040
PEP3030 PEP3030 PEP3030 PEP3030 PEP3030 PEP3030
18 £7 3% BC 14 Accessorier selection 5 >
BB 4% (Screws) PTC-M5L25*2 PTC-M5L25*2 PTC-M5L35*2 PTC-M5L60*2 PTC-M5L35*2 PTC-M5L40*2 {¢§
WS Hy(single hole shim)  PTS-M5*2 PTS-M5*2 PTS-M5*2 PTS-M5*2 PTS-M5*2 PTS-M5*2 S
TEUIREF(T-Nuts) PTN-M5P28*1 PTN-M5P35*1 PTN-M5P35*1 PTN-M5P35*1 PTN-M5P60*1 PTN-M5P40*1 A
REEWeight) 369 429 45¢g 659 50g 51g _%
o

c=G



AR R B ERE Y Cross (Square) Joint Connector  ugsy=@isee (Kit With Screws Option)
T NEREIEEERSNESIHIT 0 B8SSMBC-1025T £57.Y00296-T

ggg Note: If screw kits needed, add T to the part number and model number. eg: Model SMBC-1025T Part number 7.Y00296-T
7=
ﬂg B E
B
g ]
O
s - 1 ==
s o
Eg T T : I
2H§ I |
= [ |
BMHNE
Outside
Hho
]
e FGA-25-HT1-60
8 FGA-43-HT1-60
s VMO02-G18
*Q
E-E
g3 VM24-G18
He SEAV-G1820L78
SVE-G181440
—— PEP2525
e SMBC-1432
#lz —— SMBC-2038
B
7% PEP2525
%2 (PN) 7.Y00296 7.Y00297 7.Y00013 7.Y00226 7.Y00225
Bs A= (Model) SMBC-1025 SMBC-1432 SMBC-2038 SMBC-3050 SMBC-5070
= A(mm) @10 @14 @20 @30 @50
EE B(mm) 25 32 38 50 70
#5  cimm) 18 22 25 34.5 56
< D(mm) 6.5 9.25 12.5 17.5 28
E(mm) 10 12 15 20 25
PEP1818 PEP1818 PEP1818 PEP1818 PEP1818
PEP2510 PEP2510 PEP2510 PEP2510 PEP2510
B & . PEP2518 PEP2518 - - -
2 J Outside
#g HH5HE Outsi PEP2525 PEP2525 PEP2525 PEP2525 PEP2525
2 PEP5025 PEP5025 PEP5025 PEP5025 PEP5025
g PEP4040 PEP4040 PEP4040 PEP4040 PEP4040
3 PEP3030 PEP3030 PEP3030 PEP3030 PEP3030
§ 18 £7 1% B {4 Accessorier selection
@ B4 (screws) PTC-M5L20%2 PTC-M5L22*2 PTC-M5L25%2 PTC-M5L35%2 PTC-M5L50%2
S HYsingle hole shim)  PTS-M5*%2 PTS-M5*2 PTS-M5*2 PTS-M5*2 PTS-M5*2
TEUBEFT-Nuts) PTN-M5P17*1 PTN-M5P22*1 PTN-M5P28*1 PTN-M5P40*1 PTN-M5P60*1
BB (Weight) 159 32g 45g 759 1509

N CRG



EERMIEREE  Vertical Fastening Of The Profiles  ugsrzptiem) (Kit With Screws Option)

T NFRETEMESMESHT W B8SSMBD-2550T #557.Y00227-T
Note: If screw kits needed, add T to the part number and model number. eg: Model SMBD-2550T Part number 7.Y00227-T

B

MRSS . HE
agnL SNS . 3]1401d

14

A 14

HEE o
S|NPOA SIUdIS

©
M
©

|
¢ @ - — RO
c Tﬁi
A o
%2
E_-B
g
e
PEP5025
= >
————SMBD-5070 g%
SMBD-5070 BS
e
PEP2525 PEP5025
=
£5(PN) 7.Y00227 7.Y00228 e
A2 (Model) SMBD-2550 SMBD-5070 =z
A(mm) 25 50 e
B(mm) 50 70 ®
C(mm) 17.5 42.5
PEP2525 v v
PEP5025 v v W
188 £ 1% B {4 Accessorier selection 13
B 24 (screws) PTC-M5L12*%6 PTC-M5L12*6 8
I F Zusingle hole shim) PTS-M5*2 PTS-M5*2 o
TEIEE(T-Nuts) PTN-M5P40*1 PTN-M5P60*1 3
HE B (Weight) 659 859 %

.



B3y |, A

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd ydIND

T HE W
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

13

BIstiEEE  Profiles Connector (R&#gi7EM) (Notincluding Kit With Screws)

C

)

® @ & &

o O O O O el

D | D D | D

A
PEP2525 PEP2525
SMBD2-7625 SMBD2-12025

52(PN) 7.Y00426 7.Y00427 7.Y00428 7.Y00429 ATIZED 7.Y00431
RIZ2(Model)  SMBD2-7625 SMBD2-12025 SMBD2-13025 SMBD2-7650 SMBD2-12050 SMBD2-13050
A(mm) 76 120 130 76 120 130
B(mm) 25 25 25 50 50 50
C(mm) 25 25 25 25 25 25
D(mm) 28 28 28 53 53 53
E(mm) 104 148 158 104 148 158
T(mm) 2 2 2 2 2 2
PEP2525 v v v - - -
PEP5025 - - 2 N v v
BB EWeight) 509 60g 659 759 100g 110g

BUMEOESZZE  Angle Bracket For Profiles — (257%¢#®) (Kit With Screws Option)

T NEIRETEHERSMESIT N B25SMBD3-2525T £57.Y00812-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMBD3-2525T Part number 7.Y00812-T

D%

AR
oo

£5S(PN) 7.Y00812 7.Y00813 7.Y00814 7.Y00815 N

5 (Model) SMBD3-2525 SMBD3-2550 SMBD3-4040 SMBD3 4080

A(mm) 28 28 50

B(mm) 18 40 22 70

C(mm) - 25 - 40

D(mm) @5.2 @5.2 6.2 6.2

E(mm) 9 7.5 11 15 ]

T(mm) 3.2 3.2 6.2 6.2 i
PEP1818 T

, PEP2510 PEP4040

BUtg PEP2518 PEP2550 PEP4080 PEP4080 . /
PEP2525 é/

12 £7 3% B 14 Accessorier selection j}*
$R%4(Screws) PTC-M5L12*2 PTC-M5L12*4 PTC-M6L14*2 PTC-M6L14*4 ‘
TGS PTS-M5*2 PTS-M5*4 PTS-M6*2 PTS-M6*4 !
TEYEEH(T-Nuts) PTN-M5%*2 PTN-M5*4 PTN-M6*2 PTN-M6*4
BER(Weight) 269 53¢ 52¢g 1049

CRG



SFEEIEZES  Flat Straight Connector  @g7&#i8) (Kit With Screws Option)
T NBIRETEA SR STNESINT w0 B8 85SMBE-1010T £57.Y00300-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMBE-1010T Part number 7.YO0300-T ggg
] 5 ms
< Mme
J ﬁg
' &
| ®%
| SEE
e oA s
—g
T w °
N - Y, o
= F s
9
%
SMBE-2022 SMBE-2022 ég
By
e
PEP4040 PEP4040 ”
=z
#lz
83
72
7.Y00300 7.Y00301 7.YO0775 7.YO0864 7.Y00302 7.YO0014 7.Y00304
#E(Model) SMBE-1010 SMBE-1014 SMBE-1210 SMBE-1214 SMBE-1414 SMBE-2014 SMBE-2022
A(mm) @210 @10 212 @12 214 @20 @20
B(mm) 10 14 10 14 14 14 22 B
C(mm) 43 49 43 50 51.50 57 73.50 e
D(mm) 20 20 20.5 20.5 25 30 30 {4:5
E(mm) 38 44 38 45 46 51.5 68 3
F(mm) 16 16 16 16 20 25 25 >
G(mm) 4.5 4.5 4.5 4.5 6 6 6
H(mm) 18 25 18 25 25 25 40
L(mm) 8 8 8 8 12 12 12 B 2
M(mm) 8 8 8 8 10 15 15 Ho
N(mm) @4.2 4.2 @4.2 4.2 @5.2 @5.2 @5.2 8
PEP1818 vV - vV - - - - E‘
PEP2510 - v - v v v - Ei
PEP2518 - v - - v v = S
PEP2525 - v - - v v - 2
PEP5025 - v - - v v -
PEP4040 - - - - - - v
12 £7 1% BC 14 Accessorier selection
24 (screws) PTC-M4L14*2 PTC-M4L14*2 PTC-M4L14*3 PTC-M4L14*3 PTC-M5L16*2 PTC-M5L16*2 PTC-M5L16*2
PTC-M4L12*1 PTC-M4L12*1 - - PTC-M5L14*1 PTC-M5L14*1 PTC-M5L14*1
TREFE singetoesiin) PTS-M4*3 PTS-M4*3 PTS-M4*3 PTS-M4*3 PTS-M5*3 PTS-M5*3 PTS-M5*3
TERUESBT-Nuts)  PTN-M4P8*1 PTN-M4P8*1 PTN-M4P8*1 PTN-M4P8*1 PTN-M5P10*1 PTN-M5P15*1 PTN-M5P15*1
WMILFE PabendessimPTD-M4P8*1  PTD-M4P8*1 PTD-M4P8*1 PTD-M4P8*1 PTD-M5P10*1 PTD-M5P15*1 PTD-M5P15*1
SEE(Weight) 20g 21g 229 10g 349 459 48¢g

.




EESZZE Mounting Bracket (BfTE#%E) (Kit With Screws Option)
S ANEIRETE R SMASINT 4 BVESMBE1-0840T £457.Y00694-T

g Note: If screw kits needed, add T to the part number and model number. eg: Model SMBE1-0840T Part number 7.Y00694-T
%o
Sl
g D
o [a)
=T
N
J
Y,
= =
gﬁg_ o
o c ‘
#’a
2
& FGA-25-HT1-60
VMO02-G18
%2
= FR2 E
%&g G 0-95
— VFR1421-G18
SEA-1414L80——
— SEAH-2020L50
5z }
#Hz SMBE1-1440
BUT
7
SMBE1-2060
RS (PN) 7.Y00694 7.Y00201 7.Y00695 7.Y00200 7.YO0199 7.YO0015 7.Y00724
%§ BlS(Model) SMBE1-0840 SMBE1-1040 SMBE1-1240 SMBE1-1440 SMBE1-1450 SMBE1-2060 SMBE1-3060
?ﬁg A(mm) @8 @10 @12 214 214 @20 @30
fiz B(mm) 40 40 40 40 50 60 60
g C(mm) 75 75 75 80.50 90.50 110.50 120.50
® D(mm) 20 20 20 25 25 30 40
E(mm) 70 70 70 75 85 105 115
F(mm) 16 16 16 20 20 25 35
B 2 G(mm) 4.5 4.5 4.5 6 6 6 8
73 L(mm) 8 8 8 12 12 12 12
S M(mm) 8 8 8 10 10 15 22
E N(mm) 4.2 4.2 4.2 @5.2 @5.2 @5.2 @5.2
3 PEP1818 v v v v v v v
g PEP2510 v v v v v J v
2 PEP2518 v v v v v v v
PEP2525 v v v v v v v
PEP5025 v v v v v v v
PEP4040 - - - v v v v
PEP3030 v v v v v v v

18 £7 1% B 14 Accessorier selection
PTC-M4L14*2 PTC-M4L14*2 PTC-M4L14*2 PTC-M5L16*2 PTC-M5L16*2 PTC-M5L16*2 PTC-M5L18*2
PTC-M4L12*1 PTC-M4L12*1 PTC-M4L12*1 PTC-M5L12*1 PTC-M5L12*1 PTC-M5L14*1 PTC-M5L20*1
S singleholeshim - PTS-M4*3 PTS-M4*3 PTS-M4*3 PTS-M5*3 PTS-M5*3 PTS-M5*3 PTS-M5*3
TRURET-Nuts) PTN-M4P8*1 PTN-M4P8*1 PTN-M4P8*1 PTN-M5P10*1 PTN-M5P10*1 PTN-M5P15*1 PTN-M5P22*1
TFLFE Ooubenoesshim) PTD-M4P8%1  PTD-M4P8*1 PTD-M4P8*1 PTD-M5P10*1 PTD-M5P10*1 PTD-M5P15*1 PTD-M5P22*1
B R Weight) 139 239 129 389 409 559 95¢g

B2 4% (Screws)

By CRG



BREE SR

Heavy Duty Mounting Bracket (2fJE&f#iR) (Kit With Screws Option)

i FIRETEMRSFESMT W 28SSMBE2-1040T £57.Y00725-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMBE2-1040T Part number 7.YO0725-T ggg
o CE
| 5 | M|
&S on
\_| | =2
o
o © }] ’
3 [T
¢ © )
1% 2
D = Hs
E
RO
]a
2
2
SCE-NR30 ®
—GN2010-8
E3)
NR30-P E_'c
HE
"
—SMBE2-2060 5
—SMBE2-2060 =z
BE
e
55 (PN) 7.Y00725 7.YO00777 7.Y00307 7.Y00308 7.Y00309
B E(Model) SMBE2-1040 SMBE2-1240 SMBE2-1450 SMBE2-2060 SMBE2-3060 -
A(mm) @10 @12 214 220 @30 %5
B(mm) 40 40 50 60 60 ‘53
C(mm) 75 75 91 111 122 =
D(mm) 20 20.5 25 30 42 §
E(mm) 70 70 85 105 115
F(mm) 16 16 20 25 35
L(mm) 8.3 8.3 12 15 20
M(mm) 8 8 10 15 22 B %
N(mm) ?4.2 @4.2 @5.2 @5.2 @5.2 e
18 £7 3% B 14 Accessorier selection E
B4 (screws) PTC-M4L18*2 PTC-M4L18*2 PTC-M5L22*2 PTC-M5L25%*2 PTC-M5L30*2 9
T PTC-M4L12*1 PTC-M4L12*1 PTC-M5L14*1 PTC-M5L16*1 PTC-M6L20*1 -g
- * - * - * _ * _ * =1
SR £ Single hole shim) PTS-M4*3 PTS-M4*3 PTS-M5*3 PTS-M5*3 Elg_mg*i g
TEUIREF(T-Nuts) PTN-M4P8*1 PTN-M4P8*1 PTN-M5P10*1 PTN-M5P15*1 PTN-M5P22*1
WFLFEH#(Double holes shim)  PTD-M4P8*1 PTD-M4P8*1 PTD-M5P10*1 PTD-M5P15*1 PTD-M5P22*1
B B Weight) 309 40g 609 859 1759

.




WERKATERETEZZE Heavy Duty Fixing Bracket With Ball Joint (85T&##15%) (Kit With Screws Option)

T TR EM R SEST a0 BBSSMBES-1040T £857.Y02014-T
Note: If screw kits needed, add T to the part number and model number. eg: Model SMBE8-1040T Part number 7.Y02014-T
C

B3y |, A

aqnL SNS . 3|1404d
e

\L/
N

HEE A 0t

3|NPOIA SIUdIS
K

S
J9bueyd ydIND
m

%o — GRT20A-C
EU
g3
1¢§ ————GN2010-8
——— SEAH-2020L100
5z
&z
3
BE
SMBE8-2060 ———
SMBE8-2060 ———
BHS
z=2
E HE(PN) 7.Y02014 7.Y02015 7.Y02012
= AE=(Model) SMBE8-1050 SMBES-1460 SMBE8-2060
£ A(mm) 210 014 220
B(mm) 50 60 35
C(mm) 89.5 111.5 121.8
D(mm) 25 31 42
B & E(mm) 85 105 115
L F(mm) 20 25 35
s G(mm) 0-26° 0-26° 0-26°
5 L(mm) 8.3 12 15
g M(mm) 10 15 22
2 182 £T 5% BC 14 Accessorier selection
& PTC-M4L18*2 PTC-M5L22*2 PTC-M5L25*2

17

ﬂ?ﬁ(Screws)

PTC-M4L12*1

PTC-M5L14*1

PTC-M5L16*1

-M4* “M5* PTS-M5*
T #Y(single hole shim) IBAIEAE PTS-M5*3 5-M5%3
TEYUREH(T-Nuts) PTN-M4P8*1 PTN-M5P10*1 PTN-M5P15*1
TR, SFE(Double holes shim) PTD-M4P8*1 PTD-M5P10*1 PTD-M5P15%1
B EE(Weight) 859 130g 170g

C=RG



AETEEEME Slotted Angular Bracket @257&#%#) (Kit With Screws Option)
i NFRTEHSRSFESIT 0 28SSMBE3-1020T #57.Y00341-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMBE3-1020T Part number 7.Y00341-T AU g
1z < "z
B M
I ﬁﬂ
— T
w o - - =
_ s
e e 5t
12
: h
o -
D BRe
®y
g
FGA-43-HT1-60—— )
VM24-G18 *Q
E_'c
53
He
VFET2026-G18 ——— GFR20-95
PEP2525
SMBE3-2040 \ SMBE3-2040 e
WMz
L]
PEP2525 ok
££2(PN) 7.Y00341 7.Y00795 7.Y00342 YAZEYE) 7.Y02009 7.Y00344
A= (Model) SMBE3-1020  SMBE3-1220  SMBE3-1430  SMBE3-2040  SMBE3-2060+*~SMBE3-3050 K5
A(mm) @10 @12 @14 @20 @20 @30 fﬁ%
B(mm) 20 20 30 40 60 50 pres
C(mm) 23 23 31 39 68 50 g
D(mm) 14 14 17 22 22 28 >
E(mm) 64.5 65.50 85 107 146 135.50
F(mm) 16 16 25 25 25 36
G(mm) 8 8 15 15 15 22 .
H(mm) 4.2 4.2 5.2 5.2 5.2 5.2 i
I(mm) - - 15 15 15 22 2
L(mm) 15 15 21 26 36 31 <
M(mm) 16 16 20 25 25 36 §
N(mm) - - 5.2 @5.2 5.2 5.2 ]
P(mm) 9 9 11 13 13 16 3
18 £T 5% B 14 Accessorier selection ¢
s PTC-M4L18*2 PTC-M4L18*2 PTC-M5L20*4 PTC-M5L22*2 PTC-M5L22*2  PTC-M5L25%2
RE=erens) PTC-M4L16*2 PTC-M4L16*2 = PTC-M5L25%*2  PTC-M5L25*2  PTC-M5L35%*2
ST single hole shim) ~ PTS-M4*4 PTS-M4*4 PTS-M5*4 PTS-M5*4 PTS-M5*4 PTS-M5*%4
TEUBRHT-Nuts) PTN-M4P8*1  PTN-M4P8*1 PTN-M5P15*1 PTN-M5P15*1 PTN-M5P15*%1 PTN-M5P22*1
SFLFHDouble holesshim) ~ PTD-M4P8*1  PTD-M4P8*1  PTD-M5P15*1  PTD-M5P15*1 PTD-M5P15*1 PTD-M5P22*1
REE(Weight) 30g 35g 50g 90g 1179 1859

.



B3y |, A

aqnL SNS . 3|1404d

i

SESE
3|Npo 51Ua1S

J9bueyd ydIND

T HE W
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

sjuauodw o) A10ssa20Y

19

EESZE Mounting Bracket

({2ETEH%ED) (Kit With Screws Option)

i ERSTEMRSHESINT W 28SSMBE4-1412T £57.Y00224-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMBE4-1412T Part number 7.Y00224-T

GFA30-35

SMBE4-3012 \

PEP2525——

FGA-25-HT1-60 ——
VM02-G18 ——

VFEN2026-G18

SMBE4-2012

PEP2525——

2E(PN) 7.Y00224 7.Y00223 7.Y00181 7.Y00222 7.Y00221
IS (Model) SMBE4-1412 SMBE4-2012 SMBE4-2020 SMBE4-3012 SMBE4-3020
A(mm) 214 @20 @20 230 @30
B(mm) 25 32 35 40 45
C(mm) 40 45 54.5 55 65.5
D(mm) 22 24.5 33 29.5 39
E(mm) 12.5 12.5 20 12.5 20
F(mm) 19.5 24.5 26.5 34.5 37.5
G(mm) 25 30 35 30 40
H(mm) 15 22 25 30 35
PEP1818 v v - v -
PEP2510 v v - v -
PEP2518 v v - v -
PEP2525 v v - v -
PEP5025 v v - v -
PEP4040 - - v - v
18 £T 1% B 14 Accessorier selection
B84 (screws) PTC-M5L14*2 PTC-M5L16*2 PTC-M5L16*2 PTC-M5L16*2 PTC-M5L16*2
T PTC-M5L25*1 PTC-M5L30*1 PTC-M5L30*1 PTC-M5L35*1 PTC-M5L40*1
W H(single hole shim) PTS-M5*3 PTS-M5*3 PTS-M5*3 PTS-M5*3 PTS-M5*3
TRUBFHT-Nuts) PTN-M5P15*1 PTN-M5P22*1 PTN-M5P25*1 PTN-M5P30*1 PTN-M5P35*1
PTN-M5*1 PTN-M5*1 PTN-M5*1 PTN-M5*1 PTN-M5*1
R EE B (Weight) 50g 70g 959 90g 1509

C=RG



FEESZE Mounting Bracket @4&#%#E) (Kit With Screws Option)
IR EM SR EMBEMT W ESMBES-G1840T #£££7.Y00310-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMBE5-G1840T Part number 7.Y0O0310-T %g
E B .
=
C IOy,
()]
7
Y <
® . EE
- 2
H2
:T “
:r;&ﬂsj
GBD18HD — GFR14-95 2
g
%2
SMBE5-M1240 — SMBE>-M1240 A<
g2
PEP2525 —  PEP2525 o
5 (PN) 5 (Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) M(mm) N(mm) ZE&£(Weight) 52
7.Y00310 SMBE5-G1840 G1/8 40 75 20 19 6 10 5.2 259 Ej]%
7.Y00311 SMBE5-G1860 G1/8 60 105 25 26.5 6 15 @5.2 42g %§
7.Y00312 SMBE5-M1040 M10x1 40 75 20 19 6 10 @5.2 30g J1s
7.Y00313 SMBE5-M1060 M10x1 60 105 25 26.5 6 15 @5.2 409
7.Y00314 SMBE5-M1240 M12x1 40 75 20 19 6 10 @5.2 30g
7.YO0315 SMBE5-M1260 M12x1 60 105 25 26.5 6 15 @5.2 47¢g
7.Y00316 SMBE5-M1440 M14x1 40 75 20 19 6 10 @5.2 20g -
7.Y00317 SMBE5-M1460 M14x1 60 105 25 26.5 6 15 @5.2 409 %5
7.Y00320 SMBE5-M1640 M16x1 40 75 20 19 6 10 @5.2 209 e
7.Y00321 SMBE5-M1660 M16x1 60 105 25 26.5 6 15 @5.2 409 ﬁ=§
7.Y00322 SMBE5-M2040 M20x1 40 75 25 16.5 6 15 @5.2 30g g
7.Y00323 SMBE5-M2060 M20x1 60 105 25 26.5 6 15 @5.2 35¢g ®
928 £7 1% BC 14 Accessorier selection
% Bt — Accessorier selection 1 M‘.T>
B2 screws) PTC-M5L16*2 SMBE5-G1840, SMBE5-M1040, 3
yﬂilflqz@(smgle hole shim) PTS-M5*2 3
TEUZE T-Nuts) PTN-M5P10*1 SMBE5-M1240, SMBE5-M1440, 5
SFLFHuDouble holesshim) ~ PTD-M5P10*1 SMBE5-M1640 3
1% FE — Accessorier selection 2 @
IR (screws) PTC-M5L16*2 SMBE5-G1860, SMBE5-M1060, SMBE5-M1260,
Xﬂbﬁ$@(smgle hole shim) PTS-M5*2
TEUEE T-Nuts) PTN-M5P15*1 SMBE5-M1460, SMBE5-M1660, SMBE5-M2040,
SFLFHY Double holesshim) ~ PTD-M5P15*1 SMBE5-M2060

CRG )



EESZE Mounting Bracket (JBETEMEES) (Kit With Screws Option)
E NERETEM R SFNELS T 0 BSSMBE6-1040T £557.Y00357-T

128 £7 1% BC 14 Accessorier selection
1% EZ— Accessorier selection 1

§2§ Note: If screw kits needed, add T to the part number and model number. eg: Model SMBE6-1040T Part number 7.YO0357-T
ﬂf;;- . ]
e op
g4
g
u “e
-3 g
=
@S g 5 }
© Q-
,H&g:) M F M .
ma D o 25.2
2
g
o SMBE6-1040
VEMT-20M12
%2
B3
HE
e
° VFRS-20M10-M
SMBE6-1228 5-20M10-M5
s> PEP2525 —— PEP2525
iz
S
712
#£E(PN) HEIE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) M(mm) N(mm) ZEZE(Weight)
7.YO0357 SMBE6-1040 ©@10.5 40 100 30 42.5 3 20 38 15 5.2 60g
7.YO0358 SMBE6-1240 @12.5 40 100 30 42.5 3 20 38 15 @5.2 60g
BHs 7.YO0359 SMBE6-1440 @14.5 40 100 30 40.5 3 24 38 15 5.2 60g
E‘ég 7.YO0360 SMBE6-1640 ©@16.5 40 100 30 37.5 3 30 = 15 @5.2 659
ﬁé 7.YO0361 SMBE6-2040 ©20.5 40 100 30 37.5 3 30 - 15 5.2 60g
g 7.YO0362 SMBE6-2240 ©@22.5 40 100 30 35 5 35 = 15 @5.2 1059
B 7.YO0363 SMBE6-2540 ©@25.5 40 100 30 35 5 35 - 15 5.2 1009
7.Y00364 SMBE6-1028 @10.5 28 65 30 15.5 3 = = 15 @5.2 459
7.YO0365 SMBE6-1228 ©@12.5 28 65 30 15.5 3 - - 15 @5.2 459
7.Y00366 SMBE6-1428 ©@14.5 28 65 30 15.5 3 = = 15 @5.2 459
EEE 7.Y00367 SMBE6-1628 ©16.5 28 65 30 15.5 3 - - 15 @5.2 459
% 7.Y00368 SMBE6-2028 ©20.5 28 65 30 15.5 3 = = 15 @5.2 409
i 7.Y00369 SMBE6-2228 ©22.5 28 70 30 18 5 35 - 15 @5.2 759
° 7.YO0370 SMBE6-2528 ©@25.5 28 70 30 18 5 35 = 15 @5.2 709
3
o

244 (Screws) PTC-M5L12*2 SMBE6-1040, SMBE6-1240, SMBE6-1440
S5 T Y single hole shim) PTS-M5*2 SMBE6-1640, SMBE6-2040, SMBE6-1028
TEUZFEHT-Nuts) PTN-M5P15*1 SMBE6-1228, SMBE6-1428, SMBE6-1628
SFLF#Double holes shim) PTD-M5P15*1 SMBE6-2028

1¥6 B — Accessorier selection 2

B2 4% (Screws) PTC-M5L14*2
WA Y (single hole shim) PTS-M5*2 SMBE6-2240, SMBE6-2540
TELIRET-Nuts) PTN-M5P15*1 SMBE6-2228, SMBE6-2528
m}l,qzﬂ(Double holes shim) PTD-M5P15*1

CRRG



SEIZE Cylinder Bracket

B %i
fd:b - =
o o We
 CE— @ &5
g
e 9

| [&]4 51
*Eg
HE2(PN) FIE(Model) A B C D E F HE(Weight) iﬂg
7.Y00062 SMBE7-0856 28 56 10 25 90 6.5 40g =

7.Y00021 SMBE7-1256 212 56 10 25 95 6.5 43¢

7.Y00006 SMBE7-2056 @20 56 10 25 105 6.5 47¢g
SCiHE Side Manifold Block Eg
5
6 o® i 15 c_..D_E__ F_, 15 %
; rTTre

S S =
i - + 0
15 A % é%
53
15, C_,_D_,_E F_._15 He

D0 &
B

52
E(PN) #IE(Model) A B C D E F 8 (Weight) I
7.Y00153  SMB-10M5-02G18 45 90 15 15 15 15 51g 73

7.Y00154  SMB-08M5-02G18 30 75 15 15 15 - 42g

B
5
—= i
© o) —‘\ T T T T T 1 I‘,— - E<
[P eH|\|||||||| =3
1 A 48 3
- % fiz
g
1 C D E F G 1 g
D-O0-0-©-0 -¢

Bt &
53
BE(PN) #IE(Model) A B @ D E F G E&(Weight) ,<9‘
7.YO0157 SMB-06M5 26 34 12 - - - - 10g o
7.Y00156 SMB-08M5 38 46 12 12 - - - 149 3
7.Y00155 SMB-10M5 50 58 12 12 12 : . 189 :
7.Y00167 SMB-14M5 74 82 12 12 12 12 12 26g Z

i=FASEf / Application

APL4-M5 —— — APF-M5
—— APB-M5-06
—— APB-M5-06
APL6-01——

— APF-G18

CRRG Wy



SCimHE Side Manifold Block

(IBETEMH%EED) (Kit With Screws Option)

E: MFIRETEMRSTESIT a0 B28SMB-5G18T £557.Y00229-T

%g Note: If screw kits needed, add T to the part number and model number. eg: Model SMB-5G18T Part number 7.Y00229-T
e
B I
c uf
. @ -,
o
<
%ép @ 5xG1/8
% C
|
'H&‘E’_ G1/8(x5) - @ _Q_
};5 &
-
2 F G
%2
EU
gz
He
SMB-5G18
Sz
éjgg PEP2525
Lk
£35S (PN) 7.Y00229 7.Y01020 7.Y01022
BS S (Model) SMB-5G18 SMB1-5G18 SMB2-5G18
fﬁié A(mm) 25 25 25
e B(mm) 15 15 15
2 C(mm) 15 15 15
5 D(mm) 35 35 35
E(mm) 5 5 5
F(mm) 7.50 7.50 7.50
> G(mm) 12.50 15 20
e H(mm) 20 20 20
2 I(mm)) 35 40 45
i PEP1818 v
g PEP2510 v
'§ PEP2518 v
s PEP2525 v
e PEP5025 v
PEP3030 v
PEP4040 v
B2 £7 355 &L {4 Accessorier selection
B2 2 (screws) PTC-M5L14*1 PTC-M5L14*1 PTC-M5L14*1
XyﬁzF?é’(Single hole shim) PTS-M5*1 PTS-M5*1 PTS-M5*1
TEUEEHT-Nuts) PTN-M5*1 PTN-M5*1 PTN-M5*1
BEEWeight 30g 33g 34g

) CRG



SCimHE Side Manifold Block  @247&#4i%8) (Kit With Screws Option)
7353 EBETEHSSMEENT W B8 ESMB-9G18T £57.Y00231-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMB-9G18T Part number 7.Y00231-T %g
e
3
] 0 [
' ' I e
OO =
A Y . &
OQ m
N
J 9x G1/8
G1/8(x9) c o
]a
2
! 2
| ;Em
- O | ©
HE
He
F G
=z
#lz
1S
e
RE(PN) 7.Y00231 7.Y01021 7.Y01023
FE(Model) SMB-9G18 SMB1-9G18 SMB2-9G18 %§
A(mm) 25 25 25 e
B(mm) 15 15 15 =z
C(mm) 30 30 30 g
D(mm) 35 35 35 o
E(mm) 5.50 5.50 5.50
F(mm) 15 15 15
G(mm) 12.50 15 20 B 2
H(mm) 20 20 20 18
I(mm) 50 55 60 8
J(mm) 15 15 15 o
PEP1818 v 2
PEP2510 v S
PEP2518 v 2
PEP2525 v
PEP5025 v
PEP3030 v
PEP4040 v
12 £T 1% B 14 Accessorier selection
B2 2% (Screws) PTC-M5L14*1 PTC-M5L14*1 PTC-M5L14*1
WG HY(single hole shim) PTS-M5*1 PTS-M5*1 PTS-M5*1
TEUZEEH(T-Nuts) PTN-M5*1 PTN-M5*1 PTN-M5*1
REEWeight 509 529 54g

CRG



B3y |, A

aqnL SNS . 3|1404d

i

3|NPOIA SIUdIS

SR

J9bueyd ydIND

T HE W
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

25

WiBESCHmHAE  Side Manifold Block — @#2§7&#4i%#) (Kit With Screws Option)

i ERSTEMRSHESIT W 28#5SMB-D5G18T £57.Y00230-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMB-D5G18T Part number 7.Y00230-T

F 10x G1/8

G1/8(5+5) | | |
00 ©
F G
SMB-D5G18

PEP2525
BE(PN) 7.Y00230 7.Y01024 7.Y01025
#IE(Model) SMB-D5G18 SMB1-D5G18 SMB2-D5G18
A(mm) 25 25 25
B(mm) 15 15 15
C(mm) 30 30 30
D(mm) 35 35 35
E(mm) 5 5 5
F(mm) 15 15 15
G(mm) 12.50 15 20
H(mm) 20 20 20
I(mm) 50 55 60
PEP1818 v
PEP2510 v
PEP2518 v
PEP2525 v
PEP5025 v
PEP3030 v
PEP4040 v

12 £T 1% B {4 Accessorier selection
BR 2% (Screws) PTC-M5L14*1 PTC-M5L14*1 PTC-M5L14*1
XYJ&:SFQ(SingIe hole shim) PTS-M5*1 PTS-M5*1 PTS-M5*1
TEUREH(T-Nuts) PTN-M5*1 PTN-M5*1 PTN-M5*1
B E(Weight) 48¢g 51g 529
CcRG



ZHALEARAE Manifold Block — (257Z&#5%8) (Kit With Screws Option)

i NERBETEHSRSMESIT W B8ESMB-ASG18T £557.Y00240-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SMB-A5G18T Part number 7.Y00240-T %g
)2 %mm
&
a S
o _ —
SMB-A5G18
PEP2525 %g
(e
£RE5(PN) 7.Y00240 7.Y00241
#E(Model) SMB-A5G18 SMB-A5G14
A(mm) 30 40
B(mm) (x5)G1/8 (x5)G1/4 Hho
C(mm) 18 20 s
D(mm) 24 23 2
12 £7 3% B2 14 Accessorier selection é
BR4% (Screws) PTC-M5L25%*2 PTC-M5L25*2 s
S&ﬁflzﬁ(smgle hole shim) PTS-M5*2 PTS-M5*2
TEUZEHT-Nuts) PTN-M5P28*1 PTN-M5P35*1 %9
REEWeigh 50g 80g B3
A
FEKFF Extension Tube g
],
v WA AN ;o 52
c -
Jle
R85 (PN) #S(Model) A B C D E EE2(Weight)
7.YO0736 SMBY12-50 212 50 12 M10*1 5 99
7.YO0735 SMBY12-100 212 100 12 M10*1 5 179
7.Y00733 SMBY14-50 214 50 12 M12*1 5 10g
7.YO0734 SMBY14-100 214 100 12 M12*1 5 20g §§
7.Y00732 SMBY20-50 @20 50 15 M17*1 8 169 fﬁg
7.YO0731 SMBY20-100 @20 100 15 M17*1 8 31g ﬁ;g
7.Y00462 SMBY20-150 @20 150 15 M17*1 8 479 §.
7.Y01027 SMBY25-100 @25 100 15 M22*1 8 439 o
7.Y00729 SMBY30-50 @30 50 18 M27*1 9 299
7.YO0730 SMBY30-100 @30 100 18 M27*1 9 58g
7.Y00463 SMBY30-150 @30 150 18 M27*1 9 879 W >
TES|SHEKE  Extension tube with air lead s
S
=
E
£55(PN) B E(Model) A B C D E F E&(Weight)
7.Y02063 SMBY-1050M5 M5 @10 a2 45 50 8 7.7¢9
7.Y02064 SMBY-1095M5 M5 @10 @2 90 95 8 16.49
7.Y02065 SMBY-1452G18 G1/8 D14 @4.5 45 52 12 12.69
7.Y02066 SMBY-1497G18 G1/8 214 @4.5 90 97 12 23.8¢g
7.Y02067 SMBY-2053G14 G1/4 020 6.5 45 53 17 27.0g
7.Y02068 SMBY-2098G14 G1/4 @20 6.5 90 98 17 51.99

CRRG i3



. K

MEsS
aqnL sns . alyoid

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd ydIND

ks

a|npo\ diig

i

SHimE

saddiN 11y

FrisHHm

3|NPOIN wnndep

-_3
=
e

sjuauodw o) A10ssa20Y

27

+=&E#EE R Swing Block

HE(PN) BE(Model) A B C D 3 EH&(Weight)
7.Y00048 SMBT4-G1820 220 G1/8 19 14 28 11g
1EEEHR SSW Connector SSW
E ‘
‘ ‘
S>Q7
2 (PN) S (Model) A B C D E F G H EHE(Weight)
7.Y00028 SMBT1-M1412  M14*1 @12 16 16 45 8 25 20 169
171&E¥ER Parallel Connector
E
[a]
@Y Q‘b
O
£BE(PN) AIE(Model) A B @ D E F EE(Weight)
7.Y00042 SMBP-0808 28 28 12 12 35 10 11g
7.YO0043 SMBP-0812 28 212 16 16 43 12 23g
7.Y00044 SMBP-1212 212 @12 16 16 44 14 21g
7.YO0045 SMBP-2012 220 212 25 25 60 18 759
7.Y00046 SMBP-2020 @20 @20 25 25 66 24 719

CRG



+=Fi&E$ER Cross Connector

I

D
B3y | FhE
aqnL SNS . @|1404d

— ol 3‘2?

EF

| zﬁ%

HS(PN) #E(Model) A B C D E & & (Weight) ag

7.Y00025 SMBT-0808 28 28 12 12 35 109 ®
7.Y00026 SMBT-1208 212 28 12 16 43 169
7.Y00020 SMBT-1212 212 212 16 16 47 229
7.Y00794 SMBT-1214 212 214 18 18 48 299

7.Y00027 SMBT-2012 220 212 25 25 59 729 R

7.Y00005 SMBT-2020 @20 @20 25 25 64 689 ﬁ%

E >

g

©

\ 1=hs

e HE

e

% )

@B %l’.
$25(PN) FI5(Model) A B C D 3 H&(Weight) Mz
7.Y01002 SMBT-1414 214 214 18 18 46 259 B3
7.Y00998 SMBT-2520 @25 220 24 29 69 799 713
7.Y00999 SMBT-2525 @25 @25 30 30 78 1149

E

a V- @a '8 %g
l\ © w5
5 =
PA g_
£ ®

© ’r 8

O 1
© K Mz
e e
o
£35(PN) BIE(Model) A B @ D E F EE(Weight) <
7.Y01059 SMBT-4020 240 220 25 45 88 27 101g ]
7.Y01004 SMBT-4025 240 @25 30 45 92 27 107g 3

55 (PN) F5(Model) A B C D E F E&E(Weight)
7.Y01003 SMBT-4040 240 240 45 45 112 112 2599

CRG Wi



MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd ydIND

e

\
4

i

a|npo\ diig

SHimE

saddiN 11y

FrisHHm

3|NPOIN wnndep

-_T3
e

sjuauodw o) A10ssa20Y

29

+=i&EER  Cross Connection Block

55 (PN) #S(Model) A B C D) E EE(Weight)
7.Y00192 SMBT2-1212 @12 @12 33 28 28 119
7.Y00185 SMBT2-2020 220 @20 48 42 42 309
7.Y02020 SMBT2-4040 @40 @40 91 60 60 3939
7.¥Y02021 SMBT2-3030 @30 @30 71 50 50 2529
7.Y02022 SMBT2-2525 @25 @25 60 43 43 1659
7.Y02025 SMBT2-4025 @40 @25 75 60 45 2719
7.Y02026 SMBT2-4020 @40 @20 69 60 40 2349

B85 (PN) #E(Model) A C D) E F €] H I EE(Weight)

7.Y00329 SCD-2010 54 14 210 19 28 19.5 @20 14.50 41g

7.Y00330 SCD-2014 56 18 214 22 28 19.5 @20 16.50 51g

7.Y01049 SCD-3020 75 18 @20 25 35 26 230 20 789

RE(PN) RS (Model) A B C D) E F G H BEE(Weight)

7.Y00233 SCD-2020 61 61 19.5 @20 28 28 19.5 @20 85¢g

7.Y01050 SCD-3030 84 84 26 @30 35 35 26 @30 98g

IEFASLA / Application
FGA-22-HT160
VM18-M5 ~__
—— PAT20
SCD-2010——
—— 5CD-2020
VFR1011-M5——

CRG



+FiEER#2 Cross Connector#2

D C ggg
- - \ \ =
| s
i o G
W IO\ =7
:
®Q?
xg
EE
—— — *Em
A &
HE(PN) AE(Model) A B C D 3 EE(Weight)
7.Y00047 SMBT3-2020 @20 @20 25 78 45 1709
Hho
®y
a
== JF | Y v )
T=8E#EHR T Connector E
%2
. ° B<
53
% e
52>
Hz
535(PN) AIS(Model) A B C ) E F G E&(Weight) %§
7.Y00029 SMBF-0808 08 8 12 20 30 M4 14 149 -
7.Y00030 SMBF-0812 28 212 16 20 30 M4 14 239
7.Y00031 SMBF-1208 212 8 16 26 30 M4 16 199
7.Y00032 SMBF-1212 @12 212 16 26 30 M4 16 189
7.Y00033 SMBF-1220 212 220 25 30 45 M4 20 60g -
7.Y00034 SMBF-2012 220 212 25 40 45 M4 25 639 %5
7.Y00035 SMBF-2020 @20 @20 25 40 45 M4 25 569 ZE
fiz
c 2
B
fas

syusuodwo?) A10ss8d0y

5S(PN) A5 (Model) A B C D) E F G BEE(Weight)
7.Y00036 SMBF1-0808 28 @8 12 28 26 M4 22 15g
7.Y00037 SMBF1-0812 28 212 16 28 30 M4 22 31g
7.Y00038 SMBF1-1208 212 28 16 35 30 M4 25 29¢g
7.Y00003 SMBF1-1212 212 212 16 35 30 M4 25 269
7.Y00039 SMBF1-1220 212 020 25 44 45 M4 34 889
7.Y00040 SMBF1-2012 220 212 25 54 45 M4 39 1119
7.Y00041 SMBF1-2020 220 220 25 51.5 45 M4 39 789

CRG B



. K

U]

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd ydIND

e

\
4

i

SHimE

saddiN 11y

FrisHHm

3|NPOIN wnndep

-_3
=
e

sjuauodw o) A10ssa20Y

a|npo\ diig

fE%EE57 28 Sensor Bracket

25.40

15

s

40

[T

46

5BE(PN)  ElS(Model) E&(Weight)
7.YO00070 SMBJ1-5 99
1.5 y/ 5
e —
fi“@* &%\ —
o I \] I
E 25.40 Y1y
N — =
E ' [
. .
RE(PN) EIE(Model) E&(Weight)
7.YO0071 SMBJ2-6 129
FEZ8 Chuck Bracket
RS (PN) 5 (Model) A B @ D) E F G EE(Weight)
7.Y00072 SMBT5-8 28 M4 25 12 27 22 12 109
7.YO0073 SMBT5-12 212 M4 30 18 30 26 14 199

CRG



28 Bracket

B3y | FhE

3qnL SNS . 3|l404d

=T

HmEmAA

’
m M
m )}
HEE o
S|NPOA SIUdIS

2E(PN) A= (Model) A B C D F & &2(Weight)
7.Y00074 SMBT6-12 212 26.5 16 16 40 30 35g
Mk 713728 Suction Bracket Eg
o
e 5
S
%2
E-B
o ‘ HE
: +
2E(PN) A= (Model) A ) C D E &E&(Weight)
7.Y00057 SMBG1-8M5 o8 M5 12 12 33 99
7.Y00058 SMBG1-8M6 28 M6 10 12 33 9g g?
7.Y00059 SMBG1-12M5 @12 M5 10 16 47 164 A
7.Y00060 SMBG1-12M6 212 M6 10 16 47 169 bk
7.Y00061 SMBG1-12G18 @12 G1/8 16 16 47 25g
BFSZ 28 Slide Bracket
X7 ®O
7 B2
o E@ C /)] LE
| | 283
L B J =z
. 2
7 5
I
o w
H
HE(PN) BIE(Model) A ) C D E F G H &=&(Weight) Eg%’
7.Y00115 SCF1-40M3 M3 40 4.5 12 5 56 10 8 79 g
7.Y00118 SCF1-40G18 G1/8 40 45 12 6 68 16 14 129 <
7.Y00129 SCF1-70M3 M3 70 45 12 5 86 10 8 10g g
7.Y00132 SCF1-70G18 G1/8 70 45 12 6 98 16 14 15g g

v g
55 (PN) HS(Model) A B C D E F G H I BEE(Weight)
7.Y00173 SCF2-40M5 M5 40 M5 12 4.5 4 68 14 14 99
7.Y00117 SCF2-40M6 M6 40 M6 12 4.5 4 68 14 14 10g
7.Y00130 SCF2-70M5 M5 70 M5 12 4.5 4 98 14 14 129
7.Y00131 SCF2-70M6 M6 70 M6 12 4.5 4 98 14 14 139

CRRG EY



23
ms SMZ3#EF 28 Gripper Installation Bracket
e
B9

g

94 ;
—— GMHZ2-165 \{<

o SMBM-16—— |
2 SMBE1-1440T—— -
}Eg SMBY14-50—— o |
Z g_ ‘ s

® —— PEP2525 o

BE(PN) S (Model) A B C D E F (€ H | J E=Z(Weight)

RO 7.Y00740 SMBM-10 @3.2 a5 @2 23 16.4 12 18 14 4 M10*1 5g
s 7.Y00741 SMBM-16 @4.2 6.5 @3 30.6 23.6 15 22 15 5 M12*1 10g

% 7.Y00728 SMBM-20 @5.5 26.5 D4 42 27.6 18 32 15 5 M12*1 149

L{SD 7.YO0739 SMBM-25 @6.5 a7 @5 52 33.6 22 40 18 6 M17*1 279

- 7.Y00738 SMBM-32 6.5 @10 a5 60 40 26 46 18 6 M17*1 369

7.YO0737 SMBM-40 @8.5 216 @5 72 48 32 56 20 8 M27*1 679
%9
g+
|z
ﬁé 2812 BracketL12
g 3

ham 2 S8
JaddiN 11y

< ® AL
< '
34 -

<
%2 #HE(PN) #E(Model) E&(Weight) g 8
ZE 7.Y00081  SMBT9-12 23
iz g
g
28 BracketT
B & g
3 . 3
g § oo —o——-m
P
o
'g 20
g 38
% 38 5
2.M3 20 14 2-M4
RolR> G—
@12/ 24 22,50
48 17
17 15.50 4.50
M4 3
#HS(PN)  ES(Model) F&E(Weight) \ﬂj' ) 4 1D)-
7.Y00082 SMBU-12 21g el e ;
[ <]

5.50

EER CRG



%28 BracketT

32

B3y | FhE

3qnL SNS . 3|l404d

36

36
RS S A X
S|NPOA SIUdIS

S(PN) #ES(Model) =E&(Weight)
7.Y00255 SMBU2-20 499

S SR

Jebueyd yd1nd

28 Bracket TH

12

il oy
a|npo\ diug

22
25

|

l¢§\

27

ham 2 20301

JaddiN 11y

20

12

5S(PN) EZS(Model) Z=&(Weight)
7.Y00085 SMBU3-8 10g

FrisHHm

3|NPON wWnNNdep

26

=

syusuodwo?) A10ss8d0y

| a0

&

B G- b

20
38

RE(PN)  ES(Model) H&E(Weight)
7.Y00086  SMBUA4-12 229

CRG



28 Bracket TH

. K

MRS
aqnL SNS - 3|4o.d
35

38

u :
o o o Red
*Eg 32 e
gﬁg_ 48
5 S (PN)  ZS(Model) EE(Weight)
7.Y00087  SMBU5-20 449
Eg 728 Bracket TV
o
%2
B
[
fe Lo ]
20
sz £55(PN)  &S(Model) ZEE(Weight) #
wz 7.Y00088 SMBU6-8 10g
E;j% 18
712
QL 1 [
BHs < 1 0
ggg 18
‘53 : 3
<
1¢g _
& i S R
%2(PN) ES(Model) EE(Weight) T
By 2 7.Y00089  SMBU7-12 269
e
8
& %8 BracketT
o
[e]

21.50

35

i
e Ho
& & ‘Ar. 3-M4
5 (PN) BE(Model) E=Z(Weight) o o
7.Y00090 SMBU8-20 39¢g
el CRG



EEX2ZE Fixed Bracket

30 25 %g:
{ M
=g 1 1 I R
GRA20A ; T &
g
??
— SMBU9-M10 é%
- Hs
M10X1 %
5E(PN) B S(Model) E&(Weight)
7.Y01051 SMBU9-M10 219
o
=) ®y
228 Bracket 5
Al g
] ]
{ | 1 %Q
o —=- pe=—— E'c
{ ) J s
el e
EE— :
—
A
[ -
‘ uF ‘ #im A-A %o g‘]ﬁg
E 72T
e
8RS (PN) S (Model) A B C D E F E2(Weight)
7.Y00091 SMBK1-8T10 28 10 16 @5.5 30 20 20g
7.Y00092 SMBK1-12T10 212 10 16 @5.5 30 20 149
7.YO0093 SMBK1-20T10 @220 10 27 26.5 40 30 369
7.Y00094 SMBK1-8T16 @8 16 16 6.5 30 20 329 E§
7.Y00095 SMBK1-12T16 212 16 16 @4.5 30 20 209 f’Eg
7.Y00096 SMBK1-20T16 220 16 27 ?6.5 40 30 489 ﬁé
o
Q.
B2 48 Slide Bracket <
>
B 2
o e
8
2
2l 3
- [ ;
7 : 7 ]
= Le
5 (PN) B S (Model) A B C D E F EE(Weight)
7.Y00064 SMBS-8T10 28 10 16 30 M4 20 169
7.Y00065 SMBS-12T10 212 10 16 30 M4 20 159
7.YO0066 SMBS-20T10 220 10 25 40 M6 30 33g
7.YO0067 SMBS-8T16 28 16 16 30 M6 20 299
7.Y00001 SMBS-12T16 212 16 16 30 M6 20 299
7.Y00068 SMBS-20T16 220 16 25 40 M6 30 449

CXRG B



MRS |, X

aqnL SNS - 3|4o.d

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd ydIND

T HE W
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-_3
e

sjuauodw o) A10ssa20Y

37

1BF5S7 28 Slide Bracket

L E.

RE(PN) S (Model) A B C D E F E=2(Weight)
7.YO0119 SCF3-40M10 M10*1 40 16 6.5 5 70 10g
7.Y00120 SCF3-40M12 M12*1 40 16 6.5 5 72 10g
7.Y00121 SCF3-40M17 M17*1 40 25 6.5 5 80 20g
7.Y00133 SCF3-70M10 M10*1 70 16 6.5 5 100 149
7.YO0134 SCF3-70M12 M12*1 70 16 6.5 5 102 149
7.Y00135 SCF3-70M17 M17*1 70 25 6.5 5 110 289
G
h
|
D I E
— ~ %?: O

S %
5S(PN) S (Model) A B C D E F (€] H | EE(Weight)
7.Y00122 SCF4-0840W12 4.5 28 12 40 14 16 70 6 20 149
7.Y00123 SCF4-0840W16 6.5 @8 16 40 14 16 70 6 20 209
7.YO0004 SCF4-1240W16 6.5 @12 16 40 16 16 75 6 25 219
7.Y00124 SCF4-2040W25 6.5 @20 25 40 20 16 86 6 34 39¢g
7.Y00136 SCF4-0870W12 4.5 28 12 70 14 16 100 6 20 189
7.Y00137 SCF4-0870W16 6.5 @8 16 70 14 16 100 6 20 259
7.Y00138 SCF4-1270W16 6.5 212 16 70 16 16 105 6 25 259
7.Y00139 SCF4-2070W25 6.5 @20 25 70 20 16 116 6 34 499

G
W;@I% |
E
ol M R
. | ‘
H
S (PN) 5 (Model) A B C D E F (€] H | E&(Weight)
7.Y00125 SCF5-0840W16 6.5 28 16 40 20 16 14 70 6 209
7.Y00126 SCF5-0840W12 4.5 28 12 40 20 16 14 70 6 159
7.Y00127 SCF5-1240W16 6.5 212 16 40 25 16 16 75 6 20g
7.Y00128 SCF5-2040W25 6.5 @20 25 40 34 25 20 86 6 53¢
7.Y00140 SCF5-0870W16 6.5 @28 16 70 20 16 14 100 6 259
7.Y00141 SCF5-0870W12 4.5 @8 12 70 20 16 14 100 6 199
7.Y00142 SCF5-1270W16 6.5 @12 16 70 25 16 16 105 6 259
7.Y00143 SCF5-2070W25 6.5 @20 25 70 34 25 20 116 6 489
cRG



hE4Es7 28 Rotation Bracket

Fidjed
ZE
O S
S| e
g7
g
H
3z
EE
1% 2
2
[ =
c o
£S5 (PN) A5 (Model) A B @ D E F (€] H BEE(Weight)
7.Y00099 SMBR2-M10 M4 M10 14 14 26.5 11.5 a8 19 69 ko
7.YO0100 SMBR2-M12 M4 M12 16 16 335 13.5 @12 23.5 129 }ﬁ%
0
E
*xe
Bo
g
"
D
-
52
© ° 7
B3
L | IR | ®
v Zh
RS (PN) B E(Model) A B C D E F G H BEE=(Weight)
7.Y00103 SMBR4-0808M4 M4 28 08 12 32.5 11.5 12 17.5 79
7.YOO110 SMBR4-1208M4 M4 @12 @8 16 37.5 11.5 16 21.5 139
7.Y00019 SMBR4-1212M4 M4 012 212 16 39.5 13.5 16 23.5 159 E§
7.Y00268 SMBR4-1212M4L M4 212 @12 16 55 29 16 39 20g EEE
7.Y00461 SMBR4-1420M6 M6 214 @20 25 60 20 25 37 709 ﬁ:é
7.YO0007 SMBR4-2020M6 M6 @20 @20 25 60 20 25 37 599 §_
7.Y00206 SMBR4-2020M6L M6 @20 @20 25 85 45 25 62 81g o
B
%

syusuodwo?) A10ss8d0y

T
B
S (PN) BE(Model) A B @ D E F G BE&E(Weight)
7.YO0111 SMBR5-1208 212 @8 29 14 38 22.5 13.5 249
7.Y00104 SMBR5-0808 @8 @8 29 11.5 36 20 13 169
7.Y00112 SMBR5-1212 @12 212 29 14 38 22.5 13.5 189

CXG L]



BEGESZ 28 Rotation Bracket

o

. K

MEsS
aqnL sns . alyoid

Y

L
.

=z
= |
2: | J |
Y £E(PN) BIE(Model) A B @ D) E F G H | J EE(Weight)
7.YO0113 SMBR7-0808 28 28 16 15 15 25 10 15 21 32.5 13g
7.YO0114 SMBR7-1212 212 212 20 18 18 29 11 18 23 38 189
:|~*KE)
e
o
Lrgn 31
- 13.50 21
3z O —P—
2 :
E Il
He ! !
,., : I R
_ 4, _ + _]
Ll.i b‘\\,\b‘
S
5z | i
=z
B3
J]2
RE(PN) EE(Model) EE&(Weight)
BS 7.YO00063 SMBR-46 31g
283
1¢§

26
20

F=
8
3]
—_|

22
22

sjuauodw o) A10ssa20Y

RE(PN) EE(Model) EE&(Weight)
7.Y00098 SMBR1-12 99

LR CRG



REZEESZE Direct Connector For Vacuum Cup (47&#4i%E) (Kit With Screws Option)
T NI EM R SMEET 0 BUESVA-G18T #557.Y00235-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SVA-G18T Part number 7.Y00235-T AU g
7=
] e
P c
| &2
3
\ w
=%
— |s
1= 2
A5
RO
— — o s
9
! a
) 2
%2
E_-E
HE
e
FGA-43-HT1-60
VM24-G18
PFG-25-SI-55 52z
#lz
83
VM35-M5 72
SVA-G18
—SVA-G18
PEP2525 —  PEP2525
=
H3
fr=
2 (PN) 7.Y00235 7.Y00237 §
A5 (Model) SVA-G18 SVA-G14
A(mm) G1/8 G1/4
B(mm) G1/8 G1/8
C(mm) 15 15 l}ﬁﬁ
D(mm) 24 24 e
E(mm) 12 10 S
PEP2518 v v o
PEP2525 v v 3
PEP5025 v v §
PEP4040 v v @
PEP3030 v v
12 £T 1% BC 14 Accessorier selection
BB 2% (Screws) PTC-M5L16*2 PTC-M5L16*2
SNy Single hole shim) PTS-M5*2 PTS-M5*2
TEUZEHT-Nuts) PTN-M5P30*1 PTN-M5P30*1
BB EWeight) 429 409

CRG )



Of &2 Bl i 52 28

Direct Connector For Vacuum Cup

(BETEHi%HES) (Kit With Screws Option)

T NERETEMRSMESIT W BAESVB-M5T £5E7.Y00242-T

pit Note: If screw kits needed, add T to the part number and model number. eg: Model SVB-M5T Part number 7.Y00242-T
o
CE ;
il
o —
oF o
*Eg
2H§ <
N y
o
g
3z O
é% FGA-43-HT1-60
B\E
e /VM24—G18 FGA-25-HT1-60
VMO02-G18
SVB-G18
5z \
e SVB-G18
72 PEP2525
PEP2525
B 35 (PN) 7.Y00242 7.¥00244 7.Y00243
ZEE FE(Model) SVB-M5 SVB-G18 SVB-G14
g A(mm) M5 G1/8 G1/4
g B(mm) 16 25 25
® C(mm) 13.5 21.5 21.5
D(mm) M5 G1/8 G1/8
E(mm) 8 15 15
Wz F(mm) 4 7.5 7.5
1¢§ G(mm) 29 44.5 46.5
@ H(mm) 18 25 25
5 | (mm) 4.3 8 10
E PEP2518 - v v
3 PEP2525 - N N
£l PEP5025 - v v
’ B2 4T 1% BC {4 Accessorier selection
B2 %% (Screws) PTC-M4L12*2 PTC-M5L16%*2 PTC-M5L16*2
WA F Hy(single hole shim) PTS-M4*2 PTS-M5*2 PTS-M5*2
TEUMEET-Nuts) PTN-M4P8*1 PTN-M5P15*1 PTN-M5P15*1
B E(Weight) 159 45¢g 459

41 e<]c



IREINKEESZZE Mounting Bracket For Vacuum Cup (257&##) (Kit With Screws Option)
T MEIBSTEM S SMBS T 4 BESVC-M5T £57.Y00328-T

Note: If screw kits needed, add T to the part number and model number. eg: Model SVC-M5T Part number 7.Y00328-T fii
N E 7f7.f§_“~
o) %m&a
[
g
Qy | o B
© © dl =D 4
S
o 5 12
zag
I >
B2
) - 5
M E ;;.
*xQ
E_'c
FGA-43-HT1-60 gs
He
/ VM24-G18 &
==z
SVC-G18 &z
B3
J)2
PEP2525
BS
85 (PN) 7.Y00328 7.Y00238 7.Y00239 83
FS(Model) SVC-M5 SVC-G18 SVC-G14 {¢§
A(mm) M5 G1/8 G1/4 B
B(mm) 16 25 25
C(mm) 14 21 21
D(mm) M5 G1/8 G1/8
E(mm) 8 15 15 o=
F(mm) 4 7.5 7.5 1¢§
G(mm) 65 88 88 ~(<'_‘\
H(mm) 40 50 50 S
L(mm) 6 10 10 3
M(mm) 8 15 15 ]
N(mm) 4.2 5.2 ?5.2 @
PEP2518 v v v
PEP2525 v v v
PEP5025 v v v
PEP4040 - v v
PEP3030 v v v
12 £T 3% B 14 Accessorier selection
B4 (screws) PTC-M4L12*2 PTC-M5L16*2 PTC-M5L16*2
NG (single hole shim) PTS-M4*2 PTS-M5*2 PTS-M5*2
TEUREH(T-Nuts) PTN-M4P8*1 PTN-M5P15*1 PTN-M5P15*1
SFLF & Double holes shim) PTD-M4P8*1 PTD-M5P15%1 PTD-M5P15%1
SEEWeight) 20g 60g 60g

CRG ¥



A et IR 2 EESZZE Mounting Bracket For Vacuum Cup (257&#4i%8) (Kit With Screws Option)
BRI EMSRSMNESIT 0 885SVD-M5T £857.Y00416-T

ggg Note: If screw kits needed, add T to the part number and model number. eg: Model SVD-M5T Part number 7.Y0O0416-T
i c ;
%m 2 [ ( N
%m
z
o
® T
<& © °
221
iz O
Le | R
Hho
-3
Q
VM33-M5
FGA-16-HT1-60
xQ /
23 PFG-20-SI-55
i
VM18-M5 SVD-M>~___
SVD-M5
5z
&z
Eips PEP2518
7e PEP2525
£E2(PN) 7.Y00416 7.Y00417 7.Y00418
BHs FE(Model) SVD-M5 SVD-G18 SVD-G14
gﬁg A(mm) M5 G1/8 G1/4
tez B(mm) 16 25 25
g C(mm) 13 21 21
® D(mm) M5 G1/8 G1/8
E(mm) 10 15 15
F(mm) 5 7.5 7.5
% G(mm) 28 43 43
%38 H(mm) 10 17 17
8 PEP2518 N N N
A PEP2525 v v v
3 PEP5025 v v v
S PEP4040 - v v
2 PEP3030 v v v
12 £7 % BC {4 Accessorier selection
B4 (screws) PTC-M4L12*2 PTC-M5L16*2 PTC-M5L16*2
SR HY single hole shim) PTS-M4*2 PTS-M5*2 PTS-M5*2
TRUBRHT-Nuts) PTN-M4P8*1 PTN-M5P15%1 PTN-M5P15*1
BB EWeight) 159 45¢g 429

2 CRG



k&&= fF Leg For Vacuum Cup

IZFELHI / Application

N 2z
ZE
2
w &5
=
w o
3z
o Zms
1% 2
2
o =
'H&Q
]a
2
%2
=k
FGA-16-HT1-60——— — FGA-43-HT1-60 zﬁ\g
frg
VM02-G18
SVE-G181440—— —— VM24-G18
5z
SMBE1-1440 9z
SVE-G181440 B3
PEP2518 h
SMBC-1432
PEP2525
=
#H3
£15(PN) Bl5(Model)  Al(mm) A2(mm) B(mm) C(mm) D(mm) E(mm) F(mm) =EE(Weight) =
7.Y00410  SVE-M51030 M5 M5 210 30 11 6 16 10g £
7.Y00411  SVE-M51060 M5 M5 210 60 11 6 16 139
7.Y00412  SVE-M51090 M5 M5 210 90 11 6 16 179
7.Y00772  SVE-M51230 M5 M5 @12 30 13 7 17 129
7.Y00773  SVE-M51260 M5 M5 212 60 13 7 17 159 B2
7.YO0774  SVE-M51290 M5 M5 @12 90 13 7 17 199 g
7.Y00413  SVE-G181440 G1/8 G1/8 214 40 15 8 22 179 kel
7.YO0414  SVE-G181480 G1/8 G1/8 @14 80 15 8 22 259 5
7.YO0415 SVE-G1814120  G1/8 G1/8 214 120 15 8 22 32g 3
7.Y00008  SVE-G142050 G1/8 G1/4 @20 50 20 8 23 409 2
7.Y00009  SVE-G1420100  G1/8 G1/4 @20 100 20 8 23 60g z
7.Y00010  SVE-G1420150  G1/8 G1/4 @20 150 20 8 23 759

CRG X



FhR Clamp Leg

=LA / Application

A
M% D
2
=34 I
g
. 'y
=
H
o
Be Sehi ERIKNE
X Clamp Leg Heavy Clamp Leg
g (SCA1) (SCA2)
g
° e
%2
2
4
Z&é PFG-60-SI-55
VM-G14M-M10M GFR20-95——
VFM-2020-G14 SMBK1-20T10
=z N\
%g SCA1-2020L100—— SCA1-2020L100——
Bk
SMBK1-20T10
PEP2525
PEP2525
Hs
#H3
1¢§ 55S(PN) #E(Model) INGI)) B(mm) C(mm) D(mm) F(mm) G(mm) EE(Weight)
3 7.Y00398 SCA1-1010L30 210 210 30 14 19 19 10g
7.Y00399 SCA1-1010L60 210 210 60 14 19 19 15g
7.Y00400 SCA1-1010L90 210 210 90 14 19 19 209
7.YO0769 SCA1-1212L30 212 212 30 19 21 21 13g
B 2 7.Y00770 SCA1-1212L60 212 212 60 19 21 21 18g
e 7.Y00771 SCA1-1212L90 @12 212 90 19 21 21 239
s 7.Y00401 SCA1-1414L40 214 214 40 18 26 24 20g
o 7.Y00402 SCA1-1414L80 214 214 80 18 26 24 309
3 7.Y00403 SCA1-1414L120 214 214 120 18 26 24 40g
3 7.Y00404 SCA1-2020L50 220 220 50 25 32 31 45g
& 7.Y00405 SCA1-2020L100 220 220 100 25 32 31 709
7.Y00406 SCA1-2020L150 220 220 150 25 32 31 105¢
7.Y00407 SCA1-3030L80 230 230 80 40 44 46 1709
7.Y00408 SCA1-3030L140 230 230 140 40 44 46 2309
7.Y00409 SCA1-3030L200 230 230 200 40 44 46 300g
7.Y00996 SCA2-2020L50 220 220 50 25 32 31 659
7.Y01000 SCA2-2020L100 220 220 100 25 32 31 869
7.Y00997 SCA2-2020L150 220 220 150 25 32 31 101g
7.Y01006 SCA2-3030L80 230 230 80 35 43 42 209g
7.Y01005 SCA2-3030L140 230 230 140 35 43 42 2889
7.Y01001 SCA2-3030L200 230 230 200 35 43 42 3449

45 ebs{c



IEEEz3E Swivelling Support

IEFALI / Application

33.50

B3y | FhE

aqnL sNS . 3|140id

28

5RE(PN) 7.Y00236 7.Y00234 PFG-40-SI-55
& (Spec) SCC-20G18 SCC-20M16

A(mm) 54 60.5 VM35-M5
B(mm) 19 24

C(mm) 5 6

D(mm) G1/8 M16x1

E(mm) 25 29 PAT20
G(mm) R9.5 R12 SCC-20M16
EE(Weight) 30g 40g

HEE S A

S|NPOA SIUdIS

S SR

Jebueyd yd1nd

S
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

CRRG )



NREZJJEESZZE NR Nipper Mounting Bracket
BT e
ZE NR20-P
N —SCE-NR20
= o
g .
SMBE3-2040T——
" ——PEP2525
el |
Ha #E2(PN) 7.Y00331 7.Y00261 7.Y00742 S
& A2 (Model) SCE-NR20 SCE-NR30 SCE-NR50
A(mm) 220 220 230
B(mm) 045 @56 @75
C(mm) 35 40 48 D c
o D(mm) 28 33 41
s E(mm) 94.5 111 138
% F(mm) 53 65 83
3 G(mm) 20 25 40
= EE(Weight) 659 110g 308g
%2
B
E GT-NS20 —
prgd ——SCE1-NS20
\SEAH-2020L100 ‘
G
52z
oz PEP2525
BS SMBE1-2060T——
Bk
L
#52(PN) 7.Y00692 7.Y00693 o °
A2 (Model) SCE1-NS20 SCE1-NS30 O -— 1)
A(mm) @45 @56
s B(mm) 220 @220
=3 C(mm) 65 76
55 D(mm) 27 33
= E(mm) 40 40 D E
e F(mm) 20 25
° G(mm) 94 106
EE(Weight) 111g 123g
B & s - ..
#8 NYOSEJEEHR  NYO5 Fixing Block
g
: 33
o
3 GT-NYO05 ‘ ‘
g .
SMBE1-1240T
——SCE2-05 53

25 ‘

L 012
———PEP2518 | 7<
o e

5S(PN) EES(Model) Z=£(Weight) R -
7.YO0796 SCE2-05 179 I

23
15

“ye CRG



NY10.NY15 BZ7JEER  NYT10.NY15 Fixing Block

GT-NY10 45 —

N
B3y | FhE

27
27
agnL SNS . 3]1401d

SMBE-2014T— P20
_SCE2‘1015 ‘ 45

PEP2525

HEE S A

S|NPOA SIUdIS

BS(PN)  BlS(Model) E&E(Weight)
1.Y00094  SCE2-1015 38g

S SR

J9bueyd }dInd

NY25 B5J@E=ER  NY25 Fixing Block

52

GT-NY25 ®

il oy
a|npo\ diug

28
o

L‘n

@)

m

N

N

Ul

| iy

‘

|
&
Jaddin 41y

PST20
C
SMBT-2020 T g
|
| 1 |
|
#E(PN) HE(Model) =E(Weight) 7J|r7 o | 3
7.Y00633  SCE2-25 61g %5
‘53
=
BTJETESZE Nipper Bracket 2
Q
D S -
NR20-P
‘ iy
d 2
<

syusuodwo?) A10ss8d0y

|

SCE3-N20
£RS(PN) BS(Model) A B C D E F BE&E(Weight)
7.Y00075 SCE3-N10 236 M6 40 75 45 30 2469
7.Y00076 SCE3-N20 @45 M6 40 75 53 30 2289
7.Y00077 SCE3-N30 256 M6 40 86 63 30 2679

CRRG k]



SEILAEL 28 Gas Cut Bracket
%‘g 5S(PN) 7.Y00868
N3 =TV SCE4-NR(L.R)
?E § XL.RECXIEHE L.RUse together
5o XGT-NRF3 GT-N Use
g XEE Weight: 65.5g
SCE4-NR20
xg
221
15 2
gﬁg_ E 10, m‘n‘f’g 10,10
& > N
: sﬂ‘"}o
o . | F~
ma = g A w1
0
3 % o
3 g
] R3
8 g N20AP NR20-P SCE4-NR(L-R)
% g & E
ég 9. : : g. ! !
g
BE e o
® SEIEESZE Gas Cut fixation
.
= a
55 o 5
J]2 19)
L}
o) M5 | AN
Y [a]
=
fﬁ"g EEIG) #E(Model) A B C D E F E8(Weight)
iz 7.Y00146 SCE4-NR30 56 35 85 10 40 15 111g
2 7.Y00147 SCE4-NR20 45 30 75 10 40 15 93g
& 7.Y00148 SCE4-NR10 36 25 65 10 30 15 72g
BITIK OK ARS8 Adjustable Nipper Mounting Clamps
o
1¢§ GR12B-12 SCE4-NR30 o
| 0 |
3
3
3 NR30-P

20

N30AA114 SCE-NR30-D12

SCE4-NR(L.R)

R8E(PN) BE(Model) A B @ D E BEE(Weight)
7.Y00946 SCE-NR20-D10 245 @10 56.5 93 65 57.5
7.Y00947 SCE-NR20-D12 @45 212 56.5 93 65 55.5
7.Y00948 SCE-NR30-D10 @56 210 62.5 104.5 77 67.5
7.Y00949 SCE-NR30-D12 @56 @12 62.5 104.5 77 65.5

49 g ebs{c



MM FERBEZZE Access Robot Bracket

lw)
(s3]
B3y | FhE

aqnL sNS . 3|140id

N e

HEE S A

S|NPOA SIUdIS

£2S(PN) IS (Model) A B C D E EHE(Weight)
7.YO0051 SMBH1-8M5 28 14 35 12 @5.5 15¢g
7.YO00052 SMBH1-8M6 28 14 35 12 6.5 129 o
7.YO0053 SMBH1-12M5 212 20 39 16 @5.5 30g }ﬁ%
7.YO00002 SMBH1-12M6 212 20 39 16 26.5 25g 5
7.Y00054 SMBH1-12M8 212 20 45 25 29 429 é
7.YO0055 SMBH1-20M6 @220 20 50 25 6.5 489 2
7.Y00056 SMBH1-20M8 @220 20 50 25 @9 51g
e
A B3
T HE
Q.
o — {L'F%
D T
oG
u
[ . 52z
?G g )z
O o E
=R\ VAR
@
- T
BS
© =
283
1¢§
S (PN) #S(Model) A B C D E F (€ H T EE(Weight) o
7.Y00869 SMBE7-18M5 16 82 6 15 15 27 @5.5 18 7 20.5¢g
7.Y00870 SMBE7-18M6 16 82 6 15 15 27 6.5 18 7 209
7.Y00871 SMBE7-25M5 16 90 7 15 15 30.5 @5.5 25 7 22.5¢g W
7.Y00872 SMBE7-25M6 16 90 7 15 15 30.5 6.5 25 7 229 1%

iBFASLA / Application

syusuodwo?) A10ss8d0y

CRG )



MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd ydIND

T HE W
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

51

=2 Elbow Arm

=zFAsLf5 / Application

SEA-2020L50

SMBE3-2040

£5(PN)

GRX20-CN

S (Model)

A(mm)

?B

B(mm)

C(mm)

D(mm)

GBD22HU

SEA-1414L80 ——

SMBE2-1450
\

E(mm)

F(mm)

G(mm)

EE8(Weight)

7.Y00388 SEA-1010L60 210 @10 60 10 13 93 12.5 20g
7.YO0776 SEA-1212L60 @12 212 60 12 15 98 14.5 229
7.Y00389 SEA-1414L40 214 014 40 14 16 82 16.5 329
7.Y00390 SEA-1414L80 @14 214 80 14 16 122 16.5 429
7.Y00391 SEA-1414L120 214 @14 120 14 16 162 16.5 50g
7.Y00392 SEA-2020L50 @20 @20 50 20 19 104 22.5 709
7.Y00393 SEA-2020L100 @20 @20 100 20 19 154 22.5 90g
7.Y00394 SEA-2020L150 @20 @20 150 20 19 204 22.5 1209
7.Y00395 SEA-3030L80 @30 @30 80 30 27 160 34.8 235¢g
7.Y00396 SEA-3030L140 @30 @30 140 30 27 220 34.8 3009
7.Y00397 SEA-3030L200 @30 @30 200 30 27 280 34.8 3609
C=RG



BAYEEF  Heavy Duty Elbow Arm

—

IZFISLHI / Application

VFE2026-G18——

SEAH-2020L50——

SMBE1-2060 ——

=4
i
RN
e
G E

o8B

GFR20-95

— SEAH-2020L50

SMBE1-2060

55 (PN) 7.Y00350 7.Y00351
BIE(Model) SEAH-2020L50 SEAH-2020L100 SEAH-2020L150 SEAH-3030L80 SEAH-3030L140 SEAH-3030L200

7.Y00166

7.Y00352

7.Y00353

A CERY

A(mm) @20 @20 @20 @30 @30 @30
B(mm) @20 @20 @20 @30 @30 @30
C(mm) 50 100 150 80 140 200
D(mm) 25 25 25 35 35 35
E(mm) 19.5 19.5 19.5 27.3 27.3 27.3
F(mm) 113.5 163.5 213.5 168.5 228.5 288.5
G(mm) 28.7 28.7 28.7 40.7 40.7 40.7
BEE(Weight) 95¢g 115¢g 1309 330g 380g 435¢g

C=RG

B3y | FhE

agnL SNS . 3]1401d

HEE S A

S|NPOA SIUdIS

S SR

J9bueyd }dInd

S
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

52




BEFRFEEE  Elbow Arm For Vacuum Cup

iERASLf / Application

a9
wi
T

MRS |, X

aqnL SNS - 3|4o.d

i

-

iy AN

3INPOIN SIUBIS
I

A _‘T

/_L‘
£ 9

'H&KE)
e
2
E - FGA-43-HT1-60 FGA-43-HT1-60
%2
873 VM24-G18——
S
ﬁ% \VM24-G18
< SEAV-G1820L78
SEAV-G1820L78
>
%; SMBE4-2012 SMBE2-2060
BT PEP2525
7°
PEP2518
Hs
463 55(PN) ES(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) L(mm) ZEZ(Weight)
#%  7v00432 SEAV-M510145 M5 ©10 45 165 55 19 10 14 11 18g
S 7.Y00433 SEAV-M510L90 M5 @10 90 16,5 5.5 19 10 14 11 279
7.Y00258 SEAV-G1814L60  G1/8 @14 60 22 8.5 29 14 22 135 33g
7.Y00434 SEAV-G1814L120 G1/8 @14 120 22 8.5 29 14 22 135 50g
7.Y00435 SEAV-G1820L78  G1/8 @20 78 22 8.5 29 14 22 135 60g
B 7.YO0247 SEAV-G1820L153 G1/8 @20 153 22 8.5 29 14 22 135 1009
# 7.Y00436 SEAV-G1420L75  G1/4 @20 75 27 12 38 20 28 15 759
7.Y00437 SEAV-G1420L150 G1/4 @20 150 27 12 38 20 28 15 1159

sjuauodw o) A10ssa20Y

kN CRG



EREMREH Bush Nut

8RS (PN) #I5(Model) A B C D
7.Y00271 SBNA-8M5 o8 M5x0.8 @12 8
7.Y00272 SBNA-8M6 28 M6x1.0 212 8
7.Y00273 SBNA-12M5 212 M5x0.8 216 16
7.Y00274 SBNA-12M10 212 M10x1.0 216 16
7.Y00276 SBNA-20M12 @20 M12x1.0 D24 16
7.Y00277 SBNA-20M17 220 M17x1.0 D24 16

@B

i
52 (PN) A2 (Model) A B C =& (Weight)
7.Y00275 SBNB-12PT18 PT1/8 212 16 29
7.Y00278 SBNB-20PT18 PT1/8 @20 25 179

£ Bush
o8B
6]
1 3
\

£E(PN) RIS (Model) A B C EHE(Weight)
7.Y00280 SBND-1208 o8 @12 16 69
7.Y00281 SBND-2012 212 220 16 99
7.Y00282 SBND-2008 @8 @20 16 11g

CRG

B3y | FhE

3qnL SNS . 3|l404d

HEE S A

S|NPOA SIUdIS

S SR

J9bueyd }dInd

il oy
a|npo\ diug

ham 2 20301

JaddiN 11y

FrisHHm

3|NPON wWnNNdep

=

syusuodwo?) A10ss8d0y

54




MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd ydIND

T HE W
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

55

BaIREREEER Quick Changer

e A RKiniRIREZ S

Robot End Quick Change Device

l_‘: ﬂfjﬁﬁ'/Product advantages
SiEE
EEFTNRANSKEMEREMUER, RETIRE
EEEUBE, BARBETRNARBIFEEETT
=iRE

RERIGIT SR EEAGERBANBES,
CRGHEFARIRIREEE BB BRANNIERS,
HENFEEANESENBEH=ERD), BRTHERY, RIETEEEMUEE,
v Bt E AR

Quick Changer Installation Example
ZHEEIRITHMENG, ERT KEMBHAN, RATSmANEEEMIR,
RIET (5 SRIRE E AR,

High precision

The piston adjusting gripper side play the role of positioning, which provides high repeat positioning
accuracy.One million cycle tests show that the actual accuracy is much higher than the recommended value.
High strength

The locking piston with large cylinder diameter has strong locking force, CRG robot end fast device has strong anti
torque ability. When locking, there will be no shaking due to high-speed movement, thus avoiding locking failure and
ensuring repeated positioning accuracy.

High performance

The locking mechanism with multi conical surface design, long life sealing components and high quality elastic contact
probe are adopted to ensure the close contact of signal module.

C=RG



BaIREFEHELR Quick Changer

Filld
M=
N (]
e
£
&
EIE(Model) QCA05 QCA15 QCA25 QCA35 QCA50 QCA100 QCA200 ‘ QCA200-D1
ﬁ%gﬁgfimpwbw 3~5kg 10~15kg 25kg 25~35kg 35~50kg 70~100kg 150~300kg 150~300kg o
3
AN - i - - i . i : - =
bttt QCA-05R QCA-15R QCA-25R QCA-35R QCA-50R QCA-100R QCA-200R | QCA-200R-D1 Zﬁg
Q.
c
?}%ﬂrside QCA-05G QCA-15G QCA-25G QCA-35G QCA-50G QCA-100G QCA-200G | QCA-200G-D1 ®
S -
o path 6-M5 6-M5 12-M5 8-G1/8 9-G1/8 7-G 3/8 12-G3/8 8-G 3/8
BRTI@8OPsi (5.58ar) 620N 1150N 2400N 2900N 4600N 12000N 16000N 16000N Re
Locking Force@80Psi ( 5.5Bar) 1 =
(@)
FREE 2
o et 0.37kg 0.27kg 0.35kg 1.35kg 1.68 kg 5.13kg 9.00kg 9..00kg g
xa
H3
HE
MazAM FEM me
Robot side Gripper side o
52>
#z
BITO
Eche]
J)2
oo AT (55) QORI (A3X)
connector (female) 90° connector (male) Hs
T AMESER FEMESER E’EE
Signal module of robot side Signal module of gripper side ﬁz
2
=3
o
[ ] &) ., oge .
LeaE (GEEZ) /Safety capability (option)
ENREMEEFL, ZERHF .
Three safety capability switch, multiple protection {¢§
SNER#& M External detection 3
-——BEX R #L &8 A flade B 2 & AL & % 20K a
———Checkwhether the piston in the robot side movesin g
wan place during clamping & releasing -§
Gripper side T Tt N 3
i 1 FF % @ A ER4& M Internal detection z
Do | RO R WHLE A RS RE R R B
nagAN oI X @ R T ER BRI TRE, BRTERARE

Robot side O: -
i FF % ©
( ) ¢ Detection switch 3

!
|
|
!

Detection switch2 |
1
: clamping & releasing
|

|
!
|
|
!
———Checkwhether the piston in the robot side moves in place during 1
|
!
———Alarm can be given when the piston is deviated during 1

|

!

CRRG 19



B3y |, A

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd ydIND

T HE W
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

57

B REEHELR Quick Changer

BE S e

Rated Load Test

N/paddy peo]
N /S &

FEnnHetar- BB 3Z (L B 25

Gap Variation Curve when Load Applied

e
0.01 0.02 0.03 0.04 0.05
[EBE/mm
Gap/mm

0.06

QCA-2008 3Rl
QCA-200 Quick Changer

X-YEp S & NI

X-Y Static Bearing Moment Test

C=RG




BaIREFEHELR Quick Changer

i
ZE:
B AR iy
Maximum load test &2
BN E e - [E) PR (U B £
Gap Variation Curve when Load Applied uﬁg
18000 %
|
16000 g
14000
cj5 12000
&n
=24 10000 o
g s
$1 8000 o
“Z 6000 g
4000
2000 %o
_E_'c
0 Bs
0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 e
[E]B5/mm
Gap/mm
QCA-2008EhiR#R s>
QCA-200 Quick Changer Mz
7%
Zo s A E N EIR LS s
o o =c
Z Static Bearing Moment Test Ei
]
#

syusuodwo?) A10ss8d0y

CRG 1



B3y |, A

aqnL SNS . 3|1404d

i

3|NPOIA SIUdIS

SR

J9bueyd ydIND

T HE W
a|npo\ diig

SHimE

JaddiN 11y

B

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

59

EHRZEE Module Type

LTS

f#HiADescription

=SRR
Signal module

FAMERLFEF I

Module Mounting Mode on Gripper Side

QCSM-**G

Mg AMRRLZES T

Module Mounting Mode on Robot Side

QCSM-**R ——
15 pins 15 pins
HlEEAM FEM =g AM FEM
Robot side Gripper side Robot side Gripper side
QCSM-15R1 QCSM-15G1 QCSM-15R2 QCSM-15G2

=S s

Signal connector or cable

EiE (83k)
Connector (female)

DB15R1-1000"

BEiE (23k)
Connector (male)
DB15G1-1000®

EE (8k)
Connector (female)

D-Sub15R2-1000"

BEiE (a3k)
Connector (male)

D-Sub15G2-1000"

QCA-05R N
QCA-05 QCA-05G N
QCA-15R N
e QCA-15G i
QCA-25R N
QCA-25 QCA-256 J
QCA-35R N
S\ QCA-35G J
QCA-50R N
QCA-50 QCA-50G N
QCA-100R N
QCA-100
QCA-100G N
QCA-200R N
QCA-200
QCA-200G N
QCA-200R-D1 N
QCA-200-D1
QCA-200G-D1 N
B S ol 50V 50V
Electrical characteristics| Cﬁjﬁt 2.5A 2.5A

@ EFLEMIEKA1K The cable’s lengthis 1 meter

C=RG

@ {UEL, R&%H Jointonly, no wire



EHRZEE Module Type

failpns

ZE

——QCA-**G g

=g

|s

A

—— QCA-**R

Hho

23

2

Mg AN FEM HEg AN FEM Mg AN FeEM £9

Robot side Gripper side Robot side Gripper side Robot side Gripper side =25

|

QCSM-08R QCSM-08G QCSM-19R QCSM-19G QCSM-26R QCSM-26G ﬁg

Bl (82k) R (23k) =l (82k) Bl (23%) R (82k) Bl (22k) ”
Connector (female) Connector (male) Connector (female) Connector (male) Connector (female) Connector (male)
3108A22-23S® 3108A22-23P® - MS3116F14-1952 — MS3116F14-19P%2 — MS3116F16-2652 — Ms3116F16-26P2

MBOSE-14-195(072)SR-B CMBOSE-14-19P(072)SR-B CMBOSE-16-265(072)SR-B gMgggg_]ﬁ_zﬁmmsg_@

52

#z

L]

J)2

B

H3

=

J J J :

~
F=

N

2N

2N
syusuodwo?) A10ss8d0y

380V 220V 220V

30A 3A 3A

c=c (@)



BHahRIEERER Quick Changer

=s  QCA-05
me
B9
g
%7
£s
=
Hs
HEsAM FEM AR AT X
Robot side Gripper side Robot side strap switch
10
;ﬁ% RE(PN) 8.Y00355 5 (PN) 8.Y00356 =t= () 8.Y00355-SP | 8.Y00355-SN
5 A=Vl QCA-05R slb=1(eeEl QCA-05G aaE=(0VIele S QCA-05R-SP | QCA-05R-SN
E AR (ESiEmzs) PNP NPN
[ *Material: steel TERERN
HRREH M
49 Tor modals withsensors. ¢
3z O
%3 20 ./
s SRRARN Mt EE 7
i f — '~ g
4XM3V6
5z O (¢ A)
o O | [-1-@
BIT q
7t $2T4.5 o
o 1LO 3
o 1 ©
(oY 10 \
V& dosire 39
BS
Z0 B M5 Unlock Port MbLock Port 17.50
e P qERERS 21.50
e R KB BRARDMMMN 6 12.50
3 Theredareaisonlyavailable  [o1S S03/e0 00y SURbte 12
g .
g 9
....... 1 Il
- T T ©) @
Bt 2 : ; o I , O ~
i g - g g0 O M
Ly ' Ot
5 8 /200 IO T S— @ °®
: ~ < .
g S
> () :
2 H8 14 M4 22 B A @
e + Mounting Bolts @ 6XM5 6XM5
o
N
HEE AN
Robot side

AZSEEOPE The air connection locked
B.Z3 S #AFTF Air connection released

1 4188 AMUIZESE Robot side connection

2 MBEGEREFREFL Threaded through-holes
3 1EFER %2 E Optional mounting surface

CRRG

4 EEENMSE Positioning pin
5.FIBESFL Straight through air hole
6.7 Central positioning

7 B3P EE Protective base

8.EHIBAISFL straight through air hole



BEIRIEFEIRIELR Quick Changer

Flﬁ:%?&/Parameter
1LEWNEE R 3~5kg

2.8 % H@80Psi (5.5Bar) 620N
3EEAHNIE (X&Y): 23.4Nm
48SEHANE (2): 31.5Nm
5.NMBBEERE (X,Y&Z): £0.015mm
6.E8-HRE: 0.37 kg
THBAMEE: 0.29 kg

8. AMER: 0.08 kg
IRAAFARBE L1

10. BB SFARYT ($8) :(6) M5

©49
1 20
o
Ye]
N A
O 1d
¥ O (0]
§ 9] Q }
S — =\
)
FEM
Gripper side

1.2 EMIZE$EF Gripper side connection
2 MBEERZFFL Threaded holes
3.1k ER (4L ZEH Optional mounting surface

*ﬁﬂl?éﬂ/Module Type

1.Recommended rated load: 3~5kg
2.Locking force@80Psi (5.5Bar) 620 N
3.Static Load torque (X&Y): 23.4 Nm
4.Static Load torque (Z): 31.5Nm
5.Repeatability accuracy (X,Y&Z): £0.015 mm
6.Weight after locked: 0.37 kg

7.Robotside’ sweight: 0.29kg

8.Gripper side’ sweight: 0.08 kg

9.Maximum allowable angle deviation: +1°

10.Size of straight air hole (quantity) : (6) M5

20+0.02

4xM5 E%%?L/

Mounting Holes

4 EZFENMSHE Positioning pin

5.5TEL Central positioning

PR TVERE BE BEEE
Product name Working Voltage Connector Connector PN
=] D
MEBAUSSER | QcsM-15RT 7.Y00965 50V 2.5A DB15R1-1000 1.Y10163
XEMESER | QCSM-15G1 7.Y00966 50V 25A DB15G1-1000" |  1.¥10437
@ EFELEIKN1K The cable’s length is 1 meter
CRG

B3y | FhE

agnL SNS . 3]1401d

HEE S A

S|NPOA SIUdIS

S SR

J9bueyd }dInd

S
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

62




B EIRIEFEIRIELR Quic

k Changer

Tk QCA-15
=
il
g4
g
%z
=
Hs
HEEAM FEM
Robot side Gripperside
'mg 1= 15 =
s 5S(PN) 8.Y00353 5S(PN) 8.Y00354
ol ali=l(e N QCA-15R st =Vl QCA-15G
E
A AERIELH
W EXB WA
0 Tormodels with sensars
Eg @55
- 20 /.

22.50

ham 2 S8
JaddiN 11y
-
C
G
(<)
15.50

2745 Q:d

AR AMFHFF X

Robot side strap switch

5S(PN)

8.Y00353-SP|8.Y00353-SN

dE= V66l QCA-15R-SP | QCA-15R-SN

s?ﬁegﬂjﬁggog PNP NPN
B £ loslre 37
16. 50 20. 50
0. 5( 10
6

4

-©

[

©
000

- 90 °
B3 qERmEN
= neman Theredarsaisnlyavaibl
#H3 HFRLBBMA for models with sensors.
Thered areais only available
14: § for models with sensors.
[N
c
©
. ~ '
" I :
' ~
[ <t '
> : SR €,
B 2 - .
o ' '
Mo 6 U
& B EEEEE \ R 1
) PO
3 N
9 D
-g o 4Xp4.2 5
: = | \2378(D) A (5)6xm5/
E H8 Mounting Bolts
+
(@]
N

Mg A M
Robot side

AZSEEOPE The air connection locked
B.Z= S #AFF Air connection released
14188 AMIZE#E Robot side connection

2 I2BUEREFIEFL Threaded through-holes

3.EHEC 4L 2EE Optional mounting surface

BN CRG

4 EZEAENRISE Positioning pin

5.E@AISFL Straight through air hole

6.7 /(B Central positioning

7.HiBEIS 7L straight through air hole

=©)

[

O

\m@



BaRIEFERIELR Quick Changer

TR
EmE/Parameter 23
1EWEEEM: 10~15 kg 1.Recommended rated load: 10~15kg %mé
s n
2.81% H@80Psi (5.5Bar) 1150N 2.Locking force@80Psi ( 5.5Bar) 1150 N = g‘_
3.8 AEE 5 (X&Y): 26.5Nm 3.Static Load torque (X&Y): 26.5 Nm °
4 B47SEH % (Z): 35.3Nm 4.Static Load torque (Z): 35.3Nm
S5.MUBEESHE (X,Y&Z): £0.015mm 5.Repeatability accuracy (X,Y&Z): +0.015 mm ¥ g
58 S
6.FE-HEE: 0.27 kg 6.Weight after locked: 0.27 kg ;ég
4
TNBAMER: 0.17 kg 7.Robot side’s weight: 0.17 kg He
8.KAMEE: 0.1kg 8.Gripper side’s weight: 0.1 kg °
IERAATARE L1 9.Maximum allowable angle deviation: +1°
10.HBRSIALRT (B&E) :(6) M5 10.Size of straight air hole (quantity) : (6) M5 0
5
a
g
%9
E_'B
HE
e
$55
1 24
s>
#z
BITO
5o
0 o o0 P
9 j| ®
2XM3T6 i
= 4AXM5 &%, % s
;Emu @ Mounting Holes H8 @ ?ﬁfg
Gripper side z
ﬁ:?—
1.2 EMiE#EA Gripper side connection %
2 WBEGEREFRFL Threaded holes A JEFZRTENRE Positioning pin
3B 4L ZEE Optional mounting surface 5.0 Central positioning
B 2
3
s
a
o
E
*ﬁi*?éﬂ/Module Type 3

FRER T{EeRE BRI BEHRS
Product name Working Voltage Connector Connector PN
MEBAUSSER | QcsM-15RT 7.Y00965 50V 2.5A DB15R1-1000" |  1.Y10163
XEMESER | QCSM-15G1 7.Y00966 50V 25A DB15G1-1000" |  1.¥10437

@ EELLAK 1K The cable’s length is 1 meter

CRG



B3y |, A

aqnL SNS . 3|1404d

i

3|NPOIA SIUdIS

S SE

Jebueyd ydIND

il
a|npo\ diig

SHimE

JaddiN 11y

B

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

65

BHahRIEERER Quick Changer

QCA-25

HEEAM FEM MEBANHEFFX
Robot side Gripperside Robot side strap switch
£S(PN) 8.Y00460 £RS(PN) 8.Y00461 Ga=((#\)F ] 8.Y00460-SP | 8.Y00460-SN
stk =l QCA-25R atb =l QCA-25G b=\l ) QCA-25R-SP| QCA-25R-SN
88 il PNP NPN
Thered areaisonly available
20 for models with sensors.
; > ] | 0
1O e
[ ] i
) &8
000l [Too
1 12/_ & B—TA
2 3
2XM3710 007 Y o i £5sle 45. 5
19. 50 26
&, 60 TERERY
& JE
< St o (ws |_n| s, | 12M5(6)
TEBRERY
B REBE A y = =
Tormodels with sensarse - -
' o~ |«

88

43

6X04.3

M4 2z 35 02 b
Mounting Bolts

HlEg AN
Robot side

2

I21.71 + 0.02

AZSIEZEOBE The air connection locked
B.ZS 53 #ATT Air connection released

1 488 AMUIZERE Robot side connection

2 WREYERE I FL Threaded through-holes
3 IEERELEEE Optional mounting surface

C=RG

©
©

~ $60H70

“To o

4 ERFERIEE Positioning pin
5.HIBAISF| straight through air hole
6.Bi@BIS 7L Straight through air hole

7. HILTERLFS Central positioning



BaRIEFERIELR Quick Changer

AT
EmE/Parameter 23
1LEWNEERM: 25kg 1.Recommended rated load: 25kg %mé
& n
2.81% 1@80Psi (5.5Bar) 2400N 2.Locking force@80Psi ( 5.5Bar) 2400 N = g‘_
3FESAHSIE (X&Y): 59Nm 3.Static Load torque (X&Y): 59 Nm °
4B A IIIE (Z): 80Nm 4 Static Load torque (Z): 80 Nm
S5.MUEEEHE (X,Y&Z): £0.015mm 5.Repeatability accuracy (X,Y&Z): +0.015 mm ¥ g
58 S
6.FE-HEE: 0.35kg 6.Weight after locked: 0.35kg ;ég
THEAMER: 0.24 kg 7.Robot side’s weight: 0.24 kg g
8.kEAMEE: 0.11kg 8.Gripper side’s weight: 0.11 kg °
IRAATFARE L1 9.Maximum allowable angle deviation: +1°
10.B@ESIRT (&) :(12) M5 10.Size of straight air hole (quantity) : (12) M5 0
2
.
0 o
© s
y %2
S 23
88 o 6> 63 %CEFE‘
1 20 -+l 3 e / ~ B
(©)] \ g
™ /
e i/ \\\ /,’ @ ©
AN
LD © 00( | ©
° c\ A / 5%
1 2
™ BUT
S 2XM378 D 3 7R
o WX
o> Py
14
4 )26%12 {778+0.02 \6X M il
Mounting Holes E s
B 2t
. . H3
Gripper side fiz
1.2 EMiE#EA Gripper side connection §
2 WBEGEREFRFL Threaded holes A JEFZRTENRE Positioning pin
3B 4L ZEE Optional mounting surface 5.0 Central positioning
b
e
s
a
o
2
*ﬁﬂ%?&eﬂ/Module Type %

FRER T{EeRE T BRI BEHRS
Product name Working Voltage Working Current Connector Connector PN
MEBAUSSER | QcsM-15RT 7.Y00965 50V 2.5A DB15R1-1000" |  1.Y10163
XEMESER | QCSM-15G1 7.Y00966 50V 25A DB15G1-1000" |  1.¥10437

@ EELLAK 1K The cable’s length is 1 meter

c=G a



B3y |, A

aqnL SNS . 3|1404d

i

3|NPOIA SIUdIS

SR

Jebueyd ydIND

gl
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

67

BHahRIEERER Quick Changer

QCA-35

HLEsAM
Robot side

FEM
Gripperside

MIBFAMHEFFX
Robot side strap switch

55 (PN) 8.Y00351 £E(PN) 8.Y00352 st=1A\ 8.Y00351-SP|8.Y00351-SN
aie=1l\Vele sl QCA-35R cib={(V[el[ll QCA-35G aie={(\lele I QCA-35R-SP | QCA-35R-SN
= 53 EA N S B
[l e | e
The red areais only available
for models with sensors.
1
AXM4Y 9
— ©
(=]
0 0 N
o < P& dosie 52
60° ®105
26 26
N (5) 8xG1/8 1=3= £°— 8xc1s8(6)
S uSEe Bl [
S BF XTI _ _
; Tormedels witheensors ¢ o 0@ \:v © 0o
~
»
3 . o AT < <
Sl
- @ DN o o o[ [c 0o
; Y o) Bl o
LY % ED =]
/ TERETH =
WX MG
The red area s only available
6)(@?*;%& zgngdSelsit(h)segx;s. A G1/8Lock Port
. M52 .98 £0. /
HLE%}\UF'\” Moumg Bolts B G1/8Unlock Port
Robot side
AFSEOME The air connection locked
B.Z S O#AFF Air connection released 4 EFZFTENRIE Positioning pin
14188 AMIZE$E Robot side connection 5.Hi8AISF straight through air hole
2 SBEEHEFAIEFL Threaded through-holes 6. B8RS FL Straight through air hole
3.IEEH L ZEME Optional mounting surface 7.HLERIA Central positioning 60° @ 105
105 ~
O
1 50 +0.02 2xQ4T 7 ?I
™)
o 5 P
g [ q & — =
Y o| ¥ 1
D6V 11
. 3 =
~ 2
Sz B .
kEM 6XM8 ZEA(2)
Grlpper SIde Mounting Holes

1.32EMi%E$EF Gripper side connection
2 B2BGEREFAFL Threaded holes
3. 5B 4L ZEME Optional mounting surface

C=RG

23.75 £0.02

A EZFERIH Positioning pin
5.7 EIA Central positioning




BHaIRIEERER Quick Changer

s #/Parameter

TR
1EWNEERM: 25~35kg 1.Recommended rated load: 25~35kg s
(]
2.9 @80Psi (5.5Bar) 2900N 2.Locking force@80Psi ( 5.5Bar) 2900 N %m o
3RS EH I (X&Y): 88.5Nm 3.Static Load torque (X&Y): 88.5 Nm Eg&
458785 &E % (Z): 105Nm 4.Static Load torque (Z): 105 Nm g'_
SABESHE (X,Y&Z): £0.015mm 5.Repeatability accuracy (X,Y&Z) +0.015 mm ®
6.E2-PIEFE: 1.35kg 6.Weight after locked: 1.35 kg
THBAMESE: 0.85kg 7.Robot side’ sweight: 0.85 kg
8. FAMEE: 0.5kg 8.Gripperside’ sweight: 0.5 kg H@
I.EAAARB L 9.Maximum allowable angle deviation: +1° Bag
10.EBRSILRY (&) :(8)G1/8 10.Size of straight air hole (quantity) : (8) G1/8 z%%
ZH o
e
o
e
HEIRFER /Module Type
AR TEBE TERBIR M EEHES ®me
Product name Working Voltage Working Current Connector Connector PN Ha r;
N e QCSM-15R2 7.Y00468 50V 2.5A D-Sub15R2-1000® 1.Y10080 S
=3
FEMIESHER QCSM-15G2 7.¥00469 50V 2.5A D-Sub15G2-1000% 1.¥10081 S
*ﬁy\fm “FE_%H& QCSM-08R 7.Y00477 380V 30A 3108A22-2352 1.Y10710
3= == 3= O
ookl QCSM-08G 7.Y00478 380V 30A 3108A22-23P2 1.Y10711 ég
N . i MS3116F14-1952 1.Y11420 FHE
Robot side signal module QCSM-19R 7.Y00954 220V 3A CMBO8E-14-195(072)SR-B? 1.Y11863 14 g
EEMSSER ) MS3116F14-19P% 1.Y11419 ®
Sioer s o o QCSM-19G 7.Y00955 220V 3A CMBOBE-14-19P(072)SRB2 | 1.Y11864
EI i MS3116F16-2652 1.Y11867
Robot e signa e e el MR 220 . CMBOBE-16-265072)SRB2 | 1.Y11865
EE=SEth CSM-26G MS3116F16-26P? 1.Y11369
R Ul 2 700463 220V . CMBOBE-16-26P(072)SR-B? |  1.Y11866 5
@ ERELLEIK 1K The cable’s length is 1 meter @ {3k, TE&L#F Jointonly, no wire 57.1 z
BY O
e
R .
= sitERIEBY High Frequency Module Type
FEREMR TIEBE TR
Product name Working Voltage Working Current Hs
== L
NS QCHFM-E14-C1R 7.¥02003 1.4KV 5A %g
k= o ZH 3
REMESER QCHFM-E14-C1G 7.Y02004 14KV 5A =
2
o
=1 - -
KB BIER/Pneumatic Extension Module
FERBR RS = S LA el FERER BE = S LEAEd R >
Product name Model PN Gaspath  Threaded hole Product name Model PN Gaspath  Threaded hole ?E:’ a
4 " o
MEAUSETRIRR | QCAM-06GT8R | 701015 [ 6 Gi/g  MEAUSEIREER) QcAM-10MSR | 7.¥01053| 10 M5 g
K =3 1= =1 <
FREMSETRER | QcAM-06G18G | 7.¥01016 | 6 G1/8 FEMETRER | QCAM-10M5G | 7.¥01054 | 10 M5 3
HEEAMSER R | QCAM-06G18R-E| 7.Y01018 | 6 Glg  MEAUBSSETRER CAM-06G18R-F | 7.Y02005 | 6 G1/8 §
KA RER | QCAM-06G18G-E| 701019 | 6 G1/8 FEMESHT AR |QCAM-06618G-F | 7.Y02006 | 6 G1/8 2

BB iR ZESIER/Self-Sealing Fluid Air Module

FERATR

Bs

152

=
Product name Model PN
mfbgj\fm “Ff_ﬁ%ﬁ& QCWM-02R 7.Y02013
;f‘mﬁ%&;t* QCWM-02G 7.Y02012

c=G @



BHahRIEERER Quick Changer

QCA-50

s/
ZE
e
B9
g
%7
£s
=
Hs
HLEE AN FEM HAR AT X
Robot side Gripper side Robot side strap switch
®me
}ﬁr; 55 (PN) 8.Y00349 55 (PN) 8.Y00350 st=(1AN 8.Y00349-SP| 8.Y00349-SN
Q A=V QCA-50R sie=l(VeelEl QCA-50G ate={\Vlele I QCA-50R-SP| QCA-50R-SN
a qERERS gggnﬁe*zfeééguc;:?e?ﬂy PNP NPN
] WA XEBE MG
The red areais only available
formodels with sensors. 50 +0.02
s OGN
g )
Lo £ ) s
- N |4
I /A o
B G1/8 Unlock Port/
oot / L@Q [A& doswe 54
sz A G1/8 Lock Por 60° 27 27
#z 9
EE m &
75 L
B ©4 [O©
I\ © ey [©
;- szl oo
- SN ©- ] ©
= 7 o) s, Oyl 91 )@
H3 : FRRZEEMN -
fiz ‘ Rersdamisoy st O~ ©)
% oOXD 0 @ @‘: ;@
d6v15 M5 Zesigte
L.EEAM @ H¢7 0 Mounting Bolts @ @
Robot side
5§ > AEZSIZOBEX The air connection locked 3G L ZE M Optional mounting surface
1% § B.Z8 5 #AFF Air connection released A JEHERTENSH Positioning pin
3 141,28 AMIiZE$REE Robot side connection 5.EiBAIS 7L Straight through air hole
i 2 BRGEREAIEFL Threaded through-holes 6.5 TERIF Central positioning 60°
E
E
2 50 £0.02 2Xp 4V 7
\ 1
3 fo0% 1] ¢ 5
-] & (o)
B 50 o g
o 9 2
A 0 o
< — <
FEM
Gripper side 6XM8&‘“§§1{,@

1.2 EMIiZEHEA Gripper side connection
2 B2BUEIE L Threaded holes
3IEER L ZE M Optional mounting surface

@ CRRG

(1) 2X06v15
H7

A EZFEENMSE Positioning pin
5.FLERIA Central positioning

Mounting Holes



BHaIRIEERER Quick Changer

= amE#/Parameter e
3
1.EWNEEE A 35~50 kg 1.Recommended rated load: 35~50kg *Z;_"
2. 8% H@80Psi (5.5Bar ) 4600N 2.Locking force@80Psi ( 5.5Bar ) 4600 N o
SEFESAISIIE (X&Y): 165Nm 3.Static Load torque (X&Y): 165 Nm E&E
4 EEEEFHIIE (Z): 226 Nm 4.Static Load torque (Z): 226 Nm <
SABEERHE (X,Y&Z): £0.015mm 5.Repeatability accuracy (X,Y&Z): £0.015 mm ®
6.EE-PEE: 1.68kg 6.Weight after locked: 1.68 kg
THBAMES: 1.08kg 7.Robot side’ sweight: 1.08 kg
8.FEMEE: 0.6 kg 8.Gripper side’ sweight: 0.6 kg Z
o
IERAATFARE L1 9.Maximum allowable angle deviation: +1° 22
10.BBRSILRYT (&) :(9)1/8 10.Size of straight air hole (quantity) : (9) 1/8 zﬁ z
S
o
i
EIRFER /Module Type
[l =L T/EEBIE TEEBR RN EEHSRS Hho
Product name Working Voltage Working Current Connector Connector PN }ﬁ %
=== =~
mig(/\d@“ia.’fﬁ;.i* QCSM-15R2 7.Y00468 50V 2.5A D-Sub15R2-1000% 1.Y10080 o
;fi'{mﬁ%%% QCSM-15G2 7.Y00469 50V 2.5A D-Sub15G2-1000% 1.Y10081 3
Hﬁg}ﬁm "ﬁ?—ﬁ%ﬂ QCSM-08R 7.Y00477 380V 30A 3108A22-2352 1.Y10710
AESER QCSM-08G 7.Y00478 380V 30A 3108A22-23P2 1.Y10711 § @
©
HEEAMYS St ) MS3116F14-195@ 1.Y11420 |
R e g ol QCSM-19R 7.Y00954 220v 3A CMBUBE-14-195(072)SR-B2 | 1.Y11863 {gg
EEMESER . MS3116F14-19P% 1.Y11419 &
S st o oo QCSM-19G 7.Y00955 220v 3A CMBOSE-14-19P(072)SRB2 | 1.Y11864
N i MS3116F16-2652 1.Y11867
Robot e signa ol QESMEesR s 2208 2 CMBOBE-16-265(072)SRB2 | 1.Y11865
RS i MS3116F16-26P? 1.Y11369
rer s st QIS 7.Y00465 220V = CMBOBE-16-26P(072)SRB2 | 1.Y11866 52
@ ERELLEMK 1K The cable’s length is 1 meter @ Rk, R&EHF Jointonly, no wire ) >
Ein
e
e L .
DR RZEBY/High Frequency Module Type
FERAMR T{ERBE TEBR
Product name Working Voltage Working Current
==l <
nEaAMIESEER QCHFM-E14-C1R 7.Y02003 1.4KV 5A %5
= rapyy =]
KEMESHER QCHFM-E14-C1G 7.Y02004 14KV 5A ﬁz
ripper side signal module
2
=
o
""'t . .
S BIER/Pneumatic Extension Module
FERER e He S B, FERERR Be *®e S B3| B &
Product name Model PN Gas path  Threaded hole Product name Model 1N Gas path  Threaded hole {4: §
MEANSET RER | QCAM-06G18R | 7.Y01015 6 G1/8 MEANSET RER | QCAM-10MS5R | 7.Y01053 | 10 M5 g
[a)
ZEMETRIER | QCAM-06G18G | 7.Y01016 | 6 G1/8 FREMSETRER | QcAM-10M5G | 7.Y01054 | 10 M5 ]
el
o
A= RIER | qcAM-06618R-E| 7.Y01018 | 6 Gis  TBASHTEIRER QcAM-06G18R-F | 7.Y02005 | 6 G1/8 2
SA=[)] B M @
REMSERT R | QCAM-06G18G-E| 7.Y01019 | 6 G1/8 REMEEEY RER |QCAM-06G18G-F | 7.Y02006 | 6 G1/8

B 23R = S1ER/self-Sealing Fluid Air Module

FERER BE ®"E
Product name Model PN
i ARIES QCWM-02R 7.¥02013
REMESER QCWM-02G 7.¥02012

c=G



BHahRIEERER Quick Changer

QCA-100

it in
ZE
me
5
=8
:71%5'
=
Hs
HLEEAM FEM
Robot side Gripper side
=\ 8.Y00362-SP | 8.Y00362-SN CA={i\Y  8.Y00363
Eg =TSN QCA-T00R-SP|QCA-100R-SN A15(Model) Jeler y[vivc
~ E5mnzs PNP NPN i
H A
o Mounting Bolts
- 4XMAV8
ae 1 oo, 0 ﬂﬁ
X = A G1/8LOCK Port
B3 ort LG By
FHE B G1/8Unlock Port Jf)'l b & U\ ©
3 2
3 9 o O 10O 2
[¥p]
5 o N ma 7S
%gm 62.50 £0.02 45 30
20 16.50
e [ P
§%§ XA 095 O, O
ES ® 7/ ~ =]
7] o 6XM3 /7, g ) N \ |:
NN \_\ @30
o / -
S T 210915 7) = O - -
Vo ¥ / !
H7
LN \ AN v //
E s " O- -r -© // 25 ]
5"‘2 2 ~_1_ < -]
e ] N vz.SHs. ; ?
f#z s AM 0125
2 Robot side 10 7x G3/8 J \ 7x G3/8 (10
A FZEIZEOPE The air connection locked 5. 151\ B FAFF Monitor position released
B.Z= S #AFF Air connection released 7 EZEFRENRISH Positioning pin
141,88 AMIiZE$E Robot side connection 8.FENLA Central positioning
B 2 WS B B Monitoring position locked 9 H188 AL FFX Proximity switch for robot side confirmation
(a5 3 MBEYERE B FL Threaded through-holes 10.EiBESF, Straight through air hole

4 JEBELEZZEE] Optional mounting surface 60°

50 0.02 2x04310
9|\ 4xM4T8 /<D
Q:

® f
Q d v |
T ° ®®80H7

sjuauodw o) A10ssa20Y

13.50

150

18

Mounting Holes

e A /
EGEr’il},%Jer side @ 2x@10915 E‘D 6XM10% %7,
H7

1 JEZ R EAIH Positioning pin 3.5 BB Central positioning
2. ZEMIESE Gripper side connection 4 35 FER % ZEE Optional mounting surface

CRRG



BHaNRIEERER Quick Changer

P anE ¥ /Parameter

B3 SiEHR/Self-Sealing Fluid Air Module

15 =

FERER BE =7
Product name Model PN
MBAMSSHELR QCWM-02R 7.¥02013

Robot side signal module :
REUSSHER QCWM-02G 7.¥02012
Gripper side signal module

mz
LEWNEES S © 70~100 kg 1.Recommended rated load: 70~100kg 7f7.r:—n_"
2.5 H@80Psi (5.5Bar) 12000 N 2.Locking force@80Psi ( 5.5Bar) 12000 N o
3.EHSEEJI5E (X&Y) 1538 Nm 3.Static Load torque (X&Y): 538 Nm s
A FRSAEAFENE(Z): T20Nm 4.Static Load torque (Z): 720 Nm =
SAUBEERE (XY&Z): £0.015mm 5.Repeatability accuracy (X,Y&Z): £0.015 mm ®
6.EE-BERF: 5.13kg 6.Weight after locked: 5.13 kg
THBAMESE: 3.57kg 7.Robot side’ sweight: 3.57 kg
8.FAMEES: 1.56kg 8.Gripperside’ sweight: 1.56 kg S
o
IEmARFARE: X1° 9.Maximum allowable angle deviation: +1° za 2
10.B@ASILRYT (=) © (7)G3/8 10.Size of straight air hole (quantity): (7) G3/8 zﬁ z
e
o
3
1R R /Module Type
FREWR T{EBE TEERR BEEH EEGRS Hho
Product name Working Voltage Working Current Connector Connector PN }ﬁ %
g =P =~
e Ugﬁfaﬁﬁ‘l QCSM-15R2 7.Y00468 50V 2.5A D-Sub15R2-1000% 1.Y10080 a)
[
REMESHR QCSM-15G2 7.Y00469 50V 2.5A D-Sub15G2-1000% 1.¥10081 3
*ﬂééfﬁm“ﬁ?*ﬁm QCSM-08R 7.Y00477 380V 30A 3108A22-2352 1.Y10710
REMESER QCSM-08G 7.Y00478 380V 30A 3108A22-23P2 1.Y10711 ég
Es AMMESHER _ MS3116F14-19S@ 1.Y11420 2\ z
R sidesinl modle QCSM-TOR 7:Y00954 220v 3A CMBOBE-14-1950072)5R-B2 | _1.Y11863 {EE&
kEM=StEth ) MS3116F14-19P2 1.Y11419 >
o s s o QCSM-196 7.Y00955 220V 3A CMBOBE-14-19P(072)SRB2 | 1.Y11864
N i MS3116F16-2652 1.Y11867
Robot e sinal e IES Y P VT 220 4 CMBOBE-16-265(072)SR82 | 1.Y11865
EEMIE SRR i MS3116F16-26P? 1.Y11369
S 98 DS ceod 3A CMBOBE-16-26P(072)5R-B2 | 1.Y11866 s>
@ EEEZEMIE 1K The cable’s length is 1 meter @ {UEL, TEL%H Jointonly, no wire = >
Ein
78
e ae .
DR RZEBY/High Frequency Module Type
FERATR T1EEBE TIEBR
Product name Working Voltage Working Current
HEs AMES1ER -E14-
Robot sidesignal-zdule QCHFM E14 C1 R 7Y02003 1 4KV SA E 5
KEMESHERR QCHFM-E14-C1G 7.Y02004 1.4KV 5A Z=2
Gripper side signal module zﬁ 3
fas §
=
- . . ©
KR Y BIER/Pneumatic Extension Module
FERAR =3 5 S BRLYF, FERAR fidi=3 5 S BRIYF,
Product name Model PN Gas path  Threaded hole Product name Model PN Gas path  Threaded hole
MEBAMSETRER| QCAM-06G18R | 7.Y01015 | 6 G1/8 MEANSE EERR | QCAM-10MSR | 7.Y01053 | 10 M5 ?Eﬁ
o
REMSETRER | qcAM-06618G | 7.¥01016 | 6 G1/8 REMSETRER | QcAM-10M5G | 7.¥01054 | 10 M5 8
<
[ [ [a)
A= RIER | QcAM-06G18R-E| 7.Y01018 | 6 G1/8 NEAUSIY RER| QCAM-14MSR | 7.v01055| 14 M5 g
el
REMSEETRER | CAM-06G18G-E| 7.Y01019 | 6 G1/8 REMSETRIER [ QcAM-14M5G | 7.v01056| 14 M5 S
Gripper side Pneumatic Extension Module Gripper side Pneumatic Extension Module 4
=1
MEAMESET RER QCAM-06G18R-F | 7.Y02005 | 6 G1/8 @
REMEEEY RER |QCAM-06G18G-F | 7.Y02006 | 6 G1/8
ripper side self-proclaimed Pneumatic Extension Module:

c=G



B3y |, A

aqnL SNS . 3|1404d

i

3|NPOIA SIUdIS

SR

J9bueyd ydIND

T HE W
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

73

BHahRIEERER Quick Changer

QCA-200

HLEEAM
Robot side
e= (AN 8.Y00272-SP | 8.Y00272-SN
k=10 Iels S| QCA-200R-SP|QCA-200R-SN
ERlamEsl PNP NPN
®200

\0+ 0. 02

FEM
Gripperside
RS(PN)  EEATIEEY

cb={(VGEE QCA-200G

85. 60 0|
®\ \* 8X@3.307 12
o & | o | B
SEE! 00 718
7 o T 1 3 }
A G1/8Lock Port/ < 5
B G1/8Unlock Port i C% 8 2
— N ol
83.60 + 0.02 F & dosure 100
. 60 40
% 34 23
So.
®125
<>- -&>
/’G}\\ v 0|
6XM3 I AN 2Xp 107 15 @ ©
H7 ., "
} ©- )o
A
L p—
6x®10.70
] M10 Z288E O "
< Mounting Bolts
) / ©- I ©
P25V 3
O @) o
Haz A 62.50+ 0.02 12 x G3/8 12 x G3/8
Robot side
A ZBZSEOPEX The air connection locked 5.5 EFF Monitor position released
B.Z=SZ#AFF Air connection released 7 EZFENME Positioning pin
1 4188 AMIEHE Robot side connection 8.7F>ENLFH Central positioning
2 W ERE B FL Threaded through-holes 9 #1258 AMFBIAIEREFF X Proximity switch for robot side confirmation
3 3% E - 2EE Optional mounting surface 10.E@BS7F Straight through air hole
4 5B Monitoring position locked 11.Ei@ESF, straight through air hole
()9@
®200 9
1 3
85. 60 8XM4V10 i
|
e S 2Xp 10V 15
< — v \ H7
U .
&9 3
o 504002 \_zm_g_g B ~ (5)280H7 S , 3
et < R -
) ®
FEM 0125 T \ 4 \
Gripper side 62.50 + 0.02 6XM10 Z%EF,

1.2 EMIZE$E Gripper side connection
2 MRLERZFIIEFL Threaded through-holes
3. EHECH L ZEE Optional mounting surface

C=RG

4 &R FBEAH Positioning pin
5.7FERLA Central positioning

Mounting Holes'



BHahRIEERER Quick Changer

s /Parameter

B3
LEWEESHF: 150~300 kg 1.Recommended rated load: 150~300kg =
2,812 1@80Psi (5.5Bar) 16000 N 2.Locking force@80Psi (5.5Bar) 16000 N g
3EAAFHNE (X&Y) 1 1360Nm 3.Static Load torque (X&Y): 1360 Nm 34
AFTAHNE (Z) © 1130Nm 4.Static Load torque (Z): 1130Nm )
SMBESRE (XY&Z): £0.015mm 5.Repeatability accuracy (X,Y&Z): £0.015mm ®
6.EE-HEE: 9kg 6.Weight afterlocked: 9kg
THIBAMEE: 6.2kg 7.Robotside’ sweight: 6.2 kg
8.KAMES: 2.8kg 8.Gripperside’ sweight: 2.8kg H@
IRAATAMRE: =L1° 9.Maximum allowable angle deviation: +1° Bag
10.E@ESILRT (#&) : (12)3/8 10.Size of straight air hole (quantity): (12)3/8 zﬁ z
ZH o
e
o
3
1EIRFER IModule Type
AR T{EEBE TEEBR BEHRG EEESRS Hho
Product name Working Voltage Working Current Connector Connector PN % %
B AMESER =
Robot side s\gl:l module QCSM-15R2 7.Y00468 50V 2.5A D-Sub15R2-1000% 1.Y10080 Q
[
%Ew%;%@% QCSM-15G2 7.Y00469 50V 2.5A D-Sub15G2-1000? 1.Y10081 8
Hﬁgt}\d{m "Ffﬁ%& QCSM-08R 7.Y00477 380V 30A 3108A22-235% 1.Y10710
fiﬂﬂﬁ%*%f* QCSM-08G 7.Y00478 380V 30A 3108A22-23P2 1.Y10711 § Q
©
DIEIN =2t ) MS3116F14-1952 1.Y11420 [HE
R e sl o QCSM-19R 7.Y00954 220V 3A CMBOBE-14-195072)5RB2 | 1.¥11863 {Eg
LRSS . MS3116F14-19P2 1.Y11419 &
o s s o QCSM-196G 7.Y00955 220V 3A CMBOSE-14-19P(072)SR 82 | 1.Y11864
MEBBAMSSHER i} MS3116F16-2652 1.Y11867
Robo side ignal module UL Al 220 2 CMBOBE-16-265(072)SR-B2 | 1.Y11865
FEMESEHR - MS3116F16-26P% 1.Y11369
ror s kA o 220v 3A CMBOSE-16-26P(072)5R-B2 | __1.Y11866 s>
@ ERELLEIK 1K The cable’s length is 1 meter @ {UEk, A&L# Jointonly, no wire = >
Ein
e
I .
= SMtE R 2EBY High Frequency Module Type
FREWR T{EBE TIEEBR
Product name Working Voltage Working Current
MEAMSSHERR QCHFM-E14-C1R 7.¥02003 1.4KV 5A
Robot side signal module E s
KEMESHER QCHFM-E14-C1G 7.Y02004 14KV 5A =8
Gripper side signal module iﬁ 5
s
c
el . . _
S BIER/Pneumatic Extension Module ®
FERBMR B C4= S 12457, FRER BE = S 1R,
Product name Model PN Gaspath  Threaded hole Product name Model PN Gas path  Threaded hole
MEAMSIETRER | QCAM-06G18R | 701015 | 6 G1/8 MEAMSETRER | QCAM-10MSR | 7.¥01053 | 10 M5 TES
* = %3
ZREMTE IR | QCAM-06G18G | 7.v01016 | 6 G1/8 KBS RER | QCAM-10MS5G | 7.Y01054 | 10 M5 %
2
M | 1 -
MEANSIETRIER| 0cAM-06G18R-E| 7.Y01018 | 6 G1/8 MEBAMSEET R QCAM-14MSR | 7.v01055| 14 M5 g
S =] = e I . E
REMSET BER | QcAM-06G18G-E| 7.Y01019 | 6 G1/8 RAMSETRER | QCAM-14M5G | 7.v01056| 14 M5 E
=1
NEANESTE BER QCAM-06G18R-F | 7.Y02005 | 6 G1/8 Z
REMEHSET RIER |QCAM-06G18G-F | 7.Y02006 6 G1/8
Grigper sid self-procimed Preumatc Exension el

B&Z iR =S &R/ Self-Sealing Fluid Air Module

s

prer=|

FEREWR =1
Product name Model PN
MERAMSSHEIR i
Robot side ggna\-?odme QCWM-02R 7.Y02013
REMESER QCWM-026G 7.Y02012
Gripper side signal module

c=G



B3y |, A

aqnL SNS . 3|1404d

i

3|NPOIA SIUdIS

S SE

J9bueyd ydIND

il
a|npo\ diig

SHimE

JaddiN 11y

B

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

75

BHahRIEERER Quick Changer

QCA-200-D1

e AM
Robot side

¢A={(IN)E 8.Y00272-SP-D1 | 8.Y00272-SN-D1
A=V SDIQCA-200R-SP-D 1/QCA-200R-SN-D1
EStalzs) PNP NPN

©®200
85. 60

Signal Detection Category

1
S
+
o
o
N
15

& i o 18
(=]
I 1001 %y
/ — S ] 11
A G1/8Lock Port/ = -
B G1/8Unlock Port/ /) QO g O 3 N
0| < ™)
9) & @
- 83.60 + 0.02
3
o 6‘00
125
-
6XM3 ’ N 2XD 107 15
o} H7
; XA \ —@®
va N V
h -\ 1 6x®10. 70
: ~ / M10 ZzEiges
J| 045 N Mounting Bolts
N s
\G‘ﬁ” <z>25v3
h N H8
62.50+ 0.02
neEAm o
Robot side

8X®3.30V 12

KEM
Gripperside

Ca= AN 8.Y00357-D1
aib=(VIeIe [ QCA-200G-D1

A& 100

60 40

34 23

-O
-©
O

0©
0<

i

(10_8x G3/8

“©
-

8x G3/8 @

A ZBZSEEOME The air connection locked
B.Z= S = #AFF Air connection released
1.41.88 AMIZE$E Robot side connection

2 W24ERE FIEFL Threaded through-holes
3B 4L ZEE Optional mounting surface
4 S B HE Monitoring position locked

5 WS BT Monitor position released
7 EZBERIE Positioning pin
8.5 TERLFE Central positioning

9 H1.28 AMFIAEEILFF X Proximity switch for robot side confirmation

10. B8RS F, Straight through air hole
11.EBRSF, straight through air hole

®200
1 3
85. 60 BXM4T10
© [3Y
<
3 N A %
U \J o
T o °
~ 3 18
©  50+0.02 ®
- <
SeEM
Gripper side

1.2 EMIZERE Gripper side connection
2 MBEEREFIIEFL Threaded through-holes
3EEMELREEE Optional mounting surface

C=RG

o,

(19%
2Xp 10V 15
H7
<
)

62.50 + 0.02 \

\ 6XM10 2227,

4 EZFAENMSH Positioning pin @
5.7FLTEIF Central positioning

Mounting Holes



BHahRIEERER Quick Changer

Fﬂ%ﬁ/Parameter .
3
LEWEESHF: 150~300 kg 1.Recommended rated load: 150~300kg =
2.5 7@80Psi (5.5Bar) 16000 N 2.Locking force@80Psi (5.5Bar) 16000 N g
3ESEHNE (X&Y) : 1360Nm 3.Static Load torque (X&Y): 1360 Nm 34
4 EEEEHAE (Z) ¢ 1130Nm 4.Static Load torque (Z): 1130Nm %
SABEEERE (XY&Z): £0.015mm 5.Repeatability accuracy (X,Y&Z): £0.015mm
6.EE-HEF: 9kg 6.Weight afterlocked: 9kg
THZEAMES: 6.2kg 7.Robotside’ sweight: 6.2kg
8.KAMESE: 2.8kg 8.Gripperside’ sweight: 2.8kg Z
IERAAFARE: L1° 9.Maximum allowable angle deviation: +1° ;’Ea.
10.BEBESILRT (&) : (8)3/8 10.Size of straight air hole (quantity): (8) 3/8 zﬁ 2
e
o
el
1EIRFER /Module Type
FERER TEBE T1EEBR BEE EHREGES Hho
Product name Working Voltage Working Current Connector Connector PN }ﬁ %
=P r=1 =~
*&g?/\d@“ﬁ’fﬁtk QCSM-15R2 7.Y00468 50V 2.5A D-Sub15R2-1000% 1.Y10080 o
QEE‘M%;%*’%H QCSM-15G2 7.Y00469 50V 2.5A D-Sub15G2-1000? 1.Y10081 L,%
*&%?{\ijﬁfﬁ%m QCSM-08R 7.YO0477 380V 30A 3108A22-235% 1.Y10710
%%ﬂnﬁ%‘;ﬁ;e QCSM-08G 7.YO0478 380V 30A 3108A22-23P2 1.Y10711 § Q
©
2R AM=E1ELE ) MS3116F14-19S@ 1.Y11420 [HE
Febr e sl o QCSM-T9R 7.Y00954 220V 3A CMBOBE-14-195072)5RB2 | 1.¥11863 {Eg
TEMISS R . MS3116F14-19P? 1.Y11419 B
o s o QCSM-196G 7.Y00955 220V 3A CMBOBE-14-19P(072SRB2 | 1.Y11864
PEI i MS3116F16-2652 1.Y11867
Rabotsde signa e e MRS 220 . CMBOSE-16-265072)SRB2 | 1.Y11865
EEMHSSER - MS3116F16-26P? 1.Y11369
rer s sp AR 7:Y00465 220V 3A CMBOSE-16-26P(072)5R-B2 | _ 1.Y11866 s>
@ ERELEMIK1K The cable’s length is 1 meter @ UEL, &% Jointonly, no wire = >
Ein
e
—— L~ -
D StERZEBY /High Frequency Module Type
BB T{EBE T{EEBR
Product name Working Voltage Working Current
nEAESER QCHFM-E14-CTR 7.¥02003 1.4KV 5A
e <
mEEER QCHFM-E14-C1G 7.Y02004 1.4KV 5A % 2
‘53
fas §
=
- . . ©
KB BIER/Pneumatic Extension Module
FRER RS % S LEA &l FERETR RS i i 1277,
Product name Model PN Gas path  Threaded hole Product name Model PN Gas path  Threaded hole
MEANSIETRER | QCAM-06G18R | 7.Y01015| 6 G1/8 MEAUSEETRIER | QCAM-10M5R | 701053 | 10 M5 ?1&];;’
o
FREMSETEER | qcAM-06G18G | 7.¥01016 | 6 G1/8 REMETRIER | QcAM-10M5G | 7.Y01054 | 10 M5 8
<
AR IR | QcAM-06618R-E| 7.Y01018 | 6 G1/8 EAMSE BB QCAM-14MSR | 7.v01055| 14 M5 g
KEMSE RER | qcAM-06G18G-E| 7.Y01019 | 6 G1/8 SEEMISEET BIER | QCAM-14M56 | 7.v01056| 14 M5 E
Gripper side Pneumatic Extension Module Gripper side Pneumatic Extension Module. 4
=1
MEANEET BER QCAM-06G18R-F | 7.02005 | 6 G1/8 a
REMEITHT RIER | QCAM-06G18G-F | 7.02006 | 6 G1/8
ripper side self-proclaimed Pneumatic Extension Module

BZBH iR ZSIERR/Self-Sealing Fluid Air Module

£
ms %5

FERAER g
Product name Model PN
*{%Ajﬂﬂfﬁ*ﬁiﬁ QCWM-02R 7.Y02013
%f-@gf%;%’f%i% QCWM-02G 7.Y02012

c=G



B3y |, A

aqnL SNS . 3|1404d

i

3|NPOIA SIUdIS

S SE

J9bueyd ydIND

il
a|npo\ diig

SHimE

JaddiN 11y

B

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

77

TRIRZE

# Module Typer

QCSM-15R1

ag AMELR

Robot side module

5S(PN) 7.Y00965
=TV QCSM-15R1

0__[l

30.80

38.50

17.52

~30.81

PEZ)o

: 50V

QCSM-15R2

Ol 0203 04 05
@ 06 07 08 09 010 @
0110120130141015

HEEAMARER

Robot side module

£S(PN) 7.Y00468
sE=VEEE QCSM-15R2

N N

o == 0|3

36.24

[ I

24.84
39.12

60
B % Voltage: 50V
B3R Current: 2. 5A
E8 Weight: 68¢g
¢ IE

I=H
cu

C=RG

F Suitable for: QCA35. QCA50. QCA100.

@ Q150140130Q1201101009 @
08 O7 05 OF 04 03 02 O1

QCA200. QCA200-D1

0 [l

kEMER

7.Y00966
iva(ModeI) QCSM-15G1

30.80_

38.50

*
* B
X E

i

16.97
_J0.81

Gripper side module

QE e

£ Voltage: 50V
R Current: 2.5A
2 Weight: 29.8¢g

i

7.Y00469
iva(Model) QCSM-15G2

S EMER

Gripper side module

©

22

wess @

| 1

28.24

24.84

3912

@ 08 CuoHOCRHO \ @
(0102030405 Q507 Os))

N J

26.80

¥ B
* B

JE£ Voltage: 50V
R Current: 2.5A
2 Weight: 48.5¢

e



1EHRZEE Module Type

QCSM-08R

B AMRER

Robot side module

£RE(PN) 7.YO00477
se= (Ve[ QCSM-08R

72.39

82.03
60

77.30
70.20

72.39

¥ BJE Voltage: 380V

¥ HR Current: 30A

% EE Weight: 434.7¢
&

¥ JEECTF Suitable for: QCA35. QCA50. QCA100. QCA200. QCA200-D1

QCSM-19R

B AMRLR

Robot side module

55(PN) 7.Y00954
aet= (Ve QCSM-19R

—Te—9

55.97
42.50

52.40
45.30

X HBJE Voltage: 220V
¥ ER Current: 3A
% EE Weight: 178. 3¢

B
ZE
02
g4
g
T E MR
Gripper side module -
FEOOM  7.v00478 fg%
= WIEEED] QCSM-08G Hs
Ol «—
©| -
& %g_
o
= - ..
0p q X2
= ¥ 2
— B3
He
67 =
X HBJE Voltage: 380V
¥ HE Current: 30A
¥ E== Weight: 330g
5>
Eche]
7z
BS
KEMHER =t
Gripper side module =
Q.
T 7.Y00955 g
Sl QCSM-19G
M 0
ol [® Q| Mz
0 5 3
q 3
< © o, To) S
\ H To) 5
3

oltage: 220V
urrent: 3A
eight: 130.7¢g

3080K
i @
=o<

¥ JEECF Suitable for: QCA35. QCA50. QCA100. QCA200. QCA200-D1

c=G




B3y |, A

aqnL SNS . 3|1404d

i

3|NPOIA SIUdIS

S SE

J9bueyd ydIND

il
a|npo\ diig

SHimE

JaddiN 11y

B

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

79

EHRZEE Module Type

QCSM-26

Az AMAELR

Robot side module
5S(PN) 7.Y00464
seE= (Ve[ QCSM-26R

il 0

42.50

66.05

32
40

52.40
45.30

% HBJE Voltage: 220V

% EER Current: 3A

¥ E= Weight: 198. 5¢

¥ &2 TF Suitable for: QCA35. QCA50. QCA100. QCA200. QCA200-D1

SHEHRZER High Frequency Module Type

HS(PN)

0

7.Y00465
seE= (VG QCSM-26G

42.50

65.77

FEMEIR
Gripper side module

Hag AMRLR

Robot side module

RE(PN) 7.Y02003
b=l (Vlele [ QCHFM-E14-C1R

d

56.90

=

55.30
53

C=RG

¥ HJE Voltage: 1.4KV

¥ HR Current: 5A

¥ EE Weight: 194. 5¢

% 1EAZF Suitable for: QCA35. QCA50. QCA100. QCA200. QCA200-D1

BS(PN)

7.Y02004
aeb={(Vlele [ QCHFM-E14-C1G

n

K EMRR

Gripper side module

55.30

q
=

56.90

PEEA
i cff cEB-
S
=o<

oltage: 1.4KV
urrent: 5A
eight: 151¢g

33.80




3L Connector

[EZ=BS=SN S0

19 core straight connector (female head)

48.41

£RS(PN) 1.Y11420
aeb= (Ve MS3116F14-19S

% EE Weight: 36.8¢g
¥ JEHECTF Suitable for:QCSM-19R

2615 B L L (L)
26 core straight connector (female head)

8.97

T .

51.99

£RE(PN) 1.Y11867
aeb= (Ve MS3116F16-26S

¥ EE2 Weight: 44. 8¢
¥ EBLTF Suitable for:QCSM-26R

90°#%3L 90°Connector

$12.70

(EZN=BS =SSV

19 core straight connector (male head)

99.53

£R5(PN) 1.Y11419
atb=(Vele [ MS3116F14-19P

% E=E Weight: 36.8¢g
¥ EACF Suitable for:QCSM-19G

26 5Bk (AK)

26 core straight connector (male head)

£RS(PN) 1.Y11369

aeb=((Vele [ MS3116F16-26P

¥ ER Weight: 44. 8¢
¥ EBCTF Suitable for:QCSM-26G

B3y | FhE

agnL SNS . 3]1401d

HEE S A

S|NPOA SIUdIS

S SR

J9bueyd }dInd

S
a|npo\ diug

ham 2 20301

JaddiN 11y

81h90° 123k (BL)

8 core 90° connector (female head)

76.98
8.26

T
d

|
{13

5.0

37.31

£RS(PN) 1.Y10710
at sl (Ve 3108A22-23S

% E= Weight: 149. 3¢
¥ JEHECT Suitable for:QCSM-08R

-

50.62

(%)

8ii90°% (2 3k)

8 core 90° connector (male head)

76.98

7

AN

.

50.62

(@)

E

37.31

£E(PN) 1.Y10711
aets (Ve 3108A22-23P

X EEE Weight: 119. 2¢g
¥ JEBCTF Suitable for:QCSM-08G

RS HL

3|NPON wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

c=c [0)




B3y |, A

aqnL SNS . 3|1404d

i

3|NPOIA SIUdIS

S SE

J9bueyd ydIND

Frm

a|npo\ diig

SHimE

JaddiN 11y

B

3|NPOIN wnndep

sjuauodw o) A10ssa20Y

81

90°#%3L 90° Connector

19:590°#23L (L)
19 core 90° connector (female head)

54.85
42.85

N
23 |

54.85
E m

HE(PN) 1.Y11863 |
#IE(Model) CMBOSE—14—19S(O72)SR—B‘

X EE Weight: 81.1¢g
¥ EHECF Suitable for:QCSM-19R

26:15:90° 13K (BF3k)
26 core 90° connector (female head)

58.35
44.40

$32.16_,

HS(PN) 1.Y11865

k=10 [elo [ D CMBOSE-16-265(072)SR-B

X EE Weight: 99.5¢
¥ EHECF Suitable for:QCSM-26R

C=RG

19:590° 3L (2 3k)
19 core 90° connector (male head)

54.85
42.85

$28.50 |

42

18

e

HS(PN) 1.¥11864 |
#E(Model) CMBO$E—14—19P(072)SR—B‘

X EE Weight: 79. 2¢g
¥ EEF Suitable for:QCSM-19G

26159023k (2 3k)
26 core 90° connector (male head)

58.35
44.40

46

£5(PN) 1.Y11866
etk ="(\V/[o)o[=1 )}l CMBOSE-16-26P(072)SR-B

¥ EE Weight: 96. 4g
¥ EECF Suitable for:QCSM-26G



=54 Quick Changer Signal Cable

15 R {E S & k)

15 core quick changer signal cable (female head)
1.Y10163

»f-bl:l(PN)
#E(Model) DB15R1-1000

X EE Weight: 125.7¢
p3 E?%?‘x’?‘x’ﬂ‘fv%j’]* The wire’ s length is 1 meter
¥ EHECF Suitable for:QCSM-15R1

1 SEVRIRIS S£(B2k)

15 core quick changer signal cable (female head)

5S(PN) 1.Y10080
=TV D-Sub15R2-1000
X EE Weight: 142¢g

X EEEZEMAKCAIK The wire’ s length is 1 meter
¥ EHELF Suitable for:QCSM-15R2

1S RIRES L(2 )

15 core quick changer signal cable (male head)

£RE(PN) 1.Y10437
aeb=l(VeeEl  DB15G1-1000

X EE Weight: 123.7¢g
P E?&é&&ﬂ‘t’tj{”* The wire’ s length is 1 meter
¥ EHECF Suitable for:QCSM-15G1

1S5RS S LK)

15 core quick changer signal cable (male head)

1.Y10081

4—b|=|(PN)
aet={(V[ele [l D-Sub15G2-1000

X EE Weight: 141. 4¢
X EEEZEMACAHINK The wire’ s length is 1 meter
¥ EELF Suitable for:QCSM-15G2

CRG

B3y | FhE

agnL SNS . 2]1404d

HEE S A

S|NPOA SIUdIS

S SR

J9bueyd }dInd

S
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

82




>
ZE
me
g4
g
HLEE A MR FEMIER
%2’ Robot side module Gripper side module
152
Hs 2E(PN) 7.Y01015 - ={(\) 7.Y01016
s se={V e QCAM-06G 18R SAE=HVE S QCAM-06G 18G
o © ©
23 50+0.02 \Z—X%Lgo @ 50+0.02 \z"ﬁ‘éu‘g o
2 1 © o
S 80 80 ) @
) N ® O ] —© @ © -]
i O] 0.0 O Q@ ©
;‘%Q = @ 6 xG1/8
3 4x 4,20 6 xG1/8 4x%4.z; X
% S ’ﬁ“”tisﬁs M4Mounling Bﬁs %
frg
5 % B Weight: 141, 4¢g % B8 Weight: 140.9g
% JEELF Suitable for: QCA35. QCA50. QCA100. QCA200. QCA200-D1
sz
#z
B3
Je
BS
zs2 "
‘53 MEFAMELR FEMIER
1¢§ Robot side module Gripper side module
° E={0\)) 7.Y01018 525 (PN) 7.Y01019
aib={\Ylele Sl QCAM-06G18R-E b ={\VleTe [S)) QCAM-06G18G-E
B 2 o ° ° °
3 3 ) 3 3 ©
o
E‘ J_M_l 2x0439 © L&i 2x04%9 ©
3 1O . Jd | © 2
-8 80 o @ | 80 | @ o
g 50+0.02 @
28 28 |
R ZX%WQ m 4.2012
¢ Mounting Eﬁs Mounting Bolts
X EE Weight: 145¢g % EE Weight: 148¢g
% JEELF Suitable for: QCA35. QCA50. QCA100. QCA200. QCA200-D1

83

S EiELR Pneumatic Extension Module

C=RG




SRy B Pneumatic Extension Module

i
ZE
e
g9
g
e AMER FEMER
Robot side module Gripper side module gﬁ
=2
»f'bl:l 4-b|:l *E%
S(PN) 7.Y01053 S(PN) 7.Y01054 Ha
’*‘J':'(Model) QCAM-10M5R *‘J':’(Model) QCAM-10M5G =
E o ° ° )
@
° ) I I\\ @ = ®re
\2@479. o s
50:0.02 ©) =
fe s °° o 50:0.02 \% o @ o s
93.70 g oo N 93.70 8 ©© N 8
() ® )
m)
5 -0 ° ° e° o J 1o e © % o° o P
82| o o o o ® N el o) %0
© o\ 8¢l o o o o s\ 53
\(0 xM5 2540 ©] 25.40 [
- Q.
4x¢ 4.20 4% 420 10 xM5 e
M4 ZRER M4$z' o
Mounting Bolt Mounting Bolts
X EE Weight: 263.9¢ % EE Weight: 267.9¢g
¥ JEAZTF Suitable for: QCA35. QCA50. QCA100. QCA200. QCA200-D1
g2
#z
B3
J)2
BS
- o =t
HLEs AR FEMER 55
Robot side module Gripper side module {¢§
85 (PN) 7.YO1055 £RS(PN) 7.Y01056 2
aik={(V[ele[)] QCAM-14M5R aie=l(V el QCAM-14M5G
° ° o ° ©) Bt &
3 q (<) ° q @@ 153
4 6\\ 0° [} [} ® g
m) = <
50:0.02 \AM& 00 50:0.02 \M @© o
B oo | %] s ® g e E 3
120 & e 120 - ©] - =
0° ©) 3
(<) el 2
N o o0 .0 OO o o m)
S @ Py . o O @o o o o o @@
g | o o 0\0 () g o o o ®
@ go © \ )
4 x® 4.20, \14 xM5 25.40 4 x ¢ 4.20, 14 x M5 25.40
M4zz°=¥i§ M4 ZERE
Mounting Bolts Mounting Bolts
¥ EE Weight: 207. 4g ¥ EE Weight: 210. 3¢

¥ 1&EETF Suitable for: QCA100. QCA200. QCA200-D1

CRG g



BESY EiEHR Self-proclaimed Pneumatic Extension Module

B3y |, A

aqnL SNS . 3|1404d

28 AMARER KEMEGR

Robot side module Gripper side module

i

3|NPOIA SIUdIS

EES(PN) 7.Y02005 ES(PN) 7.Y02006
seb={\[ele )l QCAM-06G18R-F seb= (VT[S QCAM-06G18G-F

SR

J9bueyd ydIND

27
18

© ©
©

50 +0.02 2x9 439
H8 2x9 47 10, 4%4.2
H8 M4 ZEER S
80 o Mounting Bolts
® © 2x9 47 10
H8 50

!

© ) »
Y TF Y ¥

56

©

© ©
0

© ©
0

T HE W
a|npo\ diig
27
18

1}
[N}

ZXQ;:SI 10, '\24 42%&
¥ EE Weight: 150g
¥ JEEZF Suitable for: QCA35. QCA50. QCA100. QCA200. QCA200-D1

Mounting Bolts

¥ E= Weight: 152g

SHimE

JaddiN 11y

B

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

BN CRG



BEZImA/S SR Self-sealing Fluid/Air Module

Hag AMARLR

Robot side module

HS(PN) 7.Y02049
gt (V] QCWM-02R

[ [

41

B MELR

Gripper side module

5E(PN) 7.Y02050
SV QCWM-02G

[ [

41

28.50

O O

60

27

¥ T1EEETEE:-28.9° C "65.6°C
X MER: FHERIIE

X EE: 393. 6g

% Range of working temperature:=28.9° C "65.6°C

3 Material: Stainless steel housing
H# Weight: 393.6¢g

% J&EECF Suitable for: QCA35. QCA50. QCA100. QCA200. QCA200-D1

% TEBEERE:-28.9° C "65.6°C
X MR FTHENINE

>:< i% 379g

3 Range of working temperature:28.9° C "65.6°C

3 Material: Stainless steel housing
¥ Weight: 379¢

B3y | FhE

d9qnL SNS - 3|!404d

S R

S|NPOA SIUdIS

S SR

J9bueyd }dInd

ey
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

c=G m




B3y |, A

aqnL SNS . 3|1404d

HEE A 0t

3|NPOIA SIUdIS

SR

J9bueyd ydIND

Frm

a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

87

RFZFERNRHER Round Manual Quick Changer

QC-R90K

QC-G90

° i F LREOATS TEi%

° FFERTESI.

% T ES M SIEEIAVEIR.
® 4, 8,108,121 S ahik#,

® WEHHMFMFEEM) 5 FHRE.

® Easy replacement of the EOAT on the robot.

e Suitable also with vacuum ports.

e Avoids mistakes in pneumatic and electrical connections.

®4,8,10 or 12pneumatic connections.

e The two parts (robot side and gripper side) are supplied
separately.

NER
Medium

ESEE

Pressure range

BEBE

Temperature range

A F MR RIERFE IR IR

Robot side quick changer

PR F MR RIREIRIERER
Robot side quick changer weight

BB MR ERAEHRELR

Gripper side quick changer

BEMAIREIRERER

Gripper side quick changer weight

EEHAS
F

IiEREHEE
Mt

kgl
Mb

k=1
Recomended payload

=)

Colour

LI ERTA

Installation and use example

i Lock

Ma%

Bl i Lo e 451
Example of Install with lock

C=RG

EEREREES
Filtered compressed air
5~6 bar
5~60°C
QC-R50K QC-R90K QC-R150K QC-R160K QC-R200K
103 g 318¢g 1159 ¢ 12009 26409
QC-G50 QC-G90 QC-G150 QC-G160 QC-G200
659 227 g 8379 900 g 1890 g
350N 1400N 3500N 3500N 9000N
20Nm TO00NmM 250Nm 250Nm 600Nm
TONm 60NmM 150Nm 150Nm 300Nm
5kg 15kg 35kg 35kg 75kg
HEE HiEeE 2 HiEE 2=}
Brass Brass Black Brass Black
FREE
Two times locking
m B84 Unlock

RIFFREH
Unlock the safety lock




RfFZFERNRE Round Manual Quick Changer

ﬂﬂﬁ:/Accessories Wy
7=
BSEEAY Electrical connection module igé
+D-SUB 9 £tiE %28 |/0 HRIRFRIRIEIR. + 1/0 quick change by D-SUB 9 pins connector. (S.;
« TEB D 3 FHEMH: * The two parts are supplied separately.
QCSM-9R2 HHHF M SRR QCSM-9R2 robot side signal module.
F 2
QCSM-9G2 5 EMI{E SR QCSM-9G2 gripper side signal module. %’E%
= =
R9-1000 45E&/EEEL R9-1000 45 degree metal female fitting. g
oy
G9-1000 45E&EAEX G9-1000 45 degree metal male fitting.
:l*?
L YRE s
Safety locking(Standard) al
HRFMISSER 7.Y00922 ]
Robot side signal module QCSM-M9K 2
7.Y00862 -
QCSM-9R2
2
E_U
VEES
e
o
AL
Connector-Female
1.Y06423 N
R9-1000 __\';
=]
e ﬁ}?
RLUBLTFR (5 B :
Output Switch(Option) 1.Y06424
G9-1000
REMIESIER
Gripper side signal module
\\\\\\‘ 7.Y00863
QCSM-9G2 EHs
z=2
=
=
e
oy
&
> —_— 2 . . . a
1§%ﬁﬁﬁm§/3|ngal Wire Cross-sectional Sketch Map 8
a
o
3
3
H
oV &

24V

BERIPE
Insulation Protective Layer D-M9B
L2 H X

Output Switch

Fig=

Shielding Layer

CRRG L



RFZFERNRHER Round Manual Quick Changer

it
o
=
o QC-50 FEmEB ¥/ Parameter
= n
=)
g Bs Model Qcs50
o
i BEREEES
R Medium Filter;Ecompre_;l;e_d\ air
E/3EE Pressure Range 5~6 bar
%? BEEE Temperature Range 5~60°C
Iﬁ § FLAR S M A9 R IE % R AR R Robot side Quick Changer QC-R50K
—a
& MR FE MY RER 18R 5 8 Robot Side Quick Changer Weight 103 g
AR B BOR L HRAE R Gripper Side Quick Changer QC-G50
SGEMIBYRIERIEHIIERESE  Gripper Side Quick Changer Weight 659
iﬁg E=ga)) Vertical Pulling Force F 150N
S pirdigaibsal Rotating Torque Mt 20Nm
g e Reversal Torque Mb 10Nm
BiNE Recomended Payload 5kg
5.5_5 BE Precision +0.05
g e
,ﬁ:é ) Colour Brass
° BEESIRT (#H=) Size of straight air hole(quantity) 4-M5
R#iﬁﬂﬂ/Dimension
52
Mz
a3
Je
% = 12.63
o 1 o
< ) %)
% < ®50 4 | AP _ 23
4F3 X . A Qi;b@ r?@\
» D O
c (=} \ o n
§ i S —o ) ﬁ,(é \
g | g ] \ ot 0
A i 4 & |
\S ‘
B A\ .
3 | B . Y o \2x@ 3H8V6
§ 34.6 ;
< —_—
g S 45 4xM378
3 i —
B . _ ,/ ) 40:0.02
3 ZAHFIC QCSM-MIK c —
3 Safety Lock (Standard) c
|\
10.50 4
LA IR GERD 18
Safety Lock Output (Optional) -
27 (4AF)
__Assembling 27
HUA T M AY R B HR AR R ££S(PN) 8.Y00402
Robot side quick changer A= (Model) eler 1014

@ CRRG



RFZFERRHER Round Manual Quick Changer

B
"424% 3 6. = 40+ 0.02 *71' 5
S 15 %% o > S 2
) 23 o & ig&
S LB O g
2 i /o N c
(=] (=]
1 OQOF i, e
o | NS
R | ir\% )
T\ A i ’ 5
\é) @) i e ) O] Bag
010 L H ST | 2
@ (e 2 H
— BE :
2 34.6 &
27 (A& )
Assembling 27
AEMBRIERE EIER £E(PN) 8.Y00055 Eé’
Gripperside quick changer AE2(Model) QC-G50 5
2
EIRFER /Module Type
RE PR /Ot X2
Product Product name 1/0 connection type Working current gﬁ <
g
I WESER | acsm-ort 7.¥00823 9%D-SUB MAX 3A R9-1000
(1.Y06423)
=x
Nz
N = E:l_g'c
JERIESER | qcsm-961 7.¥00824 9%D-SUB MAX 3A G9-1000 L
(1.Y06424)
*R9-1000, G9-10001%6F, MERLE&KF1K
*R9-1000., G9-10000ption,the cable’s lengthis 1 meter
=
H3
. . =
RIBIEIZEIRInterface  (BETEM%E) (Kit With Screws Option) 3
B NHIZETEHERSTESMT W B8SSIP-50BT £57.Y00650-T ®
Note: If screw kits needed, add T to the part number and model number. eg: Model SIP-50BT Part number 7.YO0650-T.
B 2
3
s
a
o
2
7.50 o
H
a 1L
2 (PN) 7.Y00650
S (Model) SIP-50B
QC-G... QC-G50
EE(T) 4mm
128 £T 3% &L 14 Accessorier selection
BR22 (Screws) PTC-M5L12*4
Xﬂﬁ$ﬁ(5ing|e hole shim) PTS-M5*4
TEUREH(T-Nuts) PTN-M5*4
BB EWeight) 90g

c=c @)



RFZFERNRHER Round Manual Quick Changer

QC-90

B3y |, A

aqnL SNS . 3|1404d

i

3|Npo 51Ua1S

S SE

J9bueyd ydIND

il
a|npo\ diig

Rq'iHHE/Dimension

SHimE

JaddiN 11y

T H it
3|NPOIN wnndep

sjuauodw o) A10ssa20Y

ol Jo7

4.50

MU 3 M B9 R R FE HRAR IR

Robotside quick changer

CRRG

Safety Lock Ou

REPHFEQCSM-MIK
Safety Lock (Standard)

~=mE#/Parameter

s Model Qc90

e Medium Filtggzﬁé’fﬁzi:j air
ENERE Pressure Range 5-6 bar
EEEE Temperature Range 5~60°C

AR T M B IR IR FE IR AR R Robotside Quick Changer QC-RI0K

PR FEMI B R H4E3REE Robot Side Quick Changer Weight 3189

A EMIAY R IR AR IR Gripper Side Quick Changer QC-G90

SAEMP R IRIEIRES Gripper Side Quick Changer Weight 227g

REYPHETTR (&R )
tput (Op

EHNN Vertical Pulling Force F 400N
TR Rotating Torque Mt 100Nm
Ekagaibi) Reversal Torque Mb 60Nm
B Recomended Payload 15kg
BE Precision +0.05
) Colour HAE
Brass
BEMSART (&) Size of straight air hole(quantity) 8-G1/8

11.85
o
0, 1
5.5 Wﬁ S
o T
1 (32
. R
el 1
5 : S
S : 3
& 1 L1 S
F° =
S S|
| g
9 | o
w
tional) [~ | | oy
| <
S|
18.60 _8-G1/8 #50 =)
8-G1/8 Inlet port 47.50 B
éﬁ%ﬂ<1‘33.60__ 53.6 ©
™ TAssembling 33.60] .

RE(PN) 8.Y00359
ZiS(Model) IeTeN-tI4




RFZFERNRER Round Manual Quick Changer

o
550, B 2
———12 ZE
gl N ~®
|32 S me
IT ) c’:" = ;
[ l:[l < o
o
\d—) o
Q) ™
& 25
$o 0 g
I Za3
=K
15 8-G1/8 #50 = Hg
8-G1/8 Inlet port 2 s
33.60( A >
6 16 4-M3V5 Assembling 33.60 e}
=N o
I HEIDIE
s R Be
23
2
1= [
N s 51 S(PN) 8.Y00033 >
A BB R R R T ac.as0 g
Gripperside quick changer Y
; %2
*ﬁﬂ!%ﬂ/Module Type ;Eé
=S
- = e m e
mE FFRER b= |/OZEREREY T1EEBR o
Product Product name 1/0 connection type Working current
RFMESER | acsm-9r2 7.¥00862 95tD-SUB MAX 3A R9-1000 =3
(1.Y06423) =N =
e
Jle
JRARMESER | qcsm-962 7.¥00863 9%tD-SUB MAX 3A G9-1000
et (1.Y06424)
=
*R9-1000, G9-10008A, HEELLKHIK 32
*R9-1000. G9-10000ption,the cable’s lengthis 1 meter 5 5
=
Ay Q.
T*?ﬁﬁ}%*ﬁ/lnterface (1BETEMI%ED) (Kit With Screws Option) =
i NHIRTEMRSESIT w0 828SIP-90BT £57.Y00634-T
Note: If screw kits needed, add T to the part number and model number. eg: Model SIP-90BT Part number 7.Y00634-T
M2
3
s
a
o
3
el
S
. @
RS(PN) 7.Y00634
S (Model) SIP-90B
QC-G... QC-G90
EE(T) 3mm
92 £ 158 BC {4 Accessorier selection
ﬂ;ﬁ(Screws) PTC-M5L1 2*4
mﬁzpﬁ(smgle hole shim) PTS-M5*4
TRUMEF(T-Nuts) PTN-M5*4
B E(Weight) 1909

CRRG pp



RFZFERNRHER Round Manual Quick Changer

it
S
=
.0 -
R QC-150 EmE¥/rarameter
s n
=)
§ oS Model QC150
o
n i BEBERETES
R Medium Filtered compre_;lged air
E/EE Pressure Range 5~6 bar
wv
%g BEEE Temperature Range 5~60°C
Iﬁ § FLA S M A9 R IE 3% HR AR R Robot side Quick Changer QC-R150K
—a
& HARFEM YRR RIERE S Robot Side Quick Changer Weight 1159 g
A E MY R IRIE IR Gripper Side Quick Changer QC-G150
SEEMBYRIERIERIEERES  Gripper Side Quick Changer Weight 837¢g
[y el
R <. E=ga)) Vertical Pulling Force F 1000N
s
S TEdR R Rotating Torque Mt 250Nm
=}
g ikaaibi Reversal Torque Mb 150Nm
B E Recomended Payload 35kg
ég BE Precision +0.05
HE 7
'#F g ) Colour Black
° BEEBEASHRT (#%&2) Size of straight air hole(quantity) 10-G1/4
> - -
=> R~Fi#5BA/Dimension
Mz
BIT
5o
Je
21.
S Ak o
5|6 =S
BHS S M w[©
@ -
z5g .
ZE 5 10-G1/43# /50 N
Hz © 10-G1/4 Inlet port o
2 © =]
& S R
go
o
o« )
)
<
B 2 5
z iREg QCSM-M9K
14:% éza%tﬂﬁ%io(smndard) \y/
5 717 5
3 116
3 Assembling 47
2
“ 8-M3y5_. 16, o0

AR 5 M B9 IR R L HR AR R CE= (N 8.Y00376
Robot side quick changer aie={(VIeh Sl QC-R150K

RN CRG



RfZFERNRER Round Manual Quick Changer

21.30

- V=S Bz
by 9 % g 0&0 <°o *7."%
| S5 & %Rj] .
| — @
au S B2
ol 2 | f / g
ik AE e
| 3 | f’ 1
S $2 . I E
2 ! N 8 7 xg
¢ Il i 8 "o / %’E;.
| al S NSO R — = =
:I:I:ljﬁs 10-G1/43#<0 \Q\\_-// gﬂé
LM 10-G1/4 Inlet port © >
5 B
ARE4T | g
Assembling 47 e
=] RO
23
2
= 2
s B B MR B e A £S(PN) 8.Y00377 2
Gripper side quick changer EEESIVELEN] QC-G150
%9
i I el
1EIRZERY [Module Type A
e
mE FERER 5] |/OFEREREL @
Product Product name 1/O connection type Working current
I WESER | Qcsm-9R3 7.¥00819 9%fD-SUB MAX 3A R9-1000 52
(1.Y06423) &z
53
Jle
N =0
JERIESER | acsm-963 7.¥00820 9%tD-SUB MAX 3A G9-1000
(1.Y06424)
=
*R9-1000, GO-1000MEE, HERELELKA1H 22
*R9-1000, G9-10000ption,the cable’s length is 1 meter | 5
#Fg
T*?ﬁﬁ}%*&/lnterface (RETEHi%ED) (Kit With Screws Option) =
T NFIREMRSMNESIT W 2ESIP-160BT £557.Y00635-T u
Note: If screw kits needed, add T to the part number and model number. eg: Model SIP-160BT Part number 7.YO0635-T > Yg
‘ © I3
4~®6'2 %{’&
s
a
o
3
3

5S(PN) VATIES

S (Model) SIP-160B
QC-G... QC-G150/QC-G160
EE(T) 4mm

2 £7 3% B 14 Accessorier selection
ﬂ?ﬁ(Screws) PTC-M5L12*4
Xﬂﬁsﬁié(smgle hole shim) PTS-M5*4
TEUEEH(T-Nuts) PTN-M5*4
REEWeight) 5409

CRG Bz



MRy |, A

aqnL SNS . 3|1404d

i

3|NPOIA SIUdIS

S SE

J9bueyd ydIND

il
a|npo\ diig

SHimE

JaddiN 11y

RS H
3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

95

RFZFERNRHER Round Manual Quick Changer

QC-160

quﬁﬂﬂ/Dimension

ﬁﬁﬁisﬁﬂ:‘ﬁ*( (&E)

Safety Lock Output (Optional)

R 2 48#RE QCSM-MIK
Safety Lock (Standard)

—

©

49.4

12

AR T B 1R IR 5 R AR IR

Robot side quick changer

C=RG

= amE#/Parameter

s Model Qc160
e Medium Filtggﬁgpﬁgj air
EHERE Pressure Range 5-6 bar
RESEE Temperature Range 5~60°C
PR T M AT IR IR FE IR A R Robot side Quick Changer QC-R160K
M FEM A PRIRFEIRIEIRE B Robot Side Quick Changer Weight 1200 g
JA B MY R IR AR IR Gripper Side Quick Changer QC-G160
BEMBREEHEIEIRE SR Gripper Side Quick Changer Weight 900 g
FEBHAS Vertical Pulling Force F 1000N
TR Rotating Torque Mt 250Nm
S Reversal Torque Mb 150Nm
e a0 Qak=4 Recomended Payload 35kg
BE Precision +0.05
) Colour EBriaﬁjs;é
BERSIRYT (%8) Size of straight air hole(quantity) 12-G1/8

22
o —
m”6 :Hﬂ o0
T > S
n T
Q )
—0
12-G1/83# 50 :
12-G1/8 Inlet port 1 |
0 |
<
o
i 2
S |
I I
|
|
|
5.70

| AER149

Assembling 49

70 +0.02

73.50

£S(PN)
E =iVl QC-R160K

8.Y00360




RFZFERNRER Round Manual Quick Changer

& t% 22 1) ©
>, N 52 X
114 \% Yy . - 2 M%
— e} 676; N m
0 -0~ i@&
e /1IN B
/ S o
s/ \\ \m @™
. 8. ¢ -0
g = R EEEL
K \ L
S\ R v, g
' i el 4 L z8s
| O) [N\iz-e1s 50 ~ . 77 =2
| 12-G1/8 Inlet port S~ _ - P iﬂ °
| 0 g_
= 6 B o
BAR 49| 3
Assembling 49
Hho
]a
2
ARMEIRRZIRELR CA={(AN  8.Y00053 E:
Gripperside quick changer LNV QC-G160
%2
RSB /Module Type L
e
FEmE FEmBTR I/OZEREER ®
Product Product name 1/0 connection type Working current
N ——
NS WESHER | acsm-9R2 7.Y00862 9%tD-SUB MAX 3A R9-1000 5z
(1.Y06423) ng z
33T
Jle
AN =Bk
JARMESER | qcsm-9G2 7.¥00863 9%D-SUB MAX 3A G9-1000
(1.Y06424)
BS
*RO-1000, G9-1000i4E, ERALKNIK 32
*R9-1000, G9-10000ption,the cable’s lengthis 1 meter 8 5
{¢§
RIEIZEIZEIR/Interface (BSTEM%E) (Kit With Screws Option) <
T NEIRE B RSMESINT W #SSIP-160BT #£57.Y00635-T
Note: If screw kits needed, add T to the part number and model number. eg: Model SIP-160BT Part number 7.Y00635-T > N o
O F >
4'®6,2 ?Ei’é
s
505 ﬁ S o
El
e g
ALY =

4 20
74

130

55(PN) 7.Y00635

B2 (Model) SIP-160B
QC-G... QC-G150/QC-G160
EE(T) 4mm

B2 £7 1% BC {4 Accessorier selection

BE2% (Screws) PTC-M5L12*4
mﬁqzﬂ(ﬁngle hole shim) PTS-M5*4
TEUREF(T-Nuts) PTN-M5*4
RLE & (Weight) 5409

c=c @)



RFZFERNRHER Round Manual Quick Changer

Tl
o
=
e QC-200 @B/ Parameter
=5
g L= Model QC200
o
7w i EFEERETS
a Medium Filtered compressed air
E/EE Pressure Range 5~6 bar
F 2
;’.‘%g AmEEE Temperature Range 5~60°C
Iﬁ § FLAE S M A9 R IE 4% R AR R Robot side Quick Changer QC-R200K
—a
% MAF MY RIFEEE HRIEIREE Robot Side Quick Changer Weight 26409
A EMIBY R FEIRIEIR Gripper Side Quick Changer QC-G200
SGEMBYRIERIEHIEIRES  Gripper Side Quick Changer Weight 1890 g
* KE) FEHHAH Vertical Pulling Force F 2000N
s
S 2 Rotating Torque Mt 600Nm
=]
g s Reversal Torque Mb 300Nm
BNt Recomended Payload 75kg
;.55 BE Precision +0.05
|/ Z
%g a ) Colour i%(
f=
° BBESARSY #8) Size of straight air hole(quantity) 12-G1/4
> - -
R~Ti%BB/Dimension
52
iz
BIT
e
e "
REPRMHIFR (LR )
Safety Lock Output (Optional) g
?'o
«©
T ©|
|
L ZEBFEQCSM-MIK |
EE c Safety Lock (Standard) ! \ T
# CZ) N | I S
£ EEIE ]
© ?; | +é E
AS) - || A
|
'S
>
B 2 T
L 6-MBIIkEEL _ .0 B,
o o 6-M8 countersunk fixing hole —_—
2 = 30.70
A =
g HAR55.7
= Assembling 55.7 | 175
o -~ M=
oy ;—m
] [] 7 |o 3 -
| 10
€ 1 S
HU S B R R A% R AR IR CE=NVEY  8.Y00209
Robotside quick changer =TV ED QC-R200K

Vs CRG



RfZFEsNRER Round Manual Quick Changer

S 6-M10EE ) ©
; o eé; 6-M10 fixing hole g: §
© S 7=
© N
<K 3 N o
l %" | #é‘—: wn
? =
o o
< @
il 3
N N o
=1 e oo o
! e < 2 N
D 3 gl 8 B
- e S - ¥
0 4
=2
| Hg
-0 @;;é 6-MBEIE 7L 8
6-M8 fixing hol B
% ixing hole
6-MBTTkEEH
! 6-M8 fixing hole 25
175 BAN55.7 120
‘Assembling 55.7
12-G1/4#50 "
12-G1/4 Inlet port }ﬁ

J9bueyd }dInd

ol Tok il Tol |

3 16 8-M3X6 5
B BBy BRIR PR IR co={AN  8.Y00208 *xe
Gripper side quick changer SNV QC-G200 E;
H3
1 1 He
1R R /Module Type S
~RE FEREWR % |/OFERERR T{EERR
Product Product name 1/0 connection type Working current
=2
iz
I MESER | acsm-9r4 7.¥00821 9%tD-SUB MAX 3A R9-1000 =3
(1.Y06423)

JABIESER | qcsM-964 7.Y00822 9%tD-SUB MAX 3A G9-1000 s
pp 9 (1.Y06424) §§
‘53
*R9-1000. G9-1000%E, ERLELKHIK z
*R9-1000, G9-10000ption,the cable’s length is 1 meter g

ﬂ?ﬁﬁ?&*ﬁ/lnterface ;22 '
‘ S
L He
2 ——tr=t 8
o, S
§ 75 3
: g

h \ 6x@11%28F .8—.|_<_

N 5x90°
£2E(PN) 7.Y00865 020.5x40

S (Model) SIP-200B
QC-G... QC-G200
EE(T) 8mm
JRAEE E(Weight) 5789

18 £T 1% Bt 14 Accessorier selection
BRZ%(Screws) PTC-M5L16*16
Xyﬁilzﬂ(smgm hole shim) PTS-M5*16
TEURB(T-Nuts) PTN-M5*16

c=G @



MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd ydIND

Frm

a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-
=
=

sjuauodw o) A10ssa20Y

FFERRER Square Manual Quick Changer

72
@
@ j @ 270

50 %;

BURIRL
Lock screw

QCS-G60
SEELBAGE)
Threaded Hose Module(Option)
55 (PN) 8.Y00081 8.Y00082 1.Y03525 1.Y03524
FIE(Model) QCS-R60 QCS-G60 KCH04-M5 KCHO06-M5
fa#(Load) 70N - - QCS-R60
E2/Weight 148¢g 799 79 99
147
QCs-G100 g 0
q ¢ |l 1
(D) T =~ <
Unidirectional joint(5 Pieces)
KCH06-M5*5
KCH04-M5*5 116
98
& ] { ]
e
MS-10PF gl < 7 .'.’a' = g g g
£55(PN) 7.Y00332 7.Y00175 7.Y00860 7.Y00861 7.Y00334 1.Y04667
#E(Model) QCS-R100 QCS-G100 KCHO04-M5*5 KCHO06-M5*5 MS-10SF*5 MS-10PF
f#(Load) 300N - - - _
EE2/Weight 4639 2409 869 969 1969 119
QCS-G160 = =il E 5] N
EBEESL(ST) 5 =
Eg:-:j*\i[)eecf[::;fsl joint(5 Pieces) 3
KCH104-M5*5 180 m
1]5280 100 130
QCS-R160 é % &_ L!) M
- i
gl | e o & g |I 2
2, & |2 S = v
k(D) %“’ "M & \IL?;
e ® L
o s
MS1-10PF ,o-l £| ; =
I V7|
ST QCS-G160 QCS-R160
Threaded Hose Module(Option)
85 (PN) 7.Y00160 7.Y00161 7.Y02016 7.Y02017 7.Y02018 1.Y20004
S (Model) QCS-R160 QCS-G160 KCH104-M5*5 KCH106-M5*5 MS1-10SF*5 MS1-10PF
faz(Load) 800N ; . } )
E&2/Weight 1198¢g 6349 869 969 1969 11g

C=RG



LF.FE N L-Type Manual Quick Changer

TR
80 e
= 15 50 15 4-058 ®
2.80_1,_21.20 S
13.85 0) O/ B
o
- ol o o ®
$ OO O C5*
O c ®
(=2}
= T T A
| J | |_l| ||_| %g
© *H. a
= S & N =<
el 1.Y01275 Q5 Hg
h— c
st = (Ve[ QCL15R-Y oy
@25
NBREE H
MER: 1859
MREMNE: NMAFN
HARERE: ~15kg
¥Superhard aluminum
%Weight: 185g ®me
*Installation location: Robot side }ﬁ a
3Load weight: ~15kg :
3
3
Q
o
4 28
4-M5 17 1
o
s M| %2
M I=Ag]
c/ ] HE
o e
~ ®
K| 3| S| 3
0 @ <
=i
15 50 15 J__I_ ®10.50
80 51| o6 ﬁ z
&z
BUDT
Echs}
712
1= PN
55(PN) 1.Y01276
ZiS5(Model) gEele N el
R
MER. 2949
MREME: kAN
HAMEER: ~15kg =
#Steel Z= 2
%Weight: 2949 55
*¥lInstallation location: Grip side “H 3
*Load weight: ~15kg {L-F §
g
o
— . . .
I=FLA) / Application
B 2
e
3
<
)
FapBBRE IR o
RiEARE Robot arm .g
Quick changer o
..... 2
3
@

V)

Center of gravity B OREER

Distance to the
center of gravit

Grip

.



LF.FEBNRIE L-Type Manual Quick Changer

Tl
o —
" ) > >
N \ \
& =H= |
= m |
E I
= E J e
: e o |
o . .
SV
ny ®' $6.50
F 2 o @
a3 LT
K &
=2 50
Hg CE=NE  8.Y00236 80
c
& ESIQUSEED] QCL15R-S
MBS
MEH: 190g
MREME: NMHFN
HARER: ~15kg
¥Superhard aluminum
®me %Weight: 190g
}ﬁ a *Installation location: Robot side
z *Load weight: ~15kg
>
Q
=]
°
100
3 O
;E . 50 30
1=k
|\
a2 - -
%2
o b 7
D -©
o
13
o $ A
5z 1 E
&z g
BIT
ekl
712
CE={AY  8.Y00235
ES(Model) JoloREIcEN S
AR EH ©
MER: 1979
MREME: AN
BS MAMER: ~15kg
EE 2 #Superhard aluminum
Qﬁg ¥Weight: 1979
7 *Installation location: Grip side
1¢§ %Load weight: ~15kg
2
o
\— e . .
= FsLI / Application
T+ >
2
3 .
< FHRIRE mAE
A RIEAXE Robot arm
g Quick changer
=2 S s A
S
o
=

B |

Center of gravity - Bk
Distance to the

center of gravit:

Grip

ol CRG



LF.FE N L-Type Manual Quick Changer

150 AU g
130 *7_]‘(:[}_"
90 %‘ .
m [%)
g #a
P35 © I =
© &
< &
I | bl
'G} T T / r/
® //o &t |1 1| 1@, o
®© 3¢ ! ! < b
Pzl
3 ® ® A x7
EEA=] b $E =
5=(PN) 8.Y00101 g
A1S(Model) gelaEl1:EN < 50 < =
©
MBS S
MER: 5059 <
MREMNE: NAMFN 40
HAMER: ~35kg
¥Superhard aluminum —
¥Weight: 5059 'H&Q
*Installation location: Robot side }ﬁ a
#Load weight: ~35kg < ~ :
© g
+r— —
I 1 [ | a
o
=
-
Ho
J I H
—— 3,
) O O
o G
HE ]
oM\ _f &
= Q\ 58
J | 8 i
- e ®20 = = g{f
< < L
50 3]38
130

5S(PN) 8.Y00102
sk =lVee S QCL35G-S

HBRE RS
ME=R: 5659 g
MREME: RAM ©
AR ER: ~35kg B E§
¥Superhard aluminum EE o
#Weight: 5659 iﬁg
lInstallation location: Grip side E
¥Load weight: ~35kg {L.F §
o
75 75 %
150
A— = . .
=L / Application
B 2
e
«
FanRRE BHE =}
THRFARE Robot arm =
Quick changer Q
=
o
=
@
=]
@

& |

Center of gravity ...\ B E LIRS
Distance to the
center of gravit;
Grip

.



FRIREREHIER Manual Quick Changer Module

B3y |, A

aqnL SNS . 3|1404d

i

3|NPOIA SIUdIS

SR

J9bueyd ydIND

T HE W
a|npo\ diig

SHimE

JaddiN 11y

B

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

] CRG

5S(PN)
#E(Model)

¥ Kl

¥ Wi 2349

M REME: kAN
3% Iron products

3% Weight: 234g

4.Y00480
BP90

3% Installation location: Grip side

5S(PN)
A5 (Model)

Bl

¥ Eit: 6609

M REME: XAM
3% Iron products

3% Weight: 660g

4.Y00497
BP135

3% Installation location: Grip side

®90

25

@135

78

14

4-M5

O
R\
D 4
<K
9 <
- D
4-¢5.50
121
115
40
14
N..D
Q0OG \\
/ \
> -
M6 |~ @Ez < o] 9l
o ~l | ¥ |+
57
+ //
% ]
o .. =

FanY




FBahtRiE Square Automatic Quick Changer

W4 #MED4 it
Loosen 'm Mc__?h'
5 ©
Q s
o &
L{)_ o
I
4-96.60 11 FLIRS. S W F L)
4-96.69 11 Counterbore depth 8.5(Hole for robot mounting) % @
92 23
<
21 0 2t APB-M5-06 EH
[=)
= 5
To)
w| © = 2 ®re
© o s
2 S :
HE(PN) 8.Y00037 o 3 B
S (EREDN  QCA-S10R N 2 E
MERBEE: HUAE APB-M5-94| 8.50 75 8.50 [APB-M5-®4
XE & 4669 Fo
XATIRER: ~10kg a
¥Installation location: Robot side 2-M4 %;
#Weight: 466 5 a =3
>2<Loa3weight?~10kg @ O @ ﬁ:%
of o/ _
34 24 34
5z
72T
72
8 L e
1| 0 vosso) @l oo
S| e o(==)q o) el .
H3
4-M6( REZRAIBLA ) =
4-M6(Thread hole for gripper mounting) e
92 g
APB-M5-06
&
o a
3 o g
To} <
o S
O 8 3
&S(PN) 8.Y00038 2 S :
S (Model - > @
SWEeE)]  QCA-S10G g m—— E
KREEE: AN
XE 2 2309
XARER: ~10kg APB-M5-®4 | 8.50 75 8.50 |APB-M5-®4
*lInstallation location: Grip side o
#Weight: 230g L)
#Load weight: ~10kg 34 | 24 | 34 <
| |
M

2-M4

c=G



473z Parallel Gripper

%‘% 3 HE(PN)
.
%.m m S GMHZ2-10S GMHZ2-16S GMHZ2-20S GMHZ2-25S GMHZ2-32S GMHZ2-40S
e G HIE(Model)
B D GMHZ2-10D GMHZ2-16D GMHZ2-20D GMHZ2-25D GMHZ2-32D GMHZ2-40D
c
o
® fIf2 Bore 10 16 20 25 32 40
EFAFRA Fluid 5 Air
BIER
(FEAES SEE(MPa)  Singleaction 0.35~0.7 0.25~0.7
%8 Operati
perating pressure range  suem N N
g‘é % Doubleaction 0.2=0.7 0.:1~0.7
Ehan N
;f% z TR FARE R
Hg Environment and fluid temperature e
c
o EEHEEmMm)
Repeatability accuracy =001 =02
REEMME(C.p.m) 180 60
Maximum frequency of use
o #EA Action mode BA{EFS-T/EFE Single action - Double action
c
o | 1 . .
% ~ EEF%.(EI&.IE) . Tof s FF % Contactless magnetic switch
a) Magnetic switch (optional)
o " R
a B 0O4R Pipe Size M3x0.5 M5x0.8
©
B 53g 123g 2279 3099 4159 5439
E&(Weight)
D 52.5g 1209 2259 3149 410g 537g
3= O M o
i [RBE ] GMHZ2—
éﬁ =z Standard type
e F w&m‘?ﬂ_&g-q :
ﬁ: c Sl o Parallel opening and closing type
® “10[10mm EI&
ad —[g— Bore SR
16{16mm Acti d
2- KIZMUR K1 — ction mode
2.Kth 20/20mm JE—
- read depth K1 = D|XwrEmt
3 25|25mm -
fy\%ﬁﬁ%%%iad) EVIER __|Double action
2ejpemm S |BfERRGET)
% > 4- KIROUR K2 (Z2FIR3LD v _40[40mm __[Singleaction(Open)
V= 4-K thread depth K2 (Mounting thread) L
EjJ.. z '?"ké'm‘j:?ﬁ'(%%ﬁ%%) g)h Y1 R3F 77 / Gripping forc;ﬁj] . .
BU O - repared hole dia.@ roug N/ Gripping force N g
ﬁ'g (Mounting hole) Note) PS BSOFEXFANEME ﬁ%&?
= 1 @_ ):) _h:ﬁ e Gripping force per finger Effective value mm
H Model IXEN(D EEN(S) | OpeninglClosi
Uy QI DK\C Double(ac)tion Singlea(ct?on s"g::\(rég;‘hgiségg)
- \,Q :(,: Ll JMZ/External| P942/Internal |7MZ/Externall {mm)
4}: _3} Cl GMHZ2-100 11 17 7.1 4
1
Q el GMHZ2-160 34 45 27 6
GMHZ2-200 42 66 33 10
N
E 5 kz i [ B BB \Z— GMHZ2-250 65 104 45 14
zs2 gﬁ A D . GMHZ2-320 158 193 131 22
< S 2- K IRLR K3 _
EE] | = E 2K thread depth K3 GMHZ2-400 254 318 217 30
14; z (REREIL) GMHZ2-100fIBIEFF X REER Y GMHZ2- OO B FF X R FMR Y
o (Mountin th‘read) GMHZ2-100Magnetic Switch Mounting GMHZ2- 00 Magnetic Switch Mounting
g- #HEOSEH)* 9 Groove Dimensions Groove Dimensions
= Inlet Port S (Close) HSOSE *
® 4-P §®B3|,4-P through Inlet Port S (Open) 4 82 - - A 4 6.2 - A
€2 =i E) 5 | HERXIER B2
(Thread for mounting ) f=—=i| / Magnetic switch — Magnetic switch
} mounting groove mounting groove
B e B /
Bt 2 T I L =)
158 R < 8
«n 6
<
A A%
g o J - J
° * RERRGE, —MBOEAFRIL. ) EABMFRE, SR A LUBFL R ) FEMBEMEFFX DY59 . D-Y69 K DY7
g * For single action, the port on one side is a breathing hole. Note) When using Magnetic switches, B, SMA A LUBFLRE
o . . throughhole mounting is not possible. Note) When using Magnetic switchesD-Y59, D-Y69.
3 RTJ;E(mm) Dimensions table D-Y7, throughhole mounting is not possible.
a
fI#Z(Bore) A B C D E F G H | J K K1 K2 K3 oL M N
10 6 23 12 37.8 57 29 16.2%  11.25; 438, 16 M3x0.5 6 5.5 6 2.6 27 211H9T 2
16 7.5 24.5 15 42.5 67.3 38 20.9% 14.9% 58 24 M4x0.7 4.5 8 8 3.4 30 @17HIT 2
20 9.5 29 20 52.8 84.8 50 26.3% 16.33% 884 30 M5x0.8 8 10 10 4.3 35 @21H9T 3
25 11 30 25 63.6 102.7 63 33.33 19.3% 105, 36 M6x1 10 12 12 5.1 36.5 @26H9T73.5
32 12 40(49) 29 67(76) 113(122) 97 487%° 26 35 1245, 46 M6x1 10 13 13 5.1 48(57) @34H9T 4
40 15 49(62) 36 83(96) 139(152) 119 60 %" 30 385 145, 56 M8x1.25 13 16 17 6.6 58(71) @42H9T 4
fI#Z(Bore) O P Q R S T u \Y w X Y z Y1 Y2 AA BB CC DD EE
10 11.4 M2.5x0.45 3 5.7 M3x0.5 23 9 19 5 5 11 @2H9T 3 16.4+005 522002 7.6+002 18 12 - - -
16 16 M3x0.5 4 7 M5x0.8 30.6 7.5 19 8 fes 13 2 3H9T 3 23.6+00s 6.52002 11202 22 15 11.6 2.1 5.8
20 18.6 M4x0.7 5 9 M5x0.8 42 10 23 108 15 @4HIT 4 27.6+00s 7.52002 16.8%002 32 18 14 2.1 9
25 22 M5x0.8 6 12 M5x0.8 52 10.7 23.5 123 20 @4H9T 4 33.6+00s 10 2002 21.8%002 40 22 19 3.5 1.5
32 26 M6x1 7 14 M5x0.8 60 11 31(37) 1586 24 @5H9T 5 40+01 12 20 23+02 46 26 24 3.3 115
40 32 M8x1.25 9 17 M5x0.8 72 12 38(45) 18 80s 28 @5H9T 5 4801 14 *o 2Q0*o 56 32 29.4 3.7 13
FRERIESE P190 I E)( ) IR AERNRY

For switch selection, please refer to page P191.

CRG

The size of the single ac

tion is within ().



IEFEITE Lengthen Parallel Gripper

1.Y09405 1.Y08175 1.Y09882 1.Y09883 o
E={(\)) e
“ 1.Y07974 1.Y08146 1.Y07975 1.Y08802 >
S GMHZL2-10S GMHZL2-16S GMHZL2-20S GMHZL2-25S %m 2
HE(Model) =G
D GMHZL2-10D GMHZL2-16D GMHZL2-20D GMHZL2-25D =
o
142 Bore 10 16 20 25 ®
{EFREAA Fluid =5 Air
e
{FEES SEE(MPa)  Singleaction 0.35~0.7 0.25~0.7 S‘Zm
N A
Operating pressure range . e 0.2~0.7 D07 Bg o
oubleaction *_H_ >
RERRHRE oenc i H
Environment and fluid temperature s
ESREE(Mm) ®
Repeatability accuracy =00
= ERME(c.p.m) 120
Maximum frequency of use
ES = Action mode EA{ER-SUER Single action - Double action RO
: Ha
M&F*.(E‘rﬁ.ﬁ) . T B EFF % Contactless magnetic switch A
Magnetic switch (optional) z
IS4 Pipe Size M3x0.5 M5x0.8 3
63g 1399 218g 3029
EE(Weight)
D 599 130g 211g 293g %0
— o
M R | GMHZL2— 52
HS
N Standard type s
2 priplail <
- ° Long Stroke type
@ Bor
— ore ER
N it [ — Action mode
(2548 v 10{10mm J—
Mounting thread —_—t
(Mounting thread) 16116mm D éﬂ{’EElait .
vi Solomm. _ | Double action s>
_ . N e S [BfER=(EF) )
LSRG EREL, - 25[25mm __[sigezctoniOper e
L, (T o SR¥FH | Gripping force ﬁg
1 (Mounting hole) e LSJE | 3% N/ Gripping force N FEE -
1 = o @ % B S0 FERBAWERE (7t
— - —] 9[ _W\c$— L= Gripping force per finger Effective value mm
f=- r INEH(D, (S Opening/Closi
- T N §§ / | g . Model Double(ac)tion Sinflzﬂa(ct%on S\Vgsgl(?m":i&dgg)
T ® o T Pt i §MZE/External | )1Z/Internal |#hM&/External ()
. - GMHZL2-100 11 17 7.1 8
B | GMHZL2-160 34 45 27 12 BS
o] T =0
°| T N GMHZzL2-200 42 66 33 18 =g
] N BB GMHZL2-250 65 104 50 22 78 3
of v C A
K| & z § ! =
E 2 -KIZEER K GMHZL2-100R M FF R LR T GMHZL2- 00 Bt TR~ 9
2-K thread depth K: GMHZL2-100Magnetic Switch Mounting GMHZL2- OO Magnetic Switch Mounting c
w (i;%@i?) " Groove Dimensions Groove Dimensions )
ounting threa
#S0S) 4 62, N ~ ™
wp Inlet Port S (Close: HEOSE) s -
=R Inlet Port S (Open) == - "
(Mounting thread) t@} «
1__ = ° d B
= =l = & 9| A ?E a
i @ : o PR 2
: <
QR \_m = Q_ | o
I " S
\4 w
s 3 DD 12 o
© ~ 6.2 ) S
. - 22 J S
* BERRYAE, —MW $EROZRFIRIL £
* For single action, the port on one side is a breathing hole. ) ERAMMFXE, STATLUEFLRE 3E) ERABMFFX DY59. D-Y69 K D-YT w
Note) When using Magnetic switches, E;fv}lﬁm;ﬁﬁﬂ—lﬁ?hfﬁ hesD.150. DD
. . throughhole mounting is not possible. Note) When using Magnetic switchesD-Y59, D-Y69.
Rvﬁ( m m) Dimensions table D-Y7, throughhole mounting is not possible.
fI{&(Bore) A B C D E F G H | J K K1 K2 K3 oL M N
10 6 25(35) 12 37.8(47.8)  57(67) 35 19.2% 1123 4% 16 M3x0.5 6 5.5 6 2.6 29(39)  @11HIT 2
16 7.5 31(36) 15 452(50.2)  70(75) 47 26.9% 14.9% 53, 24 M4x0.7 45 8 8 3.4 36(41)  @17HOT 2
20 9.5 36(42) 20 58(64) 90(96) 62 34.3%  16.33. B 30 M5x0.5 8 10 10 4.3 43(49) @21H9T 3
25 11 40(50) 25 66.9(76.9) 106(116) 75 41.3% 19.38. 1035, 36 M6x1 10 12 12 5.1 48(58) @26H973.5
fI{&(Bore) O P (e} R S T U \Y W X Y z Y1 Y2 AA BB CcC DD EE
10 11.4 M2.5x0.45 3 5.7 M3x0.5 23 8 21(31) 5 % 11 B2H9T 3 16.4%00s 5. 2%0m 7 G0 18 12 - - -
16 16 M3x0.5 4 7 M5x0.8 30.6 8 25(30) 8 s 13 @2H9T 3 23.6%00s 6.5x002 110 22 15 11.6 21 5.8
20 18.6 M4x0.7 5 9 M5x0.8 42 10 30(36) 1038 15 B4H9T 4 27.6%00s 7 5002 16.8%02 32 18 14 2.1 9
25 22 M5x0.8 6 12 M5x0.8 52 10 33(43) 1256 20 B4HIT 4 33.6%00s 10 x02 21.8=002 40 22 19 3.5 11.5
FFXIEEFIESE P190 ;T () ABIRT R SBEEI R

For switch selection, please refer to page P191. The size of the single action is within (). .



Y B Y Type Gripper

s/
T
N o
e - 1.Y02014 1.Y02730
=G &S(PN)
5 : [ D | 1.Y05738 1.Y04328
® S GMHC2-16S GMHC2-20S
#E(Model)
GMHC2-16D GMHC2-20D
fil12 Bore 16 20
Z 2
] ERRAR Fluid =5 Air
iﬁ § {EEES SBE(MPa) Sinﬁlﬁﬁion 0.1~0.6
Hg .
c Operating pressure range
o P 9p g Dot%gffaﬁgion 0.25~0.6
RERRINEE -10~60°C
Environment and fluid temperature
%,%Eﬁﬁtbﬁﬁ(c.p.m) 180c.p.m
RO Maximum frequency of use
23 EEHEE(mm) +0.01
2 Repeatability accuracy _'
Q
=}
S S 99 167
e E&=(Weight) 2 2
D 108g 177¢g
+ O
éé [#fER ] GMHC2—[20]
gﬁ‘ Z Standard type
i¢§ S AFFE J :
= Bearing point opening and closing type
[aKE
Bore e
Action mode
D |XREMAR
16/16mm DoubIeIaction
. . S |BERR(EF)
% ? HESOS () 20{20mm Singleact;n(Open)
I
BUT
79T
Jl2
HEOTF),
Inlet Port T (Open)
BS IS 4-KiEFLL
?E 2 4-K Through hole for fastening L
45 - £ L -
#H=z — N =,
g o ¢ N
=) 9 == \2-K
(0] O (=)
[l -1 " Ol O T
- Ny
- =" 2,
= Yo S
A\ "4
B % A B BB
%3 = AA
g D
<
o 2-N
3
H
%
z B o
¢ o
H

EEOR
P pipesizz U V W X Z AA BB CC DD

S T

16 39 162 446 625 226 16 4 7 7 24 M4X0778 34 107 M4X0.778 16 M3X0.5 M5X0.8 7 183 8 13 17 236 15 306 22

20 45 217 552 787 28 20 52 9 8 30 M5X0.8710 4.3 157 M5X0.878 8.6 M4X0.7 M5X0.8 75 222 10 15 21 276 18 42 32

ZEIF IR S ol
For switch selection, please refer to page P191.

o



=J\3Z Three Jaws Gripper

BS(PN) 1.Y04529 1.Y04764 1.Y05750

fir
#E(Model) GMHS3-16D GMHS3-20D GMHS3-25D ME—’:
N
£I12 Bore 16 20 = o
{ERA Fluid =5 Air g7
o
{55 FAEJ35B Bl Operating pressure range 0.2~0.6MPa o
BRI RRE o
Environment and fluid temperature -10~60°C
EEHE(mm) 3z
Repeatability accuracy =el %’EE
— - =
BEEATE(C.p.m) 120c.p.m ?H§
Maximum frequency of use c
o
ZHER action mode Y{EA Double action
IMEFRFF
;%)7_7;0}%73 N External di;meter clamping 14 25 42
£730.5MPa AR
Note) gripping force N internal diameter clamping 16 28 47 'H&O
Pressure 0.5MPa Mﬁﬁnﬁﬂ%ﬁ%ﬁﬁfm 9 21 36 I £
~
HR PR TR 4 4 6 2
Standard finger stroke with hood ]
Q
KITEFIETIE 2
Long stroke finger stroke [t e 12
#EEO4&Rc Pipe Size M3x0.5 M5x0.8 £9
BAMEFF Magnetic switch WEHFRE Built in magnetic ring type Z%g
=& Weight 59¢ 96.79 138g ﬁ:g
o
) FIFIMRRI RIS, ©16-0259% i M IEEL =20mmATRIEUE
Note)Clamping force when holding the outside diameter,
The value of the holding point of @16-@25 is L=20mm
oly TR —
22 NA [#REE ] GMHS3 = >
1k N Standard type g Z
SfS SE y BT
o ét\ k=S 73T
o9 5 C S S 9 Bore 7]z
EE 2 1 R
KE 16/16mm 4 Ction mode
D | W{EMA=
ﬁgii;oove 20{20mm ;({);bli?ction
S AE
N . 25|25mm Singleacti)n(Open)
3-SAMEHL 3-SA Through hole for fastening
SB3sk A, T SC 3-SACounterbore J E <
0 Z= 2
|l O iy Iﬂ ml o < 2 < ?ﬁfg
— “ L] |r_ o] ] i ZL'FZ
© iy :
=
o © ®
) [sa]
sopen 4] @ 9 3
Inlet Port P (Open)
BSOP(F)
Inlet Port P (Close) I - l}ﬁﬁ
Iy g
3 3
&
3
el
o
=3
o
>

§I42(Bore) AA AB J K NA NB
16 35 32 10 4 8 5h9
20 38 35 12 5 10 6h9
25 40 37 14 6 12 6h9
FI4R(Bore) 0 P Q SA SB SC B UA UB VA VB WA XA XB
16 2 M3x0.5 6 34 65 8 5 M3x0.5 45  2H9 2 17H9  2H9
20 25  M5x0.8 7 34 65 95 6 M3x0.5 6 2H9 2 21H9  2H9
25 3 M5x0.8 8 45 8 10 6 M4x0.7 6 3H9 3 26H9  3H9

3
FFRIEFIESE P190 T
For switch ?etection,please refer to page P191. CRG 1 08



FPTHRIEFEsN=LINFE FPT Two-finger Translational Gripper

B3
w3 Fr A% Features
5 o TSRS AT
J o BEFF 40
o EAAF RO
y o FEERED
%
2 % o —TFRGBHEFIRIE
Zﬁg_ ® T-tooth guide rail. Compact structure and reliable
% ® Magnetic switch interface
® Proximity switch interface
gﬂﬁ, VTN . . Bl . ® Pipeless connection interface
Basic version Dustproof version High temperature version
o ® Ten million maintenance-free operations
e
2
¢ FARSE Technical Parameter
xQ e e BT TR BHE ITHEE | BKFEKE | RARINFEEE | E5EMRE 1P
Bo = Single finger stroke Gripping force SelfWeight | Workpiece weight| Longestfingerlength | Maximum single finger weight |Repeat positioning accuracy
HE (PN) (Model) (ke) (k) (mm) (mm) e
He 1.Y13289 FPT-40A-1 25 123 0.08 0.68 50 0.1 0.01 40
® 1.Y13290 FPT-40A-1-SD 2.5 123/132 0.11 0.68 50 0.1 0.01 64
1.Y13291 FPT-40A-1-TEM 25 123/132 0.08 0.68 50 0.1 0.01 40
1.Y13292 FPT-50A-1 4 140/145 0.15 0.77 64 0.18 0.01 40
1.Y13293 FPT-50A-2 2 290/310 0.15 1.60 58 0.18 0.01 40
5z 1.Y13294 FPT-50A-1-SD 4 140/145 0.18 0.77 64 0.18 0.01 64
éj]._ z 1.Y13295 FPT-50A-2-SD 2 290/310 0.18 1.60 58 0.18 0.01 64
55% 1.Y13296 FPT-50A-1-TEM 4 140/145 0.15 0.77 64 0.18 0.01 40
Zh 1.Y13297 FPT-50A-2-TEM 2 290/310 0.15 1.60 58 0.18 0.01 40
1.Y13298 FPT-64A-1 6 250/270 0.28 1.38 80 0.35 0.01 40
1.Y13299 FPT-64A-2 3 520/565 0.28 2.86 72 0.35 0.01 40
1.Y13300 FPT-64A-1-SD 6 250/270 0.35 1.38 80 0.35 0.01 64
1.Y13301 FPT-64A-2-SD 3 520/565 0.35 2.86 72 0.35 0.01 64
% § 1.Y13302 FPT-64A-1-TEM 6 250/270 0.28 1.38 80 0.35 0.01 40
?ﬁ § 1.Y13303 FPT-64A-2-TEM 3 520/565 028 2.86 72 0.35 0.01 40
15 2 1.Y13304 FPT-80A-1 8 415-465 0.5 231 100 0.6 0.01 40
= 1.Y13305 FPT-80A-2 4 860/960 0.5 4.73 90 0.6 0.01 40
o 1.Y13306 FPT-80A-1-SD 8 415/465 0.6 231 100 0.6 0.01 64
1.Y13307 FPT-80A-2-SD 4 860/960 0.6 4.73 90 0.6 0.01 64
1.Y13308 FPT-80A-1-TEM 8 415/465 0.5 2.31 100 0.6 0.01 40
Wz 1.Y13309 FPT-80A-2-TEM 4 860-960 0.5 4,73 90 0.6 0.01 40
14 é 1.Y13310 FPT-100A-1 10 660/725 0.81 3.63 125 1.1 0.01 40
g 1.Y13311 FPT-100A-2 5 1370/1500 0.81 7.54 115 1.1 0.01 40
i 1.Y13312 FPT-100A-1-SD 10 660/725 0.99 3.63 125 1.1 0.01 64
g 1.Y13313 FPT-100A-2-SD 5 1370/1500 0.99 7.54 115 1.1 0.01 64
§ 1.Y13314 FPT-100A-1-TEM 10 660-725 0.81 3.63 125 1.1 0.01 40
g 1.Y13315 FPT-100A-2-TEM 5 1370-1500 0.81 7.54 115 1.1 0.01 40
s 1.Y13316 FPT-110A-1 20 1050-1150 2 5.25 150 2 0.01 40
1.Y13317 FPT-125A-1 13 1080/1170 1.35 5.94 160 2.1 0.01 40
1.Y13318 FPT-125A-2 6 2240/2420 1.35 12.32 145 21 0.01 40
1.Y13319 FPT-125A-1-SD 13 1080/1170 1.55 5.94 160 2.1 0.01 64
1.Y13320 FPT-125A-2-SD 6 2240/2420 1.55 12.32 145 21 0.01 64
1.Y13321 FPT-125A-1-TEM 13 1080/1170 1.35 5.94 160 2.1 0.01 40
1.Y13322 FPT-125A-2-TEM 6 2240/2420 1.35 12.32 145 2.1 0.01 40
1.Y13323 FPT-160A-1 16 1640/1770 2.6 9.02 200 3.5 0.01 40
1.Y13324 FPT-160A-2 8 3200/3460 2.6 17.60 190 3.5 0.01 40
1.Y13325 FPT-160A-1-SD 16 1640/1770 3 9.02 200 3.5 0.01 64
1.Y13326 FPT-160A-2-SD 8 3200/3460 3 17.60 190 3.5 0.01 64

o



FPTRRIEESNZLINFE FPT Two-finger Translational Gripper

AT

o

— - e i y—— 7=

g7 eSSVl HE IfEE EKFEKE BRARINFEEE ESEUGE 4 - ®

Single finger stroke Gripping force Self Weight Workpiece weight  Longest finger length Maximum single finger weight ~ Repeat positioning accuracy |P%ﬂ& %m [7,)

(mm) (N) (kg) (kg) (mm) (kg) (mm) S =G

1.Y13327 FPT-160A-1-TEM 16 1640/1770 2.6 9.02 200 35 0.01 40 g_

1.Y13328 FPT-160A-2-TEM 8 3200/3460 2.6 17.60 190 3.5 0.01 40 ®
1.Y13329 FPT-200A-1 25 2700/2870 52 14.85 240 6.5 0.02 40
1.Y13330 FPT-200A-1-SD 25 2700/2870 5.8 14.85 240 6.5 0.02 64

1.Y13331 FPT-200A-1-TEM 25 2700/2870 5.2 14.85 240 6.5 0.02 40 3'2 )

o

1.Y13332 FPT-240A-1 30 4200/4440 8 21.50 280 8.5 0.04 40 Za s

A= N

1.Y13333 FPT-240A-1-SD 30 4200/4440 11 21.50 280 8.5 0.04 64 Zﬁ <

o

1.Y13334 FPT-240A-1-TEM 30 4200/4440 8 21.50 280 8.5 0.04 40 o

1.Y13335 FPT-300A-1 35 6000/6260 135 33.00 300 JINIR5) 0.05 40 ®
1.Y13336 FPT-300A-1-SD 35 6000/6260 17.5 33.00 300 11.5 0.05 64
1.Y13337 FPT-300A-1-TEM 85 6000/6260 135 33.00 300 115 0.05 40

®re

g

= hnvd Ry S, Q

BSHER A AFFR ) :

. . . . Q

Model explanation Optional accessories(see below for details) 5

- zIN

SD Bh4ehR £9

-SD Dustproof version 1=k

— B

TEM A frg

) ) BEFFX M8 HIHEFFR M8 90°E s
-TEM ngh temperature version Proximity switch M8 Magnetic switch M8 e EEL
90° bend angle

Rotatable Hose Fitting

g2

iz

BUT

EChe]

7]z

BS

= 0

T c

c

A3

=

a

c

®

M2

e

8

<

Ia)

o

3

o

o

>

®

2

CRG



FCT=18m1=LIMFE FCT Three-finger Translational Gripper

fijn
E: oy P
. 5 Features
4 ° TS IS AT
d o BHEFFED
o FAFRIEN
. o FEtEREO
e §, o —TRRGHEFIRIE
Zﬁg_ ® T-tooth guide rail. Compact structure and reliable
% ® Magnetic switch interface
® Proximity switch interface
HANR Fr 4R = imhi ® Pipeless connection interface
Basic version Dustproof version High temperature version
o ® Ten million maintenance-free operations
]a
g
3 FARE%L Technical Parameter
we FiTE=) ,E*Eﬁﬁ FH5 BHE ITHES BRKFEKE %#%T%?SE% EEZE&*%E P
;% o (PN) (Model) Single finger stroke Gripping force SelfWeight Workpiece weight Longest finger length Maximum single finger weight | Repeat positioning accuracy ot
-E (N) (kg) (kg) (mm) (kg) (mm)
I g 1.Y13338 FCT-40A-1 2.5 255/270 0.12 1.38 50 0.1 0.01
e 1.Y13339 FCT-40A-1-SD 2.5 255/270 0.15 1.38 50 0.1 0.01 64
® 1.Y13340 FCT-40A-1-TEM 2.5 255/270 0.12 1.38 50 0.1 0.01 40
1.Y13341 FCT-50A-1 4 325/355 0.25 1.76 64 0.18 0.01 40
1.Y13342 FCT-50A-1-SD 4 325/355 0.31 1.76 64 0.18 0.01 64
1.Y13343 FCT-50A-1-TEM 4 325/355 0.25 1.76 64 0.18 0.01 40
=x 1.Y13344 FCT-64A-1 6 580/640 0.43 3.19 80 0.35 0.01 40
5] iz‘ 1.Y13345 FCT-64A-1-SD 6 580/640 0.6 3.19 80 0.35 0.01 64
xS 1.Y13346 FCT-64A-1-TEM 6 580/640 0.43 3.19 80 0.35 0.01 40
R 1.Y13347 FCT-80A-1 8 1000/1080 0.79 5.50 100 0.6 0.01 40
1.Y13348 FCT-80A-1-SD 8 1000/1080 1 5.50 100 0.6 0.01 64
1.Y13349 FCT-80A-1-TEM 8 1000/1080 0.79 5.50 100 0.6 0.01 40
1.Y13350 FCT-100A-1 10 1800/1902 1.41 9.90 125 11 0.01 40
1.Y13351 FCT-100A-1-SD 10 1800/1920 1.9 9.90 125 1.1 0.01 64
% § 1.Y13352 FCT-100A-1-TEM 10 1800/1920 1.41 9.90 125 11 0.01 40
ZE § 1.Y13353 FCT-125A-1 13 3100/3330 2.8 17.05 160 2.1 0.01 40
ﬁ: z 1.Y13354 FCT-125A-1-SD 13 3100/3330 3.23 17.05 160 2.1 0.01 64
3 1.Y13355 FCT-125A-1-TEM 13 3100/3330 2.8 17.05 160 2.1 0.01 40
5 1.Y13356 FCT-160A-1 16 3100/3330 5.6 33.00 200 3.5 0.02 40
1.Y13357 FCT-160A-1-SD 16 6000/6390 6.5 33.00 200 3.5 0.02 64
1.Y13358 FCT-160A-1-TEM 16 6000/6390 5.6 33.00 200 45 0.02 40
1.Y13359 FCT-200A-1 25 7100/1540 11 39.05 240 6.5 0.05 40
By & 1.Y13360 FCT-200A-1-5D 25 7100/7540 12 39.05 240 65 0.05 64
" @ 1.Y13361 FCT-200A-1-TEM 25 7100/7540 11 39.05 240 6.5 0.05 40
5 1.Y13362 FCT-240A-1 30 9500/10400 20 55.00 280 8.5 0.05 40
g 1.Y13363 FCT-240A-1-SD 30 9500/10400 21.5 55.00 280 8.5 0.05 64
3 1.Y13364 FCT-240A-1-TEM 30 9500/10400 20 55.00 280 8.5 0.05 40
§ 1.Y13365 FCT-300A-1 35 14500/15200 33 79.75 250 11.5 0.05 40
@ 1.Y13366 FCT-300A-1-SD 35 14500/15200  35.5 79.75 250 11.5 0.05 64
1.Y13367 FCT-300A-1-TEM 35 14500/15200 33 79.75 250 11.5 0.05 40
B SR Bk (F B W)
Model explanation Optional accessories(see below for details)
-SD Br kR
-SD Dustproof version
-TEM EimhR
. . BEFFX M8 BMEFFR M8 90°51y SBEERHAG
-TEM ngh temperature version Proximity switch M8 Magnetic switch M8 AhEE S E Rk Elastic unloading
90° bend angle mechanism

o

Rotatable Hose Fitting



FCT=18Em1=IMFE FCT Three-finger Translational Gripper

TR
o
Bf# 14 Accessory Components L
PR %S FRRE fiak me
Productimage (PN) Product Model Description = Z:
C
gKom, KIEREL g
1.¥01631 E2E-XIRSE12M Wire lengthis2m, the end is bare ®
BHFFX M8 1.¥06553 E2E-XIR5F12M iy A
Proximity switch M8 Wire lengthis 2m, the endis bare
3z
= ®S FRES R B3
Productimage (PN) Product Model Description ZE %
43
%K3m, KinBEEL T
HMEFFX M8 Sy DR Wire length is 3m, the end is bare ®
Magnetic switch M8
FmE RS FmES R
Product image (PN) Product Model Description 'H&Q
]a
MBI A E A E R 2
L5 S-S 3 pins M8 Field wirable connector 2
MBET L2 Q@
M8 wireable connector [}
R e FRme ik PR %S FREe o
Productimage (PN) Product Model Description Productimage (PN) Product Model é%
|\
1.¥13381 SL-040 B\
90EEZL, "
G1/8B4usEk, o
1Y13156  KQ2V06.01As ~ SMMAEEEXIm L2 Si-0EE
. 90 degree elbow,
G1/8 threaded connector,
6mm Hose Fitting output 1.Y13383 SL-064
5>
1.Y13384 SL-080 ) z
BUO
90EL Xk, %g
G1/8BuariE, 1.Y13385 SL-100 PARS
1.Y13158 KQ2V08-01AS smmS E L
90degree elbow,
00° 8 21/8 t:read;ft:?onne:tort, BRI 1.Y13386 SL-120
AhE S EREL mm Rose Fitting outpu Elastic unloading mechanism
90° bend |
Rotatabls?rlliogé1 iteting 1.Y13387 SL-160
23
=
90EFEK, 1.Y13388 $L-200 EE £
GL/MBL Ik, i 2
1.Y13157 KQ2V06-02AS 6mmSE K H o
90 degree elbow, 1.Y13389 SL-240 e
G1/4threaded connector, o
6mm Hose Fitting output
1.Y13390 SL-300
e
a
o
<
I
o
3
o
>
)
3
@

CRG



SHENBE GMXSZZFI Air Slide Table GMXS Series

B g HLZ(mm) QD 6x2 @ 8x2 @ 12x2 D 16x2 @ 20x2 D 25x2
7 r_—?" Bore size (mm) (HB4F08) (HEEFO11) (BYTFO17) (HLTFO22) (HHFD28) (HELFD35)
N g /=
o e o M3 x 0.5 M5 x 0.8 Ro1/8
g ; fERRAR Fluid =5 Air
4 FES L Action SXEFE Double acting
= 5 A E
ﬁzximum operating pressure 0.7MPa
=R fEFE D
i - El\%nimum operating pressure 0.15MPa
a HSFREE -10~+60° 3 i
777& g Ambienta;lﬁﬂuién;rnxperatures 10~+60 C(ﬁ*”\%) (No freezmg)
*E% & 28 J# [E Piston speed 50~500mm/s
H3
g 221 Action BER (Frf) Rubber buffer (standard)
o
iEi8 Lubrication TREZE Non-lube
SAER AR TIEEE (0~5mm), *Optional with adjustable stroke device (0-5mm) e E S 1 LY
SSETIRT, 2fEmH S, REE, *Double cylinder with 2 times output force, thin volume *%ul;'lz]'g' ﬁfﬁﬁb:!:‘]?’\'lEIle\./lGlgé"VGsz if d
HSETR TESHRES, AR/, *The combination of cylinder and worktable reduces the €ase use turbine No.1 ol ITheed.
H®o RE+FRESNRI, BEgAN, S overallsie
}ﬁ E ST eSSl BammEs *Roller slider design, small friction, no gap between
~ *ﬂ'}}\:%i‘iﬁf - s 7 cylinder and worktable, suitable for precise assembly
Q *WE&E&” %*%ﬁﬁﬁ?& *Can install from 3 sides
é M, R ° *Built-in ring, can install magnetic switch
e 1%3E 3/ Selection table
| 1T#Estroke (mm) || THAREA]EIRF unctional options | | %Eﬁzi%ﬁ
SeAn) FAKES miEE T o — ;
ég Bore size 10 20 30 40 50 75 100 125 150 ﬂiﬁﬂ%ﬁ% SHEE D | HiRE | |hmEE BEERE
Zﬂ z (m m) (0~5mm) With buffer With end lock| | Axial piping Install directly
1 cg’ 2% 3%
Y 2-wire 3-wire
GMXS D-MON
=5 D-MONL
N D-M9B D-MONV
g ; D-M9BL D-MONVL
BT D-M9BV D-M9P
-]
AR D-M9BVL | D-MoPL
D-M9PV
D-M9PVL
= BEXRTRAE GMXS ) _@ )R T R BIRUAE BAEE
Zs 2 Model representation methods BEEFF A SHMTFRRT,
f= =
2H 3 Number of Magnetic switches Eﬁiﬁﬁ*ﬂ?)ﬁﬁ,
g qE e 7S | o4 WeLKEERES:
= s Bore Stroke — N FieS-0.5m, L-3m,
By S 0 -
o Adju;:tg%:vlcs% THECETEETR 1 | Z-5m.
L’N”? Without adjuster Functional options n n™ 5): A96, A96L
AURIATE NS P
AS /?dj’ﬁsteronextensionend Fics Nil V?:Vithoutadjuster HHFXEE Note)The specification and
> AT Eimae ] F TR Ma\qnetic switch ch._aracteristics of mag ne_tic
Mr_r A Adjusteronretractionend Wlthg‘uffer %1NE|1‘:’5 ﬁﬁﬁﬁﬂﬁ?& i switch can refer to the series
U R Bt i ithoutMagnetic switcl f ti itch . At th
# % _A Eﬂuﬁﬁeﬁion bothends R \T/'JtT‘ :nd lock HMFXBEESST X Zn(;n:f%::r:\i)z‘glloi magneti(ce
F Y N T3
3 *BS :ggrfggo%ﬁignsionend p iﬂi(riagl%i%ingtype « For the applicable Magnetic switch switch,the length mark of
o T FEREEME . Era oy models, refer to the table above. conductor is attached:
3 BT | Absorberonretractionend FR | Withbufferandendlock Nomark-0.5m,L-3m,Z-5m
3 . EREENE Fp | PEEENREEEE Example:A96,A96L
3 Absorberonboth ends With buffer, Axial piping type
2 *GMXSETHREE T 25 *GMX ST #iE
*GMXS6 without hydraulic buffer *GMXS6 without locking
SHRTEEHES =iEE. BEMNA
Combination of cylinder and worktable High precision, sturdy application
PN — e N J——
bl SREERIEEE PPN KB EhiRZ2T]
Worktable Picking and placement Heavy load Drive automatic
+ with high precision screwdriver
; SH;BEGCMXS
SMRERE Air Slide Table GMXS
Guide Il:
+
SEL
Cylinder

crs



B4 GMXSZEF Air Slide Table GMXS Series

B EhiERE: Wke) E2 SMEE: Ln(mm), FFEFONEIESIEE[E: An(mm) Jo
Fig. (1) Load Mass: W (kg) Fig. (2) Overhang: Ln (mm), Correction Value of Moment Center Position Distance: An (mm) %Q
‘W SRS EIEPitch moment R FI%EYaw moment [E1#£1358Roll moment €|'_] 2
X
c
s
e =2
20,0 | &
)
i
=
S b
=
5 g
& B3
A= N
£ Ii Z
@ 7B S
c
o
2]
Ey
b
2
R B o
B3 TR K : o
Fig. (3) Workpiece Mounting Coefficient: K ‘é’ 1 la)
g P, ! z
SERE L & < 2
Table mounting Lg
i) B20%E: HEDFENE Note) Static moment: Moment generated by gravity =
ke mEERAISERY, HhETEARINE Dynamic moment: Moment generated by impact when colliding with stopper
=1 BARIEFREL Emax()) B4 RiFEFRHRER B .
Table (1) Maximum Allowable Kinetic Energy: Emax (J) Table (4) Allowable Load Mass Coefficient: ;é =]
K=1 HSModel FeiFENBEAllowable kinetic energy 10 ;E\'-%
A SSLEE HiZihRubber bumper | &E4S$28Shock absorber AN H g
SATRIRLE GMXS6 0.018 - 207 AN e
End plate mounting @0 EY )
GMXS8 0.027 0.045 2
GMXS12 0.055 0.1 Bos
GMXS16 0.11 0.22 We,,
GMXS20 0.16 0.32 % g
K=0.6 GMXS25 0.24 0.48 03
£33 —
e s
o . $£50.2 &z
; . *3 EPOMUEIEBEIEE: An(mm) B I
= =, = . T
§E2 Eikfﬁﬁ%qaﬁﬁk'ﬁi Wmax(kg) Table (3) Correction Value of Moment Center Position Distance : An (mm) \ﬂé 5 g
Table (2) Maximum Allowable Load Mass: 7] °
Wmax (kg) TS BT S TER) i Ve T
= = 1 23 EE‘: Correction value of moment center position distance (Referto Figure 2.)| SF SHES = Va mm/s
h%zl Miﬁﬁ'{ﬁﬁtgfﬁfd%ass MEI A1 A2 A3 A4 As As Average operating speed Va (mm/s)
GMXS6 0.6 GMXS6 11 6 13 16 16 6 @5 f[:‘ Hr -
PALEE
GMXS8 1 GMXS8 11 7.5 13 20 20 7.5 Table (5)Allowable Mc:mem CoeXcient: Y
GMXS12 2 GMXS12 24 8.5 26 25 25 8.5 10
GMXS16 4 GMXS16 | 27 | 10 30 | 31 31 |10 ' AN =
GMXS20 6 GMXS20 34 14.5 36 38 38 14.5 07 AN f-E 2
GMXS25 9 GMXS25 42 19 44 46 46 19 ; ' QH 5
H Z
S05 H=z
s >&
x4 BARAIFIE: Mmax(Nem) %3, g
Table (4) Maximum Allowable Moment: Mmax (N-m) NLDJKL; ' %
A 17#2 (mm) Stroke (mm) B E 0.3
Mode 10 20 30 40 50 75 100 125 150 oy E
GMXS6 | 07 1.0 1.2 1.2 1.2 - - - - K302
GMXS8 2.0 2.0 2.8 3.6 4.2 4.2 = = = _g
GMXS12 | 4.2 42 42 5.8 7.0 10.0 10.0 - - < Mg Z
GMXS16| 113 | 113 | 113 | 113 | 159 | 250 | 341 | 341 : 0 100 200 300 500 700 2
GMXS20 | 19.4 19.4 19.4 19.4 27.2 35.0 50.5 50.5 50.5 EYEE Vamm/s HEERE V mmis 3
GMXS25 | 30.6 30.6 30.6 30.6 42.8 55.1 67.3 67.3 67.3 Average operating speed Va (mm/s) Collision speed V (mm/s) <
e
i) e LT A0, (R R E AR g
IS Note) Use thy ti d wh Iculating stat t.
icS% Symbol Use hecllsionsposdhencauaing oo momert g
iZESymbol £ M Definition BAR7Unit JBESymbol £ Definition BA{37Unit o
JHEROMU B IEREIEE TYEE @
An(n=1-6) Correction value of moment center position distance mm Va Average operating speed mm/s
c e J w EPOERE g
inetic energy oad mass
FAVFENEE e
Ea AIIowabEIZ kinetic energy J Wa %ﬁ%ﬁt?ﬁ%ﬁs kg
RASEFEIEE PESERE
Emax Max. allowablz kinetic energy J We :\/Iass eﬁ\:;fm to impact kg
1o SHBR . | BARGETRERE @
verhang Max. allowable load mass
M(Mp,My,Mr) ?Zaﬁﬁm(%\n%m{ﬁ%ih%i? Roll) Nem o E?ad%ctor -
FEVFRRIAE (. (R, [EIF%) . FIFEPRERERE
Ma(Map,May,Mar) Allowabis stafic momant (Pitch, Yaw, Roll) N-m B Allowable Io)a:I ma:sieﬁicient B
)36, fREE) . FEFIIFERE
Me(Mep,Mey) Dynamic momeﬁl (Pitch, Yaw) Nem Y Allowable moment coefficient -
Y= = Fhiz)
Mea(Meap,Meay) f\%ﬁ?ﬂ?ﬁﬁ\c@ﬁlm (Pitch, Yaw) Nem 5 iﬁzifﬁmem -
RASIF/IE(ESH. (R [5%) . THREREY
Mmax(Mpmax,Mymax,Mrmax) Max. allowable moment (Pitch, Yaw, Roll) Nem K Workpiece mounting coefficient 3
v IREEE mm/s

ollision spee: CRG



@B Ea GMXSZEZ Air Slide Table GMXS Series

GMXS O EitE GMXS O Basic type

eMxs 8 gitm GMXS 8 Basic type

s/
M2 2-M2.5x0.45424073 2-M3x0 542474
L] 2-M2.5x0.45 thread depth 3 2-M3x0.5 thread depth 4
e BEOR = FEOR: 2-M5x0.8 = p—
M2 2-M3x0.5 k10 5 (FiTie 55 3 Operati t2-M5x0.8 BR9.5(RiR{TIE
% ; 6 Operating port 2-M3x0.5 Uﬁ%ﬁﬁ? T M2.5X0.45 2 7 perafing por - JHREE)
i Max. 9.5 (With strok
S 2|3 J L5 o) 35 || |/, J 16 e
DA | 1
o= - " N ZPN _ _ 3 [
L pRsE—E o o—4
e e e I W = S [ Fl=o
w8l R = A of [HIT¥ P I
a3 -
= . : 3.8 7 2-M3x0.54285R84
;g* « 3 6.5 2-M2.5x0.454240R3 : M35 thrﬁ%ﬁ%ggmzt
5 § K 125 2-M2.5  0.45 thread depth 3 H K 14.6 41275, 100mmysaiiEzL)
Hg .
4-M3 x 0.542454
5 18 (BimfTiEiAReees) 0 6 M 413 x 0.5 ihroad depth 4
(With stroke adjuster at o
© M extension end) 6.5 3.5
d 5 @\\\M | iy 17
= N < il
B DI EEE
[ee] o
RO s < -
<. 3 ©
ma z
2 z . zz
[
E 7z
[} : BRI AR E
- E Stroke adjuster at extension end
I S s NiMPOSBRRS  EwERRmER
= Stroke adjuster at retraction end
%L ] L l} O
5 TR RREE ik b e
E; Stroke adjusttr at extension end JEIRTIEREREE ) ? - E{—jﬁ
éﬂ o o Stroke adjuster at retraction end B 2= ¢ ¢ ,&(/ E=E)= .
3 e o BEE - | B
c -M3 x 0.5 thread dept! EE:“ZE | iy L IS
® EL T O OFHQ O 1 8 9 g
4 o =X =
EhE SR cles: | o % Ml
= L ERS o 5 N g
HED i T ! E B3HI % deptn s F R 5 ~lg
s> Beos /4?0 = ’ (N . e o i
> Ko A P _5 : —-1>x g 8 £
Hz Lif|fo o o & 12 2 i :
%6 0 1E§ 3 oy = % T
7% e F al g B I TRREEE) )
= i| = 2 AR T A
@3H9+g.025 ;,*-—\2 5 N [?i g- %EE 22 ‘(Withslrokefdjusteratexlensionend) (NN-1 )XH G
—_— —=_ Q ) § 2-M4x0. 782 8LR6
®3H9+g'025dep(h 2.5 11 <2 1>XF §o§ uﬁ% 2-M4x§,71h£§§4{?§h6 H
ol £ A B
23S e = : F* <=
T el :
M 55 S N i
< 3 LU 3 "
ol ~ H o
% 2 “ @ ﬁ S s i o &
= | HERS S Qf@_@_@gé@ — o
ﬁ 3 (NN-1)xH G : mi=
< : -
o H : i
Q H ! |
e NN-M4x0. 78078 A B 5 FA kB
_ 7HBLT :
® NN - M4 x 0.7 thread depth 8 = = :
EREAA f : 13 6.5 13 65
Section AA E 5 | :
e -0 - : ~| Ul 0 ]
> _n 5.5 A& - T T H 52} o~
Bﬁ o - fl H Q G} SRS ~
%3 IET ! i = e
» N H <
o Q H
§ - OR &
5 o A LB z K
3 i . . ‘
3 ; NN-M4x0.7485558  EEAA BB
S N i/ NN-Méx0.7thread depth 8 Gection AA Section BB
3 #mBB
@ Section BB i R<% Dimensions (mm)
. . : e
R~f% Dimensions (mm) i % (Model) F N G H NN
S (Model) F N G H NN H GMXS8-10 25 4 9 28 2
Guxsodo 20 4 o 2 N T S R :
OMXS6-20 39 u 2 35 2 i GMXS8-40 50 4 15 28 3
GMXS6-30 20 6 11 20 3 : GMXSB_SO 38 5 20 "
GMXS6-40 28 6 13 30 3 : GMXSS-75 = . % 23 =
GMXS6-50 38 6 17 24 4 2
i B2 (Model) | J K M z 7z
S (Model) | J K M Z GMXS8-10 13 19.5 23.5 49 48.5 56
GMXS6-10 10 17 22.5 42 415 48 : GMXS8-20 8.5 29 33.5 54 535 61
GMXS6-20 10 27 2.5 52 51.5 58 GMXS8-30 9.5 39 43.5 65 64.5 72
GMXS6-30 7 40 42.5 62 61.5 68 : GMXS8-40 10.5 56 58.5 83 82.5 90
GMXS6-40 19 50 52.5 84 83.5 90 H GMXS8-50 24.5 60 63.5 101 100.5 108
GMXS6-50 25 60 62.5 100 99.5 106 GMXS8-75 38.5 96 88.5 151 150.5 158

cre




S@BEa GMXSZEA Air Slide Table GMXS Series

GMXS1 2 EihF GMXS 1 2 Basic type GMXS1 6 B GMXS1 6 Basic type A
2-M4x0. THELLRS 2-M5x0.842565R5.5 = S v S
2:M4x0.7 thread depth 5 ysmes 4. 5 \15x0 8 Sh11 (EikEE 3 qq AMSX08treaddeptnss BEVE: 2-M5x0.8 %ﬂéiégw{ﬁz 3
2 95 Operating port 2-M5x0.8 RS Operating port 2-M5x0.8 g » N
M 1 (With stroke 55 J | 10 Md?m:s's iw;m stmke d i =
4.75 J | 8 adjuster at retraction end) © - ‘ ‘ adjuster at retraction end) ﬁ :
J— il =
© o~ e \r\ ; ﬁt &
- o R e %
—ry ! o & ‘ o
N 4 - NEE
- ¢ | ﬂg; | té Pl G i
i n — 4 iz B -0 AT —
T eﬁfrﬁf - -
[LE 7f L,nf"w} 0
5 *2-MAx0.TIBLLRS A
L.lss ‘2-M4x0.7thr5§d dagins \5.5 2-M5x0.BIRETERD.5 ;-E 3
K 18.5 (57275, 100mm7gaMELL) ! 2-M5x0.8 thread depth 5.5 o= &
H K 21 G575, 100, 125mmsdiEL,) 7@%
315 _ (AmTIRRRES) (R TIREREE) B3
(With stroke adjuster at 375 (With stroke adjuster at extension end) c
extension end) — o
™7 AR 2-M5x0.8 BLLRS ’ 2-MBx18R5LR10
1 I\ 4% 2-M5x0.8 threaddepth & ————ose 2- M6 x 1thread depth10
0| 8 M ml 10 M
o o
w n
I ; [ o)
g | . =i gl| [ S E g
B I!@J I ~
e — (@)
z N >
77 G) z L
b ‘@ zz a
: 20 0
B AR o N i BT E - 7 STy
E:ﬂﬂgﬁ?;%f%mend rx’}tvl“ﬁ%‘ﬁh?é%%ﬁssg E%{T*iﬂ:?%%ﬁ S(rokeadjlﬁteralextensionend ,\’}‘, Ml\élx%)éqhiﬂa%éﬁm% Eﬂgﬁiﬁ%ﬁﬁem
A . , 4 6
3 _ $5 r 0 =< |3 r---A + O
e Ty S e+ 4 A X<
f 53 . i g8
mis | o A & iF 3 E f e B2
g1 . | _: 2| | o o ‘ T g
S v - —Or—0=© | & 3§ i: | (8 e
B | 1 - i Bl pO—O=0=©— - 88 & ®
elefl | Io < K: | 5 o | L2 B8
oM 3 =0 -
— {2 “¥s5 )| Vo S % g ©
04H9 30735 F 4H9 OR35S R s \ ?‘E g
B4HI"S P sepin a5 <ﬂ -1>><F 4H9 *3.9%0 deptn 3.5 EE B5HY 0%z E 5H9 *0.030 374 '\]E E
16 2 o g GSHQ*g mouepmA N 5H9 +gogo depth 4 I é P
o —_ =5 N 0 5|2 —
N 21 < 1>XF H s
9 s (NN-1)xH G E ¥z
s H 12 6 (NN-1)xH G ﬁ'g
mm—— 11 4-Max0.THELGR B @
| | MAOTRRES A e A o —
= - 4-M5x0.8 thread depth 7
I ] 1 | }_A }.ﬁ
f’ N 1
ﬁ\ v 4 B;
1 miN
GI Rale I2AWEN ,(@ = @) o (@ . N : {t
[ a A4 '
DN N/ : 1Z) —_ 1
BIAN B’: \ : 0B 0—10—0
S : <
] ) \ales —| ' -
'P ! ; _ H: Hs
¥ A B : VO f‘f £
E i — 5 EE
5 24 105 == =
18.5 8.5 : 24 10.5 ‘ . S
H c
: ol @ 0 o
H 0 o 2 =
S SIES ]
: i =
i & Bz
e , , frg
) ) : NN-MéxT850%12  BEAA EEBB 3
NN-M5x0.84245510 EHMEAA #mBB : NN-Mox1 thread depth 12 Section AA Section BB <
NN - M5x 0.8 thread depth 10 Section AA Section BB : . . o
i R Dimensions (mm) S
R~% Dimensions (mm) | BEESEVEE) F N G H NN 3
2 (Model) E N G H Y i GMXS16-10 35 4 16 40 2 ]
GMXS12-10 35 2 15 20 2 GMXS16-20 35 4 16 40 2 G
GMXS12-20 35 ) 5 20 2 GMXS16-30 35 4 16 40 2
GMXS12-30 35 4 15 40 2 i _GMXS16-40 40 4 1 50 Z
GMXS12-40 50 4 17 25 3 i _GMXS16-50 30 6 21 30 s
GMXS12-50 35 6 15 36 3 i EECMXSI67) 23 5 28 85 4
GMXS12-75 55 6 25 36 4 gmzl 2'1(2’2 65 6 ?2 2: g
GMXS12-100 65 6 35 38 5 : 2 70 3
7= (Model) I J K M z zz
S (Model) I J K M z e | GMXS16-10 10 40 29 76 75 87
GMXS12-10 10 40 26.5 71 70 80 i GMXS16-20 10 40 39 76 75 87
GMXS12-20 10 40 36.5 71 70 80 ! GMXS16-30 10 40 49 76 75 87
GMXS12-30 10 40 46.5 71 70 80 ! GMXS16-40 10 50 59 86 85 97
GMXS12-40 10 52 56.5 83 82 92 i GMXS16-50 15 60 69 101 100 112
GMXS12-50 22 60 66.5 103 102 112 i GMXS16-75 40 85 94 151 150 162
GMXS12-75 43 85 91.5 149 148 158 i GMXS16-100 55 118 119 199 198 210

GMXS12-100 52 130 116.5 203 202 212 H GMXS16-125 68 155 144 249 248 260
| c



B3y |, A

aqnL SNS . 3|1404d

i

3|NPOIA SIUdIS

S SE

J9bueyd ydIND

Frm

a|npo\ diig

SHimE

JaddiN 11y

B

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

GMXS 25 =5t GMXS 25 Basic type

2-M8x1.250240G%8.5

. 6 2-M8x1.25 thread depth &};MD’Z SRAPTIE %j{’l 6,5( Dﬁﬁﬁ
Z: 2-Rcl 3
OpE‘ra(ij\g port2 -( Rc)(PT)’I/8 Uﬁg%ﬁ)
Max.16.5 (With stroke
o 8 J | 15 adjuster at retraction end)
T ]
= \ ‘ =
© H G D) I
of | Hlr]e ko) |
T o b— =
o =
S TRETE o
N
8,118 *2-M8x1.254245058.5
K 31 *2-M8x1.25 thread depth 8.5
*(fTF2100. 125, 150mmg4Ng7L)
R
54.5 ) &'?M.Lﬁfﬂ%i%nsmm
2-M8x1.254240515
2 - M8x 1.25thread depth15
] 15 M
o
| 3 o
z
y/4
BT E N-M6x19260R 13

Stroke adjuster at extension end

N-M6x1 thread depth 13
R TR R

| S—— B 7 o Stroke adjuster at retraction end
- o
oy} I
- . 5
ge, 5 o b |z
®3 | i &
1 s ®
il | oo el gl Bt
wiE %2 ! o| ©
iz 23 ] |
xegs | A FF @l 2
S © © ek
a*—f e
ol
06H9 376 F 6H9 "§9%03%6 E1E
B6HI"® gepine N 6H9 3930 epin 6 ~ %
- - -1>xF — 3
30 (2
22 7 (NN-1)xH G
re= F =17 6-M6X18ELR10 H
I | 6-M6x1 thread depth 10 A B
1 [ f f—
A

/= =H 38 L . . .
S&iBE GMXSZAS Air Slide Table GMXS Series
eMxs 20 =t GMXS 20 sasic type
2-MBx1824556.5 42 2.Re(PT)1/8 RA145(EIHTIE
3 .13, 5mexi thread deptn 6.5 {)%)E‘rla:(gﬁporl OB e R
Max. 14.5 (With stroke
6.5 J | 12 adjuster atretraction end)
el
[ } ‘ ©
3 bl @ D- ' ;
e —T] o
T T o
65 1112 |\ *2-Mex1425556.5
K 25 *2-M6x1 thread depth 6.5
*({778100, 125, 150mmg4 ML)
(RIH TR E)
(With stroke adjuster at
46.5 _ extensionend)
2-M6x1 $24LR13
‘Ql 13 M
o
0
) 3
B
Y4
yv4
RIR(TTRERER T
Stroke adjuster at extension end
N-M5x0. 84255810
1 N-M5x0.8 thread depth 10
g il } 6 o
e ? ! ! S —
@i | [ S 3 o L | 3
Moc 1 ! il s
ot @ s
ey & @) ) _ ©| © s
olEi: | | /L2 _FEY N &
N G g
N (53 o o by
ke
o
O5H9 "G *ORS F 5H9 *+0.030 3755 ® g
25198 Puepns N 5H9 *g-““ depth 5 5
(7 —1>XF
27 2
18 6 (NN-1)xH G
N 3&“@?&3&?&%?3?3 8 A . B
] e S

! i A B
29 115 H 34 .16 = k=
I H = 34 16
W : O L
- Q= H ©O| «| =
5 - H o~
8 @SE 3 s i 98 e @ W s
H ®
O
NN-M6x 1885712 BHEAA HEBB NN-M8x1 2585716 BEAA #mBB
NN - M6x 1thread depth 12 Section AA SectionBB ! NN-M8x1. 25 thread depth 16 Section AA Section BB
R~f% Dimensions (mm) { R<% Dimensions (mm)
A5 (Model) E FF N (€] H NN A5 (Model) E FF \} (€] H NN
MXS20-10 50 40 4 45 : MX -10 50 40 4 45
GMXS20-20 50 40 4 15 45 2 GMXS25-20 50 40 4 22 45 2
GMXS20-30 50 40 4 15 45 2 H GMXS25-30 50 40 4 22 45 2
GMXS20-40 60 50 4 15 55 2 GMXS25-40 60 50 4 22 55 2
GMXS20-50 35 35 6 15 35 3 H GMXS25-50 35 35 6 20 35 3
GMXS20-75 60 60 6 19 B85 4 GMXS25-75 60 60 6 26 35 4
GMXS20-100 70 70 6 37 35 5 : GMXS25-100 70 70 6 32 35 5
GMXS20-125 70 70 8 41 38 6 GMXS25-125 75 75 8 40 38 6
GMXS20-150 80 80 8 19 44 7 H GMXS25-150 80 80 8 30 40 7
2 (Model) I N K M z zz | = (Model) I N K M z zz
GMXS20-10 10 44 31 83 81.5 97 GMXS25-10 12 47 35 92 90.5 108
GMXS20-20 10 44 41 83 81.5 97 H GMXS25-20 12 47 45 92 90.5 108
GMXS20-30 10 44 51 83 81.5 97 i GMXS25-30 12 47 55 92 90.5 108
GMXS20-40 10 54 61 93 91.5 107 H GMXS25-40 12 57 65 102 100.5 118
GMXS20-50 10 69 71 108 106.5 122 GMXS25-50 12 70 75 115 113.5 131
GMXS20-75 10 108 96 147 145.5 161 H GMXS25-75 33 90 100 156 154.5 172
GMXS20-100 58 113 121 200 198.5 214 GMXS25-100 50 114 125 197 195.5 213
GMXS20-125 70 155 146 254 252.5 268 : GMXS25-125 67 155 150 255 253.5 271
GMXS20-150 87 190 171 306 304.5 320 i GMXS25-150 82 180 175 295 293.5 311

NV C=RG



S58B4 GMXSZ% Air Slide Table GMXS Series
INBE AL / Functional option

failpns
- Y
F- Hs@EEEh M
F-With buffer BMEFF AT, SIIERTIE) 2-F 7
Magnetic switch z\g;ln?sallalzf%?i:noperatiun.) i@g
=
HiA Magnet ) Z
o
g & & o E
EHH' < { 4?@ 69@_ @ i
: : RS © 4
o B a3
= il B c B2
g
WA Magnet G 5
w
BEMEFFR (W, ShERTIE) .
Magnetic switch Normally OFF .
(ONis buffer in operation.) a
R- FIHEH - o
R-With end lock o
a
BER i J 1, 2K 2
Lock piston Spring / ‘r‘?n
3 & & _ @ It _|
N & |
_m%» E&d - %o
L | o E_-B
VEES
a e
N 4 4 & ®
7 ; %
I $—@+—@—@
7 > > 3
o z
ST L —H i)
| | -i 7] 2
" |
AT in) M
Locked Unlocked
P- SIS E e ) ns
P-Axial piping type H|-& =g
r 283
2.p . | =
— 0 s
i 'é @ [ o | )
p—
[oef | & & &
SRR 5 Y Z
Spejﬁ é?)?troller E \ Y ?E §
% + o
- - : E O
) ) & i Q a
oD B - i El
HO— _@ | B
% % 2 _KH: ]
L[ 5 @
T
[—
R% Dimensions (mm)
e
(Model) 75 100 125 150
GMXS6 24 10 28 19 0.5 M3x0.5 22 - - - - - - - - - - - - - - - 56 M3x0.5 55 1232 8 115
GMXS8 30 12 285225 0.5 M4x0.7 22565 9 39 44 55 73 91 141 - - - M3x0.5 10 155 3 6.5 M5x0.8 6.5 15 40 12 135
GMXs12 38 16 37 30 0.5 M5x0.8 29 95 10.5 59.5 59.5 59.5 71.5 91.5 137.5 191.5 - - M5x0.8 145 20 3 6.5 M5x0.8 9.5 20 50 12 187
GMXS16 48 20 41 37505 Meéx! 30 12 13 62 62 62 72 87 137 185 235 - M5x0.8 18 25 3 6.5 M5x0.8 12 26 62 12 235

GMXS20 58 25 44545505 M6éx1 305 15 155 68.5 68.5 685 78.5 93.5 132.5 185.5 239.5 239.5 Rc1/8 20 30 11.5 Rc1/8 15 32 76 20 29.5
GMXS25 70 31 50 55 0.5 M8x1.25 35 18 18 76 76 76 86 99 140 181 239 239 Rc1/8 255 35 11.5 Rc1/8 18 40 92 20 355

.




INBIEIEE (HEZ&SH,) GMXHZEZS Miniature Air Slide Table Linear Guide GMXH Series

. ;T- S [R)4HAEE EGuide bearing width
fﬁ 2 fEFRAR Fluid =5 Air
(%]
= g FEFA Action SAEFE Double acting
o
° BAREAED
Minimum operating pressure 0.isttlPe DSk DLEEIIRE
REERED 0.7MPa
Maximum operating pressure
Y FHWHMETFX: -10~+70°C
A B
X 5 FEAFIRE ERMTTE: -10~+60°Cc  (ERIRE)
=~z Ambient and fluid temperatures Without magnetic switch: =10 to 70°C )
zi z With magnetic switch: —10 to 60°c (N0 freezing)
o
| g— & 28 & [E Piston speed 50~500mm/s
® SYF e J
Allowablz kinetic energy (J) 0023 0.025 0.05 0.1
*Ei8 Lubrication JREZEEE Non-lube
*34 =) =R gy .
%\J:g&: Evﬁimg(, E@iﬁgﬁz{@Eg*ﬁg.’ é(.‘%I;:’;Iﬂon BRI TR AR ZE M Rubber bumper on both ends
TOEBRERIR, AR TR MR, N +1.0
o Tt ~
=4 *EJ'MEEit_E;ﬁﬁilw troke length tolerance 0
23 s R T X 2 E$6% D-AI] ESFBFE D-MI]
o} ﬂﬁﬁ?ém’&ﬁ;&o Magnetic switch(Option) Reed Magnetic switch D-A9[] Solid state Magnetic switch D-M9[]
2 o R TR R A A 4 ) EEEEOR
g T B PR R AR B i Rl M5x 0.8
N N Ry
T RIFDIENGMXURFIRI 40 % 1938, 8 FE F1S IS oVG32,
*Install linear guide bearing to improve the accuracy of *Please use turbine No.1 oil ISOVG32 if need.
non-rotative of piston rod
o *S':candard buil.t—in magnetic ring,can install magnetic switch 'imlﬁﬂ*iﬁﬁ
=) of stroke testing ) Stroke/magnetic switch selection
QHZ *Can connect to air from three sides » E— =
'ﬁ: . *Can install magnetic switch from two sides JAEES EE(THE (mm) HEERRBEBMEFX
= *Standard rubber buffer at both ends (mm) Standard stroke (mm) |  Direct mount type of magnetic switch
o
*Allowable torque is 6 times of GMXU series 6 2 £ 2-wire 3% 3-wire
O —10_{s10.15.2025, | DU Iouen
Model representation methods 16 30,40,50,60 DMOBY | DNy D-MOPY
HWE#IAEE GMXH | 10 | R | 30 | B | A93 | | | T o0 | D-M9BVL | D-MONVL D-M9PVL
% > Builtin magnetic ring type GMXH - -
- = B BT RIS SIS RNRY, EY
A i FXESHKRE, WSEKEIDS: XidS -0.5m,
I — .
e Bore 1772 BEFEE L-3m.Z-5m, {1 :A93L .
ﬁ’i{ﬁﬁ;‘é%rgke Numberofmagnetic swiches Note) The specification and characteristics of magnetic switch
Maonetic Swig — FEsNi| 24 can refer to the series of magnetic switch . At the end of
g TRETIE 11 the model of magnetic switch,the length mark of
ZicS N"|W|Tthout magnetc switch e conductor is attached:Nomark-0.5m,L-3m,Z-5m
Example: A93L
2 NAR — -
« See the right table TN=mEEESR
%§ Bt /In Canconnect to air from 3 sides
f= N
efﬁ g NN SRR NE it E D
=z Sl &M EsINEE H /Out Extend nozzle
= Miniature linear guide bearing
% improve the accuracy of linear
motion of cylinder
.
FEER.
(TERSME)
. . Atbothsides
B2 RIFB/Application
[a]
14: g S'Z'ﬁ_'ﬁga%g Retract nozzle FEEEEO
o Parallel distributor A Jﬁ?gs Retract nozzle
5 THE= ErFLENIZR
g Workpiece transport Pinhole positioner
SETRE
K BEEET
3 Suitable vacuum cup
3

N CRG




INBIEMEEe (BEZ&SH) GMXHZEZS Miniature Air Slide Table Linear Guide GMXH Series

GMXHG6 GMXH10 TR
=X
LT LT *Z(—?
w2
— 1%]
© c:I - ° Ad @{@@} - ol - © © 0 ©e [ & g
- — o @ ] il ) . ) gy - ®
: ) o Q ©e [
8 LA LB \J\ M3x05
R6.5 1 LA LB J-M4 x 0.7
Depth 6.5 w8 F 2
Depth 8 5a 3
: B2
= SRS 7 |
| Guide bearing width 7 - %
SHHFE 5 2M5x0.8 >
—‘!_'_‘MS x0.5 Guide bearing width 5 © —‘};Mll x 0.7 —
55 2 6
Depth 5.5 ~ Depth 6
| 2-M5 x 0.8 ' A
| 4-M3x0.5 L@ S %
~ R4.8 mm f Hmo
% H - IlDepth 4.8 Lﬂ -] - E c
P ™ | [a]
'¢ ol o —=re -(} H {‘ ~
| Cl® | (\ <Q < 9
HoH - : R R g
? : Q
i = 8
T : n 4-M4x 0.7 ©
ep . © ;E [
16 10.5 a3
VEES
He
)
3-M5x 0.8 sz
s Cylinder port
3-M4 x 0.7 1BFLD 4.3 Yl p
E?Lﬁx 3.3 gﬁif‘%ﬁ Pilot hole dia #4.3 LW"\;hSF;';% f:; Eort)
i di ! 6- @ 7.5 nFLiF 4.4 - -
Pflslmghoée‘g‘l;l,ﬂ‘i33 3 (With plug for port) 6-07.5 coun’teﬂ? (l)JrlgfﬁepthAA
6-06 courl\terbo’rzi‘le th3.3 4-M5x0.8x4L - /_=\‘ >
w0 © = z
2 N — ] \ - #z
B3
° & . o) uk
2 - - - - [ee]
e $ ) s
© :
E w | [ ©
[t) H
S :
55 10 ! 5 3 'S
H =a 0
4 NS H 7.5 NS 12.5 = E
85 31 + 4742 Stroke i 11.5 35 +{THg Stroke % 2
39.5 + {772 Stroke H 46.5 + {TFE Stroke g
: c
: 0
i 12 5 +4752 Stroke 4-M4 x 0.7
: w6
: Depth 6 I}ﬁ >
10 5 +13i2 Stroke 4-M3x0.5 : o {j #3
%4.8 : n Py @
Depth 4.8 : ™ _]_ -— - - - 9
— : -~ <
T —e ] ¢ | g o © 3
— © © : S
: o
H >
h 13
H =1
i @
R% Dimensions (mm) i RY% Dimensions (mm)
BIE (Model) {T#EStroke J LA LB LT NS [ BIE (Model) {T#EStroke  J LA LB LT NS
GMXH6-5Z 5 4 10 - 42 14 GMXH10-5Z 5 4 10 - 49 14
GMXH6-10Z 10 4 10 - 42 14 GMXH10-10Z 10 4 10 - 49 14
GMXH6-15Z 15 4 20 - 52 24 GMXH10-15Z 15 4 20 - 59 24
GMXH6-20Z 20 4 20 - 52 24 GMXH10-20Z 20 4 20 - 59 24
GMXH6-25Z 25 4 30 - 62 30 GMXH10-25Z 25 4 30 - 69 30
GMXH6-30Z 30 4 30 - 62 30 GMXH10-30Z 30 4 30 - 69 30
GMXH6-40Z 40 6 20 20 72 45 GMXH10-40Z 40 6 20 20 79 45
GMXH6-50Z 50 6 25 25 82 55 GMXH10-50Z 50 6 25 25 89 55
GMXH6-60Z 60 6 30 30 92 60 GMXH10-60Z 60 6 30 30 99 60

.




NBIERBE (BEZ%ESH) GMXHZEZ Miniature Air Slide Table Linear Guide GMXH Series

Ao GMXH16 GMXH20
S
ZE T LT
e
82 & © o o 0| |
i
c — A4
3 & © ©° 00 [ . .
<| © - - o N
AN| ~ . A
o o o D [ © o o © O
J-M4 x 0.7 J-M5x0.8
s 14 LA LB =9 14 LA LB o5 x
2 Depth 9 i Depth 9.5
15 z ;
Hy 4-M5x 0.8 SEHAES 12
= 4-M4x0.7 =11 Guide bearing width 12
o fm10 SEHE 9
S:ar;toh 10 Guide bearing width 9 Depth 11 2-M5x0.8
|
4-M4x07 M5 X 0.8 © 4-M5x08
0 R 6 I & ®8
. I Depth6 Depth 8
'H&Q ¢ | —‘7Zm
s ol ? 2| 2 D &6
2 Sk N B NG
o} © e | < /\
2 ) S N ’ 3 @ S
® H
2 e T o EDNQ ﬁ@
2 i N P
' ' 5 O
- ' N 20 © V¥ ~
+ 6 16 © 17 o
95 =] 32 20
=k 25
gz
g ﬂ
o 3-M6 x 1.0 éﬁEEgt
3508 T w051 et
B/ 4.3 Cyl'lnderport Pilot hole dia @5.1 2-M5x0.8x4L
Pilot hole dia 4.3 (With plug for port) 6.0,93 M7l 8 MIXBEX
6-Q 7.5 77 4.4 4-M5x0.8x4L 6-@9.3 counterbore depth 8
6-@7.5 counterboredepth4.4
: -D.I |
o o} | P
9= MY &
BUD N
4 % L
_ —_ 1ol
& Hi N < '_ﬂ - [
o) %) 5—( el
) % , :
© 0 © RN © ~
w © H
BHs 5 i 6
EEE 10 NS 12,5 i 1 NS 15
c H ~
ﬁ 3 14 42 + {3/ Stroke i 15.5 52.5 + {378 Stroke
< i
8_ 56 + {THE Stroke : 68 + {THE Stroke
c :
5 H
12 10 + {752 troke 4-M4 x 0.7 ; 15 10 +/512 stroke 4- 2r;/ls x0.8
= H »%
Bﬁ E iR 6 H IIDepth 8
o Depth 6 :
g ; Py d
8 © f4 ; S 2
< H
-SS J  H e
3 o H H Py
3 hd © H \4 ‘@'
> :
o .
=1 H
Iy i
R~% Dimensions (mm) i R<% Dimensions (mm)
BIE (Model) {7#&stroke  J LA LB LT NS [ BIE (Model) {7fEStroke  J LA LB LT NS
GMXH16-5Z 5 4 10 - 58 20 GMXH20-5Z 5 4 10 - 64 20
GMXH16-10Z 10 4 10 - 58 20 GMXH20-10Z 10 4 10 - 64 20
GMXH16-15Z 15 4 20 - 68 30 GMXH20-15Z 15 4 20 - 74 25
GMXH16-20Z 20 4 20 - 68 30 GMXH20-20Z 20 4 20 - 74 25
GMXH16-25Z 25 4 30 - 78 40 GMXH20-25Z 25 4 30 - 84 40
GMXH16-30Z 30 4 30 - 78 40 GMXH20-30Z 30 4 30 - 84 40
GMXH16-40Z 40 6 20 20 88 50 GMXH20-40Z 40 6 20 20 94 50
GMXH16-50Z 50 6 25 25 98 60 GMXH20-50Z 50 6 25 25 104 70
GMXH16-60Z 60 6 30 30 108 60 GMXH20-60Z 60 6 30 30 114 70

o



KO3%E Sprue Gripper

FAERBEEME, EERENME, FoK.

B SR A SRR RS FICRGED R RS %{3’
Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle. %NZ
Using threaded components or CRG's components when to assemble. §§
&
KOFEEGR(S/M/L/X)EF (FTIER%ES)
Series GR-Sprue Gripper (Without Sensor)
=g
EE
1= 2
Hs
'H&Q
23
9
GRS08 GRM12A GRL12A GRX20
FQ
o
S p
KOEEGR(S/M/L/XRS (#1ERE) he
Series GR -Sprue Gripper (With Sensor) °
5z
#z
B3
7]
BS
GRS08-CN(CP) GRM12A-CN(CP) GRL12A-CN(CP) GRX20-CN(CP) f'_ES
‘53
=
Q.
£85(PN) EE(Model) =SFFA(Switch type) BN AI(F) &=E(Weight) 5
8.Y00214 GRSO08 - 5N 189
8.Y00099 GRS08-C - 5N 24g
8.Y00011 GRS08-CN NPN 5N 40g .
8.Y00012 GRS08-CP PNP 5N 40g ?ﬁ;g
8.Y00103 GRM12A - 28N 469 g
8.Y00092 GRM12A-C - 28N 45g <
8.Y00009 GRM12A-CN NPN 28N 60g S
8.Y00010 GRM12A-CP PNP 28N 60g 3
8.Y00107 GRM12B - 28N 469 ]
8.Y00106 GRM12B-C - 28N 45g @
8.Y00104 GRM12B-CN NPN 28N 60g
8.Y00105 GRM12B-CP PNP 28N 60g
8.Y00108 GRL12A - 45N 949
8.Y00100 GRL12A-C - 45N 849
8.Y00001 GRL12A-CN NPN 45N 100g
8.Y00002 GRL12A-CP PNP 45N 100g
8.Y00213 GRX20 - 80N 180g
8.Y00215 GRX20-C - 80N 1779
8.Y00013 GRX20-CN NPN 80N 1929
8.Y00014 GRX20-CP PNP 80N 1929

.



KOKE Sprue Gripper

=L / Applica

tion example

GR M| 12] [B] - [C][N]

il
ZE
RY
Size
=< LEER
gﬂcg’ Dimension
wo  TH I/ Installation method
s
Q
e
B3
g3
He
Sz wl—
27%5 Application 1
Jj(-‘; \, . .
(4 / Accessorier selection
%
Sensor
BS 1.PNP
?EE 2.NPN
ZH 3
#Fg
& FFRIEZUBE/Switch wiring instructions
9 NPNthgg/NPN output type
3 .
3 M. HHEBEE %%?5%
§ Input and output circruit diagrams
. 3 P

CRE) @ (£1)

D2 (Black) Output (Marked 1)
Tr O
\A 100mA MAX.
22| @maov
| (Blue)

24V DC
m +10,
-157°

|)!n,|:u!ou!ew B & H |

REBEREE «——0— SMIBIERIRA)
Internal circruit External connection example
(EL): MREREEr B, YRR RIS TR,
(Marked 1)Output is not equipped with short-circuit protection circuit.
Do not connect directly to power or capacitive loads

o

Sk A
Jaw Types

FrRRE
Switch type
NPNFFx
PNPFx

C-aIF R

Being able to mount a switch
To-RE TR

No - Not being able to mount
a switch

N
Application 2

FRES(PN)

7.Y00800 PNP

A5 (Model)

7.Y00801 NPN

E: &RKATK
Note: The lengthis 1 meter

PNPmHﬂﬂ/ PNP output type
=) B8
WA, BHEEE SHEAE

Input and output circruit diagrams
| @B®E) +v
_ (Brown)

»l<&
145

> 7D ‘

Tr 100mA MAX.

| (BE) B (1)
(Black) Output (Marked 1)
&) ov

" Blue)

L

| 24vDC

i

|umo:gou!ew B & W |

KRR B ——O—> SMEBERE A

Internal circruit External connection example

(GELD): R EIEr R, B EREEBRAS TR,

(Marked 1)Output is not equipped with short-circuit protection circuit.

Do not connect directly to power or capacitive loads



KO EGRS08Z&%! Sprue Gripper GRS08 Series

D
ZE
e
e
g
(PNP) w0
(NPN) )
(e
ghat gg§
Diamond tooth £
GRSO08 GRS08-CN(CP)
FoIERREE(Without Sensor) HERER(With Sensor)
:r;&ﬂcj
#]a
2
a
F= iR Product Description 8
GRS08%7%1
AUREREEEME, E2RENME, Faik. k2
PR A FR YR ENCRGBRLE. Az
Series GRS08 e
Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle. °
Using threaded components or CRG's components when to assemble.
£25(PN) B E(Model) f&Rk=&(Sensor) MEA3(F) EE(Weight)
8.Y00214 GRS08 - 5N 189 52
8.Y00099 GRS08-C - 5N 249 Mz
8.Y00011 GRS08-CN NPN 5N 40g EE§
8.Y00012 GRS08-CP PNP 5N 40g 25
21 21 6.60
.2-8.4 4 4
— é Bs
#H3
||: #Fg
A N s
( { N i °
o | o
b |
T 3-M3 " U T 3-M3 " ,I{}E:Tg
PanY Pan} 3
N ol hd o <
e
o
o o 2
E
Eg M3-Pa :E M3- @4
C 12 | 2 C 12 ] 4
18
FTIERES(Without Sensor) HERES(With Sensor)

.



KOFEGRM12&%I Sprue Gripper GRM12 Series

il
ZE
me
B9
g
(PNP)
%g (NPN)
e
Hs AR BR}iA
= ADiamond tooth BHelical tooth
GRM12A GRM12A-CN(CP)
FAERLEE(Without Sensor) HIEREE(With Sensor)
e
#]a
2
®  FEEIEIA Product Description
GRM12&5%|
*xQ AUNERBREYE, EERNME, FhK
%‘; EE TSR L ENCRGERRE.
= [e] .
He Series GRM12
® Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle.
Using threaded components or CRG's components when to assemble.
HE(PN) ES(Model) R%8&(Sensor) HMEXAI(F) EE(Weight)
=x 8.Y00103 GRM12A = 28N 469
éj]‘_% 8.Y00107 GRM12B - 28N 469
%% 8.Y00092 GRM12A-C = 28N 45g
7% 8.¥00009 GRM12A-CN NPN 28N 60g
8.Y00010 GRM12A-CP PNP 28N 60g
8.Y00106 GRM12B-C - 28N 459
8.Y00104 GRM12B-CN NPN 28N 60g
a5 8.Y00105 GRM12B-CP PNP 28N 60g
%&Z 31 31.50
9 358;3212 6 0-16 -
: — 5 =
[o} o
B % 4 K ]
'#Fg o o 1 22 /_\
S 4; . — o off
¢ s 1 N o
3 o 9 ol ﬁ g o ( \
-8 7 9 3-M4 ©) N 3-M4
N\’ .
7 o o N - =
1= M5- P4 IH LQJ
° 13 o M5- P4 =
T ="
26 26
FTIERLEE(Without Sensor) H1ERLEE(With Sensor)

e CRG



KOFEGRL12Z&%| Sprue Gripper GRL12 Series

AT
ZE
e
e
g
(PNP)
(NPN)
2z
EE
(e
A h
Diamond tooth £
GRL12A GRL12A-CN(CP)
FTiEREE(Without Sensor) HIERES(With Sensor)
'H&Q
#]a
2
F=ERiEiA Product Description E
GRL12&7%! °
KEEFREEER, ERRNIME, FHK
AFRT AR IB R EFCRGEBMRE. %<
Series GRL12 %%
Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle. He
Using threaded components or CRG's components when to assemble. ®
£ES(PN) 25 (Model) {&Rk=&(Sensor) BN AI(F) EE(Weight)
8.Y00108 GRL12A - 45N 94g
8.Y00100 GRL12A-C - 45N 84g 52
8.Y00001 GRL12A-CN NPN 45N 100g =z
8.Y00002 GRL12A-CP PNP 45N 100g %?,
41 41
0.3-17.50 8 8
— ] Bs
“H3
=] =
—] Q.
A N AN s
4| |° o2
oy o ( oy o A |
2 3-M5 ;_: }”43{?
g Y g o 2
o) fca o) e 3
A
© ©f o
3
j g 3
! Ms-Pa Ms- P4 £
D12 o D12 o o
25 25
39 39
FT(EREE(Without Sensor) & REE(With Sensor)

.



KOFEGRX20Z%! Sprue Gripper GRX20 Series

B ®
ZE
e
8 (PNP)
(NPN)
%z
I
1= 2
63
Q.
£ Diamond tooth
GRX20 GRX20-CN(CP)
FTAEREEE(Without Sensor) HIEREE(With Sensor)
Rre
#’a
2
2 TFEmiA Product Description
% GRX20%3!
REEFEEEIA, ERENIME, FhK
9 AR RGN L KA ICRGE M & .
%2 Series GRX20
=g o
He Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle.
® Using threaded components or CRG's components when to assemble.
£2S(PN) E5(Model) {&Rk=&(Sensor) HMERI(F) EE(Weight)
8.Y00213 GRX20 - 80N 180g
=2 8.Y00215 GRX20-C 80N 1779
Mz 8.Y00013 GRX20-CN 80N 192¢g
%(}; 8.Y00014 GRX20-CP 80N 1929
53.5
10
0.7-30 10
= FE
BS
E;%g —r
#H3 ]
14:?_ 3-M6 A B -—ix 3-M6 A B
& 0 o
5| 8 / :
e 2 \ § 8 0 (B
B 2 o i ~ S
e o o
g Q
o) T &
'% M5-94 ?
% ©20 920 il M5-Pa ?
4 20
s 32 @20
42 32

FoAERE8(Without Sensor)

oy CRG

42

H1ERE8(With Sensor)



KOFZEGRO5Z%%!] Sprue Gripper GRO5 Series

18
0-11 3

B3y | FhE

agnL SNS . 3]1401d

53.60
(o]
OO
O

2-¢2.60

37.50
HEE o
S|NPOA SIUdIS

8,950, 6

HEPs]
Jagged

6

M8*1 .5 ; | M3 #S0

T M3 Inlet port

GRO5A-10 10
FERLEE(Without Sensor)

S SR

J9bueyd }dInd

S
a|npo\ diug

5S(PN) HS(Model) {&RE8(Sensor) MEXF3(F) EHE(Weight)
8.Y00348 GRO5A-10 g 12N 9.69

ham 2 20301

JaddiN 11y

RS HL

3|NPON wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

.



KOFEGR12Z&%] Sprue Gripper GR12 Series

2 BERFESE GRAZ[A]-12 -[C]IN] ...
,ﬂé} Model representation methods Swit;:h type
%5 . NPNFF%
z REER PNPFF%
& Dimension
C-AI%EFF X
Jesk kA Being able to mount a switch
Jaw Types 52 RIS IES
gg‘? Bore No-'Nc;]t being able to mount
B2 AAEREEETN, ERENLE, 55 aswite
Hg REERT AR B L A ICRGER MRS,
5 Main body being made of high-strength Aluminium , light weight, strong rigidity and long life cycle.
Using threaded components or CRG's components when to assemble.
®me
#’a
2
*xQ
EU
HE
e GR10A-12 GR12B-12 GR12L-12
® GR12A-12 TG RkER TG RhER
GR12M-12(§0#%I$H Csteel jaws) (Without Sensor) (Without Sensor)
RS (Wi
FAGRE(Without Senson B / Accessorier selection
==
&z
B3 EAES
718 1.PNP
2.NPN
Hs FFEES(PN) £S5 (Model)
gfﬁg GR10A-12-CP GR12B-12-CN(CP) 1.Y07261 MAP-8S2P1/F(PNP)
= GR12A-12-CN(CP) e RkaR 1.YO7405 MAP-8S52N1/F(NPN)
% GR12M-12-CN(CP)(R#I$H Dsteel jaws) (With Sensor) . BEHIK
H{EREE(With Sensor) Note: The length is 1 meter
£ES(PN) FiS(Model) {&R&g&(Sensor) HMERFI(F) HE(Weight)
8.Y00348 GRO5A-10 - 12N 9.6g9
BfZ  8.Y00268 GR10A-12 - 28N 449
8 T8v00267 GR10A-12-CP PNP 28N 70g
3 8.Y00305 GR10A-12-CN NPN 28N 709
o 8.Y00370 GR10D-12 - 28N 429
'g 8.Y00369 GR10D-12-CP PNP 28N 61g
§ 8.Y01034 GR10D-12-CN NPN 28N 61g
@ 8.Y00048 GR12A-12 - 28N 449
8.Y00098 GR12A-12-C - 28N 449
8.YO0050 GR12A-12-CP PNP 28N 709
8.Y00091 GR12A-12-CN NPN 28N 70g
8.Y00245 GR12B-12 - 28N 449
8.Y00260 GR12B-12-C = 28N 449
8.Y00261 GR12B-12-CP PNP 28N 709
8.Y00262 GR12B-12-CN NPN 28N 709
8.Y00307 GR10L-12 - 28N 50¢g
8.Y003 08k steeljans) GR12L-12 - 28N 509
8.Y004 195k steeljans) GR12M-12 - 28N 66.29
8.Y0042 16k steeljans) GR12M-12-CP PNP 28N 82.5g
8.Y00420 GR12M-12-CN NPN 28N 82.5g

B c=c



KOFEGR10&%] Sprue Gripper GR10 Series

30
0-16 | 6

B3y | FhE

d9qnL SNS - 3|!404d

26.5

80.5
39

thais

Diamond tooth

S R

S|NPOA SIUdIS

15

3l
L
SR

J9bueyd }dInd

GR10A-12
ToEREE(Without Sensor)

S 2-M5
Intake air 2-M5
N o
~N|o|nl
At
o
o

ey
a|npo\ diug

26.5

ham 2 20301

JaddiN 11y

MAP-8S2P1/F(PNP)
MAP-8S2N1/F(NPN)

80.5
39

15
FrisHHm

3|NPON wWnNNdep

GR10A-12-CN(CP)
T{EREE(With Sensor)

Intake air 2-M5

#R 2-M5

~
F=

syusuodwo?) A10ss8d0y

£S5 (PN) IS (Model) {ER%8&(Sensor) HMEXA3(F) FHE(Weight)
8.Y00268 GR10A-12 - 28N 449
8.Y00267 GR10A-12-CP PNP 28N 709
8.Y00305 GR10A-12-CN NPN 28N 709

.



KOFEGR10&%] Sprue Gripper GR10 Series

A j. 3455 15
*Zg_“ 0-21 6
8 =
S Q
o ©
) N
%5 g
g g 3
£s $is =5 °
iﬂg Helical tooth 2-¢4.2 \_/
e
0
i © 16 -
9 GR10D-12 e
@ FiER%ES_(Without Sensor) HE
*xe
E-E
g
H®e 21 15
o 0-18.5 6
%) ]
&
&
5z
Mz ] Q
B3
712 & [5)
MAP-8S2P1/F(PNP) 3 2
MAP-8S2N1/F(NPN) 2.04.2 9
(0X X%
'S 0
?Eg [T
P s
e & =]
§ o 16
3 23 27 @10
GR10D-12-CP anx
HEREE(With Sensor) £
z 55(PN) BE(Model) f&E&(Sensor) HMEY3(F) EE(Weight)
i 8.Y00370 GR10D-12 - 28N 429
g 8.Y00369 GR10D-12-CP PNP 28N 61g
§ 8.Y01034 GR10D-12-CN NPN 28N 61G

=) C=RG



KOFEGR12Z&%] Sprue Gripper GR12 Series

30 Fiid
15
0-16 6 *7."5_"
m 28
) =
& g
ot ﬂ: J @
o % r:n
shEth ¥ 3 x7
) 2-¢4.2 ( ) 1=
Diamond tooth 2-04. 9 éH§
©
o T T
w3 o £ )
=g 16 Eg
GR12A-12 RE > 012 2
FiEREE(Without Sensor) HE g
«Q
*xQ
E-E
HE
He
0
& 5z
#z
B3
J)2
MAP-8S2P1/F (PNP)
MAP-8S2N1/F (NPN) -
2l 8
BS
o e
: i
!-'_.'I.' - Z
Log. /':;: ‘t{ §'
=Q - i =
GR12A-12-CN(CP) N 12575 -
HEREE(With Sensor) lal;l;f‘g @
+ >
HS(PN) BI5(Model) fEkas(Sensor) MENA(F) E&(Weight) ﬂiﬁ
8.Y00048 GR12A-12 - 28N 449 g
8.Y00098 GR12A-12-C - 28N 449 ‘(<:
8.Y00050 GR12A-12-CP PNP 28N 709 S
8.Y00091 GR12A-12-CN NPN 28N 709 §

c=G



KOFEGR12Z&%] Sprue Gripper GR12 Series

0-16 5

B3y |, A
9qnl SNS . 9[1jolid

26.5

80.5
39

A 2-94.2
Helical tooth

HEE A 0t

3|NPOIA SIUdIS

15

SR

J9bueyd ydIND

Intake air 2-M5
N |2
<
AS
ey
N

GR12B-12
FAEREE(Without Sensor)

S 2-M5

T HE W
a|npo\ diig

26.5

SHimE

JaddiN 11y

MAP-8S2P1/F (PNP)
MAP-8S2N1/F (NPN)

80.5
39

15

FrisHHm

3|NPOIN wnndep

27 12

Intake air 2-M5

#R 2-M5

GR12B-12-CN(CP)
THERES(With Sensor)

-
=
=

52 (PN) #S(Model) & R%EE(Sensor) HMELAI(F) FHE(Weight)
8.Y00245 GR12B-12 - 28N 449
8.Y00260 GR12B-12-C - 28N 449

8.Y00261 GR12B-12-CP PNP 28N 709
8.Y00262 GR12B-12-CN NPN 28N 709

sjuauodw o) A10ssa20Y

LR CRG



KOFXEGR12Z%%] Sprue Gripper GR12 Series

30 24.50 il
016 20 M;:
2
g
3 I El
“l 3 =2
2-94.2 (u) iﬂg

Lt L
w3 T & £l me
GR12L-12 z4 W6 }ﬁ%
ToiEREE(Without Sensor) re 27 oA 5
" E g
%2
HE(PN) ES(Model) fERig&(Sensor) B (F) EE(Weight) 23
8.Y00307 GR10L-12 210 = 28N 50g fgg_
8.Y00308 GR12L-12 @12 - 28N 50g 5

| 34.50 X
0-22
s>
WMz
© B3
S AR
[t}
& o

2-04.30 Z=2
48 3
i
o 5

//:6 ]

GR12N-12 0% 24
FToiEREE(Without Sensor) N 27 TES
Ir g e
2 a
o
£E(PN) BES(Model) A fER%ES(Sensor) HMEXA3(F) EE(Weight) §
8.Y01011 GR10N-12 210 - 28N 429 3
8.Y01012 GR12N-12 212 - 28N 429 z

.



KOFEGR12Z&%] Sprue Gripper GR12 Series

' 30 15
M% 0-16 6
B -
= © [ |
o ©
o N
i& b _U‘ :D.
22 R4 0 2 3
=2 ; 2-¢4.2 ( )
2Hg Steel jaw L U
©
o T
O 0= 3 o
4 "
g GR12M-12 Jil‘,‘g 27 12
E;’ FToIEREE(Without Sensor) £
«Q
*xQ
E-E
g3
He
5z S
Wz
B3
Je
MAP-8S2P1/F (PNP) o
MAP-8S2N1/F (NPN) gl 3
BS
=2 ©
4 i
< [ —— =
§ w02 3 t?.'r
oy =Q = =
GR12M-12-CN(CP) & 123 512
15 RkEE(With Sensor) gi
By 2
* 2
]
o
E £15(PN) BIE(Model) f&%8&(Sensor) MEYAI(F) =8 (Weight)
s 8.Y0041 9k sieeljan) GR12M-12 = 28N 66.29
Z 8.Y0042 1(miOsteeljaws) GR12M-12-CP PNP 28N 82.5g
8.Y00420: Msteeljavs) GR12M-12-CN NPN 28N 82.5g

EE CRG



KOFEGR20%%] Sprue Gripper GR20 Series
1. AEEREERE, ERENINE, 56K,

Fidjed
2. PR EERBRLENCRGIBRLE, M=
3. GRRFUKOFIEERRSELR, BRSO, o
[-=— "
1. Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle. &z
o
2. Using threaded components or CRG's components when to assemble.
3. GR series of sprue gripper can choose different types of jaws to satisfy the clamping of various sprue gate.
g
EE
1% 2
Hs
'H&Q
23
2
2
GR20A-20 GR20B-20 GR20D-20 GR20C-20 %o
FoAL s FoALmias Totb s Fotkmias a5
(Without Sensor) (Without Sensor) (Without Sensor) (Without Sensor) H\ £
fre
52>
#z
s
Jle
B
#H3
fiz
GR20A-20-CN(CP) GR20B-20-CN(CP) GR20D-20-CN(CP) GR20E-20 e
HIERES GiligRE GiligR PR ®
(With Sensor) (With Sensor) (With Sensor) (Without Sensor)
4>
£E(PN) E(Model) fE/RE(Senson) R A(F) EE(Weight) e
8.Y00224 GR20A-20 = 80N 1129 2
8.Y00049 GR20A-20-C - 80N 118g <
8.Y00226 GR20A-20-CP PNP 80N 137g §
8.Y00051 GR20A-20-CN NPN 80N 1379 S
8.Y00234 GR20B-20 - 80N 1129 3
8.Y00231 GR20B-20-C - 80N 1189
8.Y00232 GR20B-20-CP PNP 80N 137g
8.Y00233 GR20B-20-CN NPN 80N 1379
8.Y00342 GR20C-20 S 80N 1409
8.Y00343 GR20D-20 - 80N 1499
252 8.Y00442 GR20D-20-CP PNP 80N 173.1g
= 8.Y00479 GR20D-20-CN NPN 80N 173.1g
8.Y00344 GR20E-20 = 80N 1299

.



KO3 EGR20%%] Sprue Gripper GR20 Series

—_

CAUEREREE R, ERENIME, F®

B
S 2. BERY AR IR L R FICRGEB MR 4.
me 3. GRESUKOXASEFRMLLR, RESHAOMRER,
s n
e 1. Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle.
o
2.Using threaded components or CRG's components when to assemble.
3. GR series of sprue gripper can choose different types of jaws to satisfy the clamping of various sprue gate.
%z
B
1= 2
Hs
e
#’a
2
B
%o GR20G-20 GR20H-20 GR201-20 GR20F-20
a3 Totk s Ttk mias Ttk mias Ttk mkas
" S (Without Sensor) (Without Sensor) (Without Sensor) (Without Sensor)
e
52>
iz
us
712
BS
#H3
=
e GR20G-20-CN(CP) GR20H-20-CN(CP) GR201-20-CN(CP)
® RS HERER HERER
(With Sensor) (With Sensor) (With Sensor)
+ >
?Eﬁ 55(PN) ES(Model) {&R4z&(Sensor) HENI(F) EE(Weight)
i 8.Y00345 GR20F-20 - 80N 1289
S 8.Y00433 GR20G-20 - 80N 131.1g
E 8.Y00472 GR20G-20-CP PNP 80N 153.79
§ 8.Y00473 GR20G-20-CN NPN 80N 153.79
el 8.Y00422 (s 0seeians  GR20H-20 - 80N 193.1g
’ 8.Y00424 (il Dstelins)  GR20H-20-CP PNP 80N 220.5g
8.Y00423 (si0seeians)  GR20H-20-CN NPN 80N 220.5g
8.Y00450 (@ 0steetjang  GR201-20 - 80N 191.6g
8.YO0470 (@ kisecians)  GR201-20-CP PNP 80N 2199
8.Y00471 @kinsecliaws)  GR201-20-CN NPN 8ON 2199

o



KOFEGR20&%] Sprue Gripper GR20 Series

37

1 ©
25 %g
0-24 %Né
& &
o oo
58 S
thath . 2 ?*;'% z
Diamond tooth g
\ -©P Hg
— [RESEMREN TS EES, c
RS IRAERES e i ®
The four screws on the bottom o] o
are loose for vgntilate conveniently om') © gl
when they leaving the factory gl é N
——I- ~N®
ril| & 2o
#E g
GR20A-20 ®20 2
FTAER%E&(Without Sensor) 7'M17,1'* §
% 2
%9
=S
HE
49 #né:
25 0-24
° >
3 2
o BE
MAP-8S2P1/F (PNP) / \ 72
MAP-8S2N1/F (NPN)
o
17
REBI MR N T SRS,
IR ATIRS. il a5
The four screws on the bottom = o EE 5
are loose for ventilate convenient! 4 P c
when they Ieavintg tl:e factory v o = o b g iﬁ 3
® 0= ~ {L.F §
— F :
NS %
GR20A-20-CN(CP) e |
py ) H | [
(& BE8(With Sensor) ®20 M17+4
% B
52 (PN) 2E2(Model) {ER%E&(Sensor) HMEXAI(F) EE(Weight) #%
8.Y00224 GR20A-20 - 80N 1129 ~(<';
8.Y00049 GR20A-20-C - 80N 1189 ]
8.Y00226 GR20A-20-CP PNP 80N 137¢g 3
8.Y00051 GR20A-20-CN NPN 80N 137¢g §

.



KOFXEGR20E7%!

Sprue Gripper GR20 Series

1 © 37
% S 25
N 12 -
ﬂg | 0-24
B
> g
o© 15
{o 2\
pal= it
2Hg Helical tooth ¢)@’€i}‘
< ——— RESOMBLATHEES, —
B RARRES. ) (!
The four screws on the bottom = = 7o)
are loose for ventilate conveniently ey o 2 E
when they leaving the factory =d
)
RO g% 1/
B GR20B-20 920 -
E;’ FTAEREE(Without Sensor) M17*1'
Q
& 3%
%
B3
HE
o
e 49
25 0-24
sz ’
iz ?

%1‘; \ o
712 MAP-8S2P1/F (PNP) / A\
MAP-8S2N1/F(NPN)

) .
IR T S 2
ERER I NRLL .
s BT, /@*ﬁ*
=a The four screws on the bottom pa =
- é are loose for ventilate conveniently B EZ,’
%gé when they leaving the factory 3 - g
o o= G
=
: . 3 “
GR20B-20-CN(CP) gg v
HERES(With Sensor ®20 1 |
G RER( ) 171
B 2 35
#% KS(PN) &S (Model) fERkE&(Sensor) HMERA(F) EE(Weight)
i 8.Y00234 GR20B-20 - 80N 1129
S 8.Y00231 GR20B-20-C - 80N 1189
3 8.Y00232 GR20B-20-CP PNP 80N 137¢g
§ 8.Y00233 GR20B-20-CN NPN 80N 137¢g

Er) CRG



KO3 EGR20%%] Sprue Gripper GR20 Series

25 45.5
12 1-22.5

MRS, K
2qnL SN - 21140id

36

r£ N
i \e /| %4
I - IE z
17 Hg
c
Q0O ¢ oy
— REBUNMRL A T S EES, pul
TR RERTS. T iy
The four screws on the bottom . = /E: g
are loose for ventilate conveniently N A ~

when they leaving the factory

s [
N
=]
#R 2-M5
Intake air 2-M5
ﬂ
N3
> i
S
J9bueyd }dInd

GR20C-20 T T
FiEREES(Without Sensor) 35
40
23
1 %<
E_'c
20° gs
§ f "
&

e
ham 2 20301

123.80
JaddiN 11y

17.5
ke
e_

s T

0 55

G1/ g_

5S(PN) EIE(Model) fERiEE(Sensor) MEXA(F) EE(Weight) 3
8.Y00342 GR20C-20 = 80N 1409

Bt 2

e

8

A

o

3

e}

S

.



B3y |, A

aqnL SNS . 3|1404d

i

3|NPOIA SIUdIS

SR

J9bueyd ydIND

T HE W
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

141

KOFEGR20%%] Sprue Gripper GR20 Series

GR20D-20

— REBONMRLE N T S EES,
HITRAMREIIRES.
The four screws on the bottom
are loose for ventilate conveniently
when they leaving the factory

FAEREE(Without Sensor)

AN

MAP-8S2P1/F (PNP)
MAP-8S2N1/F (NPN)

[RERIUANREL TS EES,
HITRAMREIRES.

The four screws on the bottom

are loose for ventilate conveniently
when they leaving the factory

GR20D-20-CN(CP)

12

25
‘c’
)
0
@20

30

44

0-37

56

J

17

4
=4

)

2-M5

144

Intake air 2-M5

#R 2-M5

G1/
M17*1

T T
35

56

il

|

BEA2xM5 41

2xM5

141.5

&
=y

e i
&8 (With Sensor) 20 e
E(PN) FIE(Model) {&=%88(Sensor) MBS (F) EE(Weight)
8.Y00343 GR20D-20 = 80N 149¢g
8.Y00442 GR20D-20-CP PNP 80N 173.1g
8.Y00479 GR20D-20-CN NPN 80N 173.1g
CcCG




KOFZEGR20Z%%] Sprue Gripper GR20 Series

25 ) 59 %é‘:
12 25-44 ] . 7?
o S &
) “3 N @
(1 9 2 %
s N 3
(%]
—— EESEAELNTHEES, o =2
RIS, o 83
The four screws on the bottom 17 A %
| f tilat ientl
when they leaving the factory oL
LE; /ér g
GR20E-20 2 2 & ko
FoAERES(Without Sensor) EE o
- re o
HE ]
320 %
35
#2(PN) AE(Model) fE/ig8(Sensor) STEH(F) & #f(Weight) X2
8.Y00344 GR20E-20 - 80N 129g \E
e
o
Silicone 25 37
12 0-21
5z
° 0
® 8 ik
O
{el) 2\
bl =
(=) 53
© =0
——— REBEMEE AT HEES, a7 = Zsg
TR ARIARAS. o} B3
The four screws on the bottom /o T {L-F Z
are loose for ventilate conveniently o s 9
when they leaving the factory e | »E c
£ £ o <
GR20F-20 N
Irs
TotE=kE8(Without Sensor) - e i
20 ?Eg
35 3
&
KE(PN) A2 (Model) fEREE(Sensor) HMELA(F) =R (Weight) 3
8.Y00345 GR20F-20 = 80N 128g §

.



B3y |, A

aqnL SNS . 3|1404d

i

3|NPOIA SIUdIS

SR

J9bueyd ydIND

T HE W
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

143

KOFXEGR20%75!

Sprue Gripper GR20 Series

GR20G-20

— [REBUMRELN TS EES,
H B RIS,
The four screws on the bottom
are loose for ventilate conveniently
when they leaving the factory

FoiEREE(Without Sensor)

AN

MAP-8S2P1/F (PNP)
MAP-8S2N1/F (NPN)

—— REBEAMRL N T S EES,
IR AMREIRTS.
The four screws on the bottom
are loose for ventilate conveniently
when they leaving the factory

GR20G-20-CN(CP)

33

@20

33

38

0-24

30

H52xM

2xM5

118

35

30

118

2xM5

@20
HEREEE(With Sensor)
£E(PN) FE2(Model) {E%88(Sensor) MBS (F) EE(Weight)
8.Y00433 GR20G-20 = 80N 131.1g
8.Y00472 GR20G-20-CP PNP 80N 153.7g
8.Y00473 GR20G-20-CN NPN 80N 153.7g
CcCG



KO3 EGR20ZE%] Sprue Gripper GR20 Series

37

Th
25 ZE
0-24 %mg
e
O O c
& 1o o) 3
%
PEIEHO " @ ot
Steel jaw = =
>0 A3
— REMNMRL AT HERES, c
T REIARRE. vy g ®
The four screws on the bottom jor] i)
are loose for ventilate conveniently ) o g
when they leaving the factory © 0= ~
] zs
Qs
cill & o
# 2 R
GR20H-20 ©20 2
ToiEREE(Without Sensor) ﬂMﬂﬂ §
% ®
%9
=S
IO Bs
Steel jaw He
l "
— WHIRL 25 0-24
Steel probe
sz
° &z
) 0\
AP-8S2P1/F (PNP) F -@ \
MAP-8S2N1/F (NPN) e/ 2
17 Es
——— SRR TSRS, ©p =2
HIT B AMREIRES. . iﬁ%
The four screws on the bottom 'E_ é ZL.F =
are loose for ventilate conveniently - i 9} )
when they leaving the factory 8 2 2, g‘
— 24 B g
Ne
GR20H-20-CN(CP) L3 |5
HIEREE(With Sensor) »20 |M17*1| .
M;-T (a)
35 GRS
o
£S(PN) A S(Model) {ER%EE(Sensor) HMENAI(F) E=E(Weight) <
8.Y00422 ¢R#isHE)  GR20H-20 - 80N 193.1g E
8.Y00424 ¢m#isHr)  GR20H-20-CP PNP 80N 220.5¢g §
8.Y00423 Rl  GR20H-20-CN NPN 80N 220.5¢g 3

.



B3y |, A

aqnL SNS . 3|1404d

HEE A 0t

3|NPOIA SIUdIS

SR

J9bueyd ydIND

T HE W
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

145

KOFEGR20%E%] Sprue Gripper GR20 Series

37
25
0-24
[e] O
g
« ©) O
N ‘%
)
WEIEHO - 2
Steel jaw | |
— REPMRLL AT S EES, ¢1© s
T RPAMREIRES. T s
The four screws on the bottom E ::lf
are loose for ventilate conveniently ® - g
when they leaving the factory el g § &
| - 3%
Ire G1/
HE
GR201-20 ©20
FTAEREE(Without Sensor) 7'M17*1
35
HWHIH O
Steel jaw
| 49
} — | WNEIERL
Steel probe 25 0-24
o
o O
N O
\ ol {°
MAP-8S2P1/F (PNP) 7; \s
MAP-8S2N1/F (NPN) ®
| 17I
P&
2
——— REEAMRL N T S EES, =y i
TR AMREIRTS. = i
The four screws on the bottom 8 2 g
are loose for ventilate convenientl w < T
when they leaving the factory g - E % i
GR201-20-CN(CP) el |
& RES(With Sensor ©20 | |
e RER( ) M171
35
£E2(PN) B E2(Model) {ER%88(Sensor) MESI(F) HE(Weight)
8.Y00450 ¢msl#HE)  GR20I1-20 - 80N 191.69
8.Y00470 ¢msiti)  GR201-20-CP PNP 80N 219.1g
8.Y00471 ¢m#lsH)  GR201-20-CN NPN 80N 219.1g
C=G



KOFZEGRA20Z%] Sprue Gripper GRA20 Series

—_

- A EEEEETFS (-NO).

-
2 FRERAR THRERBHREN, ms
3. FRKEEE, igé
2
4. ETERORAE RIS g
GRA20A
1. Double acting or spring open (-NO).
2. Very high gripping force related to the weight and dimensions.
3. Different options for fastening. %5
4. Optional magnetic sensors. E%
SMBU9-M10 g
:H&Q
#]a
2
%2
B3
HE
e
GRA20A GRA20A-CN(CP) GRA20C-CN(CP) ?
TR e RS e Rk
(Without Sensor) (With Sensor) (With Sensor)
5z
iz
83
712
5S(PN) HS(Model) & R%8&(Sensor) HMENF3(F) E&8(Weight)
8.Y00391 GRA20A - 80N 110g
8.Y00392 GRA20A-CP PNP 80N 1159
8.Y00393 GRA20A-CN NPN 80N 1159 Hs
8.Y00434 GRA20C-CP PNP 80N 135¢g 2
8.Y00435 GRA20C-CN NPN 80N 135¢g “H3
#Fg
M2
e
S
A
o
=
E

.



KOFEGRA20&% Sprue Gripper GRA20 Series

38 25
0-30 12

MRy |,
9qnl SNS . 9[1jolid
83.50
o ‘
®

%z ° B
glg S re} \Kzrétilatizon connection
4 N X
Bz Il o 2xMs e —
§ o} &
30 5
45 :l:l;
®me 45
Tﬁ% GRA20A
z ToIEREE(Without Sensor) 2]
g 2
- Q
\ 2xM5
%2
E-E
HE
He
25
13
s>
Wz
3
7]z \
D-M9P (PNP) 3 7
D-M9N (NPN) 8 & i\i?t’ijfonconnection
3 2xM5 @—Ms (2)
= o o ——
zs2 Q &
78 3
= 30 5
e 45
GRA20A-CN(CP) A7.50
HEREEE(With Sensor)
B & m =)
3 &
8 (=]
: \ 2xM5
o
E
S
& R5(PN) B S(Model) fERkEE(Sensor) HMEXAI(F) F8(Weight)
8.Y00391 GRA20A - 8ON 1109
8.Y00392 GRA20A-CP PNP 80N 115g
8.Y00393 GRA20A-CN NPN 80N 115g

vy CRG



KOFZEGRA20%%] Sprue Gripper GRA20 Series

44
0-30

B3y | FhE

agnL SNS . 3]1401d

N

D-M9P (PNP)
D-M9N (NPN)

BRIER
Ventilation connection

M5 (x2)

HE A N

S|NPOA SIUdIS

2xM5

30
45

8
44.50
[+]
@ n
o ®

S SR

J9bueyd }dInd

GRA20C-CN(CP) 48
HEBEE(With Sensor) 1

25

S
a|npo\ diug

£35S (PN) & S5(Model) e ka5 (Sensor) MERAI(F) E&(Weight)
8.Y00434 GRA20C-CP PNP 80N 135g
8.Y00435 GRA20C-CN NPN 80N 135g

ham 2 20301

JaddiN 11y

RS HL

3|NPON wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

.



KO EGRT20Z%!I Sprue Gripper GRT20 Series

1. ARERBERTE, EERNME, FHiK,

BT
M2 2 ERNESERLRETICRGEREE.
o 3. GREFIKALEFEABAIELAR, HESFKORSE,
s n
= g 1. Main body being made of high-strength Aluminium, light weight, strong rigidity and long life cycle.
N 2. Using threaded components or CRG's components when to assemble.
3. GR series of sprue gripper can choose different types of jaws to satisfy the clamping of various sprue gate.
=2
=
@5
2
#ag
9
9%0
g% GRT20A GRT20B GRT20C GRT20E
H § TG Res T Rkes TG RkEs Tole s
ﬁ:% (Without Sensor) (Without Sensor) (Without Sensor) (Without Sensor)
sz
#z
S
Jl2
BS
283
=
g GRT20A-CN(CP) GRT20B-CN(CP) GRT20D GRT20E-CN(CP)
° T ERES Gl ToiErkas T ERES
(With Sensor) (With Sensor) (Without Sensor) (With Sensor)
B % E(PN) BIS(Model) S5 FFX(Switch type) HMELAI(F) E&(Weight)
e 8.Y00257 GRT20A - 100N 111g
S 8.Y00252 GRT20A-C - 100N 113g
§ 8.Y00258 GRT20A-CN NPN 100N 130g
S 8.Y00259 GRT20A-CP PNP 100N 130g
§ 8.Y00279 GRT20B - 100N 162.8g
@ 8.Y00280 GRT20B-C - 100N 141.4g
8.Y00281 GRT20B-CN NPN 100N 158.4g
8.Y00282 GRT20B-CP PNP 100N 158.4g
8.Y00316 GRT20C = 100N 1449
8.Y00317 GRT20D - 100N 160g
8.Y01004 GRT20D-CP PNP 100N 145¢g
8.Y00458 GRT20D-CN NPN 100N 145g
8.Y00318 GRT20E - 100N 161g
8.Y00339 GRT20E-CN NPN 100N 165¢g
8.Y00340 GRT20E-CP PNP 100N 1659

-



KO EGRT20Z%!I Sprue Gripper GRT20 Series

33 25
. 0-22.50 , 12
| |

B3y | FhE

d9qnL SNS - 3|!404d

¢}

130
HEE e o
S|NPOA SIUdIS

41

© ,I«*g
18 }ﬁé
GRTZOA ) ‘9 G1/8 M17*1.0 U ©20 U ;;-
FiEREE(Without Sensor) E
%2
E-E
VEES
43 %g "
0-22 ®
]
5 —
o e
i FE
MAP-852P1/F (PNP) o3
MAP-8S2N1/F (NPN) o (@ 7%
]
5 B
< E;_'Eg
H3
. #Fg
o 18
GRT20A-CN(CP) 2 S1E_| mir*1.0 " 920
HERLEE(With Sensor)
W%
e
s
535(PN) ElS(Model) f&/=&(Sensor) MERA(F) E&(Weight) g
8.Y00257 GRT20A - 100N 1119 3
8.Y00252 GRT20A-C - 100N 113g 3
8.Y00258 GRT20A-CN NPN 100N 130g “
8.Y00259 GRT20A-CP PNP 100N 130g

.



KOFEGRT20Z%!I Sprue Gripper GRT20 Series

By 2
GE. 25 :
e _
g9
§ ;
g 4 (e’ —
<2
B2 { ) s ,I:L
2H§ - \—/
(o o
#ag =
o GRT20B h
E FiERES(Without Sensor) G128 w710
o 25
ég 12
w3
He —
5z l
I
%% MAP-8S2P1/F (PNP)
B MAP-852N1/F (NPN) 3 ;I:L
\_/
s
Hs
i
< ©
° h G1/8 . h
GRT20B-CN(CP) M17*1.0 120
HEREE(With Sensor) N
B %
3
8
5 $E(PN) 2 (Model) {ER%E&(Sensor) MEA(F) =& (Weight)
3 8.Y00279 GRT20B - 100N 162.89
g 8.Y00280 GRT20B-C - 100N 141.4g
2 8.Y00281 GRT20B-CN NPN 100N 158.4g
8.Y00282 GRT20B-CP PNP 100N 158.4g

5 CRG



KOFEEGRT20%%!] Sprue Gripper GRT20 Series

Tk

M=

12 .o

Me

El B9

3
©

e

A5

ﬁﬁ- ﬂ- mg

S8 | mi7r1.0 020 }ﬁ%

GRT20C %:;

TotERkE8(Without Sensor) g

55(PN) EIS5(Model) {&Rk=&(Sensor) MEAI(F) EE(Weight)

8.Y00316 GRT20C - 100N 1449

S
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

.



KOFEGRT20Z%!I Sprue Gripper GRT20 Series

i h
s :
%lzlm ope
%g Silicone ==
o
§ o
[S]
%o J e’ |
221
1H2 8 J:L
Hs SN A,
RO
s i
9
@ GRT20D
FiERE&(Without Sensor)
%2
E-E
g3
He
® 485 25
0-235 12
5 O
5z o
7 2 o
s =y 1°h
MAP-8S2P1/F (PNP) N
MAP-8S2N1/F (NPN)
BS b
48 3
fis .
9 (I;?é U 18 1l
M17X1 ©20
B %
* 2
o
< £E(PN) B E(Model) & R%88(Sensor) MENSI(F) =8(Weight)
) 8.Y00317 GRT20D - 100N 160g
3 8.Y01004 GRT20D-CP PNP 100N 1459
g 8.Y00458 GRT20D-CN NPN 100N 1459

LR CRG



KOFEGRT20Z%!I Sprue Gripper GRT20 Series

GRT20E
(&S (Without Sensor)

MAP-8S2P1/F (PNP)
MAP-8S2N1/F (NPN)

GRT20E-CN(CP)
HERLEE(With Sensor)

25 (PN) EIE(Model) {&%EE(Sensor)
8.Y00318 GRT20E -
8.Y00339 GRT20E-CN NPN
8.Y00340 GRT20E-CP PNP

42

41

G1/8

M17*1.0

41

10

G1/8

iMELA(F)
100N
100N
100N

BM17*1.0

N

© @ ol

(=

(=

EE(Weight)
161g
1659
1659

B3y | FhE

d9qnL SNS - 3|!404d

S R

S|NPOA SIUdIS

S SR

Jebueyd yd1nd

ey
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

C=G




KO EGRP32Z%%| Sprue Gripper GRP32 Series

il HSTET, XYERINEE. Standard jaws with teeth, Double action function.
M% STEFACRGHIERLEOAT /BN AR S, Fully compatible with CRG's modular EOAT/gripper system.
‘f'lé o IHER202=K, 20mm shaft diameter.
gg Bk Requirements:
§ THES/E 6 bar, Working air pressure 6 bar.
FENETIREES Requires filtered dry air.
%7
=
Hs
®me
#]a
2
2
xQ GRP32A GRP32B GRP32A-30 GRP32B-30
=23 Tl e ol e ol e Foteaes
%&g_ (Without Sensor) (Without Sensor) (Without Sensor) (Without Sensor)
52>
#z
us
712
BS
#H3
=
% GRP32A-CN(CP) GRP32B-CN(CP) GRP32A-30CN(CP) GRP32B-30CN(CP)
el R RS HIERER
(With Sensor) (With Sensor) (With Sensor) (With Sensor)
B %
e S (PN) ES5(Model) {2 (Sensor) WaAF) EE(Weight)
S 8.Y00278 GRP32A - 200N 604g
o 8.Y00462 GRP32A-CP PNP 200N 658¢g
-g 8.Y00463 GRP32A-CN NPN 200N 658¢g
3 8.Y00388 GRP32B - 200N 608g
Z 8.Y00466 GRP32B-CP PNP 200N 662.49
8.Y00467 GRP32B-CN NPN 200N 662.49
8.Y00315 GRP32A-30 - 200N 12769
8.Y00464 GRP32A-30CP PNP 200N 1330g
8.Y00465 GRP32A-30CN NPN 200N 13309
8.Y00387 GRP32B-30 - 200N 1282g
8.Y00399 GRP32B-30CP PNP 200N 13369
8.Y00411 GRP32B-30CN NPN 200N 13369

EF CRG



KOFEGRP32Z%%| Sprue Gripper GRP32 Series

TR, SERTHEE. Standard jaws with teeth, Double action function.

B
T FACRGIEIR{LEOAT /R F ., Fully compatible with CRG's modular EOAT/gripper system. S
MER202XK, 20mm shaft diameter. %N\ o
3 Requirements: §§
TVYESE 6 baro Working air pressure 6 bar. %
F=EYETERES Requires filtered dry air.
b
EE
H2
Hs
o
23
o
g
%9
=
GRP32C GRP32A-3020 GRP32B-3020 GRP32C-3020 %L_Erg_
FoleRkes FoleRkes FolERkeg Folepkag s
(Without Sensor) (Without Sensor) (Without Sensor) (Without Sensor)
s>
#z
o3
J)2
B
H3
s
GRP32C-30 GRP32A-3020CN(CP) GRP32B-3020CN(CP) MT-TE
A mEE A B e
(Without Sensor) (With Sensor) (With Sensor) 3
&
E
£5S(PN) El5(Model) & R%E5(Sensor) Ei=pal(3) E&8(Weight) s
8.Y00468 GRP32A-3020 - 200N 1600g 2
8.Y00469 GRP32A-3020CP PNP 200N 16549
8.Y00477 GRP32A-3020CN NPN 200N 16549
8.Y00478 GRP32B-3020 - 200N 16049
8.Y00416 GRP32B-3020CP PNP 200N 1658g
8.Y00417 GRP32B-3020CN NPN 200N 16589
8.Y00412 GRP32C - 200N 614g
8.Y00415 GRP32C-30 - 200N 12869
8.Y00418 GRP32C-3020 - 200N 1610g

.



B3y |, A

aqnL SNS . 3|1404d

i

3|NPOIA SIUdIS

SR

J9bueyd ydIND

T HE W
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

157

KOFEGRP32%&7%

Sprue Gripper GRP32 Series

5 .
1 0.7-145
7T —
izl 4xM5 H
3 || HH 3
i (o
FHE — i |
Helical tooth 2 Offft | =1° 3 3
o Y
O
8
<« TJERERRG25. 030
A& ES0, 100, 150
Dia can changes to @25, @30
GRP32A Length can changes to 50, 100, 150
FotEREE(Without Sensor) @25
45
A9
:—';' 4xM5 © g
3 il 3
AP-8S2P1/F (PNP) - < V
MAP-8S2N1/F (NPN) 5 | 2xG1/8 I Tl <
3 o 13
o
8
<+ FERERR025, 030
AJ @R ES0, 100, 150
Dia can changes to @25, @30
GRP32A-CN(CP) Length can changes to 50, 100, 150 ?25
HERES(With Sensor)
5S(PN) ES(Model) {&Rg&(Sensor) A& F(F) EE(Weight)
8.Y00278 GRP32A - 200N 6049
8.Y00462 GRP32A-CP PNP 200N 6589
8.Y00463 GRP32A-CN NPN 200N 6589
C=G




KOFEGRP32Z%%| Sprue Gripper GRP32 Series

s
34 7=
19 255 <
- . 0.2-14.5 %EIE&
it
:—-;- axms_[{ o g
3 ily 3
AN L ] i ot
Diamond tooth . o 2xG1/8 3l < éH§
O
g o
<«— I E#ERDO25. 030 s
AIEREKES0, 100, 150 o)
Dia can changes to @25, @30 S
Length can changes to 50, 100, 150 lg
GRP32B 25 )
FiEREE(Without Sensor)
%9
E-E
HE
45 34 {4: g
1 19 33 ®
0-13.5
\MAP-SSZP‘I/F (PNP) ——-;- ﬁ;
MAP-8S2N1/F (NPN) - = < ik
© 1 [ 3] 7:,-2
|| < 4 v Zh
|~ 2xG1/8 1 <
o B2
£
S 78 3
g iz
<«— JE#RERDA25, 030 g
A E#RES0, 100, 150 >
Dia can changes to @25, @30
Length can changes to 50, 100, 150
GRP32B-CN(CP) 225 N
HERES(With Sensor) ?Eﬁ
£ 2(PN) A= (Model) {ER%E(Sensor) HE&H(F) =& (Weight) E‘
8.Y00388 GRP32B - 200N 6089 3
8.Y00466 GRP32B-CP PNP 200N 662.49 %
8.Y00467 GRP32B-CN NPN 200N 622.4g =

.



B3y |, A

aqnL SNS . 3|1404d

i

3|NPOIA SIUdIS

S SE

J9bueyd ydIND

il
a|npo\ diig

SHimE

JaddiN 11y

RS H
3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

159

KOFEGRP32Z&%! Sprue Gripper GRP32 Series

44.50
44.50 45
:I-Zi% 0.7-14.5
5
oMol
r N Q
L 6xM5
3
S [ -
Helical tooth E 4xG18 T b ©
[sp}
4xG1/8 L | 5
o
o
<« O EEERJ25, 330 S
ATEKRIKES0, 100, 150
Dia can changes to @25, @30
Length can changes to 50, 100, 150 -
GRP32A-30 @25 ®25
ToAERkE:(Without Sensor)
. e 45
(!!b 33| 0-13.5
.H I -(")- R <
il E alii ©
i ;
AP-8S2P1/F (PNP) E ill iH' 6xM5
MAP-8S2N1/F (NPN) .

ﬁ 1]
° °
34| 34 | 25|

o
< d
3 4xG1/8 <
)
[ - 4xG1/8 5
1] !Dn II!:”D:.
67 67 °
3
«—E#EHRED25. 330
A @R ES0, 100, 150
Dia can changes to @25, @30 =
Length can changes to 50, 100, 150 25 025
GRP32A-30CN(CP)
F{EREE(With Sensor)
£S5 (PN) #S(Model) f&/Rkz&(Sensor) AMEXA3(F) EE(Weight)
8.Y00315 GRP32A-30 - 200N 12769
8.Y00464 GRP32A-30CP PNP 200N 13309
8.Y00465 GRP32A-30CN NPN 200N 1330g
=G



KOFEGRP32&%! Sprue Gripper GRP32 Series

44.50 Bz
44.50 45, Mz
25.5 <@
0.2-14.5 a
.‘ ig.@&
bl
3
(e
N O]
° N 6xms
&
At 3 3 iw
Al gy
Diamond tooth - 2 CHIC i Iﬁg
[sp) “—a
4xG1/8 5 =
o
o
=4 e 'H&O
<« O E#RERRJ25. 030 B 2
ATERIKEES0, 100, 150 =
Dia can changes to @25, @30 L >
Length can changes to 50, 100, 150 @25 é
GRP32B-30 ®25 ®
FEREE(Without Sensor)
%9
E-E
VEES
e
45 ®
7 P 33
) 0-135
i T T N/
I 0 I I !!i WY 3
H H 5z
i 1 i3 Tar 5
AP-8S2P1/F (PNP) Sl il Lo ) N exus 53
MAP-8S2N1/F (NPN) E n' S Je
E A
< ‘ B 3
& ~ 4xG1/8 < b @
o ] -
[194 4xG1/8 5
= = Bs
= —E ?Hf <
67 o ZH 3
67 ° =
= 8
«— JE#HED25. 330 2
B E#RIKES0, 100, 150
Dia can changes to @25, @30 -
Length can changes to 50, 100, 150
@25 @25
GRP32B-30CN(CP) (T
H{EREE(With Sensor) {tpé
3
HE(PN) B E(Model) fE /g (Sensor) SMELA(F) & & (Weight) 3
8.Y00387 GRP32B-30 - 200N 1282g 3
8.Y00399 GRP32B-30CP PNP 200N 13369 %
8.Y00411 GRP32B-30CN NPN 200N 13369 =

.



B3y |, A

aqnL SNS . 3|1404d

i

3|NPOIA SIUdIS

S SE

J9bueyd ydIND

il
a|npo\ diig

SHimE

JaddiN 11y

RS H
3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

161

KOFEGRP32Z&%! Sprue Gripper GRP32 Series
44.50
T 44.5Q A5
- 25.
&+ + 0.7-14.5
I AN
:E O 1 :m;
o (9 “:’1 6xM5
| 6xG1/8 g i -
ERTvS) = o g‘
Helical tooth b= i
< -
3 ° .
o
o ~
6xG1/8 S
67 - 67 ]
8
<« JE#ERJ25. 330 -
E_JE}%J;EIESO\ 100, 150 1
Length can changes ta 50. 100, 150 925 25
GRP32A-3020
FoiERLEE(Without Sensor)
44.5Q
44.50 X
_ 0-135
| ji
1 W\ 3
K 5 D! )g m‘_
AP-852P1/F (PNP) 0 G o s
MAP-8S2N1/F (NPN) I 5 I o
| 6xG1/8 O] <l
O] b o i
o
< - 6xG1/8
g <
el
] [
b 67 67 o)
<« O EERRJ25, 330 3
ATEHRIKES0, 100, 150
Dia can changes to @25, @30
Length can changes to 50, 100, 150 ad
GRP32A-3020CN(CP) @25 @25
HERES(With Sensor)
5S(PN) S (Model) f&R%25(Sensor) & 7(F) BHE(Weight)
8.Y00468 GRP32A-3020 - 200N 1600g
8.Y00469 GRP32A-3020CP PNP 200N 16549
8.Y00477 GRP32A-3020CN NPN 200N 16549
CcCG



KOFEGRP32%&%! Sprue Gripper GRP32 Series
T
44.50 M;:
45 M
44.5(Q oy i@é
I 0.2-145 =
i 5 '~‘\ g
1= f’ ‘\ %
1 Mo o
8 L o Y 6xM5
| 5 K %4
AT | 6xG1/8 o - ;EE'
Diamond tooth - © b © b gﬁg
2 g
<t b Ol o
° 3
o e
oxG1s
Ee— o— o
67 P 67 o s
«— O ERER025, 930 . 2
AIE#AES0, 100, 150 = g
Dia can changes to @25, @30 «Q
Length can changes to 50, 100, 150 2
@25 @25 "
GRP32B-3020
FToiEREE(Without Sensor) £
E-E
g
44.5Q #%
44.5(Q ‘3‘2
- 0-13.5
o |
I \ 3 =z
e | =z
BUT
AP-8S2P1/F (PNP) Q b o “:’isxms =3
MAP-8S2N1/F (NPN) L k) , et
6xG1/8 (®) <
— O b o N
®
< - 6xG1/8
3
3 HS
P 453
- o | ﬁ=§
67 b || 67 5
(=]
+—— A ERERZO25, 030 8
ATERICEES0, 100, 150
Dia can changes to @25, @30 |
Length can changes to 50, 100, 150 I}ﬁ?:
GRP32B-3020CN(CP) 625 025 e
HEREE(Without Sensor) 8
[a)
o
HE(PN) A= (Model) fE=%E8(Sensor) HE&A(F) =B (Weight) g
8.Y00478 GRP32B-3020 - 200N 16049 §
8.Y00416 GRP32B-3020CP PNP 200N 16589 @
8.Y00417 GRP32B-3020CN NPN 200N 1658g

.




KO3 EGRP32Z%| Sprue Gripper GRP32 Series

AT
M% 19, 34
A 25.5
e [T—llo-14
& = VT
H-T= 4xMI5 Z ° S
<t N <t
© 11 < ™
1= 2 ] o L |
2H§ K 8 2xG1/8 } 5 s
o
o
o 2
3 +«—— AERERO25, 030
a AEHKES0, 100, 150
3 Dia can changes to @25, @30
S Length can changes to 50, 100, 150
A GRP32C 25
FTAEREE(Without Sensor)
%2
E-E
ﬁg 44.50
B 44.50 45
25.5
" 0-14
[\ =
=x
=z
%g & exvs
e 3
< 3
S 4xG1/8 <
®
4xG1/8 DS
BS
#H3
14:?_ 67 67 (e]
= S
+—— I[ERERF025. 030
A @R ES0, 100, 150
> Dia can changes to @25, @30
?g[ 2 Length can changes to 50, 100, 150 @25 ®25
g GRP32C-30
< ToiER88(With Sensor)
o
3
B HS(PN) #5(Model) f&R%=5(Sensor) ASA(F) EE(Weight)
2 8.Y00412 GRP32C - 200N 614g
- 8.Y00415 GRP32C-30 - 200N 12869

R CRG



KOFEGRP32&% Sprue Gripper GRP32 Series

44.50

B3y | FhE

d9qnL SNS - 3|!404d

44.5Q 45
25.

0-14

54

oMol

6xM5

6xG1/8

34| 34|25

S R

S|NPOA SIUdIS

431

381
134

6xG1/8

S SR

J9bueyd }dInd

<« T EER025, @30 67 67 0
AJE#{<ES0, 100, 150

Dia can changes to @25, @30
Length can changes to 50, 100, 150

GRP32C-3020 ®25 |
FiEREEE(Without Sensor) ®25

100

ey
a|npo\ diug

£E2(PN) EE(Model) {ER%E8(Sensor) Zi=wal(3)] EE(Weight)
8.Y00418 GRP32C-3020 = 200N 16109

ham 2 20301

JaddiN 11y

RS HL

3|NPON wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

.



MRy |, A

aqnL SNS . 3|1404d

i

3|NPOIA SIUdIS

S SE

J9bueyd ydIND

il
a|npo\ diig

SHimE

JaddiN 11y

TG H it
3|NPOIN wnndep

-z
=
=

sjuauodw o) A10ssa20Y

165

ZAEFTE N Rochu Gripper Introduction

EMFMZATHEZRE, BHE2RFERWMYKHNEIE, WHYEHTEEME.

RERAEBESRAAMERIR. MR, MEREREZSHER, TERMEMIOMENG R, MREBFM, HEEMEER, FTBRGBEM

MERNER, BFEERENBENESN, MAERSHERY, —MEE, EEFAMKNYE, BRERMEEBRKA,

F i F TUER T2 ARG MAM S ER, RAMMAE T TWHBANEATR.

Flexible soft grippers uses the principle of bionics to imitate the action of Octopus tentacle wrapping the captured object, so as to grasp
the objectin a wrapping way.

Traditional fixture often can't provide a successful grasping scheme because of the limitations of object shape, material, grasping
requirements and so on. Flexible soft grippers, made of flexible materials, will not damage the object to be caught. At the same time, due
to its centimeter level adaptive ability, it has high versatility. One claw is omnipotent, suitable for different shapes of objects, and users do
not need to replace the fixture frequently. Flexible soft grippers fills the gap of the End-Of-Arm-Tooling, and greatly expands the

application of industrial robot.

YEIRIE/ Working principle

FEMFMRAS|BDEDRA, BIEHETHR, KAREFHE/REKANBASEHE, MMEIMREMESIMERE,
ERESETERERREFFMORENERASHE, KUY FEMHERIREME, R EEREYE,

Flexible soft grippers adopt pneumatic drive technology, through positive and negative pressure transform to achieve fingers opening
and closing movement. Then realize flexible gripping or outrigger action. The gripper grab strength is adjusted by air pressure. Then

achieve flexible gripping of different objects while avoiding damage objects.

SESIEEN=E

Rochu Control Unit

1

Hz 1 HE EFE
vacuum Pressure Positive pressure
;B
B _.
E’] Finger
«F SKFF LN mn&
Open Release Grab
5 Beak
& R SKFT
Grab Release Open

FaEASELATRENER2IEENEER, IHERTRESNTRENTIERNRE,; ERNENER
RITRzhEE, UWRIEFRERASERSREN, mREASEBEERm RN 8EFIR,
The working pressure must be kept within a safe range, overload may cause irreversible damage of the finger. It is

recommended to use our "Rochu control unit" to ensure the life time and stability of the soft finger and beak.Please

refer to the product page or packaging mark for the air pressure of the product.

C=G



&4, /Application

FZUFEOMBMERERETEANMM, SRTNSERIMEWE, EXAREMBNENASRIAASEDAREE TR,

ET ATERERARRIE EMEL.
AJLUBTEFHESE, ERHRET
BIkH D SRR,

Smart picking based on artificial
intelligence technology. It can be used
for sorting and logistics packaging
under disorderly stacking and complex

scenes.

BTERE. 18, ThRFE
FTREMRIIMEY, B RTHMER R,
KFEAR, SEATETSRMN
&= HBEFELR.

Itis used for grasping medical consu-

mables such as infusion tube, test tube
and ampoule bottle, as well as bottled

and bagged reagents, including the
production and disinfection of medical
devices.

C=RG

fir
o
RIOZMBTRESHE. 3CBTF. AR, B, RE ONSSMEL. REFMARTEER. $H. RESSHTUHS, BT EE
\ — = — —_ e N . . S » )
VBTFEHNEZNEHTETL. *ette. BN, RRBHEEE, R THIMRMMESREEREHSHTEERNTR, igg
3
The grasping action of flexible fingers is inspired by the tentacles of octopus, which can wrap the captured object in a soft way, without damaging the E-D—
object or leaving scratches on the surface of the object. And widely used in auto parts, 3C electronics, food, medical, clothing, daily chemical and other
industries. The flexible gripper can be used in assembly, sorting, handling and other industrial occasions, and can also be used in new retail industries
such as vending machines. It has the advantages of high safety, good versatility, simple and convenient installation, and makes up for the vacancy that
the mechanical clamping claw and vacuum cup can not be applied in some occasions. ;JE §
oK
(e
Hs
=
o
on £ 5 BF
Bmi&Es 3C
Food 3C-electronics
=4 N =t = = X ¥ v Bk T;&Q
BREMNZETE, BIETFDA ERTREBHUENSEER o
Bmialing, TEEEZMEY &K, URSFNFBXREME. B s
CE <A = - 3
A5, AEERTRE. FANE BSIR. BER. IS THA 3
=EEER 1| 57 i=3= . —— ;s
fli@.z%?uu\ G, EERERSE =S5 . GiEETRE,
DHER,
S0}
Food safe materials. FDAand EC-1935 Itis used for high-precision plug ég
certification.Used for pick and place of and pull of small electronic parts. ;E §
fruits, dough, candies, pastry and Assembling,sorting, testing and Zf_*—i_g-
vegetables. packaging of ceramic and plastic o
parts in mobile phone, PCBs,
silicon wafers, optic glasses.
=>
SEE SEBE 32
HE* 1\ a aﬁ-%’
. . o Echs]
Clothing fabric Automobile Rk
ERTHHRFMRAEMAY S EME RFREFET. EBREMA. 5
a2 EREME, 45 M M MRS, Ws. ETH, 1
EEMENE F—2, AT HEBFTMMEE., SHORFEMY Hs
Q
B H IR RE, RS =t
ZH 3
It's suitable for layer grabbing or Used for sorting, transporting,loading and fas §
multi-layer grabbing of knitted and unloading of automobile lamps, metal %
woven fabrics at the same time. When special-shaped parts and appearance °
layer grabbing, only the top layer of parts, especially suitable for small batch
stacked materials can be grabbed, and multi batch flexible production.
and it can also be used for stacking and Bt 2
[a)
handling of stacked pieces. % g
o
<
S
S HEHMEY Ei7Am :
=)L 7 Mon E
. . o . o)
Smart picking Medical Supplies Z




FIEER Finger Module

V5Z%! FiEELR / Series-GFM-V5

Bz —
o
7= ®
- i
e
=3 g @ Lm
B o
c e T T Lf
s -
o
@@ES-AVS I
@4LPN-166 .
w ORMFIF-AST/LST Aol Hmin Hf aTTe
b2 T @RERETN-03 Hm
o W
+= N
EEZ =71 we s srskigre | SUEERE Hmax Immi| Empree| mmme | Fmme | srwe | Fecs | aves | sese | £2THESE Kpal |
_ﬁg_ Series PN Model HR [mm] ssggmuEgg [Hmin [mmi| Hm [mm][ Hf [mm] ] Lmmm] | Lfmm] | Wm [mm] [ Wf [mm] [g]
c
0y 4.Y00500 GFM-A3V5 16.5
4.Y00501 GFM-A4V5 27 10 12 17 102 55 83
4.Y00502 GFM-A5V5 43.5 19 16 24.5 116 69 90
58 28 31 24 120 300
4.¥Y10951 GFM-A6V5 72 33 22 39 130 83 97
o 4.¥Y10952 GFM-A7V5 90 39 27 51 144 97 104
}ﬁ% 4.Y10953 GFM-A8V5 109 45 32 64 158 111 111
A 4.Y00503 GFM-B3V5 19 10 6 9 71 31 44
>0
® 4.Y00504 GFM-B4V5 29 13 10 16 82 41.5 48
«Q
® 4.Y00505 GFM-B5V5 40 16 14 24 5 2 92 52 25 1@ 52 120 | 260
4.¥10954 GFM-B6V5 53 23 17 30 103 62.5 56
4.¥10955 GFM-B7V5 75 30 21 45 113 73 60
xQ 4.¥10956 GFM-B8V5 98 37 25 61 124 835 64
kel
%g 4.Y00506 GFM-C3V5 10.5 5 1 5.5 53 21 28
ﬁ:é‘ 4.Y00507 GFM-C4V5 20 9 3 11 60 28 28
@ 4.Y00508 GFM-C5V5 27 12 8 15 A qa 67 35 1e 12 29 qz0 | 228
4.¥10957 GFM-C6V5 42 20 10 22 74 42 30
4.¥10958 GFM-C7V5 63 29 13 34 81 49 31
4.¥10959 GFM-C8V5 80 38 16 42 88 56 32
= . .
5» % FHE Flexible Finger
g’%g BIE3FEL / Model comparison
33T
Jl2
AR C#&
Series-A Series-C
2s R&#{ / Size Parameter
=
283
H=
8
< B
® Series-B L
Lf|
[ > |
l;gﬁ Hmax |~ Hmin Hf }W.‘
a
9
= %51 we e feoeizre | SUEGTR Hmax(mml | Emgme | s o B i85 BE | R2T(ESE Kpa | \[Kpal
Q Series PN Model HR [mm] Hmin [mm] | Hf [mm] Lf [mm] L [mm] Wf [mm] [a]
-§ 1.Y08421 A3 16.5 8 7 8.5
3 1.Y08422 A4 27 10 12 17 55 83 40
=}
& 1.Y0842 A5 43:5 19 16 24.5 69 97 47
s 08423 28 24 120 300
1.Y12918 A6 72 33 22 39 83 111 55
1.Y12919 A7 90 39 27 51 97 125 62
1.Y12920 A8 109 45 32 64 111 139 69
1.Y08424 B3 19 10 6 9 31 52 11
1.Y08425 B4 29 13 10 16 42 62 16
1.Y08426 B5 40 16 14 24 21 52 73 18 20 120 260
1.Y12921 B6 53 23 17 30 63 83 24
1.Y12922 B7 75 30 21 45 73 94 28
1.Y12923 B8 98 37 25 61 84 104 32
1.Y08427 c3 10.5 5 1 5.5 21 34 4
1.Y08428 c4 20 9 3 11 28 41 5
1.Y08429 cs 27 12 8 15 14 35 48 12 6 120 220
1.Y12924 cé 42 20 10 22 42 55 7
1.Y12925 c7 63 29 13 34 49 62 7
1.Y12926 cs8 80 38 16 42 56 69 8




ZIZE/H Roro Beak Suit

GBS-4B-S01 4XE{ GBS-4B-S01 4 pieces Beak Suit

KQ2H06-M5A

VENT1011-M5

REHE

VENT1011-M5
i Assembling Suit

VENT1011-M5

VM27-M5 ., :

B-4B — RIX

“ : © B-4B
: : Roro Beak

B-4B

B RARE

KoLz

(Model) (Maximum Load) (Maximum Working Frequency)

ZRIMEIMEFRE
3 Pieces Application: Gripping
jewelry by external bracing

ZRIMEIMENE B
3 Pieces Application: Gripping
ring by external bracing

Mk BB F 7=

4 Pieces Application: Gripping

products in Electronic industry
BESEE

(Precision Range)

4.Y00509 GBS-2B-S01 59 200 times/min 0.1 mm
4.Y00510 GBS-3B-S01 59 200 times/min 0.1 mm
4.Y00511 GBS-4B-S01 59 200 times/min 0.1 mm

Z[% Roro Beak

B3y | FhE

agnL SNS . 3]1401d

HEE S A

S|NPOA SIUdIS

S SR

J9bueyd }dInd

il oy
a|npo\ diug

ham 2 20301

JaddiN 11y

BWRFE, EBCBE 1-5mm, ERFHERK. SKRNDH
2 pieces Roro Beak Gripping Range: 1-5mm, Application: fibrous,
striped small objects

Z % B-2B
Roro Beak B-2B
£E2(PN) 1.Y08430
g5 (Model) B-2B

=RFME, KEGEE 7-12mm, ERTIMERMEETR /M4

3 pieces Roro Beak Gripping Range: 7-12mm, Application: gripping
small rings by external bracing

% % B-3B

Roro Beak B-3B

ERE(PN) 1.Y08431

#=(Model) B-3B

MR, KECBE 1-5mm, EBRTEE. FRNNMIY, EBRERE
4 pieces Roro Beak Gripping Range: 1-5mm, Application: spherical,
irregular small objects, the best universality

Z 1% B-4B
Roro Beak B-4B

£22(PN) 1.Y08432
=5 (Model) B-4B

RS HL

3|NPON wWnNNdep

~
F=

syusuodwo?) A10ss8d0y

CRG




MRS |, X

2qnL SNS . 3|!40id

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd ydIND

T HE W
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-_T3
e

sjuauodw o) A10ssa20Y

169

B L% Slide Mounting Platte

GSMP-Z [ Z&%/GSMP- Multidirection

PR

BRAMERED AFRRRR

ATRATFEERIFM]S Z=EEER[FCM] BRI
FEERFMINZZAENVETERET

Features

- Different styles according to shape and slot length

+ Can be used for assembly between finger module [FM] and flange connection

module [FCM]

« The installation angle and position of finger module [FM] can be adjusted freely

10.2 4 x M5
@32
A
E
GSMP-2S GSMP-3S GSMP-4S
GSMP-2L GSMP-3L GSMP-4L

77 Bs S (EDN )i REE EE
Series PN Model A [mm] B [mm] E [mm] [mm]
20 10 4.2 8

7.Y01028 GSMP-2S

e

7.Y01029 GSMP-2L 45 10 4.2
7.Y01030 GSMP-3S 15 10 4.2
7.Y01031 GSMP-3L 50 10 4.2
7.Y01032 GSMP-4S 22 10 4.2
7.Y01033 GSMP-4L 67 10 4.2
7.Y01034 GSMP-5S 23 10 4.2
hm[
7.Y01035 GSMP-5L 78 10 4.2

CRG

8

10

<——>

>

Dn min

Dn max

10.2

<——>

4 x M5
@32

GSMP-5S

GSMP-5L

EEISREE Dn[mm]
Dnmin~Dnmax

40~69

40~119

58~82

58~152

72~104

72~194

911~1112

91~222

\PAVZES = =0 VERVEES =58

10~37

10~87

28~50

28~120

41~72

41~162

53~80

53~109

BE
[9]
18.9
25.4

42.4



iPCU 2 =5 IK#N28/ Integrated Passive Control Unit
o HEMRMRMEERHE, i), B8R, TEHE,

s HENAATHEHSEEE, SEXFARIEEIEBEFIENIK. B
o FHIEALBE. CE
o —(AMUEREMRIE SIRIFRE. i@g
—. =, = e s ) B
* WEFH (RH) MEM/OBFES) WHEHEN, BESMIME, PLCRIR, g
., 5 )
o BBRRERRTWSHFIE, SHRESH.
o IPSARRSREIFER, BikiE:, ERSMESIRN, HESRIREDE, <2, BE THEAVREE, FREIEECEREIAIL.
e Compact special controller for flexible soft grippers . Small size, light weight, easy installation. % @
e With three adjustable output pressure range, it fully supports the drive from soft beak to enhanced finger. :7&3
e Manual knob pressure regulation. gﬁ%
Q.
e Theintegrated panel integrates digital display and operation button. s
e With manual (button) and automatic (I / O level signal) two control modes, equipped with a variety of mechanical arm, PLC terminal.
e Equipped with mounting block and industrial rail slot, a variety of installation methods.
e |P54 electrical protection grade, waterproof and dustproof, suitable for all kinds of bad working conditions, with intelligent alarm
function, safe and stable, no need to worry about misoperation, the product has passed the EU CE safety certification. E‘E’
a
g
132 %
/\
$ %2
Vv ° \A\ &
® QEZ
IHERE frrg:3
Working positive Pressure %
THEEER®
THTESE 141 Working positive pressure regulation
Real Time Working Pressure
SiEO ®10mm ﬁ?
EEiRO ~_ Air Supply ®10mm @%
Port %}3
" ® I{FO0 ®10mm
iR Working Port ®10mm
Power 24VDC 10W —0
@
c € 2
z=2
3
s
=
(]

I{’F%%&/Work Parameter

Parameter Range Parameter Range {L'Fﬁ
ZNREER JE/Rated Voltage 24VDC + 10% HMNFEH2 B/ Fuselage Shell ABS g
EMTETNE/Rated power 12W R~J/Size 207x132x141 mm g
NS/ InputAirSource  0.45~1.00 Mpa, #&>200L/min 1§ 5 /Net Weight 2.0kg -‘%

-90~60kPa ({EAY) %5/ life span 5000 7R ;
Outp i e -90~120kPa (7£4) b=t Contol mode a. Faze
-90~300kPa (1Y) b. I/OBF(ES
BH3PZ:4%/ Protection Grade Ip54 T {Et&Ez{/Work Mode R (EE2IRE
BS %"‘% FohEE | BFRE | THER | 2ERIE | BERT | RE5E

Model \| Manual voltage | Electronicvoltage | Wireless remote | Wireless Attitude | Speed adjustment | Safetyair pressure " =
regulation regulator feedback [L/m | n] [ L/m | n]

fERS  IPCU2-SMN  1.Y12927 ° GIp 200 40

CRG



423728 Buffer Support

R~ (mm) / Dimensions (mm)

D
ZE
Mo c
g9 E
& “: a ol D
E TS F
< il
Hg B
5 ™
H
o {E5(PN) HEE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) H(mm) S(mm) E&(Weight)
s 8.Y00241 GSR1421-08 8 14 15 12.5 40 36.75  97.75 21 369
a 8.Y00373 GSR1436-10 10 14 20 15 60 455 139 36.5 549
E 8.Y00329 GSR2026-10 10 20 20 15 50 455 121.5 26 749
s 8.Y00243 GSR2026-12 12 20 20 15 50 455 121.5 26 739
8.Y00330 GSR2051-10 10 20 20 15 84 455 180.5 51 111g
£Q 8.Y00331 GSR2051-12 12 20 20 15 84 45.5 180.5 51 110g
B
BE
e
5 c [
LN
[ o —
>
gé TRS F
ik}
78 %
L g
=
Hs . H
< c
Q c
ﬁi 5 (PN) #EE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) H(mm) I(mm) J(mm) S(mm) E&(Weight)
2 8.Y00242 GSRT1421-08 8 M14 15 12,5 40 36.75 97.75 29 2.7 21 43g
5 8.Y00332 GSRT2026-10 10 M20 20 15 50 455 1215 39 3.9 26 929
8.Y00244 GSRT2026-12 12 M20 20 15 50 455 1215 39 3.9 26 91g
8.Y00333 GSRT2051-10 10 M20 20 15 84 455 180.5 39 3.9 51 129g
" 8.Y00334 GSRT2051-12 12 M20 20 15 84 455 180.5 39 3.9 51 1289
L

=L / Application

sjuauodw o) A10ssa20Y

GR12-12-CN GRS08-C——

GSR2026-12 GSRT1421-08

VAl CRG



gZ sz 28 Buffer Support

R~ (mm) / Dimensions (mm)

L
i778S

i=ASLf / Application oD A

GFR14-95G

[ W —

T

— GSP-2014 g

@F
?G

B3y | FhE

3qnL SNS . 3|l404d

HE A N

S|NPOA SIUdIS

S SR

J9bueyd }dInd

ey
a|npo\ diug

ham 2 20301

JaddiN 11y

RS HL

3|NPON wWnNNdep

5S(PN) E5(Model) A 1778S EE(Weight)

8.Y00238 GSP20-14 14 31 20 20 30 10 13 25 77.5 28 15 57¢g
8.Y00239 GSP20-20 20 33 23 20 30 10 13 25 77.5 28 15 659

~
F=

8.Y01032 GSP30-30 30 43 33 30 30 18 22 25 77.5 28 15 1089

syusuodwo?) A10ss8d0y

.




MRS |, X

aqnL SNS - 3|4o.d

HEE S A

3|NPOIA SIUdIS

SR

J9bueyd ydIND

T HE W
a|npo\ diig

SHimE

JaddiN 11y

FrisHHm

3|NPOIN wnndep

-_3
e

sjuauodw o) A10ssa20Y

173

EEE[IE8 Mould Positioner

R~ (mm) / Dimensions (mm)

5S(PN) B S (Model) H BAREN  EE(Weight)
8.Y00408 GMP14A 38 14 M12*1 - 12 5 4 214 211 M5 90N 629
8.Y00088 GMP20A 46 25 M17*1 19 18 10 9 @20 @155 G1/8 190N 789
8.Y00089 GMP30A 75 38 M27*1 28 27 11 10 @30 @255 G1/8 280N 303g
—
: P ) 7
C
o |
— B
VIR GMP14B
E(PN) #S(Model) A B C D) ¥5E (Precision) EE(Weight)
7.Y00968 GMP14B 15 M4 (EkorM3iik) - 15.5h7 +0.015 469
7.YO00726 GMP20B 33 M6 (5korM5;Tk) 10 26h7 +0.015 87¢g
7.YO0789 GMP30B 435 M8 (@orMe6iTk) 11 40h7 +0.015 2649
; —* L
“
< o 7 %
d H
1 [
o 1

RE(PN) EE(Model)

L E&E(Weight)

7.Y00894 GLU20A 35 26 5 ©19.92 ©@20 550 8.50 21 M8 @12 ©@8.20 @11 61g
D66 A
™ |
17 G
<
T, £
c F
55 (PN) #IE(Model) A B (@ D E F G H EE(Weight)
7.Y00895 GLU20B 26 5 219.92 @20 M8 211 15.50 10.50 429
=LA / Application
GMHS3-25D
HE \
Mold PEP2525

AN

SMBY20-100

GMP20B
GMP20A

CRG

QC-G90



&5 (GNZEZF) Pneumatic Needle Gripper(Series GN)

fir
E
L)
1%}
30 136.50 i@ S
= T -
v &
& * 4
22 . )
' I A
= éH§
] c
o
|
GN2010 —] I
4%t Pins 020 o
<.
]a
30 (@)
>0
5
S
%2
E-E
=R
34 ZH o
45 B 140.5 I {L“}:E:
1718S
J,\I\;’ frores
3 <
C
52
2 #z
o - B3
b= 72
GN2010-8
8%t Pins
®20
o o : <
= 22
LE
= S= X “H3
#=
33.50 g
=
o
ZATARETUNESMEN, CTRATRA. SREWARNRHEEN,
WEREREKETRET, BEULREEPEXRES IFRIREHKE. W >
Being used for embedding and taking out nonwoven fabric, net cloth and sponge.The length of the steel & §
needle can be not only adjustable, butalso customized according to the requirements of the customer. §
<
HES(PN) g
E5(Model) GN2010 GN2010-8 3
NR BidiE, B8/ KEBREEEES S
Medium Filtered, lubricated / non lubricated compressed air g
= @
EnEHE 3 ~8bar
Pressure range
BESBE -10° ~ 70 °C.
Temperature range
6 barEA TFHTFEELE A 90N
Opening total gripping force at 6 bar
FHIR{TES 0~10mm
Needle stroke s
ERESERER 35 cm?
Cycle air consumption
E=k s
Weight 2749 3179

CRG !



B3y | A

aqnL SNS . d|1404d

HEE e o Xt

3|NPOIA SIUdIS

S SE

J9bueyd ydoInD

Frm

a|npo\ diig

SHimE

JaddiN 11y

FHEHbm

3|NPOIN wnndep

-z
=
=

sjuauodwo) A10ssa20Y

&5 (GNZEZ%) Pneumatic Needle Gripper(Series GN)

GN2010-8S51

ERTFA

GN2010-S51
4%t Pins

GN2010-S21
4%t Pins

8%t Pins

@20

WEREREKERRET, BUUIRESFERESIFRIONEKE.

Being used for embedding and taking out nonwoven fabric, net cloth and sponge.The length of the steel
needle can be not only adjustable, butalso customized according to the requirements of the customer.

RS (PN) 8.Y00341 8.Y00440 8.Y00385

#E(Model)

MR

Medium

ENEE

Pressure range
BEEE

Temperature range

6 barEA I FFETE T
Opening total gripping
FHIRTTTES

Needle stroke s
BRESHEE

Cycle air consumption
E3-

Weight
c o

force at 6 bar

GN2010-S51

2409

TWRFTSRIEN, BTRTRM, BREYRRIEHEIEAN.

GN2010-S21

BEiR, B8R/ REBEEHFES
Filtered, lubricated / non lubricated compressed air

3 ~8bar
-10° ~ 70 °C.
90 N
0~10mm
3.5cm’

2209

30
112 136.5 |
1348
stroke s
v
o
wn
YR OML7xD) 5
Detachable (M17x1) teeth
51
©
o
2 N
N A
A ]
30,
1 -
I_‘ yﬁﬁ
2 o\ /o
4 %3
o
T <
AR ML7xD #9F
Detachable (M17x1) teeth
o
o)
T
®20
45 :24 140.5 !
191
L{gy
stroke s
v
<
°o
AR (17x1) 5 22 3,
Detachable (M17x1) teeth 5
© 51
o
«
3
N A
@

GN2010-8S51

4809



S&15T3E (GNZEZ%) Pneumatic Needle Gripper(Series GN)

fir
o
82 7=
33 30 i “0\@5 N
° [%)
4 AL I \)5 iEI; S
B =
g
(G ~@y
8
S o =
R | = o NI s e
~ | o
ha s
(=3 S EGR Y 7'5‘- ;’
m/ g %A B Wi iﬁ z
ZH o
n %
’ 0
24 012 21
@30
GN3003-4
4%t Pins o s o
]a
(@)
>0
[
84.5 2
o
SRTRETIVHNLTHHEN, BTATRG. SHREMERNEREEEN. %o
MEREHKERRET, BULUREEFEREFIFRIREHSE. B°
Being used for embedding and taking out nonwoven fabric, net cloth and sponge.The length of the steel H g_
needle can be notonly adjustable, butalso customized according to the requirements of the customer. 3 %
£5(PN) 8.Y01005
#E(Model) GN3003-4
R B, B8R/ KEBEEREES
Medium Filtered, lubricated / non lubricated compressed air
Vab = >
}PEjTEEI 3 ~8bar ﬁ >
ressure range oz
IRESEE . R B3
Temperature range S0 TURE: K
6 barEA I FFEKET 90IN
Opening total gripping force at 6 bar
EHIR1TES 0~10mm
Needle stroke s
R RER ) 3.5cm’ =
Cycle air consumption Z=2
Weight H=z
o]
g
o
M2
e
o
<
0
o
3
el
S
3

C=G




5%PK28 Bulging Device

T
7= g! = ] N
N0 SRTAIE
'fé'ﬁﬁ Model representation methods GBD D
2
g
HEFTE
Actuation direction
g D-m|F
’7’%2 bgzkﬁj D - Downward
B b chiEiBL U-mt
By ARES =L Middle through hole U -Upward
£ Body Diameter
ML,
1B EZ B &89 BT B RE AR AR 6l B
o FERST M8 B 31 mmAE,
Ings SRR,
[a}
535 Downward movement, or Upward movement.
® The elastic part can be in Silicone or Rubber.
Grip diameters from 18 to 31 mm.
1 Several mounting accessories.
*xe /0
B3 oy ;%l";
as 7Y 77
c v
3 g =
" 7
g & j/;/,
/ {7// - /|| E}L
/ L/ /ﬁ B HESHBE— I hRITF. ATIREERETS, BTSN
5z v ST REEmRSERAS.
#z %@// v, /// s g
BUT s
ﬁ?‘; /%L%/ //1/ Through hole for fastening
¢ The ...H models have a central through hole. It can be used to blow
compressed air, or to provide vacuum, with the purpose to cool a
GBD...HD GBD...HU part, or to check the leakage.
=
=t BRI Silicone rubber
Hs3
fiz
£ 1R BB SR PR I S B R B BB IR R
ERRUTRERSOEETE, BMREKNERED.
ERREelERGRRETIFIEHE, BERETER,
TERBRH B BB R B TR I 2 10075 K.
B 2
B3 The elastic part can be in blue Silicone, or transparent silicone.
S Silicone can be used over a wider temperature range and assures a longer life time.
P SR ENEE The elastic partin Silicone is available as a spare part and can be replaced,when worn out.
_% Spare elastic part The expected medium life time of the elastic partin Silicone is about 1 million cycles.
o
3 A
g S1
P=EL & (Spec.) 218 222
Blue Silicone =
A5 (Model) 18-S1 22-S1
N\ ~ £RE(PN) 4.Y00470 4.Y00471
o A IS (Model) 18-S2 22-S2
1=
EIRERE 5=(PN) é;g?gff 4.Y00473
Transparent EYRKE2(Bulging device
silicone SBkEE(Bulging device) GBD18HD GBD22HU
N — TR BB AR BB E (R A5~ 60°C)
suimﬁ“f”f?;ﬁfﬁf@’ffmmers T - Operating temperature of the elastic part (5~60°C for the gripper body)

C=RG



5% fke8 Bulging Device

B
¢b M5 Mj%
L G, w fg:é
ﬁ z
s [ 5
@C §§
T N :%;.
= 2
. 2 ®c N s gﬁé
@- ] [ - :
f ]
(@]
a RN %
@B | -|~;&O
BA QA }ﬁﬁ'
GBD...HU GBD...U 2
&
#£2(PN) #E(Model) A @B ©C @D F G H ) K L M N O S T =& A
8.Y00212 GBD18U 18 24 18 14 55 M12x1 90.5 22 85 31.5 185 215 13 10 16 7 39.7g
8.Y00058 GBD22HU 24 315 213 14 55 M12x1 92 14 13 348 22 267 137 9 19 8 53.8g §%‘
kel
w3
Hz
G
1
%D
S,
: - =2
] _v=
© #z
T =79
@C 7o
AN E§
oA =2
78 3
<
GBD...HD ﬁ:g
#E2(PN) HE(Model) @A ©B @C @D QF F G H I L M NOUP R STV z =&
8.Y00057 GBD18HD  19.5 25 18 14 2.5 55 M12x1 70.5 14 16.5 19.5 12 9 M5 M3 16 6 5.3 M5 27.4g
- .. B &
iZFEHl / Application #®e
]
2
GBD22HU 3
GBD22HU é
———SEA-1414L80
———SCF3-40M12
SMBE2-1450
PEP2525

c=G



EARNiRIE (GFZ&%I) One Finger Angular Pneumatic Grippers (Series GF)

1 ©
%g « B —ZO{E, - Single acting.
N3 - REWIR, + Built-in magnetic ring.
me
=4
&
GFA...-35
Yo 8.Y00117 8.Y00118 8.Y00119
B3 RE=(Model) GFA14-35 GFA20-35 GFA30-35
s N i, WRE/ RERRERES
—a Medium Filtered,lubricated / non lubricated compressed air
2 SEEK L
Gripper body Aluminium
E735eHE 2.5 ~ 8 bar
Pressure range
, R EEE 10~ 70¢
}%g Temperature range 0= 7ORE,
a AWK 1712 -
g O Stroke
° =G BEL, @10 mm @16 mm @25 mm
Piston bore
6 barE ) FAOKHIHAE 26 Nem 100 Ncm 430 Nem
Bt Closing torque at 6 bar
= BAR=SHEFER 2 . 5
%5 Cycle air consumption 0.4 cm 1.24cm 4.56 cm
He HE
5 Weight 25¢g 65¢g 2069
A ERIR
Built-in magnetic ring /Y /Y "y
5z 35°
718 A
« 7\\@
N
X @
E< \“\ ,\\
=8 |
=g 22 (PN) 8.Y00117 8.Y00118 8.Y00119 Y ’-“—'—‘:‘-'—ﬁf
7 J\?(
Z&Eé #lE5(Model) GFA14-35 GFA20-35 GFA30-35 ©
§. A 14 20 30
® B 14 20.5 30
C 10.5 9 12
D 49.5 76.5 111 I
i > E 5.5 8 11
e F 13.5 20.2 30.5
a G 4.5 6 8 o
< H 74 106 153
S | 214 @20 @30 D1
3 J 12 17 27
3 K M5 M5 G1/8
’ M M12x1 M17x1 M27x1 L1l [
w

el CRG



Enikis (GFE&SY)

One Finger Angular Pneumatic Grippers (Series GF)

« B—Z0{E. - Single acting. %g
- WEIR, « Built-in magnetic ring. N3
me
g7
g
GFR...-95
.
F2(Model) GFR14-95 GFR20-95E GFR30-95 ]
N B, HBE/ RERRERES Zﬁg
Medium Filtered,lubricated / non lubricated compressed air —Hé
PI=tny fAHA @
Gripper body Aluminium
EBE 2.5 ~ 8 bar
Pressure range
mESEE ° ;
Temperature range SIS, %g
1772 o 3
Stroke % f;’?
EE-R =
? Piston bore 210 mm @16 mm @25 mm [}
N 6 barf7) FRIXAiHiE 19 Nem 70 Nem 300 Nem
CHEN N Closing torque at 6 bar *o
BIRESHER S s , g3
_/ Cycle air consumption L) IR U2 \HE
" e
Weight 259 60g 193¢ =
W B IR - aY ayY |y
Built-in magnetic ring
— Eﬁa,k E{{ Replace8.Y00041
52
&z
A i
712
LL
rroy= Q@ ©
£35S (PN) 8.Y00042 8.Y00311 8.Y00095
#E(Model) GFR14-95 GFR20-95E GFR30-95
A 14 20 30 =
B 12 17.5 25 G =2
@ 10.5 9 12 ?&2
D 49.5 76.5 111 g
E 5.5 8 11 5
F 14 20 29
G 2 2.5 4
H 72 103 148 .
! 214 220 230 e
J 12 17 27 g
K M5 M5 G1/8 i
M M12x1 M17x1 M27x1 'l;;l' TT T | E
DI ﬁ §
M @

CRRG




6= e

aqnL SNS . 3|140.d

HE AR

3|NPOIA SIUBLS

S S

J9bueyd ydIND

I HE
a|npo\ diig

ham 2 S0
JaddiN 11y

T KL

3|NPOIN WNNdep

-3
=
e

syuauodwo?) A10ssa20y

181

Bnfifkig (GF&RSY)

One Finger Angular Pneumatic Grippers (Series GF)

o BA—ZH{E, - Single acting.
- WERIR, * Built-in magnetic ring.
BS(Model) GFR14-95G GFR20-95EG GFR30-95G
GER...-95G R Bidig, HBE / KEBREERETS
Medium Filtered,lubricated / non lubricated compressed air
el KRR FRHAY
silicone ﬂo Gripper body Aluminium
oIS -
5 EReH 2.5~ 8 bar
Pressure range
(] o S
L ail -10 ~ 70 °C.
Temperature range
1718 o
Stroke 9
E%?L @10 mm @16 mm @25 mm
Piston bore
6 barfE RIS 19 Nem 70 Nem 300 Ncm
Closing torque at 6 bar
‘fﬁfﬁ%ﬁﬁ% : Tem? 3.52cm* 12.9 cm*
ycle air consumption
HE
Weight 369 879 3009
A ERIR
Built-in magnetic ring "Y BY BY
#iE 5
Rt X Replace8.Y00083
>POM
B5(Model) SIL-14G SIL-20G SIL-30G
BRI GFR20-95EG
Applicable Products GFR14-95G GFR20-95LG GFR20-955G GFR30-95G
L A
55 (PN) 8.Y00084 8.Y00312 8.Y00096 \z
#E(Model) GFR14-95G GFR20-95EG GFR30-95G CI& @
A 14 20 30 | | o
B 12 17.5 25
C 10.5 9 12 (o I [® [ 0]
D 49.5 76.5 111
E 5.5 8 11
F 14 20 29 a
G 2 2.5 4
H 72 103 148
| 214 @20 @30
J 12 17 27 E o == L]
£ = w /1
K M5 M5 G1/8 B v -
L 2.5 2.5 3
M M12x1 M17x1 M27x1
N 11 15 20 R Y
O 32 46 63
P 19 25 37 .
Q 14 20 30
R 19 27.5 40

CRG




EBRNIRIE (GF&%) One Finger Angular Pneumatic Grippers (Series GF)

23
— ; ; 7=
- EB—HE, - Single acting. .o
- NEHIR, + Built-in magnetic ring. G
&S n
S
g
GFR...-95L
EIE(Model) GFR20-95L %’Eg
NE B, R/ RTRRERSS i
Medium Filtered,lubricated / non lubricated compressed air 3
FEK =L °
Gripper body Aluminium
E7eE 2.5 ~ 8 bar
Pressure range
mESEE o 40
Temperature range USRS }%i
718 95° a}
a@g Stroke 3
EE, ®
87@17‘0 Piston bore @16 mm
——— [] 6 barEATHIXABE
T& || _El Closing torque at 6 bar AU FQ
- ERESHER 250 e B3
Cycle air consumption e cm iﬁg_
=R 81.4g e
_/ Weight ’
i ME IR
Built-in magnetic ring qY
5z
#z
1S
<A 7%
X X
©
5S(PN) 8.Y00309 @ 8
A= (Model) GFR20-95L
A 20 L @ s
B 40 A5
C 9 =
y o
D 76.5 g
E 8 | O ®
F 42.5 '
G 2.5 G
H 125.5 T B 2
| @20 53
J 17 g
K M5 o} o
M M17x1 3
E
D1 | %H
4 L v

A
A 4

(o0 v

CRG



6= e

aqnL SNS . 3|140.d

HE AR

3|NPOIA SIUBLS

S S

J9bueyd ydIND

I HE
a|npo\ diig

ham 2 S0
JaddiN 11y

T KL

3|NPOIN WNNdep

-3
=
e

syuauodwo?) A10ssa20y

183

EBnfifkig (GF&RS)

One Finger Angular Pneumatic Grippers (Series GF)

- B—aifE.
- REWIR,

€

- Single acting.

* Built-in magnetic ring.

GFR...-95LG

<7Sil'cone

AW
ol 18

FE(Model)
NER

Medium
KA

Gripper body
ESEE
Pressure range
BEEE
Temperature range
718

Stroke

EEh

Piston bore

6 barE/ FRIXFHE
Closing torque at 6 bar

BEARESHEER

Cycle air consumption

BB
Weight

W BRI

Built-in magnetic ring

S (Model)

EREmR
Applicable Products

HS(PN) 8.Y00310

#E(Model)

GFR20-95LG
20

40
9

76.5

42.5
2.5

125.5
@20

17
M5

2.5
M17x1

15
68.5

25
20

PO OO ZIZE|AR—|[—I6mMmmOION o>

CRG

50

Bidig, B/ KEBREEES

GFR20-95LG

55(PN) 8.Y00310

Filtered,lubricated / non lubricated compressed air

tRHIE

Aluminium

2.5 ~ 8 bar
-10 ~ 70 °C.
95°
@16 mm
70 Ncm
3.52cm’

104.8g

aY

SIL-20G

55 (PN) 4.Y00485

GFR20-95EG GFR20-95LG GFR20-95SG

L - A »
O o A
] \ < ® @
R o
T===<_
~~_ A 4
> 3}
;';.‘) G | | A
(o _TI - — [ e 0
[a]
-ﬁ D1 w]j 4 v
M
4
TG - A
©® Da v
< R »
< O >




EBRNIRIE (GF&%) One Finger Angular Pneumatic Grippers (Series GF)

-
- B—afifF, +Single acting. 7f7.f(‘—p_“
- REWIR, * Built-in magnetic ring. 02
e
g
GFR...-95S
FEE o
AE(Model) GFR20-95S %’E;.
NE SR, ER/ RTRREEES i
Medium Filtered,lubricated / non lubricated compressed air 3
eI =L °
Gripper body Aluminium
0 2.5 ~ 8 bar
Pressure range
RESBE . O
Temperature range -10~70°C. Ei
772 o al
Stroke % El
EET S
Piston bore @16 mm
© 6 barE 1 FRIXFHE
@ B ='] Closing torque at 6 bar O NEm %9
e N imi O BIRESHER : s
] Cycle air consumption SEEET gs
J =8 N #e
Weight g °
R E IR
Built-in magnetic ring "qY
L | =>
iz
BUT
33"8
<Ay
Y
S (PN) 8.Y00335 u_“ © O
BE(Model) GFR20-95S © ©
A 20 mi 4 | | O‘ %n:a
B 175 | /i Ze
C 9 G =
D 111.5 >l g
E 8 ®
F 20
G 2.3
H 138 B 2
| @20 I A e
J 17 §
K M5 E’
L 41 Ei
M M17x1 %
ﬂ’ ‘_
v

CRG



EBRNIRIE (GF&%) One Finger Angular Pneumatic Grippers (Series GF)

B2
R - . .
.o « B—fE. - Single acting.
me s REWIR, « Built-in magnetic ring.
&2
g
GFR..-955G HIPN)
o #5(Model) GFR20-955G
28 NE Eitig, IBEE/ REERERES
*ﬁ% Medium Filtered,lubricated / non lubricated compressed air
g SEEK A
= Gripper body Aluminium
EEE 2.5 ~ 8 bar
Pressure range
RGO 10~ 70°C.
Temperature range
re 1752 o
}ﬁi Stroke 9
@) S
2 :ﬁ%?b @16 mm
3 Piston bore
] 6 barENTHXAHAE
Closing torque at 6 bar AULIE)
P . ER=SEER s 52 e
*xe 2 :I Cycle air consumption :
Bz ] 2 BE 103
f&a / Weight 9
& PERIR =y
Built-in magnetic ring
£5(PN) 4.Y00485
L | S (Model) SIL-20G
i B
- 1= =
gg Roplorhio Prasiuss GFR20-95EG GFR20-95LG GFR20-95SG
712
T
>+ «—>
HS(PN) 8.Y00336
B3S(Model) GFR20-95SG
Bs A 20
BS B 17.5
fig ¢ 0 ©]
g D 111.5
® E 8
F 20
G 2.3
(RS H 138
3 | @20
8 J 17
5 K M5
3 L 41
% M M17x1
2 N 15
O 46
P 25
Q 20
R 27.5
T 2.5

KE CRG



EARNIRIE (GF&%) One Finger Angular Pneumatic Grippers (Series GF)
b
= i i =
< B—afE, - Single acting. &
- WERIR, « Built-in magnetic ring. G
=
B =
BE(Model) GFS14-90G GFS20-90G GFS30-90G o
R B, IHEE/ REREEES ]
Medium Filtered,lubricated / non lubricated compressed air (o
EE{k saslE H3
Gripper body Aluminium s
EnEE 2.5 ~ 8 bar
Pressure range
Ll 10 ~ 70 °C.
Temperature range
772 ¢ e
Stroke 9 s
$ 0
;E.g?l: @10mm @16 mm @25mm 5
Piston bore 2
6 bark/) FRIX S 19 Nem 70 Nem 300 Ncm )
Closing torque at 6 bar
BRESHER 3 3 3
© Cycle air consumption 1 @in =B i 22 ég
E% T Z
o Weight 349 839 2969 %_,%8_
WERA g
Built-in magnetic ring "/Y "Y "Y
5z
iz
s
72
£5E(PN) 8.Y01001 8.Y01002 8.Y01003 A
BS(Model) GFS14-90G GFS20-90G GFS30-90G
A 8 11 14 ¥ o HY
B 6.7 8.7 13.7 v e
C 10.5 15.5 23.5 Q {4:5
D 49.5 76.4 111 . g
E 5.5 8 11 ®
F 6 17.7 29.2 1 ]
: 26 8 12;10 6 i - 8 : :
H . . . 0 B 2
I 214 @20 @30 J F:H: e
J 9 13.7 23.7 L | a ;§
K 12 26 26 J o
L 22.5 29.5 66 3
M M12x1 M17x1 M27x1 %
N 8.5 12.4 20 Z
o 4 5 6 2! N \(%
P 10.8 15.2 25.2

CRG




EARNIRIE (GF&%) One Finger Angular Pneumatic Grippers (Series GF)

Bz
T - 4 .
.o « B—fE. - Single acting.
i@g - RERIR, « Built-in magnetic ring.
= (%]
GFS..-905G HSPN)
— FE(Model) GFS20-90SG GFS30-90SG
28 N EitiE, IBEE/ RPERERES
*ﬁ% Medium Filtered,lubricated / non lubricated compressed air
Hg KRR fAHIAY
= Gripper body Aluminium
ENEHE 2.5 ~ 8 bar
Pressure range
ZEX%E -10 ~ 70 °C.
emperature range
Re 1752 .
Tﬁi Stroke %
0 .
3 EEL @16 mm @25 mm
a Piston bore
h 6 barfE) RIS 70 Nem 300 Nem
Closing torque at 6 bar
BIRESIHER 3 5
g? Cycle air consumption S el lzdemn
©
=32 =B
fgg Weight 99g 3129
& ®) A BRI
F Built-in magnetic ring qY BY
o
g5z
#z
ms
7]
A
P
|
5=ES(PN) 8.Y01030 8.Y01031 - "‘H—’f " i
S (Model) GFS20-90SG GFS30-90SG & QJ_L | o
23 A 11 14
BS B 8.7 13.7 s
14:% C 15.5 23.5
g D 112 147 I I
® E 8 11 X —
F 17.7 292 } H
G 2.4 4
e H 136.2 184.2 L e
" [ 220 230 J e
8 J 13.7 23.7
5 K 26 26
3 L 29.5 66
% M M17x1 M27x1
z N 12.37 20 C
0 5 6
P 15.2 25.2 o
Q 36 49 o i N H%H
Lwl

Iy CRG



RIgi%M Finger Gripper Options

35 (PN) 7.YO0778 7.Y00779
A5 (Model) GP1-20 GP1-30
A(mm) @20 @30

B(mm) 30 45

C(mm) 37 65

D(mm) 21 32

E(mm) 33 44

F(mm) 15 20
FE(Weight) 20g 60g

5 (PN) 7.Y00780 7.Y00781 7.Y00782
A5 (Model) GP2-14 GP2-20 GP2-30
A(mm) @14 @20 @30
B(mm) 24 35 45
C(mm) 19 25 35
D(mm) 12 25 25
E(mm) 11 16 21
F(mm) 6 13 13
G(mm) 3.5 5 5.5
EE(Weight) 5g 149 239

RS (PN) 7.YO0783 7.YO0700 7.Y00908 7.Y00785
#S(Model) GP3-14 GP3-20 GP3-20L GP3-30
A(mm) @14 @20 @20 @30
B(mm) 19 25 25 37
C(mm) 19 27.5 50 40
D(mm) 32 46 68.5 63
E(mm) 14 20 20 30
F(mm) 11 15 15 20
H(mm) 8.5 11.5 11.5 141
G(mm) 6 9 9 10
BEE8(Weight) 6g 12g 19.89 30g
Silicone  Silicone Silicone POM
35 (PN) 7.Y00786 7.Y00787 7.YO0788
#E(Model) GS-14 GS-20 GS-30
A(mm) @14 @20 @230
B(mm) 18 24 34
C(mm) 30 37 47
D(mm) 8 8 8
E(mm) 2 2 2
E&E(Weight) 149 179 25g

T

GP3-20L

@l

B

o 6]

‘W

ERTFSMCRABMTFX,

fUg: D-DIBV,D-M9B

ham 2 2000

JaddiN 1y

B g

3|NPON wnNndep

~
=

syusuodwo?)) A10ss8d0y

S XK

2qnL SNS . 3|140id

S S

S|NPOA SIUdIS

SR

J8bueyd )dind

il

a|npo diug

CRG




EATNIAIE (GOZ%) OneFinger Angular Pneumatic Grippers (Series GO)

AT
e
=Y o0
g 8 A3 22°
5
P
o 4
23 g
% o N rany yany
S S\
o
~ || @© 1| I/[\_[
Lo}
(@) ™ <
N
:H&Q
s o
E M17*1.0 M5S0
2 ' @20 ' Airintake
GOF20-20-VvMQ GOF20-20-NBR N
£0o 40 WY
=] V)
|\
ﬁé @ ®7.80
) N o
O OJ
50
s>
gg S (PN) 1= (Model) EE(Weight) fit&i&Heat resistance (in °C)
ﬁg 8.Y00396 GOF20-20-NBR 57.49g -20to 80
8.Y00395 GOF20-20-VvMQ 57.4g -40 to 160
28
BS o=
H3 :
s .
s F
<Ol' g ray ra
o
By & ©
3 ]
g
5 o
5 e
3 M17*1.0 M53#S 0
S T T Airintake
3 020
28
GOP20-20-VvMQ GOP20-20-NBR N
N
32
£E(PN) A E(Model) EE(Weight) it /& iEHeat resistance (in °C)
8.Y00398 GOP20-20-NBR 509 -20to 80
8.Y00397 GOP20-20-VMQ 509 -40 to 160

CRG




Ak RL(ERLEE Optional Magnetic Sensors

WMEREE (A1) BEEE LN — MRS HREUE. Fit, ERMERSEEN T BARENTIEMHRZAEIZ T D
BES I M=
RIS B e
A
The operating position is detected by magnetic proximity sensors = g
(optional) through a magnet placed on the piston. ®
The use of magnetic proximity sensors is to be avoided in the vicinity of large masses of ferromagnetic material
or intense magnetic fields as this may cause detection problems.
The sensors that can be used are: o
D-M9N- M9NV X8
_______________ *E"’
| 1A L O DC(+) 5 <
: | N : ES D;rk brown e é
I I ®
: ESEi] :
FFXR
; ouTt
| Main, | EBlack
I [sensor I
T © i e
I I e
I ° ° 7O DCO s}
——————————————— 15 Blue %3,_
- N B
D-M9P - M9PV
T Koo s
I | S Dark brown 2§ §
I
| e | E
D-M9PV s !
D-M9B 1 [Creute !
I |sensor ouT
: @ : 2 Black
: rO DCO) 52
——————————————— % Blue @z
BIS
. it
D-M9B - M9BV
:_______________:0 OUT(+)
| | | #Dark brown
I
: EE)is | Es
SO 1.Y00293 el ol Y
?g%(Model) D-MQ I |circuit —K | gﬂg
: sensor@ : ﬁ:%
| | g_
: rO OUT() 2
_______________ ¥ Blue
£S5 (PN) EI5(Model) FHRRE L(mm) .
1.Y00310 D-M9B NPN B4 cable 0.5m 3
1.Y00307 D-M9BL EB4i cable 3.0m 3
1.Y02565 D-M9BV NPN EB4i cable 0.5m a
1.Y03843 D-M9BVL EB4i cable 3.0m §
1.Y00311 D-M9N NPN E345 cable 0.5m S
1.Y00295 D-MINL FB4 cable 3.0m 2
1.Y00298 D-M9NV NPN EB43 cable 0.5m
1.Y03598 D-MINVL E34% cable 3.0m
1.Y00309 D-M9P B84 cable 0.5m
PNP
1.Y02301 D-M9PL EB45 cable 3.0m
1.Y00296 D-M9PV PNP EB45 cable 0.5m
1.Y02964 D-M9PVL EB44 cable 3.0m

CRG



Min Z#3ZE Min Posture Gripper

7 © + 90° jigh%, +90° rotation.
s « B—afifF, «Single-acting.
N3 cBEEEESMESAHRE. « Lifting by compressed air, spring reset.
M * BOREMEF, «Several mounting accessories.
E; o AR HE (L RkEE, » Optional magnetic sensors.
o
%7
|
2
H3
:RE
]a
2
xeQ
B3
gﬁ% 1=
i
® 25 (Model) GFN20-90 GFN30-90
R BigiE, BBE/ RPREEREES
Medium Filtered,lubricated / non lubricated compressed air
EJSEE 2 ~ 8 bar 2 ~8 bar
5> Pressure range
= 3 RESEE . g
%-az Temperature range U B -10~70°C.
72 1@?-4%)% 90° 90°
Tiltangle
6 barEANTHIEEEHE
Lift torque at 6 bar 2y e 300 Ncm
=82
Weight 659 210g
BS
H3
1¢§ R H 525 (PN) 8.Y00094 8.Y00116
% _ #E(Model) GFN20-90 GNF30-90
- w Q e A 220 @30
B 20 25
A @ 20 25
By 2 o D 35.5 46
3 ' L : E 54.6 81.5
3 =z F 14 19
5 \ G 8 11
3 (00 g H 17 M27+1
3 [ | 305 37
3 I 1 0| © J 20 30
| ® 9 K 28.5 40
N L 4.5 5.5
L. M B M 8 10
P I N 14.74 18.5
0 83.34 119
o J P 18.5 25
\ Q 7.6 11
R M5 M5
-
« ® s 3.25 3

Ml CRG



ZHARME Posture Set Accessories

+ 90° jigh%, +90° rotation. _
- B—affF. « Single-acting. o
B EHFESNRES(EE. - Lifting by compressed air, spring reset. .o
* BORENMA. + Several mounting accessories. |
« AIERIRL G RES. + Optional magnetic sensors. i
o
o
2XG1/8 A1
17 N
A B S P 5 %
ha s
EREREE 3 £z
lL‘O) //Sensor mounting slot © Zﬁ Z
[e]
<| © e
= I Z B | s :
.
== | N 20
=
1 T L }ﬁ%
&. 1 z
1 8XM5 A %
8XM6 B
32 [ 28
%9
_E_-E
24.50 HE
s g2
mﬁ%ﬁ?ﬁa\ ®
)
S =
N
ASY
M5 it 5z
Airintake @;
BY O
Eehe]
712
£2S(PN) 8.Y01007
ES(Model) GFT60-90
R g, HBE / REBEEFES =
Medium Filtered,lubricated / non lubricated compressed air z= g
EHeE 2-8b g
Pressure range ar ﬁ:§
fRETEE s
Unlock pressure > 3.5 bar o
N=| 3
?Eﬁ@ 5~ 60 °C.
emperature range
R RE P
Tiltangle Eﬁﬁ
RIHTRAT ' 20 frg
End stroke adjustment - ~<9‘
BR=SHER , o
Cycle air consumption 462 cm §
6 bar EJ FHIREEHFE(90° — 0°) 8N e
Lift torque at 6 bar (90° — 0°) (Mu) > AX g
6 bar FETAIREZHE(0° — 90°) 4N @
Drop torque at 6 bar (0° - 90°) (Md) > m
FVFAITRE
Allowed load (F) 300N
RVFRISIFE
Allowed moment (Mf) S
58
Weight 25209

CRG



Thrust Cut Nippers

AT SE

X EH{EER BX <L,

- Double-acting operation with tandem cylinders.

E!gi - ANERRE(ERREE - Optional magnetic sensors .
1‘3\“5 © TR INARS, - blade heating system.
o © ENAERS ( £/ TR ) UNREREREES * Optional (upper/lower blade) and spare parts such as thermal pads are available.
C
g4
g
;gg Upper blade ﬂ%(MOde') GT-N50H-40
Hg TR N E BidiE, R/ KEBEERETS
% Tower blade Medium Filtered,lubricated / non lubricated compressed air
E75EE
fRfkih Pressure range 2~ 6 bar
Insulation pads iﬁx?ﬁ o
Temperature range >~ 60°C.
'RE‘ EEL 40 mm
Tﬁ; e Piston bore
;3) Heating pipe 6 barEA T HIXAEE 1470 Ncm
3 Closing torque at 6 bar
s BRE=SHER 75 @i
Cycle air consumption cm
BE
ég’ Weight 15709
HE
"
o / \ N,
AR
Magnetic sensor option
52
@ Z REETES EiEL
%”% Temperature control box Power‘cable
a3 - ~ BB
fr—E 2 ;&%1% DD?&%‘ Ermocouple option
éﬂg Ermocouple Heating pipe
1¢§
£55(PN) #S(Model) iR (Describe)
B2 EDR ]
ﬁ:g Spper blade 7.Y00441 N54-T
s MR 7.Y00442  N54-D -
A lower blade
o =
E 2Y05202  L54-5 -
S Insulation pads SCE-NR30
5 A 1.Y20002 - 220V/100W % cableL 1.5m GT-N50H-40
o ermocouple
e 1.Y20003  D6-L55 220V/100W, £ cableL1.5m
Heating pipe
BESEE _ B R SMBE-2040
?:rrﬁoerature range 0-200°C
Power 100W
iR B 32 Bl 2% 8.Y0O1026  GTC-001 )
ater control box
BIEBE i} ; 100~240Vac
Operating voltage 50/60Hz

CRG



HEANTLSBEE Thrust Cut Nippers

ik
ZE
= FEgRZESKH -G1/8 me
@Sensor Slot Compressed Air Off - G1/8 B =
656, | g
L %g
@ﬁnstfiltf :7-!%2’
of A3
i | 95 5
NE 2
16 oz % i
5| 54.50 g
Y i3
B % & S o
. 1o 1
i ] o ARG .
© T - 8 F 220V/ 2 £100W e 8
© I & R . @ Valiage 250V bawer 100W Q T%éﬁfﬁ:i%ng
8 > System Connection
sazss-cisf @ 516 8 ™ o *x<
Cor?]przs:sedAirOpen-GHS II j / Eiﬁis;i:!-ragp;ﬁéﬁ?s %g
i ®123I = . — 8 {q:i:
o
2l 3 &
[c]
—T —
52
Jle
o ¢ : 2.0
B
A = S M . . . . B3
P EHBTSIEE: X7 (P)Compressed air connection: CLOSING frg
R EE=SEE: 7T (R)Compressed air connection: OPENING g
Ol ETi (S)Sensorslot
M BEBLFL (T Threaded hole for fastening e
ED AR L 5p75D=6.1 ED Heating system housing @6.1 g
Q)
MOMEBBEERS M0 Thermocouple temperature sensing system E

CRG



BERH28 Temperature Regulator

o - ASIAERENALEE, - Process temperature monitoring and control is possible.
1:‘5_‘ s - YHREEBENMRIZEE, - Switching configuration and programming is easy.
Lo o BESSEERILA BRITERINAE, - Capable of controlling several heating tubes connected in series.
Me - BEFHIRTEGRR, EEERE. * Easy to carry and change the workplace, easy to connect.
&
d 169 120
i ©w o o
23 AUl ~
a5 g ©
= -]
® o - _A_\_J
GTC-001
L 180 o
:RQ
ma |
0
3 o o
B L ~
U B | |=m= == ]
+ 0 ] °
5!5_% ) = B e | =
=z
ﬁ S GTC-002 |
4 A
e EEEL FE(Model) GTC-001 GTC-002
Controller 1 Power cable SBESEE - E(EK 0° ~ 200 °C
s» Temperature rangesThermocouple K ’
= B AC100-240V
BIS Power supply
AR /AR 0-50°C/10-65°C (BHfBiEkaREEE)
Ambient/Storage temperature (Avoid icing or condensation)
{RIPIRRG 22 WE15A—
Protection fuse One built-in 15A
. , M
EE';EE:F* E',';;“:CEC,){U%;'S {-JIE;‘t‘inflpipe ol 1268 1820
Switch Weight 9 [¢]
BHS - J
i
Z
g fNHRE/HEB(B Heating Tube/Thermocouple
° - MABEI0R. - Heating tube power is 100W.
© INAEERG. * Heating tube ¢ 6.
- PEE (TC):KE, » Thermocouple (TC): K type.
e - BIETERRTIIESAR, EEER. * Easy to carry and change the workplace, easy to connect.
%3
8
S ae
S TC+ * Red
E ) | E®
E T Blue
KA
EH ~ Beige
EH ~ KA
Beige
e RS
Heating pipe Ermocouple
525 (PN) FS(Model) iR (Describe)
R e 1.Y20002 - 220V /100W £ cable L 1.5m
e "
I ine 1.Y20003 D6-L55 220V /100W £ cable L 1.5m

CRG



fn#E)7] Heating Cutter

AIkREEL, XERIFIEIL,

Remave sprue, deburr and trim.

25.40

MR3y | (hE

20
3qnL SNS . 3|l404d

60

188
208
iy

S|NPOA SIUdIS

S (PN) BE(Model) FE(Weight) .
8.Y00346 GT-BH2060 1869

SR

®20

Jabueyd }dIND

T HE MK
a|npo diug

Spare blade

2 )

INARE + AEE

Heating pipe+Ermocouple

e I

ham 2 2000

JaddiN 1y

el ek .

Temperature control box

Power cable

U g

B e

Ermocouple Heating pipe

B g

3|NPON wnNndep

~
=

syusuodwo?)) A10ss8d0y

85 (PN) BlS(Model) iR (Describe)

BRA (101/8) 7.¥02019 NBH2060 -
Spare blade (10 pieces package)

BEEHRE 8.Y01026 GTC-001 -

ater control box

CcG



EZIR#E Vacuum Cups

I L Advantage

CEATFRRTHARO I
STHEMA RN ITAERBNENE
-BEIEEIE, BERENEKEMERIMEA
R AKX
WRIEEETH RS EXATR

+Suitable for workpieces of different sizes and shapes
- Strong adaptability to curved surfaces and uneven workpieces
-Strong horizontal and lateral grabbing force when moving at

high speed

-Smallsize and high suction
-Handling thin-walled workpieces without permanent deformation

i
ZE
| »
&5 .
& l = mHighlights
- RSP FIM B % AR AT ik
BHEXRNEEH®E
o - R TR 38 R 14
B3 - BRI
B2 - REFZ 2451
Hg
% *Various sizes and materials are available
-Soft and tapered sealing lip
*Rib structure on the top of the suction cup
+Optimum structural design
- Bottom support structure
®me
]a
Q
%2 BISERHE
ﬁi Model representation methods
=
w3
J]2
&7
Series ;
mREER
Hs Suction cup diameter
z=2
Z=E
fis
1= 2261
> Application example
3
&
o
3
E

BETI BFITI
packagingindustry Electronicsindustry

CRG

B RS
NBR-55 T RE1&E

SI-55 B

HT1-60 IR

NBR-55 nitrile rubber
SI-55 siliconerubber
HT1-60 tracelessrubber

AT

Injection molding industry



REF2BPFGEH (M=) Vacuum Cups PFG Series

PFG-2..PFG-10 PFG-15...PFG-50 PFG-60...PFG-95 PFYN-120..PFYN-200 2%
Dk Dk V-‘r%
\ \ — )
o 1 RRET o
PFYN-200 75 IRAREE ;’ﬁg
%7, H NBR-55 HT1-60 B8 B2
(N) (mm) (Ea) (=) (Weight) He
PFG-2-... 0.12 2 - 4.2 3.0 4.0 1Y12953 1Y12972 1Y12991 0.02g &
PFG-3.5-... 0.42 2 - 4.2 4.0 4.0 1Y12954 1Y12973 1Y12992 0.03g
PFG-5-... 0.75 2 - 1.7 5.5 6.5 1Y12955 1Y12974 112993 0.15g
PFG-6-... 1.2 2 - 7.7 6.5 6.5 112956 1Y12975 1Y12994 0.17g e
PFG-8-... 2.3 2 - 8.2 9.0 7.0 1Y12957 1Y12976 1Y12995 0.23g o
PFG-10-... 4.0 2 - 8.7 11.5 7.5 1Y12958 112977 112996 0.30g ;:3
PFG-15-... 9.0 4 - 12.2 17.5 8.0 1Y12959 1Y12978 112997 19 n§
PFG-20-... 15.5 4 - 15.2 23.0 10.0 112960 1Y12979 1Y12998 1g B
PFG-25-... 26.5 4 - 16.2 27.5 14.0 1Y12961 1.¥12980 1.Y12999 39
PFG-30-... 34.0 4 - 15.1 315 12.0 1Y12962 1Y¥12981 1.Y13000 3g ég
PFG-35-...  44.0 4 - 20.5 38.0 14.0 112963 112982 1¥13001 69 \E
PFG-40-... 57.7 4 - 24.3 43.0 14.0 1Y12964 112983 1.Y13002 79 #f;
PFG-50-... 91.0 4 - 29.1 535 15.0 1Y12965 1Y12984 1.Y13003 119
PFG-60-... 125 6 - 38.7 64.0 18.0 112966 112985 1Y13004 259
PFG-80-... 260 6 - 52.3 86.0 20.5 1Y12967 1Y12986 1Y13005 529
PFG-95-... 350 6 - 68.2 102.0 19.0 112968 1.Y12987 1.Y13006 93g ﬁ z
PFYN-120-... 540 9 G1/2-F 89.5 124 36.5 1.Y12969 112988 - 223¢g g%
PFYN-150-... 842 9 G1/2-F  104.5 158 45.5 112970 1.Y12989 1.Y13008 391g 3]:-‘3
PFYN-200-... 1498 9 G1/2-F 1425 222 50.5 1Y12971 112990 - 5559
(1) ERMERADANEETEN-0.6barlWVIRICE, WFRENE. FENIGMS, REERLR
(1) The suction specified above is the theoretical value when the vacuum degree is -0.6bar. For smooth and dry workpieces,
the safety factoris notincluded. EHs
z=2
ZEHDN ‘53
Types of assembly @3#+ #(<I =
BiEs 3
Factory-crimped fitting: ®
mat @# + # i<]
Hollow shaft fitting:
M2
Iil Eﬁ?ﬁm Cup Fitting t %ﬁ‘ﬁuum Cups i %
VM14-M5 PFG-2~PFG-3.5 i
VM29-M5, VM30-G18 PFG-5~PFG-10 E
VM31-M5, VM32-G18 PFG-15 -‘%
VM33-M5, VM34-G18 PFG-20 z
VM35-M5, VM36-G18 PFG-25~PFG-40
VM37-M5, VM38-G18 PFG-50
VM-G14M-M10M PFG-60~PFG-95

Materials Shore Hardness A Flexibility Abrasion UV & weather  Oil resistance  Heat

HE BE F resistance resistance il
T mRoE

SI-55: Translucent Translucent

50 it - - - -40 0 220

Silicone HEMRER FiER

HT1-60: Siton® ) Blue
HHEAMHER) 60 * " ** 2510170 )

NBR-55: Nitrile R Black
TSR 60 + + ++ -30to 120 Py

CcG



IREBFGAZRY (GEXNER/2E) Vacuum Cups FGA Series

. Xk

MRSy
agnL SNS . 3|1oid

FGA-6...FGA-25

Dk

&

FGA-33...FGA-78

Dk

%7 Ds
77‘1'1% E Ds
%g Dmax Dmax
° S ®A - RlH  HAEFEZE Dk Dmax(S)  Ds
(Model) (N)” (N P&(mm)  (mm) (mm)
FGA-6-... 0.4 1.4 4 T 8.0 5.7 9 1.Y12937 1Y12949 1Y12951 19
o FGA-11-... 0.95 3.8 4 10 13.0 10.4 16.0 1Y12938 1Y12288 1¥12298 19
ﬁi FGA-14-... 1.2 5.0 4 10 14.5 12.5 15.5 1.Y12939 1Y12289 1.Y12299 19
a} FGA-16-... 2.3 6.7 4 10 18.5 15.6 19.2 1.Y12940 1Y12290 1.Y12300 1g
E FGA-20-... 4.7 10.7 4 10 21.0 18.1 15.2 1Y12941 1Y12291 1Y12301 29
s FGA-22-... 5.7 15.2 4 10 25.0 21.5 19.0 112942 1Y12292 1Y¥12302 29
FGA-25-... 53 17.3 4 10 26.5 22.5 23.0 1Y12943 1Y12293 1Y12303 3g
§§ FGA-33-.. 13.6 39.6 6 18 38.0 30.0  27.0 1Y12944  1Y12294  1Y12304 79
FHE FGA-43-... 228 64.5 6 18 47.5 38.0 27.6  1Y12945  1Y12295  1Y12305 11g
2  FGA-53-.. 513 95 6 18 60.0 500 340 1Y12946  1Y12296  1Y12306 199
FGA-63-...  85.0 135 6 18 68.0 60.0 340  1Y12947  1Y12297  1Y12307 249
FGA-78-... 137.4 218 6 25 84.5 74.0 47.0 112948 1Y12950 1Y12952 569
. (1) ERMERAANEETER-0.6barlHIBILE, WFRELE. FROIHGMS, KEERTLEN
# il (1) The suction specified above is the theoretical value when the vacuum degree is -0.6bar. For smooth and dry workpieces,
B3 the safety factoris notincluded.
A% QQRABRMBEMRE, EHIL5EE40%.
(2) The pull-off force of the vacuum cup made of natural rubber is reduced by about 40%.
BS
=8 ‘
Z=E RETL
s Types of assembly @:F+ F(<l
£ B
® Factory-crimped fitting:
mEt @# + F ]
Hollow shaft fitting:
i 2
g S
i VM21-M5 FGA-6
g VM18-M5, VM02-G18 FGA-11~FGA-25
3 VM24-G18 FGA-33~FGA-63
2 VM41-G14 FGA-78

Shore Hardness

4

Materials

(2[5

A Flexibility
Fiit

UV & weather
resistance

R

Oil resistance

itis

Abrasion
resistance

T

Heat

HT1-60: Siton® : Blue
BHEAMEGER) O ' " o 2310170 )
SI-55: Translucent R R Translucent
Silicone LB 50 et et -40t0 220 o
NBR-55: Nitrile Black
. + + - ++ -
TS 60 30to 120 me

CRG



IREBFGEY (GENXNER/3E) Vacuum Cups FG Series
FG-3..FG-9 FG-12..FG-25 FG-32..FG-88

Filjed
Dk Dk Dk *ng_"
2
H — ) g
S — § %y
Dmax Dmax 7J7E a’
s
BS lh mlh  #EESE Dk Dmax(S)  Ds SI-55 TE
(Model) (N)” ()" B#R(mm)  (mm) (mm) (ZHA) ®
FG-3-... 0.2 0.4 2 4 4.0 3.0 6.7 1.Y12929 1.Y12931 1.Y12934 19
FG-4-... 0.3 0.6 2 1 7.0 3.8 14 1.Y12930 1.Y12932 1.Y12935 19
FG-5-... 0.2 0.8 2 7 7.0 5.0 14 1.Y12308  1.Y12319 1.Y12331 19 RO
FG-7-... 0.1 0.9 4 9 9.0 5.9 14 1.Y12309 1.Y12320 1.Y12332 19 s
FG-9-... 0.7 2.3 4 9 9.5 9.0 15 1.Y12310 1.Y12321 1.Y12333 19 %
FG-12-... 0.9 3.5 4 10 13.0 12.0 21.0 1.Y12311 1.Y12322 1.Y12334 19 '~§
FG-14-... 1.2 5.7 4 10 15.5 14.5 22.8 1.Y12312 1.Y12323 1.Y12335 29 )
FG-18-... 2.3 8.5 4 10 19.0 17.2 22.6 1.Y12313 1.Y12324 1.Y12336 29 o
FG-20-... 3.8 12.1 4 10 21.0 20.0 22.1 1.Y12314 1.Y12325 1.Y12337 29 E%
FG-25-... 4.5 19.0 4 10 26.0 23.0 34.0 1.Y12315 1.Y12326 1.Y12338 49 gﬁg_
FG-32-... 12.0 36.9 6 18 335 32 37.5 1.Y12284 1.Y12327 1.Y11797 10g # 5
FG-42-... 13.6 44 6 18 45 42.6 46 1.Y12316 1.Y12328 1.Y12340 189
FG-52-... 27.0 96 6 18 55 52.5 48.7 1.Y12317 1.Y12329 1.Y12341 249
FG-62-... 39.6 137 6 18 65 62.2 54 1.Y12318 1.Y12330 1.Y12342 399
FG-88-... 452 286 9 25 95.5 89 86.5 1.Y12928  1.Y12933 - 1669 g?
P~
(1) ERMERANTEEZTEN-0.6barBlIWVIRICE, WFRENLE. FENIGMS, REERLEAH %J?
(1) The suction specified above is the theoretical value when the vacuum degree is -0.6bar. For smooth and dry workpieces,
the safety factoris notincluded.
()R ABRMBIRIRE, Hibi /1296 1E40%.
(2) The pull-off force of the vacuum cup made of natural rubberis reduced by about 40%.
B
z32
REHT /3
Types of assembly @:p#+ # |4 =
B s
Factory-crimped fitting: @
mat @# + F 4
Hollow shaft fitting:
By 2
1¢§
|i| %?ugum Cup Fitting t E?a%uum Cups "<i
VM14-M5 FG-3 S
VM21-M5 FG-4~FG-5 3
VM39-M5, VM40-G18 FG-7~FG-25 2
VM24-G18 FG-32~FG-62
VM41-G14 FG-88
Materials Shore Hardness A Flexibility Abrasion UV & weather Oil resistance Heat
& e Et [ resistance resistance st resistance (in °C)
MWEH b1 fit=ia
HT%%?ES;?;MW) 60 * " ) ” 2510170 .y
;'hgzngrariga;’;;ﬁ 50 . - - - -4010220 ;;%‘;g“ce"t
NB';ESE:%?;:”"E 60 + + - ++ -30t0120 ;ﬂék

CcG



Rk#EZSGONZEY (m¥FEEHFE) Vacuum Cups SGON Series

AT
CE o1
e
i
g
H
g
I
Bz
2H§ S
© T n T
. T ZN T
IEcs
s L\ |
I I
f
'H&Q Lmax
]a
2
A Bs W EEHTEMNE Gl H NBR-60  SI-60  HT1-60 Hi&
(Model) (N)' (mm) (mm) (Za) (359R) (@&@)  (Weight)
ég’ SGON-4x2-... 0.42 2 M3-M 2.5 4.5 8 1.Y13068 1.Y13079 1.Y13090 29
éﬁ = SGON-7x3.5-... 1.0 2 M3-M 4.5 7.5 8 1.Y13069 1.Y13080 1.Y13091 29
e SGON-12x4-... 1.8 2 M5-M 5.0 13.0 18 1.Y13070 113081  1.Y13092 3g
SGON-15x5-... 3.1 2 M5-M 5.5 15.5 17 1.Y13071 1.Y13082 1.Y13093 39
SGON-18x6-... 4.5 2 M5-M 7.0 18.5 17 1.Y13072 1.Y13083 1.Y13094 39
SGON-24x8-... 8.0 4 G1/8-M 9.0 24.5 17 1.Y13073 1.Y13084 1.Y13095 79
s> SGON-30x10-... 12.2 4 G1/8-M 11.5 30.5 17 1.Y13074 1.Y13085  1.Y13096 79
@_;Z SGON-45x15-... 28.2 6 G1/4-M 16.5 46.0 26 1.Y13075 1.Y13086 1.Y13097 15g
BY
ﬁg SGON-60x20-... 50.1 6 G1/4-M 22.0 61.0 26 1.Y13076  1.Y13087 1.Y13098 199
SGON-75x25-... 78.3 6 G1/4-M 27.5 77.0 26 1.Y13077 1.Y13088 1.Y13099 279
SGON-90x30-... 112.6 6 G1/4-M 33.0 92.5 26 1.Y13078  1.Y13089 - 35¢g
(1) ERMERADNEEZERN-0.6barBHIEILEH, WFRENB. TERHNIGMS, REETERH
B (1) The suction specified aboveis the theoretical value when the vacuum degree is -0.6bar. For smooth and dry workpieces,
QEEE the safety factoris notincluded.
fiz " SGON-24x8 REAMEMKRERE L AEER,
Cg’ * SGON-24x8 and larger replacement vacuum cup pads are equipped with special fixing clips.
Materials Shore Hardness A Flexibility Abrasion UV & weather  Oilresistance  Heat
7[5 B it resistance resistance st resistance (in °C)
B2 WE g =i
%8 HT1-60: Siton® BI
g wagamtGER ) o ) . 2510170 by
A S1-60: Translucent R R Translucent
3 Silicone YW v e 4010220 S350
3 O N
3 N s 60 + + - . 3010120 e
Al CRG



RE2BVSHZE%Y (F¥=) Vacuum Cups VSH Series

VSH-S2...VSH-S10 VSH-S12...VSH-S30 VSH-M4...VSH-M10 VSH-M12...VSH-M50 %{93;
o o o o
§ &
I‘f’ |‘_’|®F I ° &5
| : ( g
| [ ®
- T T T
]
. . 2
oA oA Lﬂ‘ | 0A | ;gﬁ
! ' e
“—a
H(mm) @D(mm) @F(mm) SI(5ERR) o
VSH-S2 0.5 0.1 2 13 11 7 1.Y07282 =
VSH-S4 0.7 0.2 4 15 11 7 1.Y07283 -
VSH-S6 0.9 0.3 6 11 11 7 1.Y07284 - %g
VSH-S8 1.1 0.5 8 11 11 7 1.Y07285 - :’:
VSH-S10 1.6 0.8 10 11 11 7 1.Y07286 = g
VSH-S12 2.0 1.5 12 11 11 7 1.Y07287 - 2
VSH-S15 3.7 1.8 15 13 11 7 1.Y07288 -
VSH-S20 6.1 3.0 20 13 12 7 1.Y07289 - *Q
VSH-S25 9.4 4.7 25 13 11 7 1.Y07290 = %;
VSH-S30 15.9 7.9 30 12 13 7 1.Y07291 - e
VSH-M4 0.7 0.2 4 14 15 11 1.Y07292 - ®
VSH-M6 0.9 0.3 6 15 15 11 1.Y07293 -
VSH-M8 1.1 0.5 8 15 15 11 1.Y07294 =
VSH-M10 1.6 0.8 10 15 15 11 1.Y07295 1.Y12885 s>
VSH-M12 2.0 1.5 12 15 15 11 1.Y07296 1.Y12886 {;}Jg
VSH-M15 3.7 1.8 15 15.5 16 11 1.Y07297 1.Y12887 %§
VSH-M20 6.1 3.0 20 15.5 16 11 1.Y07298 1.Y07530 )
VSH-M25 9.4 4.7 25 15 15 11 1.Y07299 1.Y12888
VSH-M30 15.9 7.9 30 15 16 11 1.Y07300 1.YO7758
VSH-M40 26.7 13.4 40 16 17 11 1.Y07301 1.Y07894
VSH-M50 38.3 19.1 50 15 20 11 1.Y07302 1.YO07895 %§
T c
N — o gep > ep s EE
(1)EIZ=E 65 RBNTIRRM S, BV AFIENTLREN2, EETIFHESREN4. a3
(1) Actual force of the suction cup in use with 65% vacuum and including a safety factor of 2 for horizontal handling §.
and a factor of 4 for vertical handling. &
REAT
Types of assembly @3#+ F |<| S
B e
Factory-crimped fitting: 3
BiEd @F+ # ﬂ e
Hollow shaft fitting: _g
o
|i| %%%m Cup Fitting t \%ﬁ?uum Cups ’
VM11-M5, VM11-G18
VFS RFIEE (VFS Series Stem) VSH-S2~VSH-S30

VFST &FI& B (VFST Series Stem)

VM10-G 1/8, VM27-M5
VFM RFI£ 8 (VFM Series Stem) VSH-M4~VSH-M50
VFMT %€ E (VFMT Series Stem)

Materials Shore Hardness A Flexibility Abrasion UV & weather  Oil resistance  Heat
HE BE It resistance resistance st
T &N
SI: Translucent 50 et R B R 4010 220 Translucent

Silicone  HEIFEA FiEH

C=6G



REBVSH2E%Y GENXNE/2E) Vacuum Cups VSH?2 Series

VSH2-S4...VSH2-520 VSH2-S25...VSH2-S30 VSH2-M6...VSH2-M25  VSH2-M30...VSH2-M50

| oD @D

o o P o

. Xk

MRSy
agnL SNS . 3|1oid

g 4
%’g; oA ! oA ! oA
@3
3
® H(mm) @D(mm) @F(mm) SICEE)
VSH2-S4 0.3 0.1 4 15 12 7 1.Y07303 -
VSH2-S6 0.5 0.2 6 15 12 7 1.Y07304 -
Eg VSH2-S8 1.2 0.7 8 15 12 7 1.Y07305 -
a VSH2-S10 1.7 0.9 10 15 12 7 1.Y07306 -
2 VSH2-S12 2.5 1.3 12 15 12 7 1.Y07307 -
s VSH2-S15 2.7 1.3 15 18 15 7 1.Y07308 -
VSH2-S20 5.6 2.8 20 18 15 7 1.Y07309 -
£ VSH2-S25 7.9 4.0 25 17.5 15 7 1.Y07310 -
%’; VSH2-S30 12 6 30 17.5 15 7 1.Y07311 -
e VSH2-M6 0.5 0.2 6 18 15 11 1.Y07312 -
® VSH2-M8 1.2 0.7 8 17 15 11 1.Y07313 -
VSH2-M10 1.7 0.9 10 17 15 11 1.Y07314 1.Y08294
VSH2-M12 2.5 1.3 12 17 15 11 1.Y07315 1.Y08295
. VSH2-M15 2.7 1.3 15 18 15 11 1.Y07316 1.Y08296
g; VSH2-M20 5.6 2.8 20 18 15 11 1.Y07317 1.Y07929
) VSH2-M25 7.9 4.0 25 18 15 11 1.Y07318 1.Y08349
7% VSH2-M30 12 6 30 19 18 11 1.Y07319 1.Y08056
VSH2-M35 13.9 6.9 35 19 18 11 1.Y07320 -
VSH2-M40 20.2 10.1 40 22 23 11 1.Y07321 1.Y08104
VSH2-M50 40 20 50 24 24 11 1.Y07322 1.Y08105
s S — M) a2, AY a2 S
2T (ESEN6SUHIRENSIREN D, BWKTIENRS RN, EETIEHRS R4
EE (1) Actual force of the suction cup in use with 65% vacuum and including a safety factor of 2 for horizontal handling
1¢§ and a factor of 4 for vertical handling.
Q.
REDR
Types of assembly @3#+ #[ﬂ
B
B = Factory-crimped fitting:
e B @FJF F [<l
3 Hollow shaft fitting:
o
'g |i| %%ugum Cup Fitting \u;;ia?uum Cups
S VM11-M5, VM11-G18
z VFS R%&E (VFS Series Stem) VSH2-S4~VSH2-S30
VFST RFI& 8 (VFST Series Stem)
VM10-G 1/8, VM27-M5
VFM RFI&E (VFM Series Stem) VSH2-M6~VSH2-M50
VFMT Z&%I€E (VFMT Series Stem)

Materials Shore Hardness A Flexibility Abrasion UV & weather  Oil resistance  Heat
& BE FHM resistance resistance kst
M ke
SI: Translucent 50 et . R R 4010 220 Translucent

Silicone  HERAEER

CRG

58




REVSH3ZESY (GENXNER/3E) Vacuum Cups VSH3 Series

VSH3-S6...VSH3-S8 VSH3-510...VSH3-S15 VSH3-M8...VSH3-M30 VSH3-M40...VSH3-M50 %g
@D oD oD o
oo oF —2F Be
QF . t S
I‘—'Ii | — g
I
I —
g - : S— 2 - S
_ < me
i ! | gﬁé‘
| T —I
oA oA oA oA
19&8
Hmm) — @D(mm)  @F(mm)  SICEES)  SP(S) 2z
VSH3-S6 0.5 6 15 10 7 1.Y07323 - é
VSH3-S8 1.0 8 15 10 7 1.Y07324 - B
VSH3-S10 1.5 10 15 10 7 1.Y07325 -
VSH3-S12 2.8 12 15 10 7 1.Y07326 - ég
VSH3-S15 3.0 15 16 10 7 1.Y07327 - FHE
VSH3-M8 1.0 8 20 15 11 1.Y07328 - fre
VSH3-M10 1.5 10 24 15 11 1.Y07329 1.Y09163
VSH3-M12 2.8 12 24 15 11 1.Y07330 1.Y09162
VSH3-M15 3.0 15 24 15 11 1.YO07331 1.Y09161
VSH3-M20 4.6 20 25 15 11 1.Y07332 1.Y08134 5z
VSH3-M25 6.5 25 29 17 11 1.Y07333 1.Y09065 éﬂjg
VSH3-M30 12.1 30 35 17 11 1.Y07334 1.Y08167 ﬁg
VSH3-M40 20.5 40 45 20 11 1.Y07335 1.Y08168
VSH3-M50 25 50 43 20 11 1.Y07336 1.Y08234
(MEZEH65%RERISTFRRM I, EMOKFELERRER N2, EETIERNRERE4. ey
(1) Actual force of the suction cup in use with 65% vacuum and including a safety factor of 2 for horizontal handling 2
and a factor of 4 for vertical handling. “H3
=
g
REFN
Types of assembly @3#+ F |<|
BfEL
Factory-crimped fitting: B §
BiEs =)+ ﬂ e
Hollow shaft fitting: §
<
Q)
o
3
|i| %@Em Cup Fitting %
VM11-M5, VM11-G18 3
VFS RFI&E (VFS Series Stem) VSH3-S6~VSH3-515
VFST ZFI&E (VFST Series Stem)
VM10-G 1/8, VM27-M5
VFM RFIEE (VFM Series Stem) VSH3-M8~VSH3-M50

VFMT Z&FI&E (VFMT Series Stem)

Materials Shore Hardness A Flexibility Abrasion UV & weather  Oil resistance  Heat
HE B FHt resistance resistance b e 3 resistance (in °C)
EE &N BT
SI: Translucent 50 e R R R 400 220 Translucent

Silicone  HFEIFEA FiEH

CcG



IRESAFRF (B¥=) Vacuum Cups SAF Series

I0RE: BOid. BOiH. BAK (BRTRERS, RIESRM)

1 ©
%% Functions: anti-skid, oil-proof and water-proof (mostly used for adsorption of automobile sheet metal, glass, etc.)
=z
g
— \ I i H
55 |
77"'% 3 Dmax(S) | Dmax(S)
iﬁg SAF..-AG(JMNF R EE) SAF..-IG(RF &%)
g S %A WEH  EEAS Dmax(S)
(Model) () (N) EARRF(mm) (mm)
1.Y13010 SAF-30-G3/8AG 38 30 4 34 G3/8-M 20 10 179
b0 1.Y13011 SAF-30-G3/8IG 38 30 4 34 G3/8-F 36 9 43g
Tﬁi 1.Y13012 SAF-40-G3/8AG 69 52 4 46 G3/8-M 22 10 199
Q 1.Y13013 SAF-40-G3/8IG 69 52 4 46 G3/8-F 38 9 45g
% 1Y13014 SAF-50-G3/8AG 100 80 4 56 G3/8-M 28 10 409
s 1.Y13015 SAF-50-G3/8IG 100 80 4 56 G3/8-F 28 15 319
1.Y13016 SAF-60-G3/8AG 150 105 6 67 G3/8-M 31 10 469
ég’ 1.Y13017 SAF-60-G3/8IG 150 105 6 67 G3/8-F 31 15 379
" = 1.Y13018 SAF-80-G3/8AG 272 205 6 89 G3/8-M 35 10 659
e 1¥13019  SAF-80-G3/8IG 272 205 6 89 G3/8-F 35 15 569
1.Y13020 SAF-100-G3/8AG 430 310 6 110 G3/8-M 36 10 769
1.Y13021 SAF-100-G3/8IG 430 310 6 110 G3/8-F 36 15 679
1.Y13023 SAF-125-G3/8IG 660 475 9 135 G3/8-F 43 15 1469
=z
iz
73 IREZSAOF&S (m¥) Vacuum Cups SAOF Series
e BB, B, K (BETRERS, RESR)
Functions: anti-skid, oil-proof and water-proof (mostly used for adsorption of automobile sheet metal, glass, etc.)
%5’:’ - ° LG =t LG
3
1¢§ : ) [ ’
. SAOF...-AG(SMNF R %) SAOF...-IG(REF &4%)
B 2 =
%3 ®A - MEAH LGl  Lmax(S) ]
a (N (N)? (mm) (mm) (Weight
% 1Y13024 SAOF-50x16-G3/8AG 31 24 4 18 G3/8-M 26 8 52 249
é 1.Y13025 SAOF-50x16-G3/8IG 31 24 4 18 G3/8-F 34 9 52 45¢g
S 1Y¥13026  SAOF-60x23-G3/8AG 57 37 4 25 G3/8-M 18 8 64 21g
& 1.Y13027 SAOF-60x23-G3/8IG 57 37 4 25 G3/8-F 26 9 64 429
1.Y13028 SAOF-90x30-G3/8AG 122 96 4 34 G3/8-M 19 8 94 399
1.Y13029 SAOF-90x30-G3/8IG 122 96 4 34 G3/8-F 27 9 94 60g
1.Y13030 SAOF-80x40-G3/8AG 140 110 4 43 G3/8-M 20 8 85 349
1.Y13031 SAOF-80x40-G3/8IG 140 110 4 43 G3/8-F 28 9 85 55g
1.Y13032 SAOF-100x50-G3/8AG 217 181 6 54 G3/8-M 22 8 106 63g
1.Y13033 SAOF-100x50-G3/8IG 217 181 6 54 G3/8-F 31 9 106 85¢g
1.Y13034 SAOF-120x60-G3/8AG 312 254 6 65 G3/8-M 24 8 128 779
1.Y13035 SAOF-120x60-G3/8IG 312 254 6 65 G3/8-F 33 9 128 99¢g
1.Y13037 SAOF-140x70-G3/8IG 425 344 6 76 G3/8-F 34 9 149 107¢g

CRG



IREZZSABZRF (BENEZ/2E) Vacuum Cups SAB Series
Ee: BHiB. DAH. BAK (SAFEERS, WIS

: L . . y
Functions: anti-skid, oil-proof and water-proof (mostly used for adsorption of automobile sheet metal, glass, etc.) % S,
D1 D1 o
G1 A
l‘_' LG1 f_|7.| 2
I '_E-A:ﬁ
\ g
T
H
%g
L
Bmax(s) I ' Dmax(S) i gﬂg_
SAB..-AG(SMF &%) SAB...-IG(RFRE) g
w7 fufiyy WA BEAT DINENS)] Gl D1 H LG1 =
N N7 (NT ERZE(mm)  (mm)  (mm)  (mm)  (mm) (mm) (Weight)
1Y13038 SAB-22-G3/8AG 16 24 18 4 24 G3/8-M 22 25 10 159 o
1.Y13039 SAB-22-G3/8IG 16 24 18 4 24 G3/8-F 22 41 9.5 41g }ﬁi
1.Y13040 SAB-30-G3/8AG 22 33 30 4 34 G3/8-M 32 28 10 199 §
1Y13041 SAB-30-G3/8IG 22 33 30 4 34 G3/8-F 32 44 9.5 45g «.rgb
1Y13042 SAB-40-G3/8AG 38 59 36 4 45 G3/8-M 32 28.8 10 20g A
1.Y13043 SAB-40-G3/8IG 38 59 36 4 45 G3/8-F 32 44.8 9.5 459
3= O
1Y13044  SAB-50-G3/8AG 53 87 55 4 56 G3/8&-M 40 369 10 419 éé
1.Y13045 SAB-50-G3/8IG 53 87 55 4 56 G3/8-F 40 36.9 15 329 2ﬁ§
1Y13046 SAB-60-G3/8AG 82 130 82 6 67 G3/8-M 48 41.3 10 499 i B
1.Y13047 SAB-60-G3/8IG 82 130 82 6 67 G3/8-F 48 41.3 15 40g
1.Y13048 SAB-80-G3/8AG 135 221 145 6 89 G3/8-M 64 49.9 10 729
1.Y13049 SAB-80-G3/8IG 135 221 145 6 89 G3/8-F 64 49.9 15 639
1Y13050 SAB-100-G3/8AG 190 357 220 6 110 G3/8-M 7 56.6 10 97g 5L
1Y13051 SAB-100-G3/8IG 190 357 220 6 110 G3/8-F 7 56.6 15 88¢g gjjt—z,
1.Y13052 SAB-125-G3/8AG 250 558 352 9 135 G3/8-M 94 67.8 10 1799 7]3;
1Y13053 SAB-125-G3/8IG 250 558 352 9 135 G3/8-F 94 67.8 15 170g
IREFZSAOBEY (RNEXKFELY/2E) Vacuum Cups SAOB Series
Theg: BB, BoiM. BOK (BRTARERE, KIEBFRM) HS
Functions: anti-skid, oil-proof and water-proof (mostly used for adsorption of automobile sheet metal, glass, etc.) EE §
1¢§
J— |'E,| LG1 1 LG1
g Bz
@ = G35
EEEEAN 5 8
<
Lmex ! SAOB...-AG(ShF 25) SAOB...-IG(WF %) g
el
o

WA hBi7 MEA WEEST Bmax(S) Lmax(S) Gl H LG1 ]
(Model) N (NyY (N?  &H=Emm)  (mm) (mm) (mm) (mm) (mm) (Weight)

1.Y13054 SAOB-60x30-G3/8AG 38 70 73 4 33 63 G3/8-M  27.0 8 499
1.Y13055 SAOB-60x30-G3/8IG 38 70 73 4 33 63 G3/8-F  35.0 9 709
1.Y13056 SAOB-80x40-G3/8AG 65 132 153 6 43 83 G3/8-M  29.7 8 679
1.Y13057 SAOB-80x40-G3/8IG 65 132 153 6 43 83 G3/8-F  37.7 9 88¢g
1.Y13058 SAOB-110x55-G3/8AG 110 234 299 6 59 114 G3/8-M 355 8 879
1.Y13059 SAOB-110x55-G3/8IG 110 234 299 6 59 114 G3/8-F 43.5 9 109¢g
1.Y13061 SAOB-140x70-G3/8IG 165 355 473 6 75 146 G3/8-F 47.5 9 1429

CRRG PG



%R£2EE Vacuum Cup Fitting

) © 1] = — N
By BSRERE
.2 Model representation methods
VM (G14]
27
g
x5 _ | ¥EF R~ Thread dimension
Series M5 M8 G1/8 G1/4
=2
s
Az
% £2
Vacuum Cup
Fitting
:RQ
;ﬁr_;r ©6.50
Ia) A : on ©13.50
g %—% - . S B
8 f ©4.50 i 7T /)
s 5 . | 29 - 212
5!5_5 Di RJ A vze0 [ T T} 7 % 9[
= Imension 18 A 93.50 .
gﬂ% A L» o7 G1/4
fre R s
® { )=
©F
N "/ { o pva
RE(PN) 7.Y00703 7.Y00709 7.YO0768
5z
oz 1S (Model) VMO02-G18 VMO04-G14 VM06-G14
A% EE(Weight) 3.5g 7.0g 9.7g
BHS
i A
g Vacuum Cup
® Fitting
b %
3
8
3 R
3 Dimension
S(PN) 7.YO0767 1.Y05275 1.Y05274
BIS(Model) VMO07-G18 VMO08-M8 VMO09-M5
BB (Weight) 3.3g 8.3g 1.49

CRG




%£2EE Vacuum Cup Fitting

5 ¥8EF R~ Thread dimension
Series B2 NO M5 M8 G1/8 G1/4
I 7% R
Vacuum Cup
Fitting
©11.00 | r’ r—“‘—’»%
K? 4—{58 ©5.40
RY g %
Dimension 24.30 I
G1/s
b
S (PN) 7.Y00902 1.Y05327 1.Y12762
BS(Model) VM10-G18 VM11-M5 VM11-G18
B & (Weight) 3.7g 2.0g 2.5g
M 72 B
Vacuum Cup
Fitting
A ’—> Ta
N
R~ .
Dimension B %
- -]
/< 1 e
N/
5S(PN) 7.Y00762 7.Y00761 7.Y00760
B5(Model) VM12-M5 VM13-M5 VM14-M5
B E(Weight) 1.29 0.7g 0.5g

CRG

S XK

2qnL SNS . 3|140id

S S

S|NPOA SIUdIS

SR

J8bueyd )dind

T HE MK
a|npo diug

ham 2 2000

JaddiN 1y

B g

3|NPON wnNndep

-~
=

syusuodwo?)) A10ss8d0y

208




I%£2EE Vacuum Cup Fitting

A D
e
o vM 0] - [G14]
g9 T I —
g
=y ¥EF R~ Thread dimension
Series B2 NO. M5 M8 G1/8 G1/4
=2
Zms
57
Zﬁi
I £2
Vacuum Cup
Fitting
:9&?
s -
9 > <D7.5§
g ] »6 ©6.50
o ©9.60
*£Q R~ % 2 °°Q ]
S i i [ ]od ! $3.50
%% Dimension jﬂa i -
He
RS (PN) 7.Y00759 7.Y00758 7.YO0757
52
Bz ES(Model) VM15-G18 VM16-G18 VM17-G18
BS
i IRALEE
g Vacuum Cup
o Fitting
e A 6.7 -
1¢§ ] T T _orso
» ©4.50
| 7
S ) 4
3 HZE
-§ Rj‘ f% o5
g Dimension A 2.80 | i G
g M5
S (PN) 1.Y05314 4.Y00058 1.Y01986
BUS(Model) VM18-M5 VM20-G14 VM21-M5
B & (Weight) 4.69 9.5g 1.89

CRG



k£ FE Vacuum Cup Fitting

VM

5 I EF R~ Thread dimension
Series 2 NO. M5 M8 G1/8 G1/4
IR 2 R
Vacuum Cup
Fitting
@11 @14
— A Mo
A r— L\HIhH Nx LT ’r ®7.50 ,;,
§ :lir/ lj ©6.10
nE . g o
< A [l s2.10 | & -
. R_J— %* 25 E]%J J % %.]
Dimension 18 o .
| ° A few&
5S(PN) 1.Y05790 7.Y00900 7.Y00898
£S5 (Model) VM22-M5 VM23-G18 VM24-G18
E & (Weight) 2.99 8.99 5.59
I 72 R
Vacuum Cup
Fitting
A ’—> wi.ZO A r— ©11.00 A
1 B ]
RY * g ﬂ g o4
Dimension E 1
— A [ 02.70.
7 (1] | ezl
1‘P
N A L
S (PN) 7.Y00928 1.Y01097 7.Y00475
E5(Model) VM25-M3 VM27-M5 VM28-M8
B & (Weight) 0.29g 6.29 1.99

CRG

MR3y | (hE

2qnL SNS . 3|140id

S S

S|NPOA SIUdIS

SR

J8bueyd )dind

T HE MK
a|npo diug

ham 2 2000

JaddiN 1y

B g

3|NPON wnNndep

-~
=

syusuodwo?)) A10ss8d0y

210




k£ FE Vacuum Cup Fitting

A
M=
VM
g9 1 -1
g
Y| TR~ Thread dimension
Series =2 NO. M5 M8 G1/8 G1/4
xg
s
o
Zﬁi
5 IR 2
Vacuum Cup
Fitting
:RE
g
(
%9 RY
Bo Dimension L
53 A
h Z@L
BE(PN) 7.YO1036 7.YO1037 7.Y01038
=z
gg B S(Model) VM29-M5 VM30-G18 VM31-M5
7% EE(Weight) 1.1g 1.39 3.89
BS
H 3 R £2 FE
1¢§ Vacuum Cup
s Fitting
%
B & 8 E—jﬁ
14:& A < —
: 1
3 R~ ©
% Dimension . —
2
5S(PN) 7.Y01039 7.Y01040 7.Y01041
B15(Model) VM32-G18 VM33-M5 VM34-G18
E&(Weight) 4.1g 4.0g 4.3g

CRG




k& FE Vacuum Cup Fitting

=y ¥EF R~ Thread dimension
Series 2 NO. M5 M8 G1/8G1/4
R £2 B
Vacuum Cup
Fitting
A ’——' 7 )
RY )
Dimension 1
ik P ‘:v 02 ) ,
5S(PN) 7.Y01042 7.Y01043 7.Y01044
ES(Model) VM35-M5 VM36-G18 VM37-M5
EH=(Weight) 3.4g 3.7¢g 4.3g
R 7 R
Vacuum Cup
Fitting
o1
$8.50 _
R~ % % )
Dimension
G1/8, -
4.50
S (PN) 7.Y01045 7.Y01046 7.YO1047
B 5 (Model) VM38-G18 VM39-M5 VM40-G18

CRG

TRsS I

2qnL SNS . 3|140id

S S

S|NPOA SIUdIS

SR

J8bueyd )dind

T HE MK
a|npo diug

ham 2 2000

JaddiN 1y

B g

3|NPON wnNndep

-~
=

syusuodwo?)) A10ss8d0y

212




R#EE Vacuum Cup Fitting

ﬁ
[ERY

6= e

aqnL SNS . 3|140.d

IEF R~ Thread dimension
M5 M8 G1/8 G1/4

ES ]

Series

%Io

HE AR

9|NPOJA SIUd1S

W £2
Vacuum Cup
Fitting

S S

Jabueyd ydInd
[

40
d >
19
~
=
[
m
o
3
23
[
|
10 o lo
S o
14 &
3

G1/8

R Nz
Dimension e

A L» G1/4,

T 5
a|npo\ diig

| 21 1
~
N
S

ERS(PN) 7.Y01048 7.Y02013

BS(Model) VM41-G14 VM10-G18-F

ham 2 S0
JaddiN 11y

EE(Weight) 149 5.79

FHEHbm

3|NPOIN WNNdep

-_3
=
e

syuauodwo?) A10ssa20y

Akl CRG



k#eBiEL Vacuum Cup Connector

BSKRRAE

Model representation methods

75

Series

¥BFR< Thread dimension

G

1/8 G1/4 M5

W F-Female
ShF M-Male

VM - [G18] M] - [M8] [F]

R F-Female
SNF M-Male

¥8EF R~ Thread dimension
M5 M8 M10

REEHE
=20
Vacuum Cup
Connector

R~
Dimension

21

05

M10*1.25

BS(PN)

5 (Model)

25 8 (Weight)

7.Y00808
VM-G18M-M10M

4.5¢g

7.YO0756
VM-G14M-M10M

4.79

7.YOO755
VM-G18M-M5F

2.99g

RESE
gL
Vacuum Cup
Connector

R

Dimension

M8

23

15

A o4
G1/8

M8

22

15

G1/8

22

®2.5Q

M5

55 (PN)
715 (Model)

B2 (Weight)

7.Y00754
VM-G18M-M8F

6.29

7.Y00473
VM-M5M-M8F

5.69

7.YO0474
VM-M5M-G18F

4.99

CRG

TRsS I

2qnL SNS . 3|140id

S S

S|NPOA SIUdIS

SR

J8bueyd )dind

T HE MK
a|npo diug

ham 2 2000

JaddiN 1y

B g

3|NPON wnNndep

-~
=

syusuodwo?)) A10ss8d0y

214




kFE e BiEsL Vacuum Cup Connector

By BSRRNE
.= Modelrepresentation methods
ik VM - -
= —_—
=5 | AN F-Female
Series SNF M-Male
%%ﬁ #25FRY Thread dimension | | ##FRY Thread dimension
*E% G1/8 G1/4 M5 W F-Female M5 M8 M10
éﬁé_ ST M-Male
REEHE
e ek
'ﬁ% Vacuum Cup
n:, Connector
5.5-5 N = m8
gE o
14:% Q ] T
R 7 0-
Dimension A J:% I
r\ N A-A
Fz NI/ |
BU DO
AR
HS(PN) 7.YO0476
B 5 (Model) VM-G14M-M8F
EE(Weight) 6.79
=
H3
1¢§
By =
2
g
o
3
3

Al CRG



BEFRESH Vacuum Cup Suspensions

BSETHZ w3
Model representation methods VFE [1011] - [M5] kb
me
=5 IR SRR T g9
Series Vacuum Cup Fitting hole for fastening >
) M5 G1/8 ®
ﬁoéﬁ%ﬂdrical type EEpRIE
T A Installation+stroke
T Thread type oA
=
h
e
23
VFE VFR VFN S
%2
B3
HE
"
VFET VFRT VENT
5z
N - . #lz
SN FRNE, XEBHTRARRSRENMUE, B3
CRG FBHIRI IR T T iZ USRS IRIT. 713
Bil—RBIEEXRZ AR L.
The suspensions (or buffers, or level compensators) are used to keep the suction cups in position as the robot approaches.
CRG offers a range specifically designed for Plastics applications.
They are typically mounted on EAOTs (End Of Arm Toolings)with Mounting brackets. Bs
TE
HEBERNEM RN ERNEMY H3
Suspensions with smooth body Suspensions with threaded body % £
VERT £
VFN VENT
VFE VFET
(s
e
s
3
o
3
| )i St AT hEEE R s
Non-rotative suspensions Rotative suspensions 2
VENT VFRT
VFET
S =

CRG pAlS



6= e

aqnL SNS . 3|140.d

HE AR

3|NPOIA SIUBLS

S S

J9bueyd ydIND

il o
a|npo\ diig

ham 2 S0
JaddiN 11y

T KL

3|NPOIN WNNdep

-_3
=
e

syuauodwo?) A10ssa20y

217

JETThERE 21 Non-rotative Suspensions

FEORFOAT E PEAR B I A% .
AAEEREEENIIETHERET.
EJEE: -1~ 8bar, .

Pressure range: -1 ~ 8 bar.

Body and rod in anodized aluminum.
Non-rotative rod with high load capability.

M

_+>

Stroke S~

5B5(PN) ZHEE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g)
8.Y00064 VFN1011-M5 M5 M5 @10 10 22 17 8 60 11 79
8.Y00321 VFN1021-M5 M5 M5 @10 10 41 17 8 89 21 11g
8.Y00065 VFN1421-G18 G1/8 G1/8 214 12 40 20 12 93 21 249
8.Y00322 VFN1436-G18 G1/8 G1/8 214 12 60 20 12 128 36 449
8.Y00066 VFN2026-G18 G1/8 G1/8 @20 15 50 21 16 112 26 549
8.Y00067 VFN2051-G18 G1/8 G1/8 @20 15 84 21 16 171 51 80g
H
> >
F E 1718S
Stroke S
~—~f e )j
|| |
N A= n
>
RE(PN) #EIE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g)
8.Y00068 VFNT1011-M5 M5 M5 M10*1 10 22 17 8 60 11 129
8.Y00323 VFNT1021-M5 M5 M5 M10*1 10 41 17 8 89 21 39g
8.Y00204 VFNT1421-G18 G1/8 G1/8 M14*1 12 40 20 12 93 21 51g
8.Y00383 VFNT1621-G18 G1/8 G1/8 M16*1 12 40 20 12 93 21 649
8.Y00324 VFNT1436-G18 G1/8 G1/8 M14*1 12 60 20 12 128 36 729
8.Y00384 VFNT1636-G18 G1/8 G1/8 M16*1 12 60 20 12 128 36 769
8.Y00205 VFNT2026-G18 G1/8 G1/8 M20*1 15 50 21 16 112 26 829
8.Y00206 VFNT2051-G18 G1/8 G1/8 M20*1 15 84 21 16 171 51 1209
CcCRG



BhEsE 214 Rotative Suspensions

FORFOFFERBAR SR HI AL, Body and rod in anodized aluminum. Bz
AIHEREAT. Rotative rod. M;—h
ES5BE: -1~ 8bar, Pressure range: -1 ~8 bar. $|7_|‘;‘
G
H =z
© > - >
—4 S = > ﬁw
° F E 72 s 2%
D= 7@%
He
~J ' - ’
I ||
DN | N
M5HIEEE G1/8REE
M5 is blue G1/8is black w > Eg
o
BS(PN) BE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g) s
8.Y00060 VFR1011-M5 M5 M5 @10 3 22 17 8 53 11 119
8.Y00325 VFR1021-M5 M5 M5 @10 3 41 17 8 82 21 179 o
8.Y00061 VFR1421-G18 G1/8 G1/8 @14 12 40 20 12 93 21 23g ﬂg
8.Y00326 VFR1436-G18 G1/8 G1/8 @14 12 60 20 12 128 36 409 %_,%g_
8.Y00062 VFR2026-G18 G1/8 G1/8 @20 15 50 21 16 112 26 50g 5
8.Y00063 VFR2051-G18 G1/8 G1/8 @20 15 84 21 16 171 51 779
5z
H 2
lM
il
Stroke S
B
zs2
. AN ‘53
I |1| = K|'i frg
M5 A G1/8A%BE 3 T N £
M5 is blue G1/8isblack - Y >
55 (PN) #S(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g) Eﬂ;g
8.Y00074 VFRT1011-M5 M5 M5 M10*1 3 22 17 8 53 11 14g 2
8.Y00327 VFRT1021-M5 M5 M5 M10*1 3 41 17 8 82 21 269 i
8.YO0075 VFRT1421-G18 G1/8 G1/8 M14*1 12 40 20 12 93 21 32g S
8.Y00381 VFRT1621-G18 G1/8 G1/8 M16*1 12 40 20 12 93 21 369 §
8.Y00328 VFRT1436-G18 G1/8 G1/8 M14*1 12 60 20 12 128 36 60g £
8.Y00382 VFRT1636-G18 G1/8 G1/8 M16*1 12 60 20 12 128 36 659 “
8.Y00076 VFRT2026-G18 G1/8 G1/8 M20*1 15 50 21 16 112 26 709
8.Y00077 VFRT2051-G18 G1/8 G1/8 M20*1 15 84 21 16 171 51 1049

CRG pAK



RS ENIETIEREE Non-rotative Suspensions With Integral Elbow Arms

%ﬂg BJ7E 0° F] +/-90°Z AARKTIRERAE. Itis possible to set continuously the angle between 0° and +/-90°.
e HMNERRS, External air feeding.
%Mé FARFIFF AR B HIAK . Body and rod in anodized aluminum.
g9 WESREENIIETTIEEET. Non-rotative rod with high load capability.
s ESEE: -1~ 8bar, Pressure range: -1 ~ 8 bar.
H
> >
%2 o
23 PN L *
0ol |[Y—-Ji=fed
% ~~— —I_"
‘ F 78S D
@] Stroke S
=
QI
:9&9 3. >
Hag ]

Q

5 B

@

. 55 (PN) B85 (Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g)
5!5_% 8.Y00070 VFE1011-M5 M5 M5 @10 20 8 22 8 53 11 12g
HE 8.Y00371 VFE1021-M5 M5 M5 @10 20 8 41 8 81 21 16g
He 8.Y0O0071 VFE1421-G18 G1/8 G1/8 @14 32 14 40 14 93 21 45g

® 8.Y00372 VFE1436-G18 G1/8 G1/8 @14 32 14 60 14 128 36 48g

8.Y00072 VFE2026-G18 G1/8 G1/8 @20 35 14 50 14 111 26 709
8.Y00073 VFE2051-G18 G1/8 G1/8 @20 35 14 84 14 169.5 51 105g
5z
Wz
LS
72 X H
G M 5%
|
>* T *>
N
[ -®Pp T— 1D
S ~—",
|
BS o F 718s D B
EES Stroke S
EE
s o5
g =g %
o~
o
B
2
2

S RS (PN) FIE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g)

o 8.Y00069 VFET1011-M5 M5 M5 M10*1 20 8 22 8 53 11 15g

g 8.Y00374 VFET1021-M5 M5 M5 M10*1 20 8 41 8 81 21 244

2 8.Y00228 VFET1421-G18 G1/8 G1/8 M14*1 32 14 40 14 93 21 57g

Z 8.Y00379 VFET1621-G18 G1/8 G1/8 M16*1 32 14 40 14 93 21 649

8.Y00375 VFET1436-G18 G1/8 G1/8 M14*1 32 14 60 14 128 36 80g
8.Y00380 VFET1636-G18 G1/8 G1/8 M16*1 32 14 60 14 128 36 85¢g
8.Y00229 VFET2026-G18 G1/8 G1/8 M20*1 35 14 50 14 111 26 88g
8.Y00230 VFET2051-G18 G1/8 G1/8 M20*1 35 14 84 14 169.5 51 1259

Akl CRG



EEEERIERTIEE S Non-rotating suspension for fixed piping

P ERR FABER £85I A% . The product is made of anodic aluminium.
NEHEERNEE, Built-in anti-rotation plastic piston.
NERETNRERE SN, Built-in telescopic function of spring reset,

EBHETHSEERRIT. tail vacuum intake fixed design.

718s

[ Strokes |

J

(=] —|
Ar i _+ A
E F G
m <| O
i = 7<)
! j i
LA 777
H

#£E(PN) #EE(Model)

Weight(g)
8.Y00313 VFC2030-G18 G1/8 G1/8 @13 ©20 8 85 40 133 18 12 30 60

17%2S

Strokes |

J

m <| O
7 yim % A 74 )
| | I
A 277
I,
H
£RE(PN) #EIE(Model) A B (@ D E F G H | J S Weight(g)
8.Y00277 VFCT1620-M5 M5 M5 ®8 M16X1.0 5 69 26 100 @145 7 20 42.7
8.Y00314 VFCT2030-G18 G1/8 G1/8 ®13 M20X1.0 8 85 40 133 @18 12 30 80

CRG

MR3y | (hE

3qnL SNS . 3|l404d

S S

S|NPOA SIUdIS

SR

J8bueyddind

T HE MK
a|npo diug

ham 2 2000

JaddiN 1y

B g

3|NPON wnNndep

~
=

syusuodwo?)) A10ss8d0y

220




S&KMIEER The Adsorption Of Pneumatic Fittings

Ths -
ZE
me b F s
=) = Pneumatic Cylinder Motion Air Inlet
o
° D
17128
Stroke S
%7
I
s .
| IRBHS
RO sorption Air Inlet
23
o A TRBIRREREE
E Suction Cup Fitting Assembly
Q
o
KE(PN) EE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) H(mm) I(mm) S(mm) Weight
*xQ 8.Y00207 VFG20-10 M5 ®20 ®12 19 18 M5 50 M5 10 35g
%; 8.Y00337 VFG20-20 M5 ®20 D12 19 18 M5 65 M5 20 45¢g
ﬁ:% 8.Y00338  VFG30-20 G1/8 P30 @20 27 27 G1/8 72 G1/8 20 709
W1k MfE& E Double action adsorption fittings
g2
#z
it
712
[a] &4
ensors can be installed
Absorpti;)n Ai;lnlet
Hs ° i8S
fﬁg troke
Zﬂg L T
fz o
o o [}
T, ™~ | L 5 o o j
Q. o] G
i = .
e Pammen d N\«
2 N
: 25
3 36
E B
S -
’ & o
. A AT I R 27
Suction Cup Fitting Assembly

E(PN) E5(Model)

8.Y00451 VFGD30-20 G1/8 ®20 27 27 G1/8 32 ®30 95 M5 40 M4 20 198.2¢g

CRG



kE£E Suction Stems

BSERIAE ms
Model representation methods 5
ne
EU\
VFRS 120] [m10] - [m5] =
—_— o
R &R AL AT
51 Vacuum Cup Fitting hole for fastening
Series M5 G1/8
/51 Strok ZERT 5]
1372 Stroke Installation size *E%
M10 M17 g
G F 175188 . E .
ili‘llll —_ — +
=a2 | — e
23
g
[ [ > 2
(
H B3
UEES
Q.
BS(PN) #5(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g) ﬁ:%
4Y00026 VFRS-20M10-M5 M5 M10*1 M5 14 7 36 10 73.5 20 279
4.Y00023 VFRS-20M16-G18 G1/8 M16*1 G1/8 21 4 36 15 77 20 769
5z
H 5z
} T T
& D J=z0
? ELS Stroke'S Q E§
H3
fiz
&RE(PN) #E(Model) A(mm) B(mm) C(mm)D(mm) E(mm) F(mm) G(mm) H(mm) I(mm) S(mm) Weight(g) e
1.Y01452 VFM-4014-G18 @14 G1/8 G1/8 25 14 20 16 100 @20 40 48g ®
1.Y01451 VFM-2020-G14 @20 G1/4 G1/8 48 15 26 22 113 @27 20 1369
M2
He
s
o
3
— g
A ] B
= T
| L
@ |0 —
A
5 5(PN) S (Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) Weight(g)
1.Y01453  VFL-20M17-G18 20 M17*1 G1/8 27 64 20 G1/8 119g

o




6= e

aqnL SNS . 3|140.d

HEE S A Xt

a|Npo 51U31S

SRS

19bueyd ydind

I HE
a|npo\ diig

b b2 22 )

JaddiN 11y

B R

3|NPOIN WNNdep

-3
=
e

syuauodwo?) A10ssa20y

223

kE&E Suction Stems

@
gl
-

1718S
Stroke S A
|
<
$a~2 o p g 8 =]
O @u Bz.é
e rfrs = Y
B

85 (PN) #I5(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) [(mm) S(mm) Weight(g)
8.Y00319 VFMT-20M14-G18 G1/8 G1/8 M14X1.0 40 22 49 14 109 38 20 979
8.Y00320 VFMT-40M14-G18 G1/8 G1/8 M14X1.0 40 22 64 14 144 50 40 1239

G, F , fTFES | E _
Stroke S

RESEE S
Removable spring
A
T Q m 12 R Q A tll< b,
[ l
A 5 N
o U U T T Y s
H
85 (PN) IS (Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) I(mm) S(mm) Weight(g)

8.Y00409 VFHT-30M20-G38F-G18M G1/8 M20*1 G1/8 27 20 65 15 130 G3/8 30 260g

*RIEPPERN, FTAERZMEIATN-18N, REWHHB, FTEEAZMESIFI60N-150N
*Wheninstalling asingle spring, the pressure it can bearis 7N-18N. When installing the double spring, the pressure that can bearis 60N-150N.

78S E

L )
Stroke S

G F

A ;
Removable spring A
1R R B R
I 1
Ty UL
o >|—
H
55 (PN) BE(Model) A(mm) B(mm) C(mm) D(mm) E(mm) F(mm) G(mm) H(mm) I(mm) S(mm) Weight(g)

8.Y00410 VFH-30M20-G38F-G18M G1/8 @20 G1/8 22 20 65 15 130 G3/8 30 235¢g

*RAE P MER, FTAEASZNESIATN-18N, RENHEHDT, FTaAEAZHEIIH60N-150N
*When installing a single spring, the pressure it can bearis 7N-18N. When installing the double spring, the pressure that can bear is 60N-150N.

CRG



kE£E Suction Stems

BSERAE H
Model representation methods - ®
VES |T| - |30 M10 igg
| l— 12 ~ g
M I2F R~
2y __ M Thread type
Series e i
7 E#EE Non Cylindrical type 1772 Stroke H @
T $2ZFAI T Thread type 2%
=2
h
H
D=2
AARRAMAANL 'S mo
” !’IIUUUW!Iléw” m }ﬁg
g o ~
¢ o] StrokeSS L 3
H S
D=2
AAAAAANR [9)
S i j? %3
o VAR zﬁ\z
VFST VFS ¢ TS E g3
c StrokeS %
5 (PN) #S(Model) B(mm) C(mm) E(mm) F(mm) G(mm) H(mm) S(mm) Weight(g) s>
8.Y00283 VFST-5M10 M10*1 18 5.5 o7 @23.4 49 5 149 E}J;
8.Y00284 VEST-10M10 M10*1 18 585 Q7 ?3.4 54 10 15¢g E:,Ug
8.Y00285 VFST-20M10 M10*1 18 5.5 o7 23.4 64 20 15¢g IR
8.Y00286 VEST-30M10 M10*1 18 5.5 o7 3.4 74 30 169
8.Y00287 VFS-0508 28 18 5.5 o7 @3.4 49 5 9g
8.Y00288 VFS-0512 212 18 5.5 Q7 @3.4 49 5 139
8.Y00289 VFS-1008 28 18 5.5 o7 @3.4 54 10 99
8.Y00007 VFS-1012 212 18 5.5 Q7 3.4 54 10 149 %fa
8.Y00290 VFS-2008 28 18 5.5 Q7 3.4 64 20 109 fﬁg
8.Y00008  VFS-2012 212 18 5.5 o7 03.4 64 20 149 fz
8.Y00291 VFS-3008 28 18 5.5 a7 3.4 74 30 11g §
8.Y00292 VFS-3012 212 18 5.5 a7 3.4 74 30 15¢g o
8.Y00293 VEMT-5M12 M12*1 18 9 211 4.6 52.5 5 209
8.Y00294 VEMT-10M12 M12*1 18 9 211 4.6 57.5 10 219
8.Y00295 VFEMT-20M12 M12*1 18 9 211 4.6 67.5 20 229 (T
8Y00296  VFMT-30M12  Mi2*1 18 9 011 04.6 775 30 249 i
8.Y00297 VFM-0512 212 18 9 211 4.6 52.5 5 15¢g §
8.Y00298 VEM-0520 @220 18 9 211 4.6 52.5 5 299 3
8.Y00299 VFM-1012 212 18 9 211 4.6 57.5 10 169 _%
8.Y00300 VEM-1020 @220 18 9 211 4.6 57.5 10 29¢g S
8.Y00301 VFM-2012 212 18 9 211 24.6 67.5 20 189 g
8.Y00302 VFEM-2020 @20 18 9 211 24.6 67.5 20 319
8.Y00303 VFM-3012 212 18 9 211 4.6 77.5 30 199
8.Y00304 VFM-3020 @220 18 9 211 4.6 77.5 30 329

CRG prl!



Compact 20CE EFE & 428 Compact 20CE Vacuum Generator

%ij B K428 Vacuum Generator  [f& valve
o " o BEPiab SEESHES CETEMIRSE o WSHEETE
= b7 Configure Piab multistage Integrated electric Blowing flow
CE,' vacuum generator vacuum and blow-off control valve
® valve
EZ{ER%E] Vacuum sensor
> o IR EE AP RIFERAENETEREE, SEEicmERE=elinA,
Ba g Vacuum sensor with user-friendly interface or reserved vacuum detection
=2 port is optional.
2H§
& &R IZ1T Modular design HRIESL Quick connector
o ZRATRERTIRENEI o ATECESMmMEE 10mmATRIEREL.
TN, HIEHERRENNEE.
o The multistage vacuum generator 8mm or 10mm quick connector
# < can be disassembled, cleaned and can be configured.
) replaced, and the troubleshooting
n::’_ is simpler.
S
o EERALKMEKANTEA The wire's length is 2 meters
5!5_% S (PN) = (Model) B (Type)
|\
ﬁg_ 1.Y13062 |COMPACT 20CE PNP PNP
° 1.Y13063 |COMPACT 20CE NPN NPN
52
#z
it
712
Com pa ct20CE ;ﬁ*%%ﬂ/Compact 20CE technical parameter
BS
Zﬁég B Vacuum technology ZRET KHRE Multistage vacuum generator
H=
g TYESIRES (Mpa) Working air pressure 0.38~0.6
BRAETHRE (NL/S) Maximum Vacuum flow 2.4
B 2 BaEZTE (-Kpa) Maximum Vacuum level 84
5
% 582 (NL/s) Air comsuption 15~22
§ T/ERE (°C) Working temperature -5~50
3
z R< (mm) Size 94x78x30
12 (dBA) Noise level 57-68
HZ[OR Y Vacuum port size G3/8"
#EE (9) Net Weight 370
B ZS{&/488 Vacuum Sensor PNP/NPN
EBH %) Solenoid Valve NC/NO
JHFEINER Power consumption 24V+10% VDC,2W

CRG




Compact 20CE EEz=4& 438 Compact 20CE Vacuum Generator

Compact 20CE E=REFERSER T E

Dimensional drawing of Compact 20CE Vacuum Generator and Sensor

MR3y | (hE

3qnL SNS . 3|l404d

S S

S|NPOA SIUdIS

SR

J8bueyddind

T HE MK
a|npo diug

ham 2 2000

JaddiN 1y

B g

3|NPON wnNndep

~
=

syusuodwo?)) A10ss8d0y

CRG prid



Compact 10CE &t BT A 428 Compact 10CE Integrated vacuum generator

R FTERRRYEE AT T -

w
7= =
.® e =R (20C[68F] +3C[5.5F]),
e
%DE o FREKXKSE(101.3[29.9inHg] + 1.0 Kpa [0.3 inHg]).
g o HENHRE: 35-85%, Kbk
o E4EFESJHEE, DINISO 8573-1 class 4 ¥Rk,
% Values specified in the data sheet are tested at:
fg% o Room temperature (20 C[68 F] £ 3 C[5.5F])
2H§_ e Standard atmosphere (101.3 [29.9 inHg] + 1.0 kPa [0.3 inH(g])
g “EEE LMK RFEAHK The wire's length is 2 meters o Relative humidity: 35-85%, non condensation
o = e
LS & SModel) 2B (Type) o Compressed air quality DIN ISO 8573-1 class 4 standard
1.Y13064 COMPACT10E PNP PNP
RO 1.Y13279 COMPACT10E NPN NPN
23
al ;§*§§ﬂ/Technical data
@ 1588 Description BA(] Unit {8 Value
HEFFHSES] Recommended feed pressure Mpa 0.5
5!5_5 ERAIHSJES] Feed pressure, max. Mpa 0.7
Az
14:% RSB Temperature range °C 0-50
EE* Weight* 9 74
Wl ) PA, AL, CuZn, PE, NBR, PC, SS, TPV,
sx Material FKM,Steel, Glass epoxy
2z 18 MASBER A THIRESROE . e
Jle Noise level range of 1-8 vacuum channels
&, [E48ZS Connection, compressed air - @6 HEANTUIERESE 26 push-in connector
i%E#E, EZ Connection, vacuum - @6 HENTVIERZES 96 push-in connector
BS *) AR EEFNEEHTESREL, *) Note! The weightdoes notinclude the cables thatareincluded in the shipping.
ZEE K& J#& 1R/ valve module
#i 1588 Description EA{] Unit {8 Value
5 NN ) NC EZEF + NCIRSEHF
#Ei"JIIRE Valve function - NC vacuum normally closed +NC blowing normally closed
FBJRER/E Supply voltage VDC 24 (21.6—26.4)
4 >
Egﬁ THER power W 3.5
% Mg Mz At E] Response time ms <3
[e]
g B3 S&#E Electrical connection - Supplied cable, Red (+) Black (-)
>
Z EH=ERXEE/vacuum sensor
iBH Description EB{S Unit {E Value
. 12-24 £10%, il P-P 10% SHEE(T
FBIRFEIE Supply voltage vbC 12-24 +10%, Fluctuation P-P 10% or less
B miEFE(FotaEk) Current consumption (withno load) [ MA <40
Pk Switch output - NPN
Mg Mz A B Response time ms <25
B Analog output VDC 1-5 +2.5%FS.
EESJZE$% Electrical connection = JST PAP-05V

vyl CRG



Compact 10CE £ BT A4 28 Compact 10CE Integrated vacuum generator

e L
Eﬁ;ﬂ%/Vacuum flow %%
N
R FREZE (-kPa) FHUEZTE (NIis) BARDHE ne
eed pressure ir consumption per : . =
SR ST ey —n Vacuum flow (NI/s) under different vacuum degrees (-kPa) Max vacuum ﬁ;
Mpa NI/s 0 10 20 30 40 50 60 70 -kpa
0.50/0.40 0.23 0.26 | 0.24 | 0.19 | 0.14 [{0.088 |0.063|0.045 [0.023 84
=2
L
MBS AYE)/vacuum time Eg
——a
HSENETR/HEE ’Ekﬁfﬁ/ﬂﬁﬂﬁﬁ’ﬂéﬁiﬁﬁﬁ KEIFEEZE (-kPa) HomSATE BEAETE d
Feed pressure siicansdinLHenbEe Pumping time to different vacuum (- kPa) Max vacuum
vacuum pump/nozzle pump /nozzle
Mpa NI/s 10 20 30 40 50 60 70 80 -kpa
0.50/0.40 0.23 040 | 0.87 | 1.49 | 238 | 3.71 | 557 | 8.52 |15.44 84 %‘;’.
5
a
9|‘H3RTJ'/Dimensions ®
%2
15488 Description EA{Y] Unit {8 Value %g
ZH o
A mm 1136 fre
oD mm D6
OE mm ®6
5>
#z
BU T
fg & Configuration {E Value ok
a 26 HENTUERES
@6 push-in connector
BS
B3
#‘rg
M2
e
)
<
[a)
o
3
el
S

ﬂ-mg%,.%/omering information

1iBH Description = EA{KAS Product code

COMPACT10E, BEE=RE (micro), B/, BREIMEHFHE, NPN, 06 AR EESS,

1188, O6HEANTERER SERNESER NCEZER + NCIRSEF

COMPACT10E, ultra high vacuum flow (micro), display screen, analog and digital output, NPN, @6 push C10E.T.BB.6.1.6.EJ.CC
in connector, 1 channel, @6 push in connector, integrated muffler, NC vacuum normally closed + NC

blowing normally closed

CRG PPk



MRS , X[

aqnL SNS . 3|140.d

HEE S A Xt

S
3|NPOIA SIUBLS

19bueyd ydind

I HE
a|npo\ diig

b b2 22 )

saddiN 11y

T HHmt
3|NPOIN WNNdep

syuauodwo?) A10ssa20y

229

VLCLASSIC XI x 2 BExA&458 VLCLASSIC X1 x 2 Vacuum Generator

2 S(PN) BE (Model)
1.Y13065 |VLCLASSIC XIx 2
ME/Summary

o BTRERERRA.

e EFKEETERIX 95 -kPa HESE MEHUERE.

o BERTHEERETENTSEMA.

s ABETE, TREH 1 E6 METREEWEFE, VLCLASSIC
ALBRR/NNEEREMIARAEASE.

o BI5, AJECERIFIRIRIGIZIT.

o ZTREN4ER,

o High efficiency and energy saving generator technology.

© The vacuum generating tube can provide high flow rate under the vacuum
degree up to 95 - kPa.

o Suitable for non permeable applications requiring high vacuum.

e Large capacity range, 1 to 6 vacuum tubes can be provided. If necessary,
viclassic can be easily upgraded from smaller capacity to larger capacity.

o Lightweight, configurable and modular design.

o Easy to disassemble and maintain.

'Eﬁg/Performance

Y# Materiel CuZn, NBR (FKM), PA, SS, Al

IE2EF Noise level
RSB Temperature
EH = Weight

IHE 2R EE = Muffler weight

BRAHSESD

Feed pressure, max.

0.7 MPa

REHSED
6469 dBA F:e:(Ii: pre_sbsure, optimum 0.45 MPa
5509 qf\b%?i/Aerodynamic parameters
1209 AEBAFH Internal volume 140 cm3

Erﬁi‘"“}ﬁ%/Vacuum flow (NI/s)

EZRE (NI/s) @R=E (-kPa)

BRARTE

HSESD BSE

Feed pressure  Gas consumption

Mpa NI/s 0 10
0.45 3.66 11.8| 6

Vacuum flow(NI/s) @ vacuum (- kPa)

Max vacuum

-kPa

1.46 | 1.16 | 0.86 | 0.64 | 0.36 | 0.06 95

HESBF |/ Exhaust time (s/1)

HSESD ESE

Feed pressure  Gas consumption

Mpa NI/s 10 | 20
0.45 3.66 0.011{0.031

HESAIE) (s/1) E=E (-kPa) RAETE
Exhaust time (s / L) Vacuum (- kPa) Max vacuum

30 40 50 60 70 80 90 -kPa
0.06 | 0.11 | 0.19 | 0.29 | 0.42 | 0.6 1.1 95

SUERATTERARYEE AT H T

The values indicated in the data sheet can be tested:

Z=}& Room temperature

FRAEEKRSJE Standard atmosphere
SRR Relative humidity

[E4EZSRE Compressed air quality

(20 C[68 F1+3 C[5.5 F])
(101.3[29.9 inHg] £ 1.0 kPa [0.3 inHg])
0-100%

DIN ISO 8573-1 class 4

CRG



PpilNLINE® vacuum generator MINI Si, E= &4 28 Vacuum Generator

* B EFIMCOAX QBRI RAR, He
<
© SHEREXERSRE. I
pird
o REEMEIRTT, FTERTESHERTSHEARE M. B3
o
o
o EFEENE FIRETS(ERR.
o FIFRRINEZSIRATSIIERT.
o BFER N TS IAEAPIEE s
2
° BEERERESHIOXIEE, s
“—a
o Patented COAX® cartridge technology. B
e High vacuum flow capacity in relation to energy consumption.
o Low weight inline design with push-in fittings for vacuum and compressed air.
e Quick and easy installation directly on the hose. Eg
o Si cartridge for extra vacuum flow. A
>
o Pi cartridge for high performance at low feed pressures. é
o
o Xi cartridge when high flow and deep vacuum is needed. h
%2
9|‘H§RT_|'/Dimensions %2
fHo
Q.
A (s =
A
52
iz
s
C D VAR
HSO HSA
6 6
®8[5/16"] ®8[5/16"]
'S
z=2
3
pilINLINE® vacuum generator pilNLINE® vacuum generator {¢§
BS (Model) MINI Si, 6-6 mm MINI Si, 8-8 mm e
o
S (PN) 1.Y13066 1.Y13067
E1& Diameter 19 mm (B) 19 mm (B) 5 >
HSOER Airinlet diameter 6 mm (C) 8 mm (C) #Fg
<
HE B2 Air outlet diameter 6 mm (D) 8 mm (D) g
el
o
< Length 96 mm (A) 96 mm (A) ]
Mﬁ/Summary 'riﬁglPerformance

FRRS (%) E12842188

#E5E Gas consumption 25.7 I/m (.9 scfm) Nl/s

Product number (optional)

8l Materiel CuZn, PA, SS, TBI&IR EAHSED

Feed pressure, max.

0.7 MPa
B & Weight 21.8¢g

CRXG PEN)



piINLINE® vacuum generator MINI Si, EZ &4 28 Vacuum Generator

=g B %72/ vacuum flow(Nl/s)
gng HSESD HAE BE=inE (NI/s) @E=E (-kPa) BRAETE
g2 Feed pressure  Gas consumption Vacuum flow(NI/s) @ vacuum (- kPa) Max vacuum
d Mpa NI/s 0 10 | 20 | 30 | 40 | s0 | 60 | 70 -kPa
0.6 0.44 0.69 0.55 0.42 0.28 0.23 0.16 | 0.12 | 0.08 75
2
2
BL
d:  HFSBFiE)/Exhaust time (s/)
HSED HRE HESESE (s/1) E=FE (-kPa) BAETE
Feed pressure  Gas consumption Exhaust time (s / L) Vacuum (- kPa) Max vacuum
Eg Mpa NI/s 10 20 30 40 50 60 70 -kPa
g 0.6 0.44 0.16 0.37 0.66 1.1 14 2.1 3.1 75
wo HUERFTIEBARVEERE TN
%; The values indicated in the data sheet can be tested:
e
@ =& Room temperature (20 C[68 F]+3 CI[55 F])
KRS E Standard atmosphere (101.3[29.9 inHg] £ 1.0 kPa [0.3 inHg])
> FEXHERE Relative humidity 0-100%
%gz E4EZSJRE Compressed air quality DIN ISO 8573-1 class 4
J]2
BS
#H3
s
By &
g
3

2Nl CRG



BE=SHEA SCPSbZ% Vacuum Module SCPSb Series
FRERITHERRETAEBXASMeconozzleE AR, EAFFTEF[/ETHI R,

1] ©
The compact and lightweight integrated vacuum generator adopts high-efficiency eco nozzle technology, which is suitable for working conditions % S
under limited space. =
if
o
o
o
l = MHighlights I LB Advantage
-EMeconozzleF R -EREEREFEERD, MREEES "
ARG, MBEARETANER -RKENGMA; TEERREERERSL ,%g
-RERAGENE, UBHREEES - EEAREE, XS ?ﬁg
-PREREDO - EEEIMRL He
- AMHDINAR S HIEZRERED CRERE; WAHERETRERL s
FHREUEE 2 -IRESME, #iPEYElEIFRC, PSR
-Efficient eco nozzle technology - The compressed air consumption is very small, and the suction rate
-Small size, made of extremely durable plastic is higher
-Optimal fluid structure for efficient vacuum -The device is small and durable; it can be directly installed on the
generation handling system ,|-;&p:)
-Quick-pluginterface -The action cycle is extremely short, the frequency is high s
-Connecting port for DIN standard rail connection - Noextrascrews required :
-Open silencer -Simple installation; can also be installed directly on the distribution box 3>
-Low noise, long maintenance interval, low maintenance frequency a
o
EZREEMEKAAAK The wire’s length is 5 meters
%2
=+ S
&4 Structure L
ZH o
e
[ERSIE ®
icsuctionvalve
HEF%X (SCPSb-VDES) IR
vacuum switch (SCPSb-VDmodel) Pneumatic blow valve
52
oz
1S
EEE SO VAR
Compressed air connection
AR ES R
Openssilencer
BT
WS ETIRET DINtR S HIEHEO <
Blow adjusting screw ‘ DIN standard rail connector E %)
z=2
Ny 0y 7 S S N, . S Y N <
EMAET K ELSCPSh-VDRAR LT BEERXETLZE2RSCPShalRARAHLLET H3
Theintegrated vacuum generator SCPSb-VD adopts a systematic Vacuum can be supplied centrally through the integrated vacuum {"F%
design. generator SCPSb. g
o
N Ny . >
FAS#E Technical Parameter o8
o
= = ME5 15 -O =RA:S B A T IR IR - RS X ) g—.-?,‘ = §
A ) p e leve B(A b d <
e 0% i 3 JRER ba smaE  Eoe 9
1.Y13276 [ SCPSb-07-504-NC-VD 0.7 85 16 22 116 61 58 2..6 4 4 0..50 §
1.Y13277|SCPSb-10-S04-NC-VD 1.0 85 34 46 116 73 60 2..6 4 4 0..50 ,(?D,
1.Y13278|SCPSb-15-S04-NC-VD 1.5 85 64 59 116 76 65 2.6 4 6 0...50 °

A RES BB RIF R A SE(ANR)A101.3kPa, SREFMEES51720°CRI65%5K 4 FTHEH,
*All flow parameters refer to the parameters under the conditions of ambient atmospheric pressure (ANR) of 101.3kPa,
temperature and humidity of 20°C and 65% respectively

EETSRE: KXFIS08573-1, 3-3-3%K, iTIEFER(40 um)EHH RS M.
*Compressed air quality: up to 1ISO 8573-1, level 3-3-3, filter grade (40 um) with or without oil.

(1) T¥EEH4barll Fo
(1) Working pressure below 4 bar.

CRG pEy



BEZSHE4H SCPSbZ%I Vacuum Module SCPSb Series

il
o
7= B
-® A,
we e
=) .
=g |_ : i
o
o
j B
e b ::
I | &
%2 -rem
22 = |
B = - -
o ! L
He T;—% 5
> A
L é |
)
:
Fri— ]
wme =
e SEEE RIHE

A Gas circuit diagram Dimensions

>

5

«Q

o]

o ZEK98#  Structural parameters
8o

ks me

ﬁ:é (Model)

o 1.Y13276 [SCPSb-07-S04-NC-VD | 18 | 18.6 | 4.4 6 6 2.6 | 77.5| 147 | 40.8 | 47.5| 16.5| 5.5 | 86.2(102.5| 81.4| 22 | 29.5|369| 16 12 12
1.Y13277 [SCPSb-10-S04-NC-VD | 18 | 18.6 | 4.4 6 6 2.6 | 77.5| 147 | 40.8 | 47.5| 16.5| 5.5 | 86.2102.5| 81.4( 22 | 29.5|369| 16 12 12
1.Y13278 [SCPSb-15-S04-NC-VD | 18 | 18.6 | 4.4 6 8 2.6 | 77.5| 147 | 40.8 | 47.5| 16.5| 55 | 86.2[102.5| 81.4| 22 | 29.5(369| 16 12 12

5>
iz
BUDO
59T
Jie
BS
z=2
=
=
e
)
By %
e

w

o

2

0

[e]

3

©

o

=]

o

El

ekl CRG



/O 48 1/0 Module {§5& Signal Boxes

- y ©
Z13i% g i
Structure description %MZ
G
INEBENES 1-8, £ 84H, 24V.X1,0V = =
Outside input signal 1-8,A total of 8 sets, 24V, X1,0V 3
E BIFBA DC2AV ﬁiﬁ%ﬁ@ﬁka x5
& Power input DC24V | Single signal output, = ;’
v Correspond to X1-X8 18 =
v 8 YA EREkG LR respectively H g
YPN:OV @t YNP:24V g < =
NO: Bt COM ®
_ NC: EiigH
8 sets of tandem output types
— YPN:0V output YNP:24V output
£ I NO: normally open output, COM
£ £ NC: normally closed output
™ < me
< 0 }ﬁ a’r
8 EXIRIE ST al
8 sets of corresponding signal indicator light o
82mm = a
124 4-@5.2 z 2
mm &
N
ERRETAT £
Power light E.%
eV 8.Y00087 IS, <:O = ?E g
= _ _ ANESE c
gz?(M Odel) ASC-8A-B Input signal type change ©
o
z
o
L _ E
BRI 755
Output light 712
Operation description
. _PNP_ .
“—com | O ol|o |com ™
PNP OUT = i =2 EE%&
X1 O i @) X8 —= SENSOR
5 4v | O O] 1©]| O 24V -1 Electrical parameters BHs
PNP e R3S NPN NPN 5 Bigs z=2
PNP =4\ = =2 Bafy |s
COM O — 6 O COM s _ minimum | Recommend Maximum Unit ¥E 2
. i - BEEE 20 | o 28 v z
PNP TWO WIRE x2 | O o X7 Fm = 2
= 24V O O O 24V Value of effective current at input ®
2LEPN P 1 k28 NPN 2ENP NG L {2 RO ERHBARE 100 mA
PNP Transistor Output Maximum Load
coM | O O]l © | com AR AN (AT 0.5A@125VAC
i BY PASS TRaE) 1A@24VDC >
X3 O O X6 Relay Output Load Capability (Resistive Load) Eﬁ a
T 3
24V o o o 24V ?Aiazicmﬁu;me;%vt%hin frequenc 8D Hz g
— BN NPN — BN AT S
)
A o
IhgEi5 BB 3
o
Function description ]

1 BRENMERR BN —IRERRINEABREE, BUHMBEIREGR, SETANEE. KRSEHRHE, TESAFTERIE.

2mHRBAAIEE, BAIAINPN,PNPNC NOMFEHAZ.

SLATLABIRIMEIE S, MMENAYE S KB N 2R AISCPRasEY.

ARTMBRFNRENBABELCAE, LREHARE.

5.RANEE S HEBAFRS, TR ARSHEREEN, BEERRMIFNTE.

1. To solve the problem that the power supply of multiple sensors is not connected as one line, the problem of space
occupation is cancelled. The maximum 8 groups can be used, and less than 8 groups need to be shorted.

2. Output types can be changed at present for NPN, PNP, NC, NO, and four output forms.

3.You can also crawl the signal individually, and grab the signal type for the actual type of sensor.

4. Observe the induction state of each inductor and the status of the output.

5. Types of sensors and output is not available, skipping type conversion, minus the replacement work of the sensor.

CRG




DEE Junction box

A MR B, BE Housing material:Nylon/Black
M2 PRIZ R EHRER Coupling nut:Brass/Nicket
%M; SHETPUMTR 26 Contact carrier:TPU/Black
34 R EES Pin:Brass/Gold
g BhIRELR:IP6T IP degree:IP67
a2:10~30VDC, 6 AR RBRE, 2AZ (B A3 E LED 10mA Load:10~30VDC,2 A/port, 6 Atotal,LED 10mA
{ERNEIRE:-30...+480°C Temperature range:-30...+80°C
%% BAi@iE PNP NPN Single channel PNP or NPN
B2
1 2
2H§
®me
23
9
BSRTRRLE

Model representation methods

I HE

a|npo\ diig
|l
—
||
—H
——] !
—
\ ~

REDKE

—lE

Standard Junction box QPRED&E ETIIZY 5
ort number Number of pins D2 EHH2mE4s
5z o M12 EEH
Mz o OZEERE P PNP M16 EE,
E:_',J'% Port link type N NPN Connection Type
J]e D2 Cable connection 2m
M12 M12 vertical connection
M16 M16 vertical connection
RE(PN) EE(Model) £ (Type) EE(Weight)
4.Y00487 AJB4M8-3P-M12 PNP 110g
Hs 4.Y00488 AJB4M8-3N-M12 NPN 110g
zs 2 4.Y00491 AJB8M8-3P-M16 PNP 120g
H3 4.Y00492 AJB8M8-3N-M16 NPN 120g
1¢§ 4.Y00495 AJB8M8-3P-D2 PNP 3009
= 4.Y00496 AJB8M8-3N-D2 NPN 3009
iIZREEH) / Application example
1. EAJEE PNP NPN
By & 2. MERMARRER , WH—AES, LI " S8 " WHIEE (%)
i a 1. Single channel PNP or NPN
3 2. The four way input is effective at the same time, and outputs a set of signals to realize the output function of "and circuit".
§
S GR12-12CN(CP) AJBAMS8-3P-M12A
2 AJB4M8-3P-M12 GBD22HU

M8-M03T
GMHZ2-10D

GFR20-95G
I D-M9N

el CRG



M8PU4 O 4k&E M8 4 ports Junction

box

SNER B, B

PSIRR SR

SHETPUMER. 26

fibe EiRE S

BIFER:IP67

a2 10~30VDC,6 A B SR E, 2A73 (IR FT38E LED 10mA
{F RSB -30...+80°C

Housing material:Nylon/Black

Coupling nut:Brass/Nicket

Contact carrier:TPU/Black

Pin:Brass/Gold

IP degree:IP67

Load:10~30VDC,2 A/port, 6 Atotal,LED 10mA

Temperature range:-30...+80°C

og
dALls€]

l=—dAL[S €]

[®3.5]
MOUNTING HOLE
M3 SOCKET HEAD

+5 GYRE ;i’TLn; MINIMUM LENGTH
1 6 PNPPKML @
8 NPN RDA 3 2
E&GN > 4
8 -7 BUE® 4 1
WH1E|é BNzﬁé GN & YE & M12 5 8 3 1 M8
7
AJB4M8B-3P-M12 6
+5 GYR® £k /Joint
1 3 1 1(6 o) 1(6 o) 6 PNPPKMLE
2en o NV O\ e
3 3 pel B 8 NPNRD
! 3 -7BUE®
WH A& BN #568 GN &8 YE &8
AJB4M8-3N-M12 8EM 1 2B AT e i 28 3EMBHLIA O iR ik B8
8 pins M12 Field wirable connector 3 pins M8 Field wirable connector
. HBE(PN) 1.Y07461 RS(PN) 1.Y06722
ERiBIE PNP NPN =TI ELK8112-0/9 F=(Model) |IYEEYEN
SHOIBES
75 LED 8/R1T
FE M1 25508 StEIHESIE/Pinout
Single channel PNP or NPN
1 signal per port FLEE/Female
LED N 2
. BEMBIIF AT R LkiERERE  SETM 1 2TRiEER S 3
M12 vertical connector 3 pins M8 Field wirable connector 8 pins M12 pre-moulding Cable 1200 1WHBEE 5GY e
gk=0 4 2BN BB 6.PK OB
HE(PN) 1.Y13391 HE(PN) 1.Y07462 O-0 3.GN &% 7.BU K&
#S(Model) | YEEYLED SRR ELKs-2M/P00 7 6 D 4YE E& gRDUE
* BFFA 2 2K The wire length is 2 meters
5S(PN) EIS(Model) XA (Type) EE(Weight)
4.Y00487 AJB4M8-3P-M12 PNP 110g
4.Y00488 AJB4M8-3N-M12 NPN 1109
CcRG

MR3y | (hE

3qnL SNS . 3|l404d

S S

S|NPOA SIUdIS

SR

Jabueyd }dIND

T HE MK
a|npo diug

ham 2 2000

JaddiN 1y

B g

3|NPON wnNndep

~
=

syusuodwo?)) A10ss8d0y

236




M8/\5 O34 &E M8 8 ports Junction box

E MR R, B Housing material:Nylon/Black
S SRR IR Coupling nut:Brass/Nicket
o
%Iﬂ\ o FHETPUMER BE Contact carrier: TPU/Black
B9 mEEEEe Pin:Brass/Gold
e PR 1P67 IP degree:|P67
h#:10~30VDC 6AR B RsRE 2A7 (1B is&E, LED 10mA Load:10~30VDC,2 A/port, 6 Atotal,LED 10mA
FERNEIRE:-30...+480°C Temperature range:-30...+80°C 3
[%) 2 E
%t - -
Iﬁé bt
He iK}
&
_i A
E? < @ S 1
A s @ 38
n:::_ S [ |
. ®
& |
%2 -
B3 s
gE
He
® -
» MOUNTING HOLE
@ © M3 SOCKET HEAD
g 12mm MINIMUM LENGTH
2 PLS
+A/M BN/OR
g2 HeRe
2 L L j j j ,3 CPNP RD/BU
.%J.;i 1 3 1(0 3 1(0 3 1(0 3 1@0/0 3 1Qo/o 3 1Qo/o 3 1@0/0 3 D JE/Ee
NNPN GY/BN
4 4 4 4 44 44 44 444 mé/%é
24GN #,GN 24GN 2,GN 2,GN 24GN 2,GN #,GN
l l ! _; _Q _Q _g - L/U BU/TN
P J T s G R E o Eese
WHHEE  GN&& YE 8 GYME  PKBLE  RDA® BK B VT %8
Bs AJB8M8-3P-M16
g +AIM BN/OR
/85 BERe
H= » B B CPNP RD/BU
2 1 1 Q 1 Q 1 Q 1 @3 1 @3 1 @%L o @%z o qEEe
& 4 i 4 g 4 i 4 i 40:_3[‘][/}'GN 40:_3[5/3'GN 40:_f,]’5' D = D
NNPN GY/BN
ReRE
| l - L/U BU/TN
P J T s G R E o Eaige
By & WHEE  GN&S VE#® GYRE  PKMIE  RDUB BK B VT 8
g AJB8MB-3N-M16
3 E4iEiE PNP NPN Single channel PNP or NPN e
g HHO1KES 1 signal per port s 4
3 # LED BT LED c ’ , . M8
=]
] EEAM161EREES M16 vertical connector o U
v A L

3L /Joint

ETHIHESIE/Pinout

FLEE/Female
A.BN izt N.GY/BN r&/ixze
" . " C.RD/BU4I&/EE OVT #%&
145tM 1 6FREEEE 48 3EtMBHLI7 Al ek e as 3EtMBHLI7 Al ek Re Bs E.BK 2& P.WH B&
14 pins M16 pre-moulding Cable 3 pins M8 Field wirable connector 3 pins M8 Field wirable connector JG(PBE 22@ 223 gz
H#E(PN) 1.Y07463 HS(PN) 1.Y06722 HS(PN) 1.Y13391 L: BU E& T:YE =
i =IOV IeTe S DNLK14-14-2M/P0O0 A5 (Model) M8-M03T AE(Model) M8-MO03L MOR BeE U.TN B
* BTS2 K The wire length is 2 meters
55(PN) EE(Model) XA (Type) E8(Weight)
4.Y00491 AJB8M8-3P-M16 PNP 1209
4.Y00492 AJB8M8-3N-M16 NPN 120g
2wy CRG



M8\ H24E M8 8 ports Junction box

MR B, B Housing material:Nylon/Black A
PHEIRE E R Coupling nut:Brass/Nicket e
.
FHETPUMER. EE Contact carrier: TPU/Black Ho
C
e EES Pin:Brass/Gold g9
BAPELR:1P67 IP degree:IP67 3
Ak 10~30VDC, 6 AR EERARAT 2A B 738 LED 10mA  Load:10~30VDC,2 A/port, 6 Atotal,LED 10mA
{EREREERRE:-30...4+80°C Temperature range:-30...+80°C
(%]
%8
1= 2
. 45
=
< ©
. B2
3 o
s 0
>
s Y
Q
[
%2
E_i
UEES
e
o
9 +BN
) 5z
L » 11 PNP RD/BU z
1 3 1(o 3 1(0 3 1(o 3 1@3 1@3 1@3 1@3 D qE/ES %E
12 NPN GY/BN
4 4 4 4 444 44 44 44 7)—\’@1/%?@
GN GN GN GN ,}GN GN GN GN
> | $% | % | > _9 _Qs, _Qs, _Q& -
1 2 3 4 5 6 7 8 g )
WHHS GN & YE #& GY k& PK 4@ RD 4& BK 2 VT %6
AJB8M8-3P-D2 HS
=2
/3
9 +BN
N s
I I I 11 PNP RD/BU s
1 3 1Q 3 1Q 3 1Q 3 1@ 1@:; GN1 @gl,}en} @%&GN D qE/EE
¥ 7 GN ¥ 7,GN ¥ 716N ¥ 2,GN E]ZA;,GN [.])5' [ll 1
i ! ! 12 NPN GY/BN
4 4 4 4 4.——1 4»——1 4.——1 4——1 7}—\,@/&@1
10 - BU S
1 2 3 4 5 6 7 8 Ee %2
WHHS GN & YE &8 GY k& PK 4@ RD 4& BK 2 VT %68 8
<
AJB8M8-3N-D2 IS
3
e N . [, —_ °
EIEIE PNP NPN ##:3L /Joint ES&BE~EE Yo g
BHO1BES Singal Wire Cross-sectional M8 El
#5 LED BT Sketch Map 3 @

2mBEE 107 PVC &

BRRPE
Single channel PNP or NPN EtMBLA T etk Reee SEMBIUIA R IERERS G © '0) TWHES 7.BK B
1 signal per port 3 pins M8 Field wirable connector 3 pins M8 Field wirable connector @e @ o gss gz Z\B/Il i:
LED HE(PN) #S(PN) L] DO 4Gy XE& 108U E®

1.Y06722 1.¥13391 PR BB 1 ooy TE/ES
Black PVC wire with 10 cores in2m  [EA=(UEEENT|  M8-Mo3T ai5(Model) | IYEEYLED 6RD L8 12GyEN RE/AE
£ES(PN) S (Model) X8 (Type) EE(Weight)
4.Y00495 AJB8M8-3P-D2 PNP 3009
4.Y00496 AJB8M8-3N-D2 NPN 3009

* FREKER2 K ANTHRKE
* The standard length is 2 meters, which can be customized.



MEURER Miniature Regulator

ARJ210%&%] ARJ210 series

%{E
o KM EAE, EE(609)
e INUREEER/BOMRL)
B M5 (FIHRL) 2Fh 35 B,
o
° The body is made of aluminum, lightweight (60g)
IN side pipe connections are made with 1/8 (external thread)
M5 (internal thread) 2 types
g
B3
a3
Re
]a
Q
g
®
%
B9
HE
#e
s>
=z
73
7] 2 = » . :
A= (Model) ARJ210-M5
EEOR INf 1/8 (F-9MEZ)RMS5x0.8(M-PIELY)
Pipe Siz ouT M5x0.8 (F-pIHRL24k)
Hs fERRMR Fluid z=5 Air
zs g {RIEMIEFT Proof pressure 1.2MPa
ﬁé Re{#EHAEN MaximumOperating pressure 0.8MPa
g BEENBE 0.2~0.7MPa
& Set pressure range 0.2MPa: 0.05~0.2MPa
JEFIFEREOFR Pressure gauge connecting caliber M5x0.8(M-PIRLY)
RERERERRKRE _5.60°C
o > Environment and fluid temperature
i & H(kg) Weight 0.06
&
2
3 {NEt])EIZE Tube Cutter
o
2

BTFEmE. 2. F1ERE

EAERREEIERDR, ETEERETREEERDIR,
EREE., BHTE, E8(2489)

Special tool for cutting copper tube

Ease to use

Improve work efficiency

Durable,high-quality,weight (2489)

£S(PN) 1.Y02592

ekl CRG



£=E#EL Connector

PE

= = )
#®S(PN)  ES5(Model) A B F Weight
1.Y03145 APB-M3- @ 4 M3 4 2 5.5 3.5 4.5 0.6g
1.Y05008 APB-M5- @ 4 M5 5 2 6.5 3.5 7 1.4g
1.Y01986 APB-M5- @ 6 M5 4.5 2.5 7 4.8 7 1.79
B C

£RS(PN) EE(Model)
1.Y06794 APF-M3 M3 2 3 49 0.5g
1.Y02510 APF-M5 M5 2.5 4.5 7 149

15 y =

=] =

B S(PN) A5 (Model) A B C Weight

1.Y00462 APF-G18 G1/8 8 5 3.0g

1.Y00463 APF-G14 1/4 9 6 6.2g

D
T
N MM
| ® zpﬁ
I
B
£5S(PN) A5 (Model) A B C D H EE
Weight
1.Y13282 APBL-M3- @ 4 M3 9.5 4.5 5 9.5 0.8g
1.Y13283 APBL-M5- @ 4 M5 15.5 8.5 7 15 4.59
1.Y13284 APBL-M5- @ 6 M5 17.5 9.5 8 16 6.69
1.Y13285 APBL-G18- @ 6 G1/8 20 9 10 21.5 13g
CG

MR3y | (hE

3qnL SNS . 3|l404d

S S

3|NPON SIUS3S

SR

Jabueyd }dIND

T HE MK
a|npo diug

ham 2 2000

JaddiN 1y

B g

3|NPON Wnnoep

-~
=

syusuodwo?)) A10ss8d0y




3L Connector

KQ2&%!I KQ2series

IJ o » N [
%g B L KQ2H (B E)
%D\m‘ Straight connector :KQ2H(gasket seal)
2
£
&
(%)
2 ;
ZH 9 proy = = TERRIBEL
g BSPN)  BSMode) TG oo
2 1.Y13101 | KQ2H02-M3G | M3x05 7 55 156 13 119 - 0.9 12 1.5g
1.¥13102 | KQ2HO2-M5A | MS5x08 7 55 138 1038 119 - 0.9 14 29
I 1.Y13103 | KQ2H23-M3G_ | M3x05 7 67 17 14.4 133 0.9 0.9 12 249
5 ' 1.Y13104 | KQ2H23-M5A | M5x08 7 67 173 143 133 3 25 25 279
E < 1.Y13105 | KQ2H04-M3G_| M3x05 8 77 17.1 145 133 0.9 0.9 12 2.99
~ o4 1.Y04451 | KQ2HO04-M5A | M5x08 8 77 177 147 133 4 4 25 339
z 1.Y13106 | KQ2HO4-MEA | M6x1.0 8 77 187 147 133 4 4 3 3.69
3 o6 1.Y04452 | KQ2HO06-M5A | M5x08 | 10 97 17.7 147 133 4 4 25 41g
s 1.Y13107 | KQ2HO6-M6A | M6x10 | 10 97 188 148 133 4 4 3 449
*xQ KQ2&7% KQ2series
BT EDEESUKQH (@A)
= (e} .
e Straight connector:KQ2H(sealant)
o
@D EEET
e
% ):> < s L ; Il
iz - H
L 7hc] i
73 Ry
(FEEESF)
. i BEEER =
EAE - g H | o=
]7??2 ﬁwr?n £BS(PN) EIE(Model) &%&2 S (RERD) : i LR Wei?ht
24 B
EHs 32 1.Y13108 | KQ2H23-01AS 1/8 10 6.7 14 109 133 34 29 25 6g
Z2 ' 1.Y13109 | KQ2H23-02AS 1/4 14 6.7 16.7 12 133 34 29 25 153g
= I 1.¥03599 | KQHO40IAS | 1/8 10 77 143 112 133 5.6 4 3 5.6¢
= 1.Y05147 | KQHO4-02AS | 1/4 14 77 167 12 133 5.6 4 3 14.6g
& 1.Y13110 | KQ2HOG-01AS 1/8 10 9.7 184 153 133 131 104 45 5.8¢
® 26 1.Y07090 | KQ2H0G-02AS 1/4 14 9.7 167 12 133 131 104 45 12.5g
1.Y05164 | KQHO6-03AS | 3/8 17 9.7 18.1 13 133 131 10.4 45 24.5g
1.Y07162 | KQ2H08-01AS 1/8 14 122 25 194 142 26.1 18 6 119
28 1.Y05101 | KQHOB02AS | 1/4 14 122 22 173 142 26.1 18 6 13.9¢
By & 1.¥02228 | KQ2H08-03AS 3/8 17 12.2 18.1 13 14.2 26.1 18 6 21g
e 1.¥13111 | KQHI0-0IAS | 1/8 17 | 146 | 238 | 207 | 156 | 261 | 261 6 169¢
2 10 1.Y07142 | KQ2H10-02AS 1/4 17 146 273 26 156 | 415 | 295 75 2.1g
o 1.Y07632 | KQHI0-03AS | 3/8 17 146 235 184 156 | 415 | 295 75 22.5g
3 1.¥13112 | KQ2HI0-04AS 1/2 22 14.6 223 159 156 | 415 | 295 75 44.7¢g
S 1.¥13113 | KQHI2Z0AS | 1/4 19 17 287 24 17 583 | 461 9 24.3g
g 712 1.¥13114 | KQHIZ-03AS | 3/8 19 17 259 2038 17 583 | 46.1 9 25.2¢
g 1.Y13115 | KQ2HI2-04AS 1/2 22 17 23 159 17 583 | 46.1 9 37.7g
1.¥13116 | KQHI6-02AS | 1/4 24 2138 325 2738 206 583 | 46.1 9 37.4g
216 1.¥13117 | KQHI603AS | 3/8 24 2138 33.1 28 206 81 67 11 424g
1.¥13118 | KQ2H16-04AS 1/2 24 2138 321 25.7 206 113 67 13 44.6g
X RIBEUTNEHISERT

X R reference dimension of R thread after screwing in

CRG



3L Connector

KQ2&% KQ2series

. 1y ©
EiEEE: KQ2H =T
Straightjoint: KQ2H . - %

2xESEF e
e — 'S
g("/'""_'"..’"'_'"V_) o 5
Q| ()_L ----- ] -_0 S o
YIS Y
L
oA
i (]
EAE BREER £z
1= mm z
4ME mm RaE 4 §'
22 1.Y13119 KQ2H02-00A 5.8 24.8 11.9 - 0.9 14 0.89 B
232 1.Y13120 KQ2H23-00A 7.1 27.6 133 34 2.9 25 14g
o4 1.Y13121 KQ2H04-00A 8.2 276 133 5.6 4 3 1.69
26 1.¥13122 KQ2H06-00A 104 27.6 133 131 10.4 45 2.1g
28 1.¥13123 KQ2H08-00A 13.2 29.4 14.2 26.1 18 6 3.7g o
210 1.Y13124 KQ2H10-00A 15.9 322 15.6 415 29.5 75 5.5 s
212 1.¥Y13125 KQ2H12-00A 185 35 17 58.3 46.1 9 8.29 x
216 1.Y13126 KQ2H16-00A 23.8 422 20.6 113 67 13 15.2g §
* oD REKER. 3
* @D are maximum diameters.
o3
. B3
KQ2&7%! KQ2series iﬁ z
N ZH o
SEHBEE: KQ2H e
. . o
Special type through connection: KQ2H
EEEFO EEETO
S TG
e CHE - ] __) 8 5 :;
=z
M M2 EEE
L 7] 2
ﬁ&ﬂﬁzﬂ@%ﬂ =8
BAE  Weight
B EEE -
a2 232 1.Y13127 KQ2H02-23A 5.8 7.1 26.2 11.9 133 = 0.9 14 11g
22 o4 1Y13128 | KQ2H02-04A 58 8.2 26.2 11.9 133 - 0.9 14 129 Bs
232 o4 1.Y13129 KQ2H23-04A 7.1 8.2 27.6 133 133 34 2.9 2.5 1.5g EE £
232 26 1.Y13130 KQ2H23-06A 7.1 10.4 27.6 133 133 34 2.9 25 1.8g yrs Z
o4 26 1.¥13131 KQ2H04-06A 8.2 10.4 27.6 133 133 5.6 5.6 3 29 3
26 28 1.Y13132 KQ2H06-08A 10.4 13.2 28.5 133 14.2 13.1 10.4 45 2.99 <
28 210 1.Y13133 KQ2H08-10A 13.2 15.9 30.8 14.2 15.6 26.1 18 6 499
210 212 1.Y13134 KQ2H10-12A 15.9 185 336 15.6 17 415 29.5 75 7.29
212 216 1.Y13135 KQ2H12-16A 18.5 23.8 38.6 17 20.6 58.3 46.1 9 12.4g
* oD, oD: REAER. S
* @D:. D2 are maximum diameters. 14 o
o
2
[a)
o
3
3
=]
13
=

CRG Py



3L Connector

KQ2&7% KQ2series

) o N
2 =k kQuEsnEm)
- Elbow: KQ2L(gasket seal)
2e EAETF
B4
& L
° M
]
-1 s
oDz ===l
xg
s
1= 2
Hs
=
o o N fm]
BART = ey H i T
BME mm = (Model) S 2 Weight
M (B Bk BEE FLf g
2 1.Y13136 | KQ2L02-M3G | M3x05 | 55 5.8 55 | 126 | 125 | 128 | 119 - 0.8 12 | 16g
,mo 1.Y13137 KQ2L02-M5A | M5x0.8 7 5.8 55 12.6 13 12.9 119 - 0.8 1.4 2.79
ﬁg 232 1.Y13138 KQ2L23-M3G | M3x0.5 7 7.1 7 15.3 13.8 14.8 13.3 133 0.8 1.2 2.7g
2 : 1Y13139 | KQ223-M5A | M5x08 7 7.1 7 153 | 143 | 149 | 133 | 133 | 22 25 | 31g
g’:’_ 1.Y13140 KQ2L04-M3G | M3x0.5 7 8.2 7 154 143 15.8 133 133 0.8 1.2 2.79
2 o4 1.Y02599 KQ2L04-M5A | M5x0.8 7 8.2 7 154 148 15.9 133 133 35 25 3.1g
1Y13141 | KQ2L04-M6A | M6x10 8 8.2 7 154 | 158 | 159 | 133 | 133 | 35 25 | 429
26 1.Y02345 KQ2L06-M5A | M5x0.8 7 10.4 7 145 16.5 18.7 133 133 35 2.5 3.29
) 1.Y13142 KQ2L06-M6A | M6x1.0 8 10.4 7 145 175 18.7 133 133 35 2.5 4.39g
%2 * oD, EEABR,
e * @D, are maximum diameters.
He
o

KQ2&%] KQ2series
L KQ2L(EHF)
Elbow:KQ2L(sealant)

SIyEE
saddiN 11y
b ‘

B e
N <| gD
-
i H
Bs i N R
=t )

#z EAET " iy H PUEER ) =@
£ 1% mm LS (Model) HEEL L0 By e R Weight
232 1.Y13143 KQ2L23-01AS 1/8 10 7.1 10 145 16.7 17.2 133 3 2.5 2.5 4.69

) 1.Y13144 KQ2L23-02AS 1/4 14 7.1 10 145 21.2 20.1 133 3 2.5 2.5 14.1g

o 1.YO5151 KQ2L04-01AS 1/8 10 8.2 10 14.8 16.2 17.2 133 42 4.2 3 4.89

> 1.YO5751 KQ2L04-02AS 1/4 14 8.2 10 14.8 21.7 21.1 133 42 4.2 3 14.3g

2 1.Y02343 KQ2L06-01AS 1/8 10 10.4 10 155 17.3 194 133 114 9 45 5.2g

g 26 1.Y11935 KQ2L06-02AS 1/4 14 10.4 10 15.5 22.8 23.3 133 114 9 4.5 14.7g

% 1.Y10180 KQ2L06-03AS 3/8 17 10.4 10 155 24.1 24.2 133 114 9 4.5 26.59

g 1.Y07560 KQ2L08-01AS 1/8 10 13.2 10 16.4 18.7 22.2 14.2 114 11.4 45 6.1g

K 28 1.Y04922 KQ2L08-02AS 1/4 14 13.2 12 17.2 254 27.3 14.2 216 149 6 17.7g

5 1.Y05070 KQ2L08-03AS 3/8 17 13.2 12 17.2 255 27.0 14.2 216 14.9 6 24.7g

o 1.Y13145 KQ2L10-01AS 1/8 12 159 12 18.6 236 284 15.6 216 149 6 11.1g
210 1.Y06994 KQ2L10-02AS 1/4 17 15.9 17 19.3 28.7 319 15.6 352 25 75 21.7g

1.Y08074 KQ2L10-03AS 3/8 17 15.9 17 19.3 29.6 324 15.6 352 25 7.5 22.2g

1.Y13146 KQ2L10-04AS 1/2 22 159 17 19.3 336 35.1 15.6 352 25 7.5 44.69

1.Y13147 KQ2L12-02AS 1/4 17 18.5 17 215 30.0 34.5 17 50.2 39.7 9 23.59

212 1.Y13148 KQ2L12-03AS 3/8 17 18.5 17 215 30.9 35.0 17 50.2 39.7 9 24.1g

1.Y13149 KQ2L12-04AS 1/2 22 185 17 21.5 349 37.7 17 50.2 39.7 9 46.5g

1.Y13150 KQ2L16-02AS 1/4 17 23.8 17 25.1 32.6 39.8 20.6 50.2 50.2 9 27.89

216 1.Y13151 KQ2L16-03AS 3/8 22 23.8 21 27.1 354 42.2 20.6 71 58.9 11 40.8g

1.Y13152 KQ2L16-04AS 1/2 22 23.8 21 27.1 34.1 39.6 20.6 100 58.9 13 44.5g

X RIZBUT NS ERT
X R reference dimension of R thread after screwing in

* oD RERAER,
* @D, are maximum diameters.

CRG



3L Connector

KQ2&7%I KQ2series

T
B KQV (4 v ) =T
Universal elbow :KQ2V(gasket seal) %MZ
C
B4
g
(%]
B
H2
h
c
)
ko (m]
BEEE  sen) wpan M A T
SMgmm RS M (i) Bh mem U Weight
o4 1.Y13153 KQ2V04-M5A | M5x0.8 8 8.2 9.8 175 10.9 184 149 13.3 29 2.9 25 5.49 o
26 1.Y13154 KQ2V06-M5A | M5x0.8 8 10.4 9.8 18.3 10.9 18.4 14.9 13.3 3.8 3.8 25 5.7g # %
=~
* oD REAELR. o
* @D: are maximum diameters. é
(3
%2
KQ2Z%] KQ2series g3
B AL KQ2V (B F) E g
Universal elbow:KQ2V(sealant) EAETF 5
H L1
M
< 1 ME===1 1 52
4 N iz
; ks
i A Nk
N [N
{ If =
(ZEIH)

BEER = =

= ey H s =N BB
5 (Model) ﬁ (kET) sex  FUE  Weight =
o4 1.Y13155 | KQ2V04-01AS 1/8 . e §
6 1.Y13156 | KQ2V06-01AS 1/8 8 104 134 20.5 13.7 25.6 225 133 75 59 45 13.5g H=
2 T.Y13158 | KQV06-02AS | 1/4 | 10 | 104 | 153 | 199 | 179 | 305 | 258 | 133 | 75 | 59 | 45 | 249g g
1.Y13159 | KQ2Vv08-01AS 1/8 12 132 176 235 15.1 27.6 24.5 14.2 16 112 6 22.69 o

28 1.Y13157 | KQ2V08-02AS 1/4 12 132 176 235 185 31 26.3 14.2 16 112 6 29.1g
1.Y13160 | KQ2V08-03AS 3/8 14 132 20.6 23.1 19.5 353 30.2 142 16 112 6 44.49
1.Y13161 | KQ2V10-02AS 1/4 14 159 20.6 259 19.9 34.9 30.2 15.6 27 20.3 7.5 38.1g

2l 1.Y13162 | KQ2V10-03AS 3/8 14 15.9 20.6 259 20.3 353 30.2 15.6 27 20.3 7.5 45.7g Bf Z
212 1.Y13163 | KQ2V12-03AS 3/8 17 185 25.2 285 214 376 325 17 39 308 9 59.69 53
1.Y13164 | KQ2V12-04AS 1/2 17 185 252 285 246 40.8 344 17 39 30.8 9 78.29 8

216 1.Y13165 | KQ2V16-03AS 3/8 21 238 323 34.2 25.1 454 40.3 20.6 55 46 11 99.59 f-,
1.Y13166 | KQ2V16-04AS 1/2 21 238 323 342 283 48.6 42.2 206 78 46 13 110799 S

el

X RIZBIF NERISH R 2
X R reference dimension of R thread after screwing in 2

* oD ZEE%kE?éB
* @D, are maximum diameters.

CRG pr¥



¥ 3L Connector

KQ2&%! KQ2series

y © .
B METELKQT EHBEL)
“%  Doubletube T-joint:KQ2T(gasket seal)
me ESE
= cEr' L L1
o
< M i M
o et Kl L el 1
[ | I 97 ) N 1)
" C
1 2
B3
C
) P —
Bag 42 Epgy M TR e EE
AME mm #IE(Model) P s 2 Weight
£ M (T B BEi FLA [¢]
2 1¥13167 | KQITO2-M3G | M3x05 | 55 538 55 | 126 | 125 | 128 | 119 - 0.9 12 | 1.9g
5 1Y13168 | KQITO2-M5A | M5x08 | 7 538 55 | 126 13 | 129 [ 119 - 09 14 39
E < 032 1Y13169 | KQITB-M3G | M3x05 | 7 71 7 153 | 138 | 147 | 133 | 09 0.9 12 | 31g
~ : 1Y13170 | KQITB-M5A | W5x08 | 7 71 7 153 | 143 | 148 | 133 | 32 2.7 25 | 3.5g
g 1¥13171 | KQITO4-M3G | M3x05 | 7 8.2 7 154 | 143 | 158 | 133 | 09 0.9 12 | 34g
8 o4 1Y01536 | KQITO4-M5A | W5x08 | 7 8.2 7 154 | 148 | 159 | 133 | 45 45 25 | 3.9g
= 1Y13172 | KQITO4-M6A | Mexl0 | 8 8.2 7 154 | 158 | 159 | 133 | 45 45 25 | 499
. 1.Y03052 | KQITO6-M5A | W5x08 | 7 104 7 145 | 165 | 187 | 133 | 45 45 25 | 44g
20 @ 1¥13173 | KQIT06-M6A | Mex10 | 8 104 7 145 | 175 | 187 | 133 | 45 45 25 | 54g
HS oD ZEAHE.
ﬁ g * @D, are maximum diameters.
%
KQ2&7% KQ2series
WETR RS KQ2T (B 7)) NELET
> . . . WEY=Y=)
3; Double tube T-joint:KQ2T(sealant) L L
ik}
Eche]
e
BS
zs2
i
<
3 BAE = = iy H X T BN EHE
Sl amm  BSEN) ES(Model) FET oy : : : A& Weight
032 1.Y13174 | KQT23-01As | 1/8 10 7.1 10 | 145 | 166 | 171 | 133 | 34 2.9 25 | 529
] 1Y13175 | KQ2T23-02AS | 1/4 14 7.1 10 | 145 | 211 20 | 133 | 34 2.9 25 | 14.7g
ol 1.Y13176 | KQT04-01AS | 1/8 10 8.2 10 | 148 | 162 | 172 | 133 6 41 3 559
By & 1.Y13177 | KQ2T04-02AS | 1/4 14 8.2 10 148 | 217 | 211 | 133 6 41 3 159
e 1Y05154 | KQ2T06-01AS | 1/8 | 10 104 | 10 | 155 | 173 | 194 | 133 | 139 1 45 | 61g
§ 26 1.Y13178 | KQT06-02AS | 1/4 | 14 104 | 10 [ 155 | 228 | 233 | 133 | 139 1 45 | 1569
o 1Y13179 | KQT06-03AS | 3/8 | 17 104 | 10 [ 155 | 241 | 242 | 133 [ 139 11 45 | 274g
3 113180 | KQ2T08-01AS | 1/8 | 10 132 | 10 | 164 | 187 | 22 | 142 14 14 45 | 7.9g
8 28 1.Y13181 | KQ2T08-02AS | 1/4 | 14 132 | 12 | 172 | 254 | 213 | 142 | 263 | 182 6 | 194g
3 113182 | KQ2T08-03AS | 3/8 | 17 132 | 12 [ 172 [ 255 27 | 142 [ 263 | 182 6 | 265g
@ 1Y13183 | KQTI0-01AS | 1/8 | 12 159 | 12 | 186 | 235 | 284 | 156 | 216 | 149 6 | 13.9g
10 1.Y13184 | KQ2T10-02AS | 1/4 | 17 159 | 17 [ 193 | 286 | 319 | 156 | 352 25 75 | 243g
1Y13185 | KQTI0-03AS | 3/8 | 17 159 | 17 [ 193 | 295 | 324 | 156 | 352 25 75 | 248g
1Y13186 | KQTI0-04AS | 1/2 | 22 159 | 17 | 193 | 335 | 351 | 156 | 352 25 75 | 47.3g
1Y13187 | KQT12-02AS | 1/4 | 17 185 | 17 [ 215 | 299 | 345 17 | 512 | 452 9 [ 273g
212 1Y13188 | KQ2TI2-03AS | 3/8 | 17 185 | 17 | 215 | 308 35 17 | 512 | 452 9 289
1Y13189 | KQT12-04AS | 1/2 | 22 185 | 17 | 215 | 348 | 317 17| 572 | 452 9 [ 504g
1Y13190 | KQTI6-02AS | 1/4 | 17 238 | 17 | 251 | 326 | 398 | 206 | 572 | 512 9 | 355¢
#16 1Y13191 | KQTI6-03AS | 3/8 | 22 238 | 21 | 271 | 354 | 422 | 206 71 589 11| 4779
1.Y13192 | KQ2T16-04AS | 1/2 | 22 238 | 21 | 271 | 341 | 396 | 206 | 100 | 589 13| 514q

X RIBEUTNERISERT

X R reference dimension of R thread after screwing in
* oD REAER.
* gD, are maximum diameters.

CRG



3L Connector
KQ2Z7% KQ2series

A IJ'_?
TRAZEKQ2T WEAET %.g
T-shaped connection :KQ2T Q=22 q -°

X Tl e
9 S
I I r\")j\d’\\\ g’
_l‘—E RN 1/ (@] @
3 — -
0 _ LA
ol Yy --J--J1P
E @
M M %g
L1 L1 r—u’}'
Qiz
SR TR e
e BSEER o) oz g
& - 2 Weight
R I

22 1.¥13193 | KQ2T02-00A | 58 129 158 119 45 6 32 - 0.9 14 14g

3.2 113194 | KQ2T23-00A | 71 149 185 133 54 6 32 34 29 25 2.3g

24 1.Y03077 | KQ2T04-00A | 82 153 194 133 5.7 6 32 64 44 3 2.89 o

26 1.Y03076 | KQ2T06-00A | 10.4 163 215 133 6.8 6 32 134 106 45 389 o

28 1.YO0761 | KQ2T08-00A | 132 182 2438 142 84 8 4.2 256 17.7 6 79 A

210 1.¥13195 | KQ2T10-00A | 159 206 286 156 9.6 8 42 40 284 75 11g 3

712 1.¥13196 | KQ2T12-00A | 185 23 323 17 107 8 42 574 454 9 15.7g 2

216 1.Y13197 | KQ2T16-00A | 238 286 405 206 134 8 42 100 589 13 29.89 h

. (2
KQ2Z&%I KQ2series E-’;

A Fara gﬁ
T EEKQ2T HEAEFO frg
T-shaped connection :KQ2T Q2 <0 o2 B

EAEBFO| ‘
e | T »
-l 3 = X N (e}
— f ‘7 — %:D
I | — =
al L*N -1 P*Nf =
200 /g S k)
o
M: Ma 7=
L2 L2

ESET =

iz = =N EE

(;HI mr(n@ BS(PN) 772 Weight
232 | o4 | 1.Y13198 | KQ2T23-04A| 82 | 71 | 149 | 153 | 185 | 133 | 133 | 54 | 58 | 6 | 32 | 38 | 35 | 25 | 269 Bs
o4 | 26 | 1Y04160 | KQ2T04-06A| 104 | 82 | 153 | 163 | 194 | 133 | 133 | 57 | 68 6 32 [A! 66 | 3 33g fﬁé
26 | 28 | 1.Y04159 | KQ2T06-08A| 132 | 104 | 172 | 173 | 24 | 142 | 133 [ 73 | 84 | 8 [ 42 | 164 [ 164 | 45 [ 539 ?—Eé
28 | 210 | 1.YO7561 | KQ2T08-10A| 159 | 132 | 196 | 192 | 262 | 156 | 142 | 84 | 96 | 8 | 42 [ % [ 272 [ 6 [ 83g g
210 | 12 | 1.Y13199 | KQ2T10-12A| 185 | 159 | 2 | 216 | 30 | 17 | 156 | 96 | 107 | 8 | 42 | % | 445 | 75 |122g =
212 | 916 | 1.Y13200 | KQ2T12-16A| 238 | 185 | 266 | 25 | 359 | 206 | 17 | 107 | 134 | 8 | 42 |5 | 74 [ 9 [20Ig
KQ2&%I KQ2series

+ >
TREKQ2T . e
. =5 »
T-shaped connection :KQ2T 8
Al 2 3
-
0 S
sl Y E
2xg0 @
M2 M2
Lo L.

EAE BHEER o) g

SMEmm  gE(PN)  BE(Model) oN
@ ® B REE
26 o4 1.Y13201 | KQ2T06-04A . . X
28 26 1.Y13202 | KQ2T08-06A | 104 132 173 172 239 133 142 84 73
210 | 28 1.Y13203 | KQ2T10-08A | 132 159 192 19.6 212 142 156 96 8.4
212 | 210 | 1.Y13204 | KQ2T12-10A | 159 185 216 22 309 156 17 107 9.6
* oD BRAER.
* D1 are maximum diameters.

Fi2 Weight

. : y 2.59
4.2 134 10.6 4.5 69
42 256 17 6 9.59
42 | 40 | 284 | 75 | 1349

||| o

CRG P



3L Connector

KQ2&7%! KQ2series

y © ”
%i YR KQ2U
—_ . ‘EAM
.8 Y-shaped connection :KQ2U HEEES
ML d
%m
g O
® N
JE Vo | |
—_ oy 1 1
— 1
gz% 2N /7, \"\‘
| =r=
%= 2 g
4
Hg Q
=
o ) N
EAE B ) =8
4M2 mm . - — 2 Weight
. Br mEm e 9
a2 1Y13205 KQ2U02-00A | 58 258 161 5.8 119 45 6 32 - 0.9 12 14g
o 3.2 1Y13206 | KQ2U23-00A | 7.1 289 18 71 133 52 6 32 34 29 25 | 239
e 24 1Y02601 | KQ2U04-00A | 82 29 182 82 133 57 6 32 42 42 3 2.8¢
X 26 1Y02600 | KQ2UO06-00A | 104 | 30.1 194 104 133 638 6 32 134 106 45 | 389
Ef 28 1¥03078 | KQ2U08-00A | 132 332 23 132 14.2 8.7 8 4.2 256 17.7 6 79
@ 210 1Y13207 | KQ2U10-00A | 159 | 371 2% 159 | 156 | 101 8 42 40 284 75 | g
- 212 1Y13208 | KQ2U12-00A | 185 411 218 185 17 114 8 42 574 454 9 1579
216 1Y13209 | KQ2U16-00A | 238 515 35 2338 206 14 8 42 "3 60 13 | 29.89
9 * oD BRAER,
Bo * oD are maximum diameters.
gE
"
o
Kg2&% KQ2series
52 BERNUBYREEKQ2UD
= . . . HEEEF @
nE Reducing four pipe Y-shaped connection :KQ2UD N
79T
ik P
T T
IREHHE
—] [
. k T
- N| T
bvere RO SEEDN
Eg 2xgN : : =
z=2
2 f=
Z&Z 2D2
‘%’ EAEFO
® EAET BYEEH =
SEmm fgE(PN) #S(Model) oD i ;f?::: wi;%h
@ ® BE BEE
26 | 1Y06909 |KQ2UD04-06A| 8. } ) . } } 5.4g
Bt = 26 | @8 | 1Y08529 [KQ2uD06-08A| 104 | 132 | 32 [ 205 | 104 | 21 [ 133 | 142 | 82 6 32 | 14 | 106 | 45 | 81g
[a)
1¢§ *oDi. oD: RERAER.
5 * D1, @Dz are maximum diameters.
0
[e]
3
B
=1
()
A

iyl CRG



3L Connector

ASZE%] ASseries

LRI %g
Elbow type throttle valve oDs e
1%)]
‘ ERETSME0d ne
=
- N ----- s
g Yfress]
(%]
HG ) M Zﬁ <
Lo g
o
= g
= =
ad ﬁ%(Model) H HF(‘;’\'IIT)ML W%iit
@2 | As1201F-M5-02A |M5x0.8] 8 5.8 9.4 158 | 203 | 169 | 265 | 254 | 235 | 224 | 119 1Y13218 1Y13222 59
3.2 | As1201F-M5-23A |M5x0.8/ 8 7.2 9.4 172 | 21.7 | 169 | 265 | 254 | 235 | 224 | 133 1Y13219 1Y13223 59 'l?&g
@4 | As1201F-M5-04A [M5x0.8) 8 8.2 9.4 172 | 21.7 | 169 | 265 | 254 | 235 | 224 | 133 1Y¥13220 1Y13224 59 i 2
@6 |As1201F-M5-06A |M5x0.8) 8 104 9.4 186 | 231 | 165 | 265 | 254 | 235 | 224 | 133 1Y13221 1.Y03830 69 g
OicS/0HFS TR, ST Symbol/0 exhaust throttling, 1 intake throttling lrgb
()B8#&R  Reference Size ®
(2) BEUTNEHIZER  Reference dimension of R thread after screwing in
%9
E_'c
HE
He
ASZR%| ASseries ®
R e o) oo
Elbow type throttle valve(sealant) = Zod
- 5 Ylees . sz
39 - WMz
BUT
b
I 1l [
I | M | T
Heav:oer s —L——
= HSTR  HSER =2
ad B E(Model) (PN) (PN) Weight g
3.2 | AS2201F-01-23SA | 1/8 13 7.2 12 19.1 | 262 | 191 | 306 | 29.2 | 275 | 26.1 | 133 1Y13225 1Y13246 9g ? g
@4 | AS22001F-01-04SA | 1/8 13 8.2 12 19.1 | 262 | 191 | 306 | 29.2 | 275 | 26.1 | 133 1Y¥13226 1Y13247 99 XE 2
@6 | AS2201F-01-06SA | 1/8 13 104 12 19.1 | 262 | 191 | 306 | 29.2 | 275 | 26.1 | 133 1Y13227 1.Y05040 10g 3
28 | AS2201F-01-08SA | 1/8 13 13.2 12 224 | 295 | 19.1 | 30.6 | 29.2 | 275 | 26.1 | 142 1Y13228 1Y13248 11g %
210 | AS2201F-01-10SA | 1/8 13 159 12 253 | 324 | 191 | 306 | 29.2 | 275 | 26.1 | 15.6 1Y¥13229 1Y13249 129
3.2 | AS2201F-02-23SA | 1/4 17 7.2 13 209 | 30.2 | 226 | 36.6 35 311 | 295 | 133 1Y¥13230 113250 18g
@4 | AS2201F-02-04SA | 1/4 17 8.2 13 209 | 30.2 | 226 | 36.6 35 311 | 295 | 133 1Y13231 1Y13251 189
@6 | AS22001F-02-06SA | 1/4 17 104 13 234 | 327 | 226 | 36.6 35 311 | 295 | 133 1Y13232 1.Y06906 18g B =
28 | AS2201F-02-08SA | 1/4 17 13.2 13 239 | 332 | 226 | 366 35 311 | 295 | 14.2 1Y13233 1.Y08260 199 15 §
210 | AS2201F-02-10SA | 1/4 17 159 13 269 | 36.2 | 226 | 36.6 35 31.1 | 295 | 156 1Y13234 1Y13252 20g 3
@6 | AS3201F-02-06SA | 1/4 19 104 | 166 | 21.8 | 32.1 | 364 50 484 | 445 | 429 | 133 1Y13235 1Y13253 409 i
@8 | AS3201F-02-08SA | 1/4 19 132 | 166 | 22.7 33 36.4 50 48.4 | 445 | 429 | 142 1Y13236 1Y13254 41g g
210 | AS3201F-02-10SA | 1/4 19 159 | 166 | 26.7 37 35.7 50 48.4 | 445 | 429 | 156 1Y13237 1Y13255 429 3
212 | AS3201F-02-12SA | 1/4 19 185 | 166 | 29.7 40 345 50 484 | 445 | 429 17 1Y13238 1Y13256 439 §
@6 | AS3201F-03-06SA | 3/8 19 104 | 166 | 21.8 | 32.1 | 287 | 423 | 40.7 | 37.1 | 355 | 133 1Y¥13239 1Y13257 31g @
28 | AS3201F-03-08SA | 3/8 19 132 | 166 | 22.7 33 287 | 423 | 40.7 | 37.1 | 355 | 142 1Y13240 1Y13258 31g
210 | AS3201F-03-10SA | 3/8 19 159 | 16.6 | 26.7 37 28 423 | 40.7 | 37.1 | 355 | 156 1Y13241 113259 329
@12 | AS3201F-03-12SA | 3/8 19 185 | 16.6 | 29.7 40 26.8 | 423 | 40.7 | 37.1 | 355 17 1Y13242 113260 34g
210 | AS4201F-04-10SA | 1/2 24 159 | 188 | 274 | 403 | 36.2 | 50.8 | 49.2 | 43.7 | 42.1 | 156 1Y13243 1Y13261 54g
212 | AS4201F-04-12SA | 1/2 24 185 | 188 | 30.8 | 43.7 | 351 | 50.8 | 49.2 | 43.7 | 421 17 1Y13244 1Y13262 569
216 | AS4201F-04-16SA | 1/2 24 238 | 188 | 348 | 47.7 | 327 | 50.8 | 49.2 | 43.7 | 42.1 | 206 1Y13245 1Y13263 60g

OIS/ FS TR, BHSTM Symbol/0 exhaust throttling, 1 intake throttling
()8ERY  Reference Size
(2) 1B8UFNEHIEERT  Reference dimension of R thread after screwing in

CRG prk



6= e

aqnL SNS . 3|140.d

HEE S A Xt

S
SINPO S3U3S

19bueyd ydind

S il o
a|npo\ diig

JaddiN 11y

B R

3|NPOIN WNNdep

syuauodwo?) A10ssa20y

249

3L Connector

ASZE5

ASseries

BEERTRE
Straight-through throttle valve

Ls
L7

g@l @D4

L sz
ERETMEed oD:  op &7,
— S
S { ] _lNi—"”
Mi M
L1

BRE(PN) FJE (Model)
22 1Y13264 AS1002F-02 6 3.2 5 6 254 34 7.9 20.9 18.4 11 9.8 5 6.7 8.8 39
23.2 1Y13265 AS1002F-23 8.4 33 5.5 9.1 36 4.4 11.1 23.8 21 11 15.4 8.8 9.8 12.7 59
o4 1Y04457 AS1002F-04 9.3 33 5.5 9.1 37 5.1 11.8 24.5 21.7 11 15.4 8.8 10.1 12.7 5.5g
26 1Y04777 AS1002F-06 11.6 33 55 9.1 39.5 6.1 12.8 255 22.7 11 15.4 8.8 12.3 135 6.59
o4 1Y13266 AS2002F-04 9.3 33 5.5 10 40.7 5.2 12.3 289 254 126 17 105 115 12.7 8.59
26 1Y13267 AS2002F-06 11.6 33 5.5 10 42.5 6.3 134 30 26.5 12.6 17 10.5 123 135 9.59
26 1Y13268 AS2052F-06 12.8 43 7.8 14 53.2 6.7 16.3 345 29.5 17 22.8 12 15.7 17 199
28 1Y13269 AS2052F-08 15.2 43 7.8 14 57.2 8 176 35.8 | 30.8 17 22.8 12 16.1 18 229
26 1Y13270 AS3002F-06 13.2 43 8 193 59 1.4 193 386 | 33.6 22 25 12 20.5 17 369
28 1Y13271 AS3002F-08 15.2 43 8 193 65 8.2 20.1 394 | 344 22 25 12 20.5 18 389
210 1Y13272 AS3002F-10 18.5 43 8 193 70.8 9.8 21.7 41 36 22 25 12 20.5 21 429
212 1Y13273 AS3002F-12 | 20.9 43 8 19.3 76 10.9 22.8 42.1 37.1 22 25 12 22.1 22 449
210 1Y13274 AS4002F-10 18.5 43 8 25 76.9 10.3 22.7 516 | 44.1 28 33 14 26.2 21 769
212 1Y13275 AS4002F-12 | 21.7 43 8 25 81.3 11.3 23.7 526 | 45.1 28 33 14 26.2 22 829

OiCS/0HFS TR, 1HSTR

(1)BERT  Reference Size
(2) 12SUTNEISERT
CcCRG

Symbol/0 exhaust throttling, 1 intake throttling

Reference dimension of R thread after screwing in




# 3L Connector

KCZ&% KCseries

ik KCH %g;
Straightjoint :KCH -
Mo
& n
EEETF = 7
H(o) &
Pl o
f -
i - - v
e Al
AEFE g 2a3
. EERY(FE ) zﬁ =
’ S
<M5H93%4S>  <RE9IFS> <M5i7E > <REYZE> @
AR
EaE7 . - - . ERHER —
& mm #E(PN) WS(Mode) EEEX L L Weight
Bk ok Hho
4 1¥03525 KCHO04-M5 M5x0.8 9.8 30.8 213 18 21 2.1 8g s
1¥13286 KCH04-01S 18 10 26.1 2.1 18 26 26 8g o
I 1Y03524 KCHO6-M5 M5x0.8 11.8 324 28.9 19.5 24 24 10g 3
1Y13287 KCHO06-01S 18 12 315 334 19 6.8 6.8 16g 2
28 1Y13288 KCH08-01S 1/8 14 04 384 215 16.2 13.1 209
X RIBSUTNEISERYT
X R reference dimension of R thread after screwing in o
87
UEES
e
o
KQ2Z&% KQ2series
H#sL:KQ2P
Plug :KQ2P
g :KQ L =2
A Hz
7z
<
22 1¥13210 KJP-02 3 17 10.4 0.1g S
3.2 1¥13211 KQ2P-23 5 315 182 19 Fz
o4 1Y13212 KQ2P-04 6 32 18.7 1g 3
26 1Y¥13213 KQ2P-06 8 35 217 19 B
28 1¥13214 KQ2P-08 10 39 2438 29
210 1¥13215 KQ2P-10 12 43 274 3.59
212 1Y13216 KQ2P-12 14 455 285 59
216 1Y13217 KQ2P-16 209 47 26.4 89 [T
%3
3
2
Q)
o
3
3
=]
13
=

CRXG P&



& Hoses

ReEpRETREREZLEEEETS.

ﬁ!g Polyurethane hose for compressed air suitable for use with push-in fittings.
*q‘;;
e
£
o
o
(%)
B2
B3
=
o
Re
]a
0
3
3
< L
e | [Tooom- a
=51 < N . o0
;H‘g Q Q
3 S E 3
o
RAME
Technical characteristics
52z T=-15~ +60°C .
= P=0.8MPa * BEKE 100 K
Einc) * Each box is 100 meters in length.
VAR
HE(PN) B S (Model) Hita(Colour) A : - tm
[mm] [mm] [m] [9/m]
1.Y00824 AH4B =@ /Black 4 2.5 100 99
1.Y03687 AH4BU 56 / Blue 4 2.5 100 9g
E; 1.Y00823 AH4G %68 / Green 4 2.5 100 99
Qﬁﬂfé 1.Y03686 AHAT EBAE/Transparent 4 2.5 100 9g
ﬁ:i 1.Y00821 AH4Y =t/ Yellow 4 2.5 100 99
é_ 1.Y00822 AH4R £1t5 / Red 4 2.5 100 9g
3 1.Y05661 AH40 & /Orange 4 2.5 100 99
1.Y00830 AH6B 2 /Black 6 4 100 199
1.Y00829 AH6BU e /Blue 6 4 100 199
> 1.Y00825 AH6G 8 / Green 6 4 100 199
5‘4:% 1.Y00827 AH6T #EBAt/Transparent 6 4 100 199
2 1.Y00828 AH6Y HEf / Yellow 6 4 100 19g
% 1.Y00826 AH6R 4168 / Red 6 4 100 199
g 1.Y04640 AH60 & /Orange 6 4 100 199
3 1.Y04478 AH8B = / Black 8 5 100 36g
5 1.Y00831 AH8BU &/ Blue 8 5 100 369
“ 1.Y04476 AH10B 2= /Black 10 6.5 100 549
1.YO5660 AH10BU =& /Blue 10 6.5 100 549

A [4MZ - Outer diameter]

B [42 - Inner diameter]

L [KE - Lenght]

Lm [£E - Linear mass]

[B{EESSEE - Operating pressure range]

T [IR{ERESEH - Operating temperature range]

o

CRG



ZZ5| Index

HE(Model) "E(PN)  TEB(Page) EE(Model) /E(PN)  TIE3(Page) EE(Model) HE(PN)  WB(Page)
PTC-M4L14 1.Y02752 4 SMBB-2525 7.Y00012 10
PST8-1500 4.Y00040 1 PTC-MA4L16 1.Y04073 4 SMBB-5025 7.Y00339 10
PST12-1500 4.Y00021 1 PTC-MA4L18 1.Y05846 4 SMBB-2550 7.Y00340 10
PST20-1500 4.Y00022 1 PTC-M4L20 1.Y04000 4 SMBB-3030 7.Y00163 10
PAT20-1000 4.Y00468 1 PTC-M4L22 1.Y06307 4 SMBC-1025 7.Y00296 11
PAT20-2000 4.¥10972 1 PTC-MA4L25 1.Y05319 4 SMBC-1432 7.¥00297 11
PAT30-1000 4.Y00469 1 PTC-M5L10 1.Y04294 4 SMBC-2038 7.Y00013 11
PAT30-2000 4.¥10973 1 PTC-M5L12 1.Y03850 4 SMBC-3050 7.Y00226 11
PAT25-1000 4.¥Y10950 1 PTC-M5L14 1.Y04528 4 SMBC-5070 7.Y00225 11
PAT25-2000 4.¥10974 1 PTC-M5L16 1.Y03849 4 SMBD-2550 7.Y00227 12
PAT40-1000 4.¥10538 1 PTC-M5L18 1.Y05925 4 SMBD-5070 7.¥00228 12
PAT40-2000 4.¥10975 1 PTC-M5L20 1.Y03909 4 SMBD2-7625 7.Y00426 13
PCT8-1000 4.Y10960 1 PTC-M5L22 1.¥06257 4 SMBD2-12025 7.Y00427 13
PCT8-2000 4.¥10961 1 PTC-M5L25 1.Y03851 4 SMBD2-13025 7.Y00428 13
PCT12-1000 4.¥10962 1 PTC-M5L30 1.Y04469 4 SMBD2-7650 7.Y00429 13
PCT12-2000 4.Y10963 1 PTC-M5L35 1.Y04580 4 SMBD2-12050 7.Y00430 13
PCT20-1000 4.¥10964 1 PTC-M5L40 1.Y04898 4 SMBD2-13050 7.Y00431 13
PCT20-2000 4.Y10965 1 PTC-M5L50 1.Y04968 4 SMBD3-2525 7.Y00812 13
PCT25-1000 4.Y10966 1 PTC-M5L60 1.Y05391 4 SMBD3-2550 7.Y00813 13
PCT25-2000 4.¥10967 1 PTC-M6L10 1.Y04288 4 SMBD3-4040 7.Y00814 13
PCT30-1000 4.Y10968 1 PTC-M6L12 1.Y03910 4 SMBD3-4080 7.Y00815 13
PCT40-2000 4.Y10969 1 PTC-M6L14 1.Y04153 4 SMBE-1010 7.Y00300 14
PCT40-1000 4.¥10970 1 PTC-M6L16 1.¥02753 4 SMBE-1014 7.Y00301 14
PCT40-2000 4.¥10971 1 PTC-M6L18 1.Y07729 4 SMBE-1210 7.Y00775 14
PO8RD 1.Y03375 1 PTC-M6L20 1.Y04076 4 SMBE-1214 7.Y00864 14
P12GY 1.Y03636 1 PTC-M6L25 1.Y06227 4 SMBE-1414 7.Y00302 14
P12BU 1.Y03638 1 PTC-M6L30 1.Y04001 4 SMBE-2014 7.Y00014 14
P12BK 1.Y03640 1 PTC-M6L35 1.Y03911 4 SMBE-2022 7.Y00304 14
P20GY 1.Y03637 1 PTS-M4 1.Y03853 5 SMBE1-0840 7.Y00694 15
P20BU 1.Y03639 1 PTS-M5 1.Y03852 5 SMBE1-1040 7.Y00201 15
P20BK 1.Y03641 1 PTS-M6 1.Y03854 5 SMBE1-1240 7.Y00695 15
P30BK 1.Y20001 1 PTD-M4P8 4.Y00522 5 SMBE1-1440 7.Y00200 15
P25BK 1.Y10988 1 PTD-M5P10 4.Y00523 5 SMBE1-1450 7.Y00199 15
P40BK 1.Y10987 1 PTD-M5P15 4.Y00524 5 SMBE1-2060 7.Y00015 15
PEP1818-1000  4.Y00075 2 PTD-M5P17 4.Y00525 5 SMBE1-3060 7.Y00724 15
PEP2510-1000  4.Y00076 2 PTD-M5P22 4.Y00526 5 SMBE2-1040 7.Y00725 16
PEP2518-1000  4.Y00455 2 PTD-M5P25 4.Y00527 5 SMBE2-1240 7.Y00777 16
PEP2525-1000 4.Y00050 2 SMBE2-1450 7.Y00307 16
PEP2525-2000  4.Y00051 2 SFP-52550 7.Y00641 6 SMBE2-2060 7.Y00308 16
PEP5025-1000  4.Y00056 2 SFP-525100 7.Y00642 6 SMBE2-3060 7.Y00309 16
PEP5025-2000  4.Y00057 2 SFP-540160 7.Y00643 6 SMBE8-1040 7.Y02014 17
PEP4040-1000  4.Y00052 2 SFP-L2550 7.Y00647 6 SMBE8-1450 7.Y02015 17
PEP4040-2000  4.Y00053 2 SFP-L2575 7.Y00648 6 SMBE8-2060 7.¥02012 17
PEP3030-1000  4.Y00540 2 SFP-L40120 7.Y00649 6 SMBE3-1020 7.Y00341 18
PEP3030-2000  4.Y00541 2 SFP-T2550 7.Y00644 7 SMBE3-1220 7.Y00795 18
PEP-3636-1000  4.Y00054 2 SFP-T25100 7.Y00645 7 SMBE3-1430 7.Y00342 18
PEP-3636-1500  4.Y00484 2 SFP-T40120 7.Y00646 7 SMBE3-2040 7.Y00343 18
PEP-3636-2000  4.Y00055 2 SFP-50 7.Y00636 7 SMBE3-3050 7.Y00344 18
PTN-M4 7.Y00651 3 SFP-A60 7.Y00637 8 SMBE4-1412 7.¥00224 19
PTN-M5 7.Y00425 3 SFP-A90 7.Y00638 8 SMBE4-2012 7.¥00223 19
PTN-M6 7.Y00652 3 SFP-A70 7.Y00639 8 SMBE4-2020 7.Y00181 19
PTN-M4P8 7.Y00653 3 SFP-A50 7.Y00640 8 SMBE4-3012 7.¥00222 19
PTN-M5P10 7.Y00654 3 SMBA-1818 7.¥00290 9 SMBE4-3020 7.Y00221 19
PTN-M5P15 7.Y00655 3 SMBA-1825 7.Y00291 9 SMBE5-G1840 7.Y00310 20
PTN-M5P17 7.Y00656 3 SMBA-2020 7.Y00245 9 SMBE5-G1860 7.Y00311 20
PTN-M5P22 7.Y00657 3 SMBA-2525 7.Y00194 9 SMBE5-M1040  7.Y00312 20
PTN-M5P25 7.Y00658 3 SMBA-3030 7.Y00193 9 SMBE5-M1060  7.Y00313 20
PTN-M5P28 7.Y00659 3 SMBA-5050 7.Y00011 9 SMBE5-M1240  7.Y00314 20
PTN-M5P30 7.Y00660 3 SMBA-2550 7.Y00292 9 SMBE5-M1260  7.Y00315 20
PTN-M5P35 7.Y00661 3 SMBA-4040 7.Y00246 9 SMBE5-M1440  7.Y00316 20
PTN-M5P40 7.Y00662 3 SMBA-8080 7.Y00355 9 SMBE5-M1460  7.Y00317 20
PTN-M5P50 7.Y00663 3 SMBA-4080 7.¥00293 9 SMBE5-M1640  7.Y00320 20
PTN-M5P60 7.Y00664 3 SMBA-2580 7.Y00294 9 SMBE5-M1660  7.Y00321 20
PTN-M5P90 7.Y00665 3 SMBA-2540 7.Y00356 9 SMBE5-M2040  7.Y00322 20
PTN-M5R 7.Y00805 3 SMBA-3025 7.Y00690 9 SMBE5-M2060  7.Y00323 20
PTC-M4L10 1.Y03908 4 SMBB-1818 7.Y00295 10 SMBE6-1040 7.Y00357 21
PTC-MA4L12 1.Y03848 4 SMBB-1825 7.Y00817 10 SMBE6-1240 7.Y00358 21

CRG Py



ZZ5| Index

#5(Model) 55 (PN) E8(Page) S (Model) 55 (PN) f5(Page) #S(Model) £E(PN) mfs(Page)
SMBE6-1440 7.Y00359 21 SCD-2020 7.Y00233 29 SCF3-70M12 7.YO0134 37
SMBEG6-1640 7.Y00360 21 SCD-3030 7.Y01050 29 SCF3-70M17 7.Y00135 37
SMBE6-2040 7.Y00361 21 SMBT3-2020 7.Y00047 30 SCF4-0840W12 7.Y00122 37
SMBEG6-2240 7.Y00362 21 SMBF-0808 7.Y00029 30 SCF4-0840W16 7.Y00123 37
SMBE6-2540 7.Y00363 21 SMBF-0812 7.Y00030 30 SCF4-1240W16 7.Y00004 37
SMBEG6-1028 7.Y00364 21 SMBF-1208 7.Y00031 30 SCF4-2040W25 7.Y00124 37
SMBE6-1228 7.Y00365 21 SMBF-1212 7.Y00032 30 SCF4-0870W12 7.YO0136 37
SMBEG6-1428 7.Y00366 21 SMBF-1220 7.Y00033 30 SCF4-0870W16 7.Y00137 37
SMBE6-1628 7.Y00367 21 SMBF-2012 7.Y00034 30 SCF4-1270W16 7.YO0138 37
SMBEG6-2028 7.Y00368 21 SMBF-2020 7.Y00035 30 SCF4-2070W25 7.Y00139 37
SMBE6-2228 7.Y00369 21 SMBF1-0808 7.YO0036 30 SCF5-0840W16 7.Y00125 37
SMBEG6-2528 7.Y00370 21 SMBF1-0812 7.Y00037 30 SCF5-0840W12 7.Y00126 37
SMBE7-0856 7.Y00062 22 SMBF1-1208 7.Y00038 30 SCF5-1240W16 7.Y00127 37
SMBE7-1256 7.Y00021 22 SMBF1-1212 7.Y00003 30 SCF5-2040W25 7.Y00128 37
SMBE7-2056 7.Y00006 22 SMBF1-1220 7.Y00039 30 SCF5-0870W16 7.YO0140 37
SMB-10M5-02G18 7.Y00153 22 SMBF1-2012 7.Y00040 30 SCF5-0870W12 7.Y00141 37
SMB-08M5-02G18 7.Y00154 22 SMBF1-2020 7.YO0041 30 SCF5-1270W16 7.Y00142 37
SMB-10M5 7.Y00155 22 SMBJ1-5 7.Y00070 31 SCF5-2070W25 7.YO0143 37
SMB-08M5 7.YO0156 22 SMBJ2-6 7.Y00071 31 SMBR2-M10 7.Y00099 38
SMB-06M5 7.Y00157 22 SMBT5-8 7.Y00072 31 SMBR2-M12 7.Y00100 38
SMB-14M5 7.Y00167 22 SMBT5-12 7.Y00073 31 SMBR4-0808M4 7.YO0103 38
SMB-5G18 7.Y00229 23 SMBT6-12 7.Y00074 32 SMBR4-1208M4 7.YO0110 38
SMB1-5G18 7.Y01020 23 SMBG1-8M5 7.YO0057 32 SMBR4-1212M4 7.YO0019 38
SMB2-5G18 7.Y01022 23 SMBG1-8M6 7.Y00058 32 SMBR4-1212M4L  7.Y00268 38
SMB-9G18 7.Y00231 24 SMBG1-12M5 7.Y00059 32 SMBR4-1420M6 7.Y00461 38
SMB1-9G18 7.Y01021 24 SMBG1-12M6 7.Y00060 32 SMBR4-2020M6 7.Y00007 38
SMB2-9G18 7.Y01023 24 SMBG1-12G18 7.Y00061 32 SMBR4-2020M6L  7.Y00206 38
SMB-D5G18 7.Y00230 25 SCF1-40M3 7.Y00115 32 SMBR5-1208 7.YOO111 38
SMB1-D5G18 7.Y01024 25 SCF1-40G18 7.YO0118 32 SMBR5-0808 7.YO0104 38
SMB2-D5G18 7.Y01025 25 SCF1-70M3 7.Y00129 32 SMBR5-1212 7.YO0112 38
SMB-A5G18 7.Y00240 26 SCF1-70G18 7.Y00132 32 SMBR7-0808 7.YOO113 39
SMB-A5G14 7.Y00241 26 SCF2-40M5 7.Y00173 32 SMBR7-1212 7.YO0114 39
SMBY12-50 7.Y00736 26 SCF2-40M6 7.Y00117 32 SMBR-46 7.Y00063 39
SMBY12-100 7.YO00735 26 SCF2-70M5 7.Y00130 32 SMBR1-12 7.Y00098 39
SMBY14-50 7.Y00733 26 SCF2-70M6 7.Y00131 32 SVA-G18 7.Y00235 40
SMBY14-100 7.YO0734 26 SMBM-10 7.Y00740 33 SVA-G14 7.Y00237 40
SMBY20-50 7.Y00732 26 SMBM-16 7.YO0741 33 SVB-M5 7.Y00242 41
SMBY20-100 7.Y00731 26 SMBM-20 7.Y00728 33 SVB-G18 7.Y00244 41
SMBY20-150 7.Y00462 26 SMBM-25 7.Y00739 33 SVB-G14 7.Y00243 41
SMBY25-100 7.Y01027 26 SMBM-32 7.YO0738 33 SVC-M5 7.Y00328 42
SMBY30-50 7.Y00729 26 SMBM-40 7.Y00737 33 SVC-G18 7.Y00238 42
SMBY30-100 7.Y00730 26 SMBT9-12 7.Y00081 33 SVC-G14 7.Y00239 42
SMBY30-150 7.Y00463 26 SMBU-12 7.Y00082 33 SVD-M5 7.YO0416 43
SMBT4-G1820 7.Y00048 27 SMBU2-20 7.Y00255 34 SVD-G18 7.Y00417 43
SMBT1-M1412 7.Y00028 27 SMBU3-8 7.Y00085 34 SVD-G14 7.Y00418 43
SMBP-0808 7.Y00042 27 SMBU4-12 7.Y00086 34 SVE-M51030 7.Y00410 44
SMBP-0812 7.Y00043 27 SMBU5-20 7.Y00087 85 SVE-M51060 7.Y00411 44
SMBP-1212 7.Y00044 27 SMBU6-8 7.Y00088 35 SVE-M51090 7.Y00412 44
SMBP-2012 7.YO0045 27 SMBU7-12 7.Y00089 35 SVE-M51230 7.YOO772 44
SMBP-2020 7.Y00046 27 SMBU8-20 7.Y00090 35 SVE-M51260 7.Y00773 44
SMBT-0808 7.Y00025 28 SMBU9-M10 7.YO1051 36 SVE-M51290 7.YOO774 44
SMBT-1208 7.Y00026 28 SMBK1-8T10 7.Y00091 36 SVE-G181440 7.Y00413 44
SMBT-1212 7.Y00020 28 SMBK1-12T10 7.Y00092 36 SVE-G181480 7.YO0414 44
SMBT-1214 7.YO0794 28 SMBK1-20T10 7.Y00093 36 SVE-G1814120 7.YO0415 44
SMBT-2012 7.Y00027 28 SMBK1-8T16 7.Y00094 36 SVE-G142050 7.YO0008 44
SMBT-2020 7.Y00005 28 SMBK1-12T16 7.Y00095 36 SVE-G1420100 7.Y00009 44
SMBT-1414 7.Y01002 28 SMBK1-20T16 7.Y00096 36 SVE-G1420150 7.YO0010 44
SMBT-2520 7.Y00998 28 SMBS-8T10 7.YO0064 36 SCA1-1010L30 7.Y00398 45
SMBT-2525 7.Y00999 28 SMBS-12T10 7.Y00065 36 SCA1-1010L60 7.Y00399 45
SMBT-4020 7.Y01059 28 SMBS-20T10 7.Y00066 36 SCA1-1010L90 7.Y00400 45
SMBT-4025 7.YO1004 28 SMBS-8T16 7.Y00067 36 SCA1-1212L30 7.YO0769 45
SMBT-4040 7.Y01003 28 SMBS-12T16 7.Y00001 36 SCA1-1212L60 7.YO0770 45
SMBT2-1212 7.Y00192 29 SMBS-20T16 7.Y00068 36 SCA1-1212L90 7.YOO771 45
SMBT2-2020 7.Y00185 29 SCF3-40M10 7.YO0119 37 SCA1-1414L40 7.Y00401 45
SCD-2010 7.Y00329 28 SCF3-40M12 7.Y00120 37 SCA1-1414L80 7.Y00402 45
SCD-2014 7.Y00330 29 SCF3-40M17 7.Y00121 37 SCA1-1414L120 7.Y00403 45
SCD-3020 7.Y01049 29 SCF3-70M10 7.Y00133 37 SCA1-2020L50 7.Y00404 45

Cs



ZZ5| Index

S (Model) ES(PN) g (Page) A S(Model) ERS(PN) fE(Page) A S(Model) RS (PN) mf5(Page)
SCA1-2020L100  7.Y00405 45 SEAV-G1420L150  7.Y00437 53 D-Sub15G2-1000  1.Y10081 82
SCA1-2020L150  7.Y00406 45 SBNA-8M5 7.Y00271 54 QCAM-06G18R  7.Y01015 83
SCA1-3030L80  7.Y00407 45 SBNA-8M6 7.Y00272 54 QCAM-06G18G  7.Y01016 83
SCA1-3030L140  7.Y00408 45 SBNA-12M5 7.Y00273 54 QCAM-06G18R-E  7.Y01018 83
SCA1-3030L200  7.Y00409 45 SBNA-12M10 7.Y00274 54 QCAM-06G18G-E  7.YO1019 83
SCA2-2020L50  7.Y00996 45 SBNA-20M12 7.Y00276 54 QCAM-10M5R  7.Y01053 84
SCA2-2020L100  7.Y01000 45 SBNA-20M17 7.Y00277 54 QCAM-10M5G  7.Y01054 84
SCA2-2020L150  7.Y00997 45 SBNB-12PT18 7.Y00275 54 QCAM-14M5R  7.Y01055 84
SCA2-3030L80  7.Y01006 45 SBNB-20PT18 7.Y00278 54 QCAM-14M5G  7.Y01056 84
SCA2-3030L140  7.Y01005 45 SBND-1208 7.Y00280 54 QCAM-06G18R-F  7.Y02005 85
SCA2-3030L200  7.Y01001 45 SBND-2012 7.Y00281 54 QCAM-06G18G-F  7.Y02006 85
SCC-20G18 7.Y00236 46 SBND-2008 7.¥00282 54 QCWM-02R 7.¥02049 86
SCC-20M16 7.¥00234 46 QCWM-02G 7.Y02014 86
SCE-NR20 7.Y00331 47 QCA-05R 8.Y00355 61 QCSM-M9K 7.Y00922 88
SCE-NR30 7.Y00261 47 QCA-05G 8.Y00356 61 QCSM-9R2 7.¥00862 88
SCE-NR50 7.Y00742 47 QCA-05R-SP 8.Y00355-SP 61 QCSM-9G2 7.Y00863 88
SCE1-NS20 7.Y00692 47 QCA-05R-SN 8.Y00355-SN 61 R9-1000 1.Y06423 88
SCE1-NS30 7.Y00693 47 QCA-15R 8.Y00353 63 G9-1000 1.Y06424 88
SCE2-05 7.Y00796 47 QCA-15G 8.Y00354 63 QC-R50K 8.Y00402 89
SCE2-1015 1.Y00094 48 QCA-15R-SP 8.Y00353-SP 63 QC-G50 8.Y00055 90
SCE2-25 7.Y00633 48 QCA-15R-SN 8.Y00353-SN 63 SIP-508B 7.Y00650 90
SCE3-N10 7.Y00075 48 QCA-25R 8.Y00460 65 QC-R90K 8.Y00359 91
SCE3-N20 7.Y00076 48 QCA-25G 8.Y00461 65 QC-G90 8.Y00033 92
SCE3-N30 7.Y00077 48 QCA-25R-SP 8.Y00460-SP 65 SIP-90B 7.Y00634 92
SCE4-NR(L.R) 7.¥00868 49 QCA-25R-SN 8.Y00460-SN 65 QC-R150K 8.Y00376 93
SCE4-NR30 7.Y00146 49 QCA-35R 8.Y00351 67 QC-G150 8.Y00377 94
SCE4-NR20 7.Y00147 49 QCA-35G 8.Y00352 67 SIP-1608B 7.Y00635 94
SCE4-NR10 7.Y00148 49 QCA-35R-SP 8.Y00351-SP 67 QC-R160K 8.Y00360 95
SCE-NR20-D10  7.Y00946 49 QCA-35R-SN 8.Y00351-SN 67 QC-G160 8.Y00053 96
SCE-NR20-D12  7.Y00947 49 QCA-50R 8.Y00349 69 SIP-1608 7.Y00635 96
SCE-NR30-D10  7.Y00948 49 QCA-50G 8.Y00350 69 QC-R200K 8.Y00209 97
SCE-NR30-D12  7.Y00949 49 QCA-50R-SP 8.Y00349-SP 69 QC-G200 8.Y00208 98
SMBH1-8M5 7.Y00051 50 QCA-50R-SN 8.Y00349-SN 69 SIP-2008 7.Y00865 98
SMBH1-8M6 7.Y00052 50 QCA-100R-SP 8.Y00362-SP 71 QCS-R60 8.Y00081 99
SMBH1-12M5 7.Y00053 50 QCA-100R-SN 8.Y00362-SN 71 QCS-G60 8.Y00082 99
SMBH1-12M6 7.Y00002 50 QCA-100G 8.Y00363 71 KCH04-M5 1.Y03525 99
SMBH1-12M8 7.Y00054 50 QCA-200R-SP 8.Y00272-SP 73 KCH06-M5 1.Y03524 99
SMBH1-20M6 7.Y00055 50 QCA-200R-SN 8.Y00272-SN 73 QCS-R100 7.¥00332 99
SMBH1-20M8 7.Y00056 50 QCA-2006G 8.Y00357 73 QCs-G100 7.Y00175 99
SMBE7-18M5 7.Y00869 50 QCA-200R-SP-D1  8.Y00272-SP-D1 75 QCS-R160 7.Y00160 99
SMBE7-18M6 7.Y00870 50 QCA-200R-SN-D1  8.Y00272-SN-D1 75 QCS-G160 7.Y00161 99
SMBE7-25M5 7.Y00871 50 QCA-200G-D1 8.Y00357-D1 75 KCH104-M5*5 7.¥02016 99
SMBE7-25M6 7.Y00872 50 QCSM-15R1 7.Y00965 77 KCH106-M5*5 7.¥02017 99
SEA-1010L60 7.Y00388 51 QCSM-15G1 7.Y00966 77 MS-10SF*5 7.Y02018 99
SEA-1212L60 7.Y00776 51 QCSM-15R2 7.Y00468 77 MS-10PF 1.Y20004 99
SEA-1414L40 7.Y00389 51 QCSM-15G2 7.Y00469 77 QCL15R-Y 1.Y01275 100
SEA-1414L80 7.Y00390 51 QCSM-08R 8.Y00477 78 QCL15G-Y 1.Y01276 100
SEA-1414L120  7.Y00391 51 QCSM-08G 7.Y00478 78 QCL15R-S 8.¥00236 101
SEA-2020L50 7.¥00392 51 QCSM-19R 7.Y00954 78 QCL15G-S 8.Y00235 101
SEA-2020L100  7.Y00393 51 QCSM-19G 7.Y00955 78 QCL35R-S 8.Y00101 102
SEA-2020L150  7.Y00394 51 QCSM-26R 7.Y00464 79 QCL35G-S 8.Y00102 102
SEA-3030L80 7.Y00395 51 QCSM-26G 7.Y00465 79 BP90 4.¥00480 103
SEA-3030L140  7.Y00396 51 QCHFM-E14-C1R  7.Y02003 79 BP135 4.¥00497 103
SEA-3030L200  7.Y00397 51 QCHFM-E14-C1G  7.Y02004 79 QCA-ST0R 8.Y00037 104
SEAH-2020L50  7.Y00350 52 MS3116F14-195  1.Y11420 80 QCA-510G 8.Y00038 104
SEAH-2020L100  7.Y00351 52 MS3116F14-19P  1.Y11419 80
SEAH-2020L150  7.Y00166 52 MS3116F16-26S  1.Y11867 80 GMHZ2-10S 1.Y00258 105
SEAH-3030L80  7.Y00352 52 MS3116F16-26P  1.Y11369 80 GMHZ2-10D 1.Y00252 105
SEAH-3030L140  7.Y00353 52 3108A22-23S 1.Y10710 80 GMHZ2-16S 1.Y00257 105
SEAH-3030L200  7.Y00354 52 3108A22-23P 1.Y10711 80 GMHZ2-16D 1.Y00256 105
SEAV-M510L45  7.Y00432 53 CMBOBE-14-195(072)5R-B 1.Y00863 81 GMHZ2-20S 1.Y03080 105
SEAV-M510L90  7.Y00433 53 CMBOBE-14-19P(072)5R-B 1.Y00864 81 GMHZ2-20D 1.Y02703 105
SEAV-G1814L60  7.Y00258 53 CMBOBE-16-265(072)5R-B 1.Y00865 81 GMHZ2-255 1.Y09884 105
SEAV-G1814L120  7.Y00434 53 CMBOBE-16-26P(072)SR-B 1.Y00866 81 GMHZ2-25D 1.Y09338 105
SEAV-G1820L78  7.Y00435 53 DB15R1-1000 1.Y10163 82 GMHZ2-325 1.Y09885 105
SEAV-G1820L153  7.Y00247 53 DB15G1-1000 1.Y10437 82 GMHZ2-32D 1.Y09886 105
SEAV-G1420L75  7.Y00436 53 D-Sub15R2-1000  1.Y10080 82 GMHZ2-40S 1.Y09887 105



ZZ5| Index

#S(Model) 5S(PN) f5(Page) A= (Model) RS(PN) mfg(Page) #E(Model) 85 (PN) af8(Page)
GMHZ2-40D 1.Y09888 105 FCT-40A-1-TEM 1.Y13340 111 GMXS12-75 - 116
GMHZL2-10S 1.Y09405 106 FCT-50A-1 1.Y13341 111 GMXS12-100 - 116
GMHZL2-10D 1.Y07974 106 FCT-50A-1-SD 1.Y13342 111 GMXS16-10 - 116
GMHZL2-16S 1.Y08175 106 FCT-50A-1-TEM 1.Y13343 111 GMXS16-20 - 116
GMHZL2-16D 1.Y08146 106 FCT-64A-1 1.Y13344 111 GMXS16-30 = 116
GMHZL2-20S 1.Y09882 106 FCT-64A-1-SD 1.Y13345 111 GMXS16-40 - 116
GMHZL2-20D 1.Y07975 106 FCT-64A-1-TEM 1.Y13346 111 GMXS16-50 - 116
GMHZL2-25S 1.Y09883 106 FCT-80A-1 1.Y13347 111 GMXS16-75 - 116
GMHZL2-25D 1.Y08802 106 FCT-80A-1-SD 1.Y13348 111 GMXS16-100 - 116
GMHC2-16S 1.Y02014 107 FCT-80A-1-TEM 1.Y13349 111 GMXS16-125 - 116
GMHC2-16D 1.Y05738 107 FCT-100A-1 1.Y13350 111 GMXS20-10 - 117
GMHC2-20S 1.Y02730 107 FCT-100A-1-SD 1.Y13351 111 GMXS20-20 - 117
GMHC2-20D 1.Y04328 107 FCT-100A-1-TEM  1.Y13352 111 GMXS20-30 - 117
GMHS3-16D 1.Y04529 108 FCT-125A-1 1.Y13353 111 GMXS20-40 - 117
GMHS3-20D 1.Y04764 108 FCT-125A-1-SD 1.Y13354 111 GMXS20-50 - 117
GMHS3-25D 1.Y05750 108 FCT-125A-1-TEM  1.Y13355 111 GMXS20-75 - 117
FPT-40A-1 1.Y13289 109 FCT-160A-1 1.Y13356 111 GMXS20-100 - 117
FPT-40A-1-SD 1.Y13290 109 FCT-160A-1-SD 1.Y13357 111 GMXS20-125 - 117
FPT-40A-1-TEM 1.Y13291 109 FCT-160A-1-TEM  1.Y13358 111 GMXS20-150 - 117
FPT-50A-1 1.Y13292 109 FCT-200A-1 1.Y13359 111 GMXA25-10 - 117
FPT-50A-2 1.Y13293 109 FCT-200A-1-SD 1.Y13360 111 GMXA25-20 - 117
FPT-50A-1-SD 1.Y13294 109 FCT-200A-1-TEM  1.Y13361 111 GMXA25-30 - 117
FPT-50A-2-SD 1.Y13295 109 FCT-240A-1 1.Y13362 111 GMXA25-40 - 117
FPT-50A-1-TEM 1.Y13296 109 FCT-240A-1-SD 1.Y13363 111 GMXA25-50 - 117
FPT-50A-2-TEM 1.Y13297 109 FCT-240A-1-TEM  1.Y13364 111 GMXA25-75 - 117
FPT-64A-1 1.Y13298 109 FCT-300A-1 1.Y13365 111 GMXA25-100 - 117
FPT-64A-2 1.Y13299 109 FCT-300A-1-SD 1.Y13366 111 GMXA25-125 - 117
FPT-64A-1-SD 1.Y13300 109 FCT-300A-1-TEM  1.Y13367 111 GMXA25-150 - 117
FPT-64A-2-SD 1.Y13301 109 IPS-030-M8 1.Y13368 112 GMXS6 - 117
FPT-64A-1-TEM 1.Y13302 109 IPS-030-OW 1.Y13369 112 GMXS8 - 118
FPT-64A-2-TEM 1.Y13303 109 IPS-RA-030-M8 1.Y13370 112 GMXS12 - 118
FPT-80A-1 1.Y13304 109 IPS-RA-030-OW 1.Y13371 112 GMXS16 - 118
FPT-80A-2 1.Y13305 109 EMS-030-M8-PNP  1.Y13372 112 GMXS20 - 118
FPT-80A-1-SD 1.Y13306 109 EMS-030-PNP-OW 1.Y13373 112 GMXS25 - 118
FPT-80A-2-SD 1.Y13307 109 EMS-RA-030-M8-PNP.Y13374 112 GMXH6-5Z - 120
FPT-80A-1-TEM 1.Y13308 109 EMS-RA-030-OW  1.Y13375 112 GMXH6-10Z - 120
FPT-80A-2-TEM 1.Y13309 109 EC-M8-0200-OW  1.Y13376 112 GMXH6-15Z - 120
FPT-100A-1 1.Y13310 109 EC-M8-0500-OW  1.Y13377 112 GMXH6-20Z - 120
FPT-100A-2 1.Y13311 109 SC-RA-G1/8-6 1.Y13378 112 GMXH6-25Z - 120
FPT-100A-1-SD 1.Y13312 109 SC-RA-G1/8-8 1.Y13379 112 GMXH6-30Z - 120
FPT-100A-2-SD 1.Y13313 109 SC-RA-G1/4-6 1.Y13380 112 GMXH6-40Z - 120
FPT-100A-1-TEM  1.Y13314 109 SL-040 1.Y13381 112 GMXH6-50Z - 120
FPT-100A-2-TEM  1.Y13315 109 SL-050 1.Y13382 112 GMXH6-60Z - 120
FPT-110A-1 1.Y13316 109 SL-064 1.Y13383 112 GMXH10-5Z - 120
FPT-125A-1 1.Y13317 109 SL-080 1.Y13384 112 GMXH10-10Z - 120
FPT-125A-2 1.Y13318 109 SL-100 1.Y13385 112 GMXH10-15Z - 120
FPT-125A-1-SD 1.Y13319 109 SL-120 1.Y13386 112 GMXH10-20Z - 120
FPT-125A-2-SD 1.Y13320 109 SL-160 1.Y13387 112 GMXH10-25Z - 120
FPT-125A-1-TEM  1.Y13321 109 SL-200 1.Y13388 112 GMXH10-30Z - 120
FPT-125A-2-TEM  1.Y13322 109 SL-240 1.Y13389 112 GMXH10-40Z - 120
FPT-160A-1 1.Y13323 109 SL-300 1.Y13390 112 GMXH10-50Z - 120
FPT-160A-2 1.Y13324 109 GMXS6-10 - 115 GMXH10-60Z - 120
FPT-160A-1-SD 1.Y13325 109 GMXS6-20 - 115 GMXH16-5Z - 121
FPT-160A-2-SD 1.Y13326 109 GMXS6-30 - 115 GMXH16-10Z - 121
FPT-160A-1-TEM  1.Y13327 110 GMXS6-40 . 115 GMXH16-15Z - 121
FPT-160A-2-TEM  1.Y13328 110 GMXS6-50 - 115 GMXH16-20Z - 121
FPT-200A-1 1.Y13329 110 GMXS8-10 - 115 GMXH16-25Z - 121
FPT-200A-1-SD 1.Y13330 110 GMXS8-20 - 115 GMXH16-30Z - 121
FPT-200A-1-TEM  1.Y13331 110 GMXS8-30 - 115 GMXH16-40Z - 121
FPT-240A-1 1.Y13332 110 GMXS8-40 - 115 GMXH16-50Z - 121
FPT-240A-1-SD 1.Y13333 110 GMXS8-50 : 115 GMXH16-60Z - 121
FPT-240A-1-TEM  1.Y13334 110 GMXS8-75 - 115 GMXH20-5Z - 121
FPT-300A-1 1.Y13335 110 GMXS12-10 - 116 GMXH20-10Z - 121
FPT-300A-1-SD 1.Y13336 110 GMXS12-20 - 116 GMXH20-15Z - 121
FPT-300A-1-TEM  1.Y13337 110 GMXS12-30 - 116 GMXH20-20Z - 121
FCT-40A-1 1.Y13338 111 GMXS12-40 - 116 GMXH20-25Z - 121
FCT-40A-1-SD 1.Y13339 111 GMXS12-50 : 116 GMXH20-30Z - 121

-



ZZ5| Index

A S (Model) ES(PN) W5(Page) A S(Model) £25(PN) WfB(Page) A5 (Model) £2S(PN) 5 (Page)
GMXH20-40Z = 121 GR201-20-CN 8.Y00471 145 B5 1.Y08426 167
GMXH20-50Z - 121 GRA20A 8.Y00391 147 B6 1.Y12921 167
GMXH20-60Z = 121 GRA20A-CP 8.Y00392 147 B7 1.Y12922 167
PNP 7.Y00800 123 GRA20A-CN 8.Y00393 147 B8 1.Y12923 167
NPN 7.Y00801 123 GRC20A-CP 8.Y00434 148 Cc3 1.Y08427 167
GRS08 8.Y00214 124 GRC20A-CN 8.Y00435 148 C4 1.Y08428 167
GRS08-C 8.Y00099 124 GRT20A 8.Y00257 150 c5 1.Y08429 167
GRS08-CN 8.Y00011 124 GRT20A-CN 8.Y00258 150 Cé 1.Y12924 167
GRS08-CP 8.Y00012 124 GRT20A-CP 8.Y00259 150 Cc7 1.Y12925 167
GRM12A 8.Y00103 125 GRT20B 8.Y00279 151 Cc8 1.Y12926 167
GRM12A-C 8.Y00092 125 GRT20B-C 8.Y00280 151 GBS-2B-S01 4.Y00509 168
GRM12A-CN 8.Y00009 125 GRT20B-CN 8.Y00281 151 GBS-3B-S01 4.Y00510 168
GRM12A-CP 8.Y00010 125 GRT20B-CP 8.Y00282 151 GBS-4B-S01 4.Y00511 168
GRM12B 8.Y00107 125 GRT20C 8.Y00316 152 B-2B 1.Y08430 168
GRM12B-C 8.Y00106 125 GRT20D 8.Y00317 153 B-3B 1.Y08431 168
GRM12B-CN 8.Y00104 125 GRT20D-CP 8.Y01004 153 B-4B 1.Y08432 168
GRM12B-CP 8.Y00105 125 GRT20D-CN 8.Y00458 153 GSMP-2S 7.Y01028 169
GRL12A 8.Y00108 126 GRT20E 8.Y00318 154 GSMP-2L 7.Y01029 169
GRL12A-C 8.Y00100 126 GRT20E-CN 8.Y00339 154 GSMP-3S 7.Y01030 169
GRL12A-CN 8.Y00001 126 GRT20E-CP 8.Y00340 154 GSMP-3L 7.Y01031 169
GRL12A-CP 8.Y00002 126 GRP32A 8.Y00278 157 GSMP-4S 7.Y01032 169
GRX20 8.Y00213 127 GRP32A-CP 8.Y00462 157 GSMP-4L 7.Y01033 169
GRX20-C 8.Y00215 127 GRP32A-CN 8.Y00463 157 GSMP-5S 7.Y01034 169
GRX20-CN 8.Y00013 127 GRP32B 8.Y00388 158 GSMP-5L 7.Y01035 169
GRX20-CP 8.Y00014 127 GRP32B-CP 8.Y00466 158 iPCU 2-SMN 1.Y12927 170
GRO5A-10 8.Y00348 129 GRP32B-CN 8.Y00467 158 GSR1421-08 8.Y00241 171
GR10A-12 8.Y00268 130 GRP32A-30 8.Y00315 159 GSR2026-10 8.Y00329 171
GR10A-12-CP 8.Y00267 130 GRP32A-30CP 8.Y00464 159 GSR2026-12 8.Y00243 171
GR10D-12 8.Y00370 131 GRP32A-30CN 8.Y00465 159 GSR2051-10 8.Y00330 171
GR10D-12-CP 8.Y00369 131 GRP32B-30 8.Y00387 160 GSR2051-12 8.Y00331 171
GR12A-12 8.Y00048 132 GRP32B-30CP 8.Y00399 160 GSRT1421-08 8.Y00242 171
GR12A-12-C 8.Y00098 132 GRP32B-30CN 8.Y00411 160 GSRT2026-10 8.Y00332 171
GR12A-12-CP 8.Y00050 132 GRP32A-3020 8.Y00468 161 GSRT2026-12 8.Y00244 171
GR12A-12-CN 8.Y00091 132 GRP32A-3020CP  8.Y00469 161 GSRT2051-10 8.Y00333 171
GR12B-12 8.Y00245 133 GRP32A-3020CN  8.Y00477 161 GSRT2051-12 8.Y00334 171
GR12B-12-C 8.Y00260 133 GRP32B-3020 8.Y00478 162 GSP20-14 8.Y00238 172
GR12B-12-CP 8.Y00261 133 GRP32B-3020CP 8.Y00416 162 GSP20-20 8.Y00239 172
GR12B-12-CN 8.Y00262 133 GRP32B-3020CN  8.Y00417 162 GMP14A 8.Y00408 173
GR10L-12 8.Y00307 134 GRP32C 8.Y00412 163 GMP20A 8.Y00088 173
GR12L-12 8.Y00308 134 GRP32C-30 8.Y00415 163 GMP30A 8.Y00089 173
GR10ON-12 8.Y01011 134 GRP32C-320 8.Y00418 164 GMP14B 8.Y00968 173
GR12N-12 8.Y01012 134 GFM-A3V5 4.Y00500 167 GMP20B 7.Y00726 173
GR12M-12 8.Y00419 135 GFM-A4V5 4.Y00501 167 GMP30B 7.Y00789 173
GR12M-12-CP 8.Y00421 135 GFM-A5V5 4.Y00502 167 GLU20A 7.Y00894 173
GR12M-12-CN 8.Y00420 135 GFM-A6V5 4.Y10951 167 GLU20B 7.Y00895 173
GR20A-20 8.Y00224 138 GFM-A7V5 4.Y10952 167 GN2010 8.Y00025 174
GR20A-20-C 8.Y00049 138 GFM-A8V5 4.Y10953 167 GN2010-8 8.Y00347 174
GR20A-20-CP 8.Y00226 138 GFM-B3V5 4.Y00503 167 GN2010-S51 8.Y00341 175
GR20A-20-CN 8.Y00051 138 GFM-B4V5 4.Y00504 167 GN2010-S21 8.Y00440 175
GR20B-20 8.Y00234 139 GFM-B5V5 4.Y00505 167 18-S1 4.Y00470 177
GR20B-20-C 8.Y00231 139 GFM-B6V5 4.Y10954 167 18-S2 4.Y00472 177
GR20B-20-CP 8.Y00232 139 GFM-B7V5 4.Y10955 167 22-51 4.Y00471 177
GR20B-20-CN 8.Y00233 139 GFM-B8V5 4.Y10956 167 22-S2 4.Y00473 177
GR20C-20 8.Y00342 140 GFM-C3V5 4.Y00506 167 GBD18U 8.Y00212 178
GR20D-20 8.Y00343 141 GFM-C4V5 4.Y00507 167 GBD22HU 8.Y00058 178
GR20D-20-CP 8.Y00442 141 GFM-C5V5 4.Y00508 167 GBD18HD 8.Y00057 178
GR20D-20-CN 8.Y00479 141 GFM-C6V5 4.Y10957 167 GFA14-35 8.Y00117 179
GR20E-20 8.Y00344 142 GFM-C7V5 4.Y10958 167 GFA20-35 8.Y00118 179
GR20F-20 8.Y00345 142 GFM-C8V5 4.Y10959 167 GFA30-35 8.Y00119 179
GR20G-20 8.Y00433 143 A3 1.Y08421 167 GFR14-95 8.Y00042 180
GR20G-20-CP 8.Y00472 143 A4 1.Y08422 167 GFR20-95 8.Y00041 180
GR20G-20-CN 8.Y00473 143 A5 1.Y08423 167 GFR20-95E 8.Y00311 &1%8.Y00041
GR20H-20 8.Y00422 144 A6 1.Y12918 167 GFR30-95 8.Y00095 180
GR20H-20-CP 8.Y00424 144 A7 1.Y12919 167 GFR14-95G 8.Y00084 181
GR20H-20-CN 8.Y00423 144 A8 1.Y12920 167 GFR20-95G 8.Y00083 181
GR201-20 8.Y00450 145 B3 1.Y08424 167 GFR20-95EG 8.Y00312 &4£8.Y00083
GR201-20-CP 8.Y00470 145 B4 1.Y08425 167 GFR30-95G 8.Y00096 181

CRG



ZZ5| Index

A5 (Model) £5(PN) E8(Page) F8(Model) NBR-55(2&) SI-SS(EWE)  HTI-60(ER) R(Page) F5(Model) SIGERE)  SP(E4E) Wd(Page)
GFR20-95L 8.Y00309 182 PFG-80-..  1.Y12967 1.Y12986 1.Y13005 198 VSH2-S6  1.Y07304 - 203
GFR20-95LG 8.Y00310 183 PFG-95-..  1.Y12968 1Y12987 113006 198 VSH2-S8  1.Y07305 - 203
GFR20-95S 8.Y00335 184 PFYN-120-.. 1.Y12969 1.Y12988 - 198 VSH2-S10  1.Y07306 = 203
GFR20-95SG 8.Y00336 185 PFYN-150-.. 1.Y12970 1.Y12989 1.Y13008 198 VSH2-S12  1.Y07307 - 203
GFS14-90G 8.Y01001 186 PFYN-200-.. 1.Y12971 1.Y12990 - 198 VSH2-S15  1.Y07308 = 203
GFS20-90G 8.Y01002 186 FGA-6-..  1.Y12937 1Y12949 1.Y12951 199 VSH2-520  1.Y07309 - 203
GFS30-90G 8.Y01003 186 FGA-11-..  1.Y12938 1.Y12288 1.Y12298 199 VSH2-S25 1.Y07310 = 203
GFS20-90SG 8.Y01030 187 FGA-14-..  1Y¥12939 1Y12289 112299 199 VSH2-S30  1.Y07311 - 203
GFS30-90SG 8.Y01031 187 FGA-16-..  1.Y12940 112290 1.Y12300 199 VSH2-M6  1.Y07312 - 203
GP1-20 7.Y00778 188 FGA-20-..  1.Y12941 1Y12291 1.Y12301 199 VSH2-M8  1.Y07313 - 203
GP1-30 7.Y00779 188 FGA-22-..  1.Y12942 1Y12292 1Y12302 199 VSH2-M10 1.Y07314 1.Y08294 203
GP2-14 7.Y00780 188 FGA-25-..  1.¥12943 1Y12293 1.Y12303 199 VSH2-M12 1.Y07315 1.Y08295 203
GP2-20 7.Y00781 188 FGA-33-..  1.Y12944 112294 1Y12304 199 VSH2-M15 1.Y07316 1.Y08296 203
GP2-30 7.Y00782 188 FGA-43-..  1Y12945 1Y12295 1.Y12305 199 VSH2-M20 1.Y07317 1.Y07929 203
GP3-14 7.Y00783 188 FGA-53-.. 112946 1Y12296 1.Y12306 199 VSH2-M25 1.Y07318 1.Y08349 203
GP3-20 7.Y00700 188 FGA-63-..  1.Y12947 1.¥12297 1Y12307 199 VSH2-M30 1.Y07319 1.Y08056 203
GP3-20L 7.Y00908 188 FGA-78-..  1.Y12948 1Y12950 1.Y12952 199 VSH2-M35 1.Y07320 - 203
GP3-30 7.Y00785 188 FG-3-... 1.¥12929  1.¥12931 112934 200 VSH2-M40 1.Y07321 1.Y08104 203
GS-14 7.Y00786 188 FG-4-... 1.¥12930  1.¥12932  1.¥12935 200 VSH2-M50 1.Y07322 1.Y08105 203
GS-20 7.Y00787 188 FG-5-... 1.¥12308  1.¥12319 112331 200 VSH3-S6  1.Y07323 - 204
GS-30 7.Y00788 188 FG-7-... 1.Y12309 1.¥12320 1.¥12332 200 VSH3-S8  1.Y07324 = 204
GOF20-20-NBR 8.Y00396 189 FG-9-... 1.¥Y12310  1.¥12321 1.Y12333 200 VSH3-S10  1.Y07325 - 204
GOF20-20-VMQ 8.Y00395 189 FG-12-.. 112311 1Y12322 1.¥12334 200 VSH3-S12  1.Y07326 = 204
GOP20-20-NBR 8.Y00398 189 FG-14-..  1¥12312 1Y12323 1.¥12335 200 VSH3-S15  1.Y07327 - 204
GOP20-20-VMQ  8.Y00397 189 FG-18-..  1.¥12313 1.Y12324 1.Y12336 200 VSH3-M8  1.Y07328 = 204
D-M9B 1.Y00310 190 FG-20-..  1.¥12314 1Y12325 1.¥12337 200 VSH3-M10 1.Y07329 1.Y09163 204
D-M9BL 1.Y00307 190 FG-25-..  1.¥12315 1.Y12326 1.Y12338 200 VSH3-M12 1.Y07330 1.Y09162 204
D-M9BV 1.Y02565 190 FG-32-..  1.Y12284 1Y12327 1Y11797 200 VSH3-M15 1.Y07331 1.Y09161 204
D-M9BVL 1.Y03843 190 FG-42-..  1Y12316 1.Y12328 1.¥12340 200 VSH3-M20 1.Y07332 1.Y08134 204
D-M9N 1.Y00311 190 FG-52-..  1.Y12317 1Y12329 1.¥12341 200 VSH3-M25 1.Y07333 1.Y09065 204
D-M9NL 1.Y00295 190 FG-62-..  1.Y12318 1.Y12330 112342 200 VSH3-M30 1.Y07334 1.Y08167 204
D-M9NV 1.Y00298 190 FG-88-..  1.¥12928 1.Y12933 - 200 VSH3-M40 1.Y07335 1.Y08168 204
D-M9NVL 1.Y03598 190 AS(Model) NBR-60(RE) SI-60(EH)  HTI-G0(EE) ME(Page) VSH3-M50 1.Y07336 1.Y08234 204
D-M9P 1.Y00309 190 SGON-4x2-.. 1.Y13068 1.¥13079 1.¥13090 201 A E(Model) #E2(PN) TfE(Page)
D-M9PL 1.Y02301 190 SGON-7x35-.. 1.Y13069 1.Y13080 1.Y13091 201 SAF-30-G3/8AG 1.Y13010 205
D-M9PV 1.Y00296 190 SGON-12¢4-.. 1.Y13070 1.Y13081 113092 201 SAF-30-G3/8IG 1.¥13011 205
D-M9PVL 1.Y02964 190 SGON-15%5-.. 1.Y13071 1.¥13082 1.¥13093 201 SAF-40-G3/8AG 1.¥13012 205
D-MQ 1.Y00293 190 SGON-18x6-.. 1.Y13072 1.¥13083 1.Y13094 201 SAF-40-G3/8IG 1.¥13013 205
GFN20-90 8.Y00094 191 SGON-24x8-.. 1.Y13073 1.Y13084 1.Y13095 201 SAF-50-G3/8AG 1Y¥13014 205
GFN30-90 8.Y00116 191 SGON-30x10-.. 1.Y13074 1.Y13085 1.Y13096 201 SAF-50-G3/8IG 1.Y13015 205
GFT60-90 8.Y01007 192 SGON-45x15-.. 1.Y13075 1.Y13086 1.Y13097 201 SAF 60-G3/8AG 1.Y13016 205
SGON-60x20-.. 1.Y13076 1.Y13087 1.Y13098 201 SAF-60-G3/81G  1.Y13017 205
GT-N50H-40 8.Y00367 193 SGON-75x25-.. 1.Y13077 1.Y13088 1.¥13099 201 SAF-80-G3/8AG  1.Y13018 205
N54-T 7.Y00441 193 SGON-90x30-.. 1.Y13078 1.Y13089 - 201 SAF -80-G3/8IG 1.Y13019 205
N54-D 7.Y00442 193 FE5(Model) SIGERE)  SP(E4) IaES(Page) SAF-100-G3/8AG  1.Y13020 205
L54-5 2.Y05202 193 VSH-S2 1.Y07282 - 202 SAF-100-G3/81G  1.Y13021 205
GTC-001 8.Y01026 195 VSH-S4 1.Y07283 - 202 SAF-125-G3/8IG  1.Y13023 205
GTC-002 8.Y 1027 195 VSH-S6 1.Y07284 - 202 SAOF-50x16-G3/8AG 1.Y13024 205
- 1.Y20002 195 VSH-S8 1.Y07285 - 202 SAOF-50x16-G3/8IG  1.Y13025 205
D6-L55 1.Y20003 195 VSH-S10  1.Y07286 - 202 SAOF-60x23-G3/8AG 1.Y13026 205
GT-BH2060 8.Y00346 196 VSH-S12  1.Y07287 - 202 SAOF-60x23-G3/8IG  1.Y13027 205
VSH-S15  1.Y07288 - 202 SAOF-90x30-G3/8AG 1.Y13028 205
BS(Model) NBR-55(Rf) SI-S5(EBE)  HT1-G0(EE) MEH(Page) VSH-S20  1.Y07289 - 202 SAOF-90x30-G3/8IG  1.Y13029 205
PFG-2-... 1.¥12953 1.Y12972 1.Y12991 198 VSH-S25 1.Y07290 - 202 SAOF-80x40-G3/8AG 1.Y13030 205
PFG-35-.. 1.Y12954 1Y12973 1Y12992 198 VSH-S30  1.Y07291 - 202 SAOF-80x40-G3/8IG  1.Y13031 205
PFG-5-... 1.Y12955 1.Y12974 1.Y12993 198 VSH-M4 1.Y07292 - 202 SAOF-100x50-G3/8AG 1.Y13032 205
PFG-6-... 1.¥12956  1.Y12975 1.Y12994 198 VSH-M6 1.Y07293 - 202 SAOF-100x50-G3/8IG 1.Y13033 205
PFG-8-... 1.¥12957 112976 1.Y12995 198 VSH-M8 1.Y07294 - 202 SAOF-120x60-G3/8AG 1.Y13034 205
PFG-10-..  1.Y12958 1.Y12977 1Y12996 198 VSH-M10  1.Y07295 1.Y12885 202 SAOF-120x60-G3/8IG 1.Y13035 205
PFG-15-..  1.Y12959 1.¥Y12978 1.Y12997 198 VSH-M12  1.Y07296 1.Y12886 202 SAOF-140x70-G3/8IG 1.Y13037 205
PFG-20-..  1.Y12960 1.Y12979 112998 198 VSH-M15  1.Y07297 1.Y12887 202 SAB-22-G3/8AG 1.Y13038 206
PFG-25-..  1.Y12961 1.¥12980 1.Y12999 198 VSH-M20  1.Y07298 1.Y07530 202 SAB-22-G3/8IG 1.Y13039 206
PFG-30-..  1.Y12962 1Y12981 1.Y13000 198 VSH-M25  1.Y07299 1.Y12888 202 SAB-30-G3/8AG 1.Y13040 206
PFG-35-..  1.Y12963 1.¥12982 1.Y13001 198 VSH-M30 1.Y07300 1.Y07758 202 SAB-30-G3/8IG 1.Y13041 206
PFG-40-..  1.Y12964 1.¥12983 1.Y13002 198 VSH-M40  1.Y07301 1.Y07894 202 SAB-40-G3/8AG 1.Y13042 206
PFG-50-..  1.Y12965 1.Y12984 1.Y13003 198 VSH-M50  1.Y07302 1.Y07895 202 SAB-40-G3/8IG 1.Y13043 206
PFG-60 1.¥Y12966 1.Y12985 1.Y13004 198 VSH2-S4 1.Y07303 - 203 SAB-50-G3/8AG 1.Y13044 206
el CRG



ZZ5| Index

#E(Model)
SAB-50-G3/8IG
SAB-60-G3/8AG
SAB-60-G3/8IG
SAB-80-G3/8AG
SAB-80-G3/8IG
SAB-100-G3/8AG
SAB-100-G3/8IG
SAB-125-G3/8AG
SAB-125-G3/8IG
SAOB-60x30-G3/8AG
SAOB-60x30-G3/8IG
SAOB-80x40-G3/8AG
SAOB-80x40-G3/81G
SAOB-110x55-G3/8AG
SAOB-110x55-G3/8IG
SAOB-140x70-G3/8IG
HE(Model)
VMO02-G18
VM04-G14
VMO06-G14
VMO07-G18
VM08-M8
VMO09-M5
VM10-G18
VM11-G18
VM11-M5
VM12-M5
VM13-M5
VM14-M5
VM15-G18
VM16-G18
VM17-G18
VM18-M5
VM20-G14
VM21-M5
VM22-M5
VM23-G18
VM24-G18
VM25-M3
VM27-M5
VM28-M8
VM29-M5
VM30-G18
VM31-M5
VM32-G18
VM33-M5
VM34-G18
VM35-M5
VM36-G18
VM37-M5
VM38-G18
VM39-M5
VM40-G18
VM41-G14
VM10-G18F
VM-G18M-M10M
VM-G14M-M10M
VM-G18M-M5F
VM-G18M-M8F
VM-M5M-M8F
VM-M5M-G18F
VM-G14M-M8F
VFN1011-M5
VFN1021-M5
VFN1421-G18
VFN1436-G1
VFN2026-G18

25 (PN)
.Y13045
.Y13046
.Y13047
.Y13048
.Y13049
.Y13050
.Y13051
.Y13052
.Y13053
.Y13054
.Y13055
.Y13056
.Y13057
.Y13058
.Y13059
.Y13061
£5(PN)
7.YO0703
7.Y00709
7.YO0768
7.Y00767
1.Y05275
1.Y05274
7.Y00902
1.Y12762
1.Y05327
7.Y00762
7.Y00761
7.Y00760
7.YO0759
7.Y00758
7.YOO757
1.Y05314
4.Y00058
1.Y01986
1.Y05790
7.Y00900
7.Y00898
7.Y00928
1.Y01097
7.YO0475
7.YO1036
7.Y01037
7.Y01038
7.Y01039
7.Y01040
7.Y01041
7.Y01042
7.Y01043
7.Y01044
7.Y01045
7.YO1046
7.Y01047
7.Y01048
7.Y02013
7.Y00808
7.Y00756
7.YOO0755
7.YO0754
7.Y00473
7.YO0474
7.YO0476
8.Y00064
8.Y00321
8.Y00065
8.Y00322
8.Y00066

iy iy g N gy g g . ENg

Taf3(Page)
206
206
206
206
206
206
206
206
206
206
206
206
206
206
206
206

n#8(Page)
207
207
207
207
207
207
208
208
208
208
208
208
209
209
209
209
209
209
210
210
210
210
210
210
211
211
211
211
211
211
212
212
212
212
212
212
213
213
214
214
214
214
214
214
215
217
217
217
217
217

ElS(Model)
VFN2051-G18
VENT1011-M5
VENT1021-M5
VFNT1421-G18
VENT1621-G18
VFENT1436-G18
VFNT1636-G18
VFNT2026-G18
VENT2051-G18
VFR1011-M5
VFR1021-M5
VFR1421-G18
VFR1436-G18
VFR2026-G18
VFR2051-G18
VFRT1011-M5
VFRT1021-M5
VFRT1421-G18
VFRT1621-G18
VFRT1436-G18
VFRT1636-G18
VFRT2026-G18
VFRT2051-G18
VFE1011-M5
VFE1021-M5
VFE1421-G18
VFE1436-G18
VFE2026-G18
VFE2051-G18
VFET1011-M5
VFET1021-M5
VFET1421-G18
VFET1621-G18
VFET1436-G18
VFET1636-G18
VFET2026-G18
VFET2051-G18
VFC2030-G18
VFCT1620-M5
VFCT2030-G18
VFG20-10
VFG20-20
VFG30-20
VMGD30-20
VFRS-20M10-M5
VFRS-20M16-G18
VFEM-4014-G18
VFM-2020-G14
VFL-20M17-G18

HS(PN)

8.Y00067
8.Y00068
8.Y00323
8.Y00204
8.Y00383
8.Y00324
8.Y00384
8.Y00205
8.Y00206
8.Y00060
8.Y00325
8.Y00061
8.Y00326
8.Y00062
8.Y00063
8.Y00074
8.Y00327
8.Y00075
8.Y00381
8.Y00328
8.Y00382
8.Y00076
8.Y00077
8.Y00070
8.Y00371
8.Y00071
8.Y00372
8.Y00072
8.Y00073
8.Y00069
8.Y00374
8.00228
8.Y00379
8.Y00375
8.Y00380
8.Y00229
8.Y00230
8.Y00313
8.Y00277
8.Y00314
8.Y00207
8.Y00337
8.Y00338
8.y00451
4.Y00026
4.Y00023
1.Y01452
1.Y01451
1.Y01453

VFEMT-20M14-G18 8.Y00319
VFMT-40M14-G18 8.Y00320
VFHT-30M20-G38F-G18M 8.Y00409
VFH-30M20-G38F-G18M 8.Y00410

VFEST-5M10
VEST-10M10
VEST-20M10
VFST-30M10
VFS-58
VFS-512
VFS-108
VFS-1012
VFS-208
VFS-2012
VFS-308
VFS-3012
VFMT-5M12
VEMT-10M12

8.Y00283
8.Y00284
8.Y00285
8.Y00286
8.Y00287
8.Y00288
8.Y00289
8.Y00007
8.Y00290
8.Y00008
8.Y00291
8.Y00292
8.Y00293
8.Y00294

Tf3(Page)
217
217
217
217
217
217
217
217
218
218
218
218
218
218
218
218
218
218
218
218
219
219
219
219
219
219
219
219
219
219
219
219
219
219
219
219
219
220

224

224

224
224

#E(Model) £E(PN) TS (Page)
VFEMT-20M12 8.Y00295 224
VFEMT-30M12 8.Y00296 224
VFEM-512 8.Y00297 224
VFM-520 8.Y00298 224
VFM-1012 8.Y00299 224
VFM-1020 8.Y00300 224
VFM-2012 8.Y00301 224
VFM-2020 8.Y00302 224
VFM-3012 8.Y00303 224
VFM-3020 8.Y00304 224
COMPACT 20CE PNP 1.Y13062 225
COMPACT 20CE NPN 1.Y13063 225
COMPACT10E PNP 1.Y13064 227
COMPACT10E NPN 1.Y13279 227
VLCLASSIC X1 x 2 1.Y13065 229
PN acuum generator 1 y13066 230
IE/::N:.IS’}‘,E8®SVranan‘|Ium generator 1.Y13067 230
SCPSb-07-S04-NC-VD 1.Y13276 232
SCPSb-10-S04-NC-VD 1.Y13277 232
SCPSb-15-S04-NC-VD 1.Y13278 232
Bﬁ'ﬁ: ccessory Components
ASC-8A-B 8.Y00087 234
AJB4M8-3P-M12 4.Y00487 235
AJB4M8-3N-M12  4.Y00488 235
ELK8112-0/9 1.Y07461 235
M8-MO3T 1.Y06722 235
ELK8-2M/P00 1.Y07462 236
M8-MO3L 1.Y13391 236
AJB8M8-3P-M16 4.Y00491 237
AJB8M8-3N-M16  4.Y00492 237
DNLK14-14-2M/P00 1.Y07463 237
AJB8M8-3P-D2 4.Y00495 238
AJB8M8-3N-D2 4.Y00496 238
ARJ210-M5 1.Y05877 239
- 1.Y02592 239
APB-M3-04 1.Y03145 240
APB-M5-@4 1.Y05008 240
APB-M5-06 1.Y01986 240
APF-M3 1.Y06794 240
APF-M5 1.Y02510 240
APF-G18 1.Y00462 240
APF-G14 1.Y00463 240
APBL-M3-@4 1.Y13282 240
APBL-M5-@4 1.Y13283 240
APBL-M5-@6 1.Y13284 240
APBL-G18-06 1.Y13285 240
KQ2H02-M3G 1.Y13101 241
KQ2H02-M5A 1.Y13102 241
KQ2H23-M3G 1.Y13103 241
KQ2H23-M5A 1.Y13104 241
KQ2H04-M3G 1.Y13105 241
KQ2H04-M5A 1.Y04451 241
KQ2H04-M6A 1.Y13106 241
KQ2H06-M5A 1.Y00452 241
KQ2H06-M6A 1.Y13107 241
KQ2H23-01AS 1.Y13108 241
KQ2H23-02AS 1.Y13109 241
KQ2HO04-01AS 1.Y03599 241
KQ2H04-02AS 1.Y05147 241
KQ2H06-01AS 1.Y13110 241
KQ2H06-02AS 1.Y07090 241
KQ2H06-03AS 1.YO5164 241
KQ2HO08-01AS 1.Y07162 241
KQ2H08-02AS 1.YO5101 241
KQ2H08-03AS 1.Y02228 241
KQ2H10-01AS 1.Y13111 241
KQ2H10-02AS 1.Y07142 241
CcRG

258



ZZ5| Index

F2(Model) 2E(PN) TWB(Page) A Z(Model) E(PN) B (Page) #E(Model) #HSTH HSTm RiS(Page)
KQ2H10-03AS 1.Y07632 241 KQ2V16-04AS 1.Y13166 244 AS22001F-01-10SA 113229 1.¥13249 248
KQ2H10-04AS 1.¥13112 241 KQ2T02-M3G 1.Y13167 245 AS22001F-02-235A  1.Y13230  1.Y13250 248
KQ2H12-02AS 1.Y13113 241 KQ2T02-M5A 1.Y13168 245 AS22011F-02-045A  1.Y13231 113251 248
KQ2H12-03AS 1.Y13114 241 KQ2T23-M3G 1.Y13169 245 AS22001F-02-06SA  1.¥13232  1.Y06906 248
KQ2H12-04AS 1.¥Y13115 241 KQ2T23-M5A 1.Y13170 245 AS22[11F-02-085A  1.¥13233  1.Y08260 248
KQ2H16-02AS 1.Y13116 241 KQ2T04-M3G 1.Y13171 245 AS22[J1F-02-10SA  1.Y13234  1Y¥13252 248
KQ2H16-03AS 1.Y13117 241 KQ2T04-M5A 1.Y01536 245 AS32001F-02-065A  1.¥13235  1.Y13253 248
KQ2H16-04AS 1.Y13118 241 KQ2T04-M6A 1.Y13172 245 AS32001F-02-085A  1.¥13236  1.Y13254 248
KQ2H02-00A 1.¥Y13119 242 KQ2T06-M5A 1.Y03052 245 AS32001F-02-105A  1.¥13237  1.Y13255 248
KQ2H23-00A 1.¥Y13120 242 KQ2T06-M6A 1.Y13173 245 AS32001F-02-125A  1.Y13238  1.Y13256 248
KQ2H04-00A 1.¥13121 242 KQ2T23-01AS 1.Y13174 245 AS32011F-03-065A  1¥13239  1¥13257 248
KQ2H06-00A 1.¥13122 242 KQ2T23-02AS 1.Y13175 245 AS32011F-03-085A  1.¥13240  1.Y13258 248
KQ2H08-00A 1.¥13123 242 KQ2T04-01AS 1.Y13176 245 AS320J1F-03-105A  1.Y13241 113259 248
KQ2H10-00A 1.Y13124 242 KQ2T04-02AS 1.Y13177 245 AS320J1F-03-125A  1.Y13242  1Y¥13260 248
KQ2H12-00A 1.¥13125 242 KQ2T06-01AS 1.Y05154 245 AS42001F-04-105A 113243 1¥13261 248
KQ2H16-00A 1.Y13126 242 KQ2T06-02AS 1.Y13178 245 ASA20J1F-04-125A  1.Y13244  1Y¥13262 248
KQ2H02-23A 1.¥13127 242 KQ2T06-03AS 1.Y13179 245 AS42I1F-04-165A  1.Y13245  1Y¥13263 248
KQ2H02-04A 1.Y13128 242 KQ2T08-01AS 1.Y13180 245 FS(Model) £RS(PN) T3 (Page)
KQ2H23-04A 1.¥13129 242 KQ2T08-02AS 1.Y13181 245 AS1002F-02 1.Y13264 249
KQ2H23-06A 1.Y13130 242 KQ2T08-03AS 1.Y13182 245 AS1002F-23 1.Y13265 249
KQ2H04-06A 1.Y13131 242 KQ2T10-01AS 1.Y13183 245 AS1002F-04 1.Y04457 249
KQ2H06-08A 1.Y13132 242 KQ2T10-02AS 1.Y13184 245 AS1002F-06 1.Y04777 249
KQ2H08-10A 1.Y13133 242 KQ2T10-03AS 1.Y13185 245 AS2002F-04 1.Y13266 249
KQ2H10-12A 1.Y13134 242 KQ2T10-04AS 1.Y13186 245 AS2002F-06 1.Y13267 249
KQ2H12-16A 1.¥13135 242 KQ2T12-02AS 1.Y13187 245 AS2052F-06 1.Y13268 249
KQ2L02-M3G 1.Y13136 243 KQ2T12-03AS 1.Y13188 245 AS2052F-08 1.Y13269 249
KQ2L02-M5A 1.¥13137 243 KQ2T12-04AS 1.Y13189 245 AS3002F-06 1.Y13270 249
KQ2L23-M3G 1.Y13138 243 KQ2T16-02AS 1.¥Y13190 245 AS3002F-08 1.Y13271 249
KQ2L23-M5A 1.Y13139 243 KQ2T16-03AS 1.Y13191 245 AS3002F-10 1.Y13272 249
KQ2L04-M3G 1.Y13140 243 KQ2T16-04AS 1.¥Y13192 246 AS3002F-12 1.Y13273 249
KQ2L04-M5A 1.Y02599 243 KQ2T02-00A 1.Y13193 246 AS4002F-10 1.Y13274 249
KQ2L04-M6A 1.Y13141 243 KQ2T23-00A 1.Y13194 246 AS4002F-12 1.Y13275 249
KQ2L06-M5A 1.Y02345 243 KQ2T04-00A 1.Y03077 246 KCH04-M5 1.Y03525 250
KQ2L06-M6A 1.Y13142 243 KQ2T06-00A 1.Y03076 246 KCH04-01S 1.Y13286 250
KQ2L23-01AS 1.Y13143 243 KQ2T08-00A 1.Y00761 246 KCH06-M5 1.Y03524 250
KQ2L23-02AS 1.Y13144 243 KQ2T10-00A 1.Y13195 246 KCH06-01S 1.Y13287 250
KQ2L04-01AS 1.Y05151 243 KQ2T12-00A 1.Y13196 246 KCH08-01S 1.Y13288 250
KQ2L04-02AS 1.Y05751 243 KQ2T16-00A 1.Y13197 246 KJP-02 1.Y13210 250
KQ2L06-01AS 1.Y02343 243 KQ2T23-04A 1.Y13198 246 A= (Model) RZ(PN) TWg(Page)
KQ2L06-02AS 1.Y11935 243 KQ2T04-06A 1.Y04160 246 KQ2P-23 1.Y13211 250
KQ2L06-03AS 1.Y10180 243 KQ2T06-08A 1.Y04159 246 KQ2P-04 1.Y13212 250
KQ2L08-01AS 1.Y07560 243 KQ2T08-10A 1.Y07561 246 KQ2P-06 1.¥13213 250
KQ2L08-02AS 1.Y04922 243 KQ2T10-12A 1.Y13199 246 KQ2P-08 1.Y13214 250
KQ2L08-03AS 1.Y05070 243 KQ2T12-16A 1.Y13200 246 KQ2P-10 1.Y13215 250
KQ2L10-01AS 1.¥13145 243 KQ2T06-04A 1.Y13201 246 KQ2P-12 1.Y13216 250
KQ2L10-02AS 1.Y06994 243 KQ2T08-06A 1.Y13202 246 KQ2P-16 1.Y13217 250
KQ2L10-03AS 1.Y08074 243 KQ2T10-08A 1.Y13203 246 AH4B 1.Y00824 251
KQ2L10-04AS 1.Y13146 243 KQ2T12-10A 1.Y13204 246 AH4BU 1.Y03687 251
KQ2L12-02AS 1.Y13147 243 KQ2U02-00A 1.Y13205 247 AH4G 1.Y00823 251
KQ2L12-03AS 1.Y13148 243 KQ2U23-00A 1.Y13206 247 AH4T 1.Y03686 251
KQ2L12-04AS 1.Y13149 243 KQ2U04-00A 1.Y02601 247 AH4Y 1.Y00821 251
KQ2L16-02AS 1.¥13150 243 KQ2U06-00A 1.Y02600 247 AH4R 1.Y00822 251
KQ2L16-03AS 1.Y13151 243 KQ2U08-00A 1.Y03078 247 AH40 1.Y05661 251
KQ2L16-04AS 1.¥13152 243 KQ2U10-00A 1.Y13207 247 AH6B 1.Y00830 251
KQ2V04-M5A 1.¥13153 244 KQ2U12-00A 1.Y13208 247 AH6BU 1.Y00829 251
KQ2V06-M5A 1.¥13154 244 KQ2U16-00A 1.Y13209 247 AH6G 1.Y00825 251
KQ2V04-01AS 1.¥13155 244 KQ2UD04-06A 1.Y06909 247 AH6T 1.Y00827 251
KQ2V06-01AS 1.Y13156 244 KQ2UD06-08A 1.Y08529 247 AH6Y 1.Y00828 251
KQ2V06-02AS 1.¥13158 244 ES(Model) #STH HESTR  REE(Page) AH6R 1.Y00826 251
KQ2V08-01AS 1.¥13159 244 AST2O1F-M5-02A  1.¥13218  1.¥13222 248 AH60 1.Y04640 251
KQ2V08-02AS 1.¥13157 244 AST2001F-M5-23A 113219 1Y¥13223 248 AH8B 1.Y04478 251
KQ2V08-03AS 1.¥Y13160 244 AST2OTF-M5-04A  1Y13220  1Y¥13224 248 AH8BU 1.Y00831 251
KQ2V10-02AS 1.¥13161 244 AST200TF-M5-06A  1.Y13221  1¥03830 248 AH10B 1.Y04476 251
KQ2V10-03AS 1.Y13162 244 AS22[J1F-01-235A  1.Y13225  1Y13246 248 AH10BU 1.Y05660 251
KQ2V12-03AS 1.¥13163 244 AS22ITF-01-045A 113226 1¥13247 248

KQ2V12-04AS 1.Y13164 244 AS22[I1F-01-065A  1.Y13227  1Y05040 248

KQ2V16-03AS 1.Y13165 244 AS2211F-01-085A  1.Y13228  1¥13248 248

Cs



	页 1
	页 2
	页 3
	页 4
	页 5
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 27
	页 28
	页 1
	页 2
	页 3
	页 4
	页 5
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	1: 平行夹
	页 2
	3: Y型夹
	4: 三爪夹
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	1: 水口夹
	页 2
	3: GRS08
	4: GRM12
	5: GRL12
	6: GRX20
	页 7
	8: GR12-12
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	15: GR20-20
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54
	页 55
	页 56
	页 57
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 1
	页 2
	页 3
	页 4
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26

